Elkay & Halsey Taylor Drinking Water Product Service Part Kits Cross Reference (Sorted by Service Kit)

Dec-2016

Simply scroll to the service kit in Column A or use filtering to find the kit components. Filtering Instructions: Simply click the Drop Down arrow on the column to filter and enter the search criteria. For example, type in a
specific part number or to find service kit components related to EZH20 models, click the drop down arrow in Column C and choose Text Filters and Contains. Type in "EZH20" and click OK. To return to original listing,

click the drop down arrow and click Select All and OK.

Service Kit Service Kit Description Service Kit for use with: Service Kit Description Qty
Includes:
0000000033 EZH20 Drain Cover Kit EZH20° In-Wall, Integral & Surface Mount models 28939C LK DRAIN COVER - BOTTLE FILLER 1
0000000033 EZH20 Drain Cover Kit EZH20° In-Wall, Integral & Surface Mount models 56356C SNAP BUSHING 1-1/8 1
0000000033 EZH20 Drain Cover Kit EZH20°® In-Wall, Integral & Surface Mount models 75731C SCREW SOCKET HD #10-24 X .50 2
0000000236 KIT-FG65HAK ELECTRICALS Various old-style Elkay & Halsey Taylor models 35768C COVER-RELAY 1
0000000236 KIT-FG65HAK ELECTRICALS Various old-style Elkay & Halsey Taylor models 36175C OVLRD-220V 5TM232RFBYY53 1
0000000236 KIT-FG65HAK ELECTRICALS Various old-style Elkay & Halsey Taylor models 36178C RELAY-8EA 5B1 1
0000000238 KIT-115V EMI70HER ELECTRICALS Various old-style Elkay & Halsey Taylor models 35768C COVER-RELAY 1
0000000238 KIT-115V EMI70HER ELECTRICALS Various old-style Elkay & Halsey Taylor models 36167C RELAY-213514067 1
0000000238 KIT-115V EMI70HER ELECTRICALS Various old-style Elkay & Halsey Taylor models 36173C OVLRD-115V 5TM762PFBZZ53 1
0000000240 KIT-66336C HEATX W-DRIER EFY & XP models 66202C DRIER-R134A ID .095 1
0000000240 KIT-66336C HEATX W-DRIER EFY & XP models 66336C HEATX-XP/EFY 1
0000000241 KIT-66763C HEATX W-DRIER EFY & XP models 66704C DRIER-134A 1
0000000241 KIT-66763C HEATX W-DRIER EFY & XP models 66763C HEATX-FD 220V 1
0000000242 KIT-EHFSA PUSHBAR (BROWN) EHFSA Almond & Sandalwood models 51560C PBAR -PUSH FRONT BROWN 1
0000000242 KIT-EHFSA PUSHBAR (BROWN) EHFSA Almond & Sandalwood models 51566C PBAR -PUSH SIDE BROWN 2
0000000243 KIT-31395C FAN MOTOR ASSY ER2, ERS1, FD7003/7005, HEW3, HVRHD, LFDE3, (L)VRCHD, 111543043890 |NUT -HEX #6-32 2
$300/500, SJ1 & SJ2 220V models
0000000243 KIT-31395C FAN MOTOR ASSY ER2, ERS1, FD7003/7005, HEW3, HVRHD, LFDE3, (L)VRCHD, 30824C BLADE-FAN 5.00DIA CCW 1
$300/500, SJ1 & SJ2 220V models
0000000243 KIT-31395C FAN MOTOR ASSY ER2, ERS1, FD7003/7005, HEW3, HVRHD, LFDE3, (L)VRCHD, 31395C MOTOR-FAN 220/240V 1
$300/500, SJ1 & SJ2 220V models
0000000244 KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA, ER5/10, 30664C BLADE-FAN 8.00DIA 30P CW 1
ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW, SCWT4/8, SJ8,
SwW4/8, WC, WM8; 220V/60Hz models: EFA8, ER5/10, EWAS,
EWCAS8, FD70010, SCWTS8, SW8
0000000244 KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA, ER5/10, 31430C MOTOR-FAN 4W 230V 50/60 HZ 1
ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW, SCWT4/8, SJ8,
SwW4/8, WC, WM8; 220V/60Hz models: EFA8, ER5/10, EWAS,
EWCAS8, FD70010, SCWTS8, SW8
0000000244 KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA, ER5/10, 56237C SHRD-FAN 1
ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW, SCWT4/8, SJ8,
SwW4/8, WC, WM8; 220V/60Hz models: EFA8, ER5/10, EWAS,
EWCAS8, FD70010, SCWTS8, SW8
0000000244 KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA, ER5/10, 70009C EXP - SCREW FURN W/ MOTOR 4
ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW, SCWT4/8, SJ8,
SW4/8, WC, WMS; 220V/60Hz models: EFA8, ER5/10, EWAS,
EWCAS8, FD70010, SCWTS8, SW8
0000000244 KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA, ER5/10, 70018C NUT -HEX 1/4-20 1
ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW, SCWT4/8, SJ8,
SW4/8, WC, WMS; 220V/60Hz models: EFA8, ER5/10, EWAS,
EWCAS8, FD70010, SCWTS8, SW8
0000000245 KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR, HTV, 30664C BLADE-FAN 8.00DIA 30P CW 1
SCWT14, SW14, WM14, VRC; 220V/60Hz models: ECH83,
EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14, EZ, HAC, HVR,
SCWT14, SJ8, VRC
0000000245 KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR, HTV, 31431C MOTOR-FAN 5W 230V 50/60 HZ 1
SCWT14, SW14, WM14, VRC; 220V/60Hz models: ECH83,
EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14, EZ, HAC, HVR,
SCWT14, SJ8, VRC
0000000245 KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR, HTV, 70009C EXP - SCREW FURN W/ MOTOR 4
SCWT14, SW14, WM14, VRC; 220V/60Hz models: ECH83,
EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14, EZ, HAC, HVR,
SCWT14, SJ8, VRC
0000000245 KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR, HTV, 70018C NUT -HEX 1/4-20 1
SCWT14, SW14, WM14, VRC; 220V/60Hz models: ECH83,
EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14, EZ, HAC, HVR,
SCWT14, SJ8, VRC
0000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models 30664C BLADE-FAN 8.00DIA 30P CW 1
0000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models 31491C MOTOR-FAN 5W 115V 1
0000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models 56237C SHRD-FAN 1
0000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models 70009C EXP - SCREW FURN W/ MOTOR 4
0000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models 70018C NUT -HEX 1/4-20 1
0000000247 KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 & WM14 30664C BLADE-FAN 8.00DIA 30P CW 1
models
0000000247 KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 & WM14 31492C MOTOR-FAN 5W 115V 1
models
0000000247 KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 & WM14 70009C EXP - SCREW FURN W/ MOTOR 4
models
0000000247 KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 & WM14 70018C NUT -HEX 1/4-20 1
models
0000000248 KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models 13074005 BOLT -1/4-20X.50 4
0000000248 KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models 30502C BLADE-FAN 9.00D CCW 1
0000000248 KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models 32817000 SHRD -FAN ER19 1
0000000248 KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models 36072C MOTOR-FAN (115V) 9W 50/60 HZ 1
0000000248 KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models 70009C EXP - SCREW FURN W/ MOTOR 4
0000000248 KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models 70018C NUT -HEX 1/4-20 5
0000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models 13074005 BOLT -1/4-20X.50 4
0000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models 30502C BLADE-FAN 9.00D CCW 1




0000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models 32817000 SHRD -FAN ER19 1
0000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models 36073C MOTOR-FAN (230V) 50/60HZ 1
0000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models 70009C EXP - SCREW FURN W/ MOTOR 4
0000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models 70018C NUT -HEX 1/4-20 5
0000000250 KIT-HTV FAN MOTOR ASSY HTV models 30646C BLADE-FAN 7.00 DIA 38P CW 1
0000000250 KIT-HTV FAN MOTOR ASSY HTV models 31490C MOTOR-FAN 4W 115V 1
0000000250 KIT-HTV FAN MOTOR ASSY HTV models 70009C EXP - SCREW FURN W/ MOTOR 4
0000000250 KIT-HTV FAN MOTOR ASSY HTV models 70018C NUT -HEX 1/4-20 1
0000000252 KIT-COMPR MTG-DLX/BACKSPLASH EFA, EFW, EHFSA, ESWA, EW(TL)A, EWCA, HBW, LFAE, LWAE, 50144C GRMMT-COMPRESSOR 4
LWCE, OHFA, SCWT & WC models
0000000252 KIT-COMPR MTG-DLX/BACKSPLASH EFA, EFW, EHFSA, ESWA, EW(TL)A, EWCA, HBW, LFAE, LWAE, 70184C HAIR PIN-COTTER 4
LWCE, OHFA, SCWT & WC models
0000000252 KIT-COMPR MTG-DLX/BACKSPLASH EFA, EFW, EHFSA, ESWA, EW(TL)A, EWCA, HBW, LFAE, LWAE, 70418C WASHR-FLAT(SPECIAL)1.250D 4
LWCE, OHFA, SCWT & WC models
0000000253 KIT-COMPR MTG-EFWC16 EFWC16 model 50144C GRMMT-COMPRESSOR 4
0000000253 KIT-COMPR MTG-EFWC16 EFWC16 model 70421C WASHER-FLAT (CR) 4
0000000253 KIT-COMPR MTG-EFWC16 EFWC16 model 75602C HAIR PIN COTTER (CR) 4
0000000254 KIT-COMPR MTG-FD/S-SERIES FD & S-Series models 19037000 CLIP -COMPR MTG 4
0000000254 KIT-COMPR MTG-FD/S-SERIES FD & S-Series models 50144C GRMMT-COMPRESSOR 4
0000000254 KIT-COMPR MTG-FD/S-SERIES FD & S-Series models 75706C STUD-COMPR MTG 4
0000000255 KIT-COMPR MTG-5/10 GAL REMOTE 5 & 10 GPH Remote Chillers 100806740570 |GRMMT-RUBBER 4
0000000255 KIT-COMPR MTG-5/10 GAL REMOTE 5 & 10 GPH Remote Chillers 19037000 CLIP -COMPR MTG 4
0000000255 KIT-COMPR MTG-5/10 GAL REMOTE 5 & 10 GPH Remote Chillers 75705C STUD -COMPR MTG 4
0000000256 KIT-COMPR MTG-SCWT/HOF/SW/WM SCWT, HOF, SW & WM models 100806740570 |GRMMT-RUBBER 4
0000000256 KIT-COMPR MTG-SCWT/HOF/SW/WM SCWT, HOF, SW & WM models 19037000 CLIP -COMPR MTG 4
0000000256 KIT-COMPR MTG-SCWT/HOF/SW/WM SCWT, HOF, SW & WM models 75694C STUD-COMPR MNTG 4
0000000257 KIT-COMPR MTG-LARGE REMOTES 19, 20, 30 & 32 GPH Chiller models 50196C GRMMT-COMPRESSOR 4
0000000257 KIT-COMPR MTG-LARGE REMOTES 19, 20, 30 & 32 GPH Chiller models 70418C WASHR-FLAT(SPECIAL)1.250D 4
0000000258 KIT-ACTUATOR OVL OVL-II™ models 55836C PLATE-ACTUATOR OVL 1
0000000258 KIT-ACTUATOR OVL OVL-II™ models 55839C PLATE-ACTUATOR BTM 1
0000000258 KIT-ACTUATOR OVL OVL-1II"™ models 55840C PLATE-ACTUATOR TOP 1
0000000288 KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012 0000000289 BRACKET-EZ COLD CNTRL 1
0000000288 KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012 29035C COVER-COLD CONTROL 1
0000000288 KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012 70016C NUT -HEX 10-32 2
0000000288 KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012 70368C SCREW-#10-32 X .62 HHTC 2
0000000325 KIT-DRAIN PLUG/GASKET (4400 SERIES) Outdoor Tubular Fountains & Bottle Fillers 101570540560 [GASKT-2.01D 1
0000000325 KIT-DRAIN PLUG/GASKET (4400 SERIES) Outdoor Tubular Fountains & Bottle Fillers 45464C PLUG -DRAIN 1-1/2" 1
0000000466 KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain 15007C NIPPLE-BUBBLER (GF) 1
0000000466 KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain 45727C BODY -BUBBLER (4400DB) 1
0000000466 KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain 56305C GASKT-VR BUBBLER 2
0000000466 KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain 75513C FTTNG-1/4 PRESS IN 1
0000000745 KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN & VRCGRN 35839C CNTRL-COLD 1
models
0000000745 KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN & VRCGRN 55994C TUBE -POLY 1/4X.040 WALL 1
models
0000000745 KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN & VRCGRN 66703C DRIER-134A 1
models
0000000745 KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN & VRCGRN 66817C EVAP ASSY (GRN CLR) 1
models
0000000745 KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN & VRCGRN 75583C ELBOW-5/16" - 1/4" 1
models
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 0000000885 TUBE -CU 3/8" WATER INLET FORMED 1
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 0000001348 BRKT-FLTR (EZ SNGL) 1
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 51294C ASSY -FILTER HEAD 1
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 55994C TUBE -POLY 1/4X.040 WALL 3
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 70683C FTTNG-UNION-1/4 1
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 70792C SCREW-#8-18 X .75 SS PHHL 4
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 70822C FTTNG-SUPERSEAL 1/4IN 1
0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models 70823C FTTNG-SUPERSEAL 3/8IN 1
0000000747 KIT-EZ/LZ WRAPPER / NMPLT (S) Elkay Single EZ Green Cooler & Bottle Filler Combo models 0000000511 NMPLT-EZ GREEN 1
(Stainless Steel)
0000000747 KIT-EZ/LZ WRAPPER / NMPLT (S) Elkay Single EZ Green Cooler & Bottle Filler Combo models 1000002460 LABEL-SERVICE 1
(Stainless Steel)
0000000747 KIT-EZ/LZ WRAPPER / NMPLT (S) Elkay Single EZ Green Cooler & Bottle Filler Combo models 27416C WRAPPER-EZ (S) 1
(Stainless Steel)
0000000748 KIT-EZ/LZ WRAPPER / NMPLT (L) Elkay Single EZ Green Cooler & Bottle Filler Combo models (Light |0000000511 NMPLT-EZ GREEN 1
Gray Granite)
0000000748 KIT-EZ/LZ WRAPPER / NMPLT (L) Elkay Single EZ Green Cooler & Bottle Filler Combo models (Light (27413C PANEL-WRAPPER EZ (L) 1
Gray Granite)
0000000748 KIT-EZ/LZ WRAPPER / NMPLT (L) Elkay Single EZ Green Cooler & Bottle Filler Combo models (Light |98014C LABEL-SERVICE 1
Gray Granite)
0000000762 KIT-PANEL HAC FR LOWER/NMPLT (P) Halsey Taylor Single HAC Green Cooler & Bottle Filler Combo 0000000512 NMPLT-HAC GREEN 1
models (Platinum Vinyl)
0000000762 KIT-PANEL HAC FR LOWER/NMPLT (P) Halsey Taylor Single HAC Green Cooler & Bottle Filler Combo 22844C PANEL-FRT LWR (PV) 1
models (Platinum Vinyl)
0000000763 KIT-PANEL HAC FR LOWER/NMPLT (S) Halsey Taylor Single HAC Green Cooler & Bottle Filler Combo 0000000512 NMPLT-HAC GREEN 1
models (Stainless Steel)
0000000763 KIT-PANEL HAC FR LOWER/NMPLT (S) Halsey Taylor Single HAC Green Cooler & Bottle Filler Combo 22955C PANEL-FRONT LWR(S) 1
models (Stainless Steel)
0000000768 COMPR-SERVICE PACK 115V EM65HHC Elkay EZS(TL)G, LZS(TL)G, ECH8GRN, (L)VRCGRN coolers & bottle (0000000767 COMPR-ASSY 115V EM65HHC 1
fillers and Halsey Taylor HACG, HVRGRN, HTHB-HACG, HTHB-
HVRGRN, SJ8GRN models
0000000802 KIT-SOLENOID VLV/REG. ASSY. (220V-240V) EZ & HTV 220V models 36248C VALVE - SOLENOID 220V - 240V 1
0000000802 KIT-SOLENOID VLV/REG. ASSY. (220V-240V) EZ & HTV 220V models 56082C NUT-REGULATOR 1
0000000802 KIT-SOLENOID VLV/REG. ASSY. (220V-240V) EZ & HTV 220V models 66654C REG. ASSY - W/RED INTRNL SPRING 1




0000000804 KIT-EMABF FRONT PANEL / NMPLT (L) Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo Light [27215C PANEL-FRONT LWR (L)
Gray Granite models

0000000834 KIT-EMABF FRONT PANEL/NMPLT (S) Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 22955C PANEL-FRONT LWR(S)
Stainless Steel models

0000000872 KIT-EMABF PUSHBAR / NUTS EMABF models 111411743620 [NUT -1/4 SELF THREAD 8
0000000872 KIT-EMABF PUSHBAR / NUTS EMABF models 51565C PBAR -PUSH SIDE GRAY 4
0000000886 KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models 0000000514 EVAP ASSY-TANKLESS (MED) 1
0000000886 KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models 0000000910 TUBE-1/4" CU FORMED 1
0000000886 KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models 35839C CNTRL-COLD 1
0000000886 KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models 66703C DRIER-134A 1
0000000886 KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models 75583C ELBOW-5/16" - 1/4" 1
0000000964 KIT-BASIN RPLCMNT EMABF EMABF & LMABF models 100147140560 [GASKT-DRAIN 1
0000000964 KIT-BASIN RPLCMNT EMABF EMABF & LMABF models 102639931640 [PLUG -DRAIN L/LOGO CP 1
0000000964 KIT-BASIN RPLCMINT EMABF EMABF &LMABF models 160270508640 |STRNR-BRIGHT 1
0000000964 KIT-BASIN RPLCMINT EMABF EMABF &LMABF models 28960C BASIN - HAC STANDARD 1
0000000964 KIT-BASIN RPLCMNT EMABF EMABF & LMABF models 45929C TUBE - DRAIN 1
0000000964 KIT-BASIN RPLCMNT EMABF EMABF & LMABF models 56121C ELBOW-DRAIN 1
0000000964 KIT-BASIN RPLCMINT EMABF EMABF &LMABF models 75588C NUT -SLIP JOINT 1-1/4 1
0000000964 KIT-BASIN RPLCMINT EMABF EMABF &LMABF models 75589C WASHR-SEAL 1
0000000965 KIT-BASIN RPLCMINT EMABF GF Elkay EMABF, LMABF glass filler models 100147140560 |GASKT-DRAIN 1
0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models 102639931640 [PLUG -DRAIN L/LOGO CP 1
0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models 160270508640 [STRNR-BRIGHT 1
0000000965 KIT-BASIN RPLCMINT EMABF GF Elkay EMABF, LMABF glass filler models 28960C-002 BASIN - GLASS FILLER 1
0000000965 KIT-BASIN RPLCMINT EMABF GF Elkay EMABF, LMABF glass filler models 45929C TUBE - DRAIN 1
0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models 56121C ELBOW-DRAIN 1
0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models 75588C NUT -SLIP JOINT 1-1/4 1
0000000965 KIT-BASIN RPLCMINT EMABF GF Elkay EMABF, LMABF glass filler models 75589C WASHR-SEAL 1
0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models 100147140560 |GASKT-DRAIN 1
0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models 110868642550 [SCREW-#10-24 X .75 SOCKET HEAD 1
0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models 160270508640 [STRNR-BRIGHT 1
0000000966 KIT-BASIN RPLCMINT VRC (L)VRC(GRN) models 28963C BASIN HVR STANDARD 1
0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models 45929C TUBE - DRAIN 1
0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models 56121C ELBOW-DRAIN 1
0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models 600985451640 [ASSY -DRAIN PLUG AND ADAPTOR 1
0000000966 KIT-BASIN RPLCMINT VRC (L)VRC(GRN) models 75588C NUT -SLIP JOINT 1-1/4 1
0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models 75589C WASHR-SEAL 1
0000000967 KIT-BASIN RPLCMNT HVR HVR(GRN) models 28963C BASIN HVR STANDARD 1
0000000967 KIT-BASIN RPLCMNT HVR HVR(GRN) models 45929C TUBE - DRAIN 1
0000001014 KIT -66529C HEATX-DRIER Elkay ER2 220V volt chillers 66200C DRIER-R134A ID.086 1
0000001014 KIT -66529C HEATX-DRIER Elkay ER2 220V volt chillers 66529C HEATX-ER2 1
0000001146 KIT-DRAIN REPLACE HTV SINGLE HTV single models 45892C TUBE-DRAIN 1
0000001146 KIT-DRAIN REPLACE HTV SINGLE HTV single models 56118C FTTNG-DRAIN 1
0000001146 KIT-DRAIN REPLACE HTV SINGLE HTV single models 70444C CLAMP-DRAIN GASKET 1
0000001147 KIT-DRAIN REPLACE HTVBL(R) HTV bi-level models 45893C TUBE-DRAIN 1
0000001147 KIT-DRAIN REPLACE HTVBL(R) HTV bi-level models 56118C FTTNG-DRAIN 1
0000001147 KIT-DRAIN REPLACE HTVBL(R) HTV bi-level models 70444C CLAMP-DRAIN GASKET 1
0000001190 KIT-75570C TORX SCREW/T25 BIT Elkay & Halsey Taylor Vandal-Resistant models 75520C BIT -PINNED TORX T-25 1
0000001190 KIT-75570C TORX SCREW/T25 BIT Elkay & Halsey Taylor Vandal-Resistant models 75570C SCREW-#10 X .50 PINNED TORX 12
0000001191 KIT-75566C TORX SCREW/T25 BIT HTV VR and SW8VR models 75520C BIT -PINNED TORX T-25 1
0000001191 KIT-75566C TORX SCREW/T25 BIT HTV VR and SW8VR models 75566C SCREW-#10 X 1 PINNED TORX 4
0000001192 KIT-100322740560 GASKET (4 PCS) Various Elkay & Halsey Taylor models 100322740560 [GASKT-BLACK .68 X 1.03 4
0000001194 COMPR-SERVICE PACK 115V EM45HHR Elkay EFA4, EW(C)A4, ER2, FD7003/5, FGDF3/5, LFAE4, LWCEA4, 0000001193 COMPR-ASSY 115V EM45HHR 1

LFDE3/5 and Halsey Taylor SCWT4, SJ2, SW4, S300/500 models

0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant 27945C BRKT -BASIN

models
0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant 27946C BRKT -BASIN PIVOT

models
0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant 40045C NUT -HEX 1 5/16UN-2B UNPLATED

models
0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant 40206000 STEEL RETAINER-ZINC PLATE FINISH

models
0000001323 KIT-PIVOT BRACKET (OVL) OVL-lII™ & Premium Composite/Marblyte™ Freeze-Resistant 50198C BSHNG-SNAP .125I1D

models
0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant 51667C BUMPR-PRESS BAR

models
0000001323 KIT-PIVOT BRACKET (OVL) OVL-lII™ & Premium Composite/Marblyte™ Freeze-Resistant 70854C ROD -PIVOT OVL-1

models
0000001324 KIT-HTV PUSHBAR HTV models 56110C PUSHBAR-HTV 2
0000001324 KIT-HTV PUSHBAR HTV models 75621C SPRING-PUSHBAR 4
0000001324 KIT-HTV PUSHBAR HTV models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H] 2
0000001325 KIT-70002C SCREW (8 PCS) Various Elkay & Halsey Taylor models 70002C SCREW-#10 X .50 HHSM 8
1000000758 KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit) 1000001891 BRKT -TRIM STRIP EZ UNIV. (SS) 1
1000000758 KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit) 1000001893 COVER PLATE-EZ UNIV TRIM (SS) 1
1000000758 KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit) 27852K PANEL-WRAPPER TL L- EZ BLANK (S) 1
1000000758 KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit) 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE| 2
1000000759 KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side unit) 1000001892 BRKT -TRIM STRIP EZ UNIV. (L) 1
1000000759 KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side unit)  [1000001894  [COVER PLATE- EZ UNIV TRIM (L)
1000000759 KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side unit) 27854K PANEL-WRAPPER TL L- EZ BLANK (L)
1000000759 KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side unit)  [75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE
1000000888 KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit) 1000001891 BRKT -TRIM STRIP EZ UNIV. (SS)

1000000888 KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit) 1000001893 COVER PLATE-EZ UNIV TRIM (SS)




1000000888 KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit) 27862K PANEL-WRAPPER TL R- EZ BLANK (S) 1

1000000888 KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit) 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE| 2

1000000944 KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side unit) 1000001892 BRKT -TRIM STRIP EZ UNIV. (L) 1

1000000944 KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side unit) 1000001894 COVER PLATE- EZ UNIV TRIM (L) 1

1000000944 KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side unit) [27864K PANEL-WRAPPER TL R- EZ BLANK (L) 1

1000000944 KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side unit) [75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE| 2

1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models 0000000030 SCREW-MACHINE #10-24 HWHS 2

1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models 1000001984 SCREW-#4-20 X .250 PHP 4

1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models 1000001985 SCREW-#4-40 X .312 FHP 2

1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models 1000001987 NUT-#4-40 HEX 2

1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models 1000001997 ELECTRONIC CONTROL-BATTERY 1

1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HI 4

1000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models 112627543890 [SCREW-#10-24X.50 PHTC 6

1000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models 21708C ASSY -PUSH BAR BUFFED 1

1000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models 28959C BRKT-STOP EDFP19C 2

1000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models 37077001 SCREW-#10-32 X .37 PHMS 2

1000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models 50198C BSHNG-SNAP .125ID 2

1000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models 70016C NUT -HEX 10-32 2

1000001600 KIT-EZ FRONT PUSHBARS Elkay EZ-LZ models 55999C P BAR-FRNT EZ GRAY 2

1000001602 KIT-75583C ELBOW 5/16" - 1/4" (3 PC) Multipack of 75583C Elbows 75583C ELBOW-5/16" - 1/4" 3

1000001673 KIT - EMASM (BF) 1.0 GPM REGULATOR Elkay EMASM, EMASMB, LMASMB Surface Mount bottle fillers 15005C NUT -REG RETAIN 1 1/8-24 1

1000001673 KIT - EMASM (BF) 1.0 GPM REGULATOR Elkay EMASM, EMASMB, LMASMB Surface Mount bottle fillers 50986C HOLDR-REGULATOR 1

1000001673 KIT - EMASM (BF) 1.0 GPM REGULATOR Elkay EMASM, EMASMB, LMASMB Surface Mount bottle fillers 66822C REGULATOR ASSY. (1.0 GPM) 1

1000001772 KIT - 70817C ELBOW FITTINGS (3) Various Elkay & Halsey Taylor Filtered or Freeze-Resistant models [70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 3

1000001791 KIT - VR BUBBLER NIPPLE W/GASKET Elkay and Halsey Taylor models with Vandal-Resistant Bubbler 15009C ASSY -BUBBLR NIPPLE (GF) 1

1000001791 KIT - VR BUBBLER NIPPLE W/GASKET Elkay and Halsey Taylor models with Vandal-Resistant Bubbler 56305C GASKT-VR BUBBLER 2

1000001792 KIT - GF BUBBLER NIPPLE W/GASKET Elkay LK109A glass fillers, outdoor tubular EZH20® bottle fillers 100322740560 |GASKT-BLACK .68 X 1.03 2
and Halsey Taylor Endura II™ HydroBoost® tubular bottle fillers

1000001792 KIT - GF BUBBLER NIPPLE W/GASKET Elkay LK109A glass fillers, outdoor tubular EZH20® bottle fillers 15009C ASSY -BUBBLR NIPPLE (GF) 1
and Halsey Taylor Endura II™ HydroBoost® tubular bottle fillers

1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-Cooler |0000001339 FERRL-DRAIN BF 1
combo models

1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-Cooler |0000001344 HOSE-CONNECTION 1
combo models

1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-Cooler |0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1
combo models

1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-Cooler |0000001365 DRAIN-RECEPTOR 1
combo models

1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-Cooler |1000001905 CLAMP-HOSE #6 1
combo models

1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-Cooler |50548C CABLE TIE 1
combo models

1000001813 KIT-TOWER/BASIN GASKET For replacement of the gasket on Elkay EZH20® and Halsey Taylor (0000001301 GASKT-TOWER / BASIN, BLK 1
HydroBoost® bottle fillers with steel integrated drain/mat

1000001813 KIT-TOWER/BASIN GASKET For replacement of the gasket on Elkay EZH20® and Halsey Taylor |0000001361 BRKT-BRACE, BASIN SEAL 1
HydroBoost® bottle fillers with steel integrated drain/mat

1000001813 KIT-TOWER/BASIN GASKET For replacement of the gasket on Elkay EZH20® and Halsey Taylor |75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PANH[ 2
HydroBoost® bottle fillers with steel integrated drain/mat

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [0000001337 BASIN-EZ (BF) 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates (0000001339 FERRL-DRAIN BF 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [0000001342 ADAPTER-ALCOVE LK 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates 0000001344 HOSE-CONNECTION 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [0000001349 GASKET-TOWER/BASIN RETRO 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates (0000001355 PLATE-BACK, RETRO 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [0000001357 DRAIN-BRANCH LINE, EZ 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [0000001365 DRAIN-RECEPTOR 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [1000001905 CLAMP-HOSE #6 1
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H 2
to integrated stainless drain/basin)

1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [75730C WASHER - #8 TYPE B 2

to integrated stainless drain/basin)




1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat (updates [75744C NUT-1/4-20 CAL STYLE RIVET
to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001337 BASIN-EZ (BF)
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001339 FERRL-DRAIN BF
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001342 ADAPTER-ALCOVE LK
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001344 HOSE-CONNECTION
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001349 GASKET-TOWER/BASIN RETRO
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001355 PLATE-BACK, RETRO
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001358 DRAIN-BRANCH LINE, EZTLR
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 0000001365 DRAIN-RECEPTOR
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 1000001905 CLAMP-HOSE #6
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 75730C WASHER - #8 TYPE B
(updates to integrated stainless drain/basin)

1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain mat 75744C NUT-1/4-20 CAL STYLE RIVET
(updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |0000001338 BASIN-EMABF/HAC (BF)
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain 0000001339 FERRL-DRAIN BF
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |0000001343 ADAPTER-ALCOVE HT
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |0000001344 HOSE-CONNECTION
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |0000001349 GASKET-TOWER/BASIN RETRO
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain [0000001355 PLATE-BACK, RETRO
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |0000001359 DRAIN-BRANCH LINE, HAC SNGL
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain [0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |0000001365 DRAIN-RECEPTOR
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain 1000001905 CLAMP-HOSE #6
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain |75730C WASHER - #8 TYPE B
mat (updates to integrated stainless drain/basin)

1000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with rubber drain (75744C NUT-1/4-20 CAL STYLE RIVET
mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001338 BASIN-EMABF/HAC (BF)
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001339 FERRL-DRAIN BF
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001343 ADAPTER-ALCOVE HT
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001344 HOSE-CONNECTION
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001349 GASKET-TOWER/BASIN RETRO
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001355 PLATE-BACK, RETRO
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001360 DRAIN-BRANCH LINE, HAC BL
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 0000001365 DRAIN-RECEPTOR
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 1000001905 CLAMP-HOSE #6
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 75730C WASHER - #8 TYPE B
drain mat (updates to integrated stainless drain/basin)

1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with rubber 75744C NUT-1/4-20 CAL STYLE RIVET
drain mat (updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001338 BASIN-EMABF/HAC (BF)
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001339 FERRL-DRAIN BF
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001342 ADAPTER-ALCOVE LK

(updates to integrated stainless drain/basin)




1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001344 HOSE-CONNECTION
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001349 GASKET-TOWER/BASIN RETRO
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001355 PLATE-BACK, RETRO
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABEF Single units with rubber drain mat 0000001359 DRAIN-BRANCH LINE, HAC SNGL
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 0000001365 DRAIN-RECEPTOR
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 1000001905 CLAMP-HOSE #6
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 75730C WASHER - #8 TYPE B
(updates to integrated stainless drain/basin)

1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain mat 75744C NUT-1/4-20 CAL STYLE RIVET
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [0000001338 BASIN-EMABF/HAC (BF)
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat {0000001339 FERRL-DRAIN BF
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [0000001342 ADAPTER-ALCOVE LK
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat {0000001344 HOSE-CONNECTION
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [0000001349 GASKET-TOWER/BASIN RETRO
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [{0000001355 PLATE-BACK, RETRO
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [0000001360 DRAIN-BRANCH LINE, HAC BL
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat {0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [{0000001365 DRAIN-RECEPTOR
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat (1000001905 CLAMP-HOSE #6
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [75730C WASHER - #8 TYPE B
(updates to integrated stainless drain/basin)

1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain mat [75744C NUT-1/4-20 CAL STYLE RIVET
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001339 FERRL-DRAIN BF
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001342 ADAPTER-ALCOVE LK
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001344 HOSE-CONNECTION
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001349 GASKET-TOWER/BASIN RETRO
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001355 PLATE-BACK, RETRO
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001359 DRAIN-BRANCH LINE, HAC SNGL
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 0000001365 DRAIN-RECEPTOR
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 1000001676 BASIN-VRC/HVR (BF)
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 1000001905 CLAMP-HOSE #6
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 50548C CABLE TIE
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 75730C WASHER - #8 TYPE B
(updates to integrated stainless drain/basin)

1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat 75744C NUT-1/4-20 CAL STYLE RIVET
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001339 FERRL-DRAIN BF
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001342 ADAPTER-ALCOVE LK
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001344 HOSE-CONNECTION
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001349 GASKET-TOWER/BASIN RETRO
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001355 PLATE-BACK, RETRO
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001360 DRAIN-BRANCH LINE, HAC BL

(updates to integrated stainless drain/basin)




1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 0000001365 DRAIN-RECEPTOR 1
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 1000001676 BASIN-VRC/HVR (BF) 1
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 1000001905 CLAMP-HOSE #6 1
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H] 2
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 75730C WASHER - #8 TYPE B 2
(updates to integrated stainless drain/basin)

1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain mat 75744C NUT-1/4-20 CAL STYLE RIVET 2
(updates to integrated stainless drain/basin)

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 0000001339 FERRL-DRAIN BF 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 0000001343 ADAPTER-ALCOVE HT 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models 0000001344 HOSE-CONNECTION 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 0000001349 GASKET-TOWER/BASIN RETRO 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 0000001355 PLATE-BACK, RETRO 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 0000001359 DRAIN-BRANCH LINE, HAC SNGL 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models 0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models 0000001365 DRAIN-RECEPTOR 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 1000001676 BASIN-VRC/HVR (BF) 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 1000001905 CLAMP-HOSE #6 1

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H] 2

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models 75730C WASHER - #8 TYPE B 2

1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models 75744C NUT-1/4-20 CAL STYLE RIVET 2

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models 0000001339 FERRL-DRAIN BF 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models 0000001343 ADAPTER-ALCOVE HT 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models 0000001344 HOSE-CONNECTION 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models 0000001349 GASKET-TOWER/BASIN RETRO 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models 0000001355 PLATE-BACK, RETRO 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models 0000001360 DRAIN-BRANCH LINE, HAC BL 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models 0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models 0000001365 DRAIN-RECEPTOR 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models 1000001676 BASIN-VRC/HVR (BF) 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models 1000001905 CLAMP-HOSE #6 1

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models 75625C SCREW - #8 X .50" LG. HI-.LOW 6 LOBE PAN H] 2

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models 75730C WASHER - #8 TYPE B 2

1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models 75744C NUT-1/4-20 CAL STYLE RIVET 2

1000001867 KIT - 50212C RIVETS (6) Mutipack of 50212C rivets 50212C RIVET-DRIVE TYPE 6

1000001877 KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models 0000001357 DRAIN-BRANCH LINE, EZ 1

1000001877 KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models 56118C FTTNG-DRAIN 1

1000001877 KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models 56182C BRKT-DRAIN ADAPTER (EZ) 1

1000001877 KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models 70444cC CLAMP-DRAIN GASKET 1

1000001878 KIT - 100322740560 Gasket (25 PCS) Various Elkay and Halsey Taylor models 100322740560 |GASKT-BLACK .68 X 1.03 25

1000001880 KIT - GLASS FILLER FITTINGS Elkay models with LK109A glass fillers 56251C TUBE -POLY 24.00" 2

1000001880 KIT - GLASS FILLER FITTINGS Elkay models with LK109A glass fillers 70682C FTTNG-TEE 1/4 1

1000001880 KIT - GLASS FILLER FITTINGS Elkay models with LK109A glass fillers 70683C FTTNG-UNION-1/4 2

1000001881 KIT - 75745C SCREW (4 PC) Elkay EZH20® & Halsey Taylor HydroBoost® models with rubber |75745C SCREW #8 HI-LO X .312 4
mat, also current HTHB-HAC-RF models

1000001882 KIT - 75745C SCREW (20 PC) Elkay EZH20® & Halsey Taylor HydroBoost® models with rubber |75745C SCREW #8 HI-LO X .312 20
mat, also current HTHB-HAC-RF models

1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey Taylor HAC- 0000001359 DRAIN-BRANCH LINE, HAC SNGL 1
HydroBoost® combo models

1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey Taylor HAC- [100147140560 |GASKT-DRAIN 1
HydroBoost® combo models

1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey Taylor HAC- (102639931640 |PLUG -DRAIN L/LOGO CP 1
HydroBoost® combo models

1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey Taylor HAC- (160270508640 [STRNR-BRIGHT 1
HydroBoost® combo models

1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey Taylor HAC-|56121C ELBOW-DRAIN 1
HydroBoost® combo models

1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey Taylor HAC- [75588C NUT -SLIP JOINT 1-1/4 1
HydroBoost® combo models

1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey Taylor HAC- |75589C WASHR-SEAL 1
HydroBoost® combo models

1000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor HTHB-HAC |0000001360 DRAIN-BRANCH LINE, HAC BL 1
combo models

1000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor HTHB-HAC |100147140560 |GASKT-DRAIN 1
combo models

1000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor HTHB-HAC |102639931640 |PLUG -DRAIN L/LOGO CP 1
combo models

1000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor HTHB-HAC |160270508640 |STRNR-BRIGHT 1
combo models

1000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor HTHB-HAC |56121C ELBOW-DRAIN 1
combo models

1000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor HTHB-HAC |75588C NUT -SLIP JOINT 1-1/4 1
combo models

1000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor HTHB-HAC |75589C WASHR-SEAL 1
combo models

1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN 0000001359 DRAIN-BRANCH LINE, HAC SNGL 1
combo models

1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN  |100147140560 |GASKT-DRAIN 1

combo models




1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN 110868642550 |SCREW-#10-24 X .75 SOCKET HEAD 1
combo models
1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN 160270508640 [STRNR-BRIGHT 1
combo models
1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN  |56121C ELBOW-DRAIN 1
combo models
1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN 600985451640 [ASSY -DRAIN PLUG AND ADAPTOR 1
combo models
1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN  |75588C NUT -SLIP JOINT 1-1/4 1
combo models
1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-HVRGRN 75589C WASHR-SEAL 1
combo models
1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models 15005C NUT -REG RETAIN 1 1/8-24 1
1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models 40045C NUT -HEX 1 5/16UN-2B UNPLATED 1
1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models 45662C BUTTN-PUSH 1
1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models 45736C NUT-REG. MNTG. HALF 1
1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models 45737C SLEEVE-PUSH BUTTON GUIDE 1
1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models 56033C SPACR-WASHER 1
1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models 75672C SCREW-CAP #6-32 1
1000001907 KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler 0000000165 SEAL - VRBF COVER 1
combo models
1000001907 KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler 0000000179 WASHER - SEALING .26 ID X .50 OD 2
combo models
1000001907 KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler 29018C TOP COVER 1
combo models
1000001907 KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler 75729C SCREW 1/4 - 20 SBHS 2
combo models
1000001912 KIT-56082C REGULATOR NUT (2 PK) Various Elkay & Halsey Taylor Models 56082C NUT-REGULATOR 2
1000001913 KIT-EZ/HTV REGULATOR PRE JUNE 2008 EZ & HTV models produced prior to June 2008* 50986C HOLDR-REGULATOR 1
1000001913 KIT-EZ/HTV REGULATOR PRE JUNE 2008 EZ & HTV models produced prior to June 2008* 56082C NUT-REGULATOR 1
1000001913 KIT-EZ/HTV REGULATOR PRE JUNE 2008 EZ & HTV models produced prior to June 2008* 61314C REG -W/GREEN SPRING 1
1000001922 KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models 0000001358 DRAIN-BRANCH LINE, EZTLR 1
1000001922 KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models 56118C FTTNG-DRAIN 1
1000001922 KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models 56182C BRKT-DRAIN ADAPTER (EZ) 1
1000001922 KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models 70444C CLAMP-DRAIN GASKET 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models 0000001360 DRAIN-BRANCH LINE, HAC BL 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models |100147140560 |GASKT-DRAIN 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models [110868642550 [SCREW-#10-24 X .75 SOCKET HEAD 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models |160270508640 |STRNR-BRIGHT 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models [56121C ELBOW-DRAIN 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models |600985451640 |ASSY -DRAIN PLUG AND ADAPTOR 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models |75588C NUT -SLIP JOINT 1-1/4 1
1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo models [75589C WASHR-SEAL 1
1000001926 KIT - SERVICE 40045C HEX NUT (4 PC) Various Elkay and Halsey Taylor models 40045C NUT -HEX 1 5/16UN-2B UNPLATED 4
1000001927 KIT - SERVICE 40045C HEX NUT (10 PC) Various Elkay and Halsey Taylor models 40045C NUT -HEX 1 5/16UN-2B UNPLATED 10
1000001965 KIT - 10031C RETAING NUT (4 PCS) Various Elkay and Halsey Taylor models 10031C NUT -RETAIN 1 1/8-24 4
1000001966 KIT - 10031C RETAING NUT (10 PCS) Various Elkay and Halsey Taylor models 10031C NUT -RETAIN 1 1/8-24 10
1000001975 KIT - ELKAY NAMEPLATE (EHW) Elkay EHW(M) models 56189C NMPLT-ELKAY 1
1000001975 KIT - ELKAY NAMEPLATE (EHW) Elkay EHW(M) models 75673C CLIP -SPEED .188 STUD 2
1000001976 KIT - ELKAY NAMEPLATE Most Elkay models 34175000 CLIP -SPEED .187 STUD 2
1000001976 KIT - ELKAY NAMEPLATE Most Elkay models 56189C NMPLT-ELKAY 1
1000001994 KIT - 70682C 1/4" TEES (3-PK) Various Elkay and Halsey Taylor coolers and fountains 70682C FTTNG-TEE 1/4 3
1000002021 KIT-75575C ANTI-ROTATION BALL (10 PK) Elkay Premium Composite and Halsey Taylor Marblyte™ models |75575C BALL -ANTI ROTATIONAL 10
1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers 100322740560 [GASKT-BLACK .68 X 1.03 1
1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers 70012C NUT -LOCK 3/8-18 1
1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers 72460042 WASHR-FLAT .69 I.D. STEEL 1
1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers A54800 NIPPLE 1
1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers A54888 SCREEN 1
1000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 100322740560 [GASKT-BLACK .68 X 1.03 1
models
1000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 70012C NUT -LOCK 3/8-18 1
models
1000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 72460042 WASHR-FLAT .69 I.D. STEEL 1
models
1000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler A54800 NIPPLE 1
models
1000002024 KIT-PUSHBUTTON BUBBLER BUTTON ASSY Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers 10031C NUT -RETAIN 1 1/8-24 1
1000002024 KIT-PUSHBUTTON BUBBLER BUTTON ASSY Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers 40048C BUTTN-CP 1
1000002024 KIT-PUSHBUTTON BUBBLER BUTTON ASSY Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers 40089C NUT -COVER 1-1/8-24 CP 1
1000002025 KIT - 70745C UNION FITTING (2 PCS) Various Elkay and Halsey Taylor models 70745C FTTNG-UNION-3/8 X 1/4 TUBE 2
1000002026 KIT - 70745C UNION FITTING (10 PCS) Various Elkay and Halsey Taylor models 70745C FTTNG-UNION-3/8 X 1/4 TUBE 10
1000002027 KIT - 15005C REG RETAING NUT (5 PCS) Various Elkay and Halsey Taylor models 15005C NUT -REG RETAIN 1 1/8-24 5
1000002028 KIT - 70016C HEX NUT (5 PCS) Various Elkay and Halsey Taylor models 70016C NUT -HEX 10-32 5
1000002029 KIT-HTVZ FRONT-SIDE PUSHBARS Halsey Taylor HTVZ models 1000002315 P BAR-FRONT H/T CHARCOAL 1
1000002029 KIT-HTVZ FRONT-SIDE PUSHBARS Halsey Taylor HTVZ models 1000002321 P BAR-SIDE H/T CHARCOAL 2
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  {0000001221 BOARD-NFC CIRCUIT (RFID) PCB 1




1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001683 COVER-FLTR BOARD PROTECTOR 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001685 BRKT-FILTER/RFID MOUNT 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002053 TUBE-CU 3/8" WATER INLET FORMED (NEXT 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 51294C ASSY -FILTER HEAD 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [55994C TUBE -POLY 1/4X.040 WALL 3
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70683C FTTNG-UNION-1/4 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [70792C SCREW-#8-18 X .75 SS PHHL 4
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [70822C FTTNG-SUPERSEAL 1/4IN 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70823C FTTNG-SUPERSEAL 3/8IN 1
1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [75722C SCREW-#8-18 TYPE B, HH SELF TAP 2
1000002031 KIT-EXTENSION WIRE (BI-LEVEL) Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 0000001371 WIRE -#20AWG WHT 1
1000002031 KIT-EXTENSION WIRE (BI-LEVEL) Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 0000001372 WIRE -#20AWG BLK 1
1000002032 KIT-EZ FRONT PUSHBAR/SIDE FILLERS Elkay EZ/LZ Front Activation only models 55999C P BAR-FRNT EZ GRAY 1
1000002032 KIT-EZ FRONT PUSHBAR/SIDE FILLERS Elkay EZ/LZ Front Activation only models 56074C PUSH-FILLER EZO/LZO 2
1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 100322740560 |GASKT-BLACK .68 X 1.03 4
models
1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 15007C NIPPLE-BUBBLER (GF) 1
models
1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 55994C TUBE -POLY 1/4X.040 WALL 4
models
1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 70682C FTTNG-TEE 1/4 1
models
1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 70683C FTTNG-UNION-1/4 1
models
1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1
models
1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler 75513C FTTNG-1/4 PRESS IN 1
models
1000002062 KIT - 0000001144 TEE (3-PK) Elkay EZH20® and Halsey Taylor HydroBoost® bottle filler models {0000001144 FTTNG-TEE 1/4x1/4 x3/8 3
1000002141 KIT - 75580C LOCK NUT 3/8-18 (5-PK) Elkay and Halsey Taylor models with Gooseneck Glass Fillers 75580C NUT -LOCKING 3/8-18 5
1000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models 100023340560 |GASKT-NEOPRENE 1
1000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-lIl models 101570540560 |[GASKT-2.0 1D 1
1000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models 101637451550 |RING -FRICTION 1
1000002143 KIT-OVL-Il DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models 110346220550 |[NUT -LOCK11/2-111/2 2
1000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models 160270508640 |STRNR-BRIGHT 1
1000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-lIl models 161637308640 |PLUG -DRAIN 1-1/2 CP 1
1000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models 51575C RING -PACKING 1
1000002144 KIT - 50985C REG HOLDER (5 PK) Various Elkay and Halsey Taylor models 50985C HOLDR-REGULATOR 5
1000002145 KIT - 50986C REG HOLDER (5 PK) Multipack of 50986C Regulator Holders 50986C HOLDR-REGULATOR 5
1000002148 COMPR-SERVICE PACK 115V-60H EM20HBR Elkay ERS1 and Halsey Taylor SJ1 models 1000002125 COMPR-ASSY 115V/60Hz EM 20 HBR 1
1000002149 COMPR-SERVICE PACK 115V-60H EM30HNR Elkay HEW3 models 1000002118 COMPR-ASSY 115V/60Hz EM 30 HNR 1
1000002162 KIT - 70683C 1/4" UNION (3-PK) Various Elkay and Halsey Taylor coolers and fountains 70683C FTTNG-UNION-1/4 3
1000002220 KIT - 75731C SOCKET SCREW (4 PCS) Used to secure drains on Elkay EZH20® and Halsey Taylor 75731C SCREW SOCKET HD #10-24 X .50 4
HydroBoost® in-wall and surface mount bottle fillers
1000002221 KIT - 56237C FAN SHROUD (50 PK) Various Elkay & Halsey Taylor models 56237C SHRD-FAN 50
1000002253 KIT-EZTL UNIV TRIM (SS) Elkay EZ / LZ Universal Bi-Level stainless steel models 1000001891 BRKT -TRIM STRIP EZ UNIV. (SS) 1
1000002253 KIT-EZTL UNIV TRIM (SS) Elkay EZ / LZ Universal Bi-Level stainless steel models 1000001893 COVER PLATE-EZ UNIV TRIM (SS) 1
1000002253 KIT-EZTL UNIV TRIM (SS) Elkay EZ / LZ Universal Bi-Level stainless steel models 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE 2
1000002254 KIT-EZTL UNIV TRIM (L) Elkay EZ / LZ Universal Bi-Level light gray granite models 1000001892 BRKT -TRIM STRIP EZ UNIV. (L) 1
1000002254 KIT-EZTL UNIV TRIM (L) Elkay EZ / LZ Universal Bi-Level light gray granite models 1000001894 COVER PLATE- EZ UNIV TRIM (L) 1
1000002254 KIT-EZTL UNIV TRIM (L) Elkay EZ / LZ Universal Bi-Level light gray granite models 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE| 2
1000002421 KIT-HTVZ UNIV TRIM (SS) Halsey Taylor HTVZ Universal Bi-Level stainless steel models 1000001891 BRKT -TRIM STRIP EZ UNIV. (SS) 1
1000002421 KIT-HTVZ UNIV TRIM (SS) Halsey Taylor HTVZ Universal Bi-Level stainless steel models 1000001893 COVER PLATE-EZ UNIV TRIM (SS) 1
1000002421 KIT-HTVZ UNIV TRIM (SS) Halsey Taylor HTVZ Universal Bi-Level stainless steel models 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE| 2
1000002422 KIT-HTVZ UNIV TRIM (PV) Halsey Taylor HTVZ Universal Bi-Level Platinum Vinyl models 1000002298 PANEL-HT UNIV TRIM (PV) 1
1000002422 KIT-HTVZ UNIV TRIM (PV) Halsey Taylor HTVZ Universal Bi-Level Platinum Vinyl models 1000002300 BRKT-TRIM STRIP HT UNIV. (PV) 1
1000002422 KIT-HTVZ UNIV TRIM (PV) Halsey Taylor HTVZ Universal Bi-Level Platinum Vinyl models 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE 2
1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002060 COVER-TOP & FRONT 1
1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002142 INSERT-TOP COVER (NEXT GEN) 1
1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002196 COVER-PROTECTIVE ALPHA DISPLAY 1
1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H] 4
1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [75726C PALNUT .187 X .437 6
1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [75729C SCREW 1/4 - 20 SBHS 2
1000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 0000001218 ASSY-IR BOTTLE PROXIMITY PCB 1
1000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 56328C LENS - EE 1
1000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 2
1000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 75736C WASHER #4 2




1000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 75737C SPACER .250 X .125 2
1000002435 KIT-SOLENOID VLV/REG. ASSY. Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models ~ [1000001621  |VALVE-SOLENOID 24V (EZ) 1
1000002435 KIT-SOLENOID VLV/REG. ASSY. Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 56082C NUT-REGULATOR 1
1000002435 KIT-SOLENOID VLV/REG. ASSY. Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 66654C REG. ASSY - W/RED INTRNL SPRING 1
1000002436 KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 0000001215 ASSY-ALPHA-NUMERIC DISPLAY 1
1000002436 KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 0000001217 ASSY-LED FILTER STATUS 1
1000002436 KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 1000001980 BRKT-ADAPTOR ALPHA/NUMERIC MTG 1
1000002436 KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 70016C NUT -HEX 10-32 4
1000002436 KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HI 4
1000002436 KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 2
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001220 ASSY-COOLER ELECTRONICS CONTROL 1
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001224 TRANSFORMER - 120VAC-24VAC 1
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001374 BRKT-CNTRL BOARD MTG 1
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001835 CLIP-STANDOFF 1/4" SPACE (CIRCUIT BOARD 3
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001941 SPACER-#8 I.D. x .25 LG ALUMINUM 1
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 38397000 BSHNG-STRAIN RELIEF 1
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 50548C CABLE TIE 1
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70002C SCREW-#10 X .50 HHSM 4
1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70639C SCREW-#8-32X.75HHTC 1
1000002438 KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 1000001763 EVAP-NO TIN (MED) (NEXT GEN) 1
1000002438 KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 1000002222 CAP-.187 I.D. x .50 LG PLASTIC 1
1000002438 KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 55994C TUBE -POLY 1/4X.040 WALL 1
1000002438 KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 66703C DRIER-134A 1
1000002438 KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 75583C ELBOW-5/16" - 1/4" 1
1000002439 KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001834 MOTOR-FAN 4W 115V 1
1000002439 KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 30664C BLADE-FAN 8.00DIA 30P CW 1
1000002439 KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70009C EXP - SCREW FURN W/ MOTOR 4
1000002439 KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70018C NUT -HEX 1/4-20 1
1000002442 KIT-POWER CORD / STRAIN RELIEF Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 0000001227 HARNESS-24vac POWER 1
1000002442 KIT-POWER CORD / STRAIN RELIEF Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 38397000 BSHNG-STRAIN RELIEF 1
1000002443 KIT-NFC BOARD & COVER Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 0000001221 BOARD-NFC CIRCUIT (RFID) PCB 1
1000002443 KIT-NFC BOARD & COVER Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 1000001683 COVER-FLTR BOARD PROTECTOR 1
1000002443 KIT-NFC BOARD & COVER Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 75722C SCREW-#8-18 TYPE B, HH SELF TAP 2
1000002444 KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001225 HARNESS-THERMISTOR & RFID 1
1000002444 KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002222 CAP-.187 I.D. x .50 LG PLASTIC 1
1000002444 KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000003079 ASSY-VIAL WITH THERMAL MASTIC 1
1000002444 KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 50548C CABLE TIE 4
1000002456 KIT-CONDENSER / DRIER / WIRE TIES Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 50548C CABLE TIE 2
1000002456 KIT-CONDENSER / DRIER / WIRE TIES Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 66703C DRIER-134A 1
1000002456 KIT-CONDENSER / DRIER / WIRE TIES Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models 66743C CNDSR-2 ROW 134A 1
1000002457 KIT - 40048C PUSHBUTTON (50 PK) Elkay & Halsey Taylor Top Pushbutton, Fully Recessed Pushbutton |40048C BUTTN-CP 50
and Pushbutton Bubbler models
1000002458 KIT - 40048C PUSHBUTTON (100 PK) Elkay & Halsey Taylor Top Pushbutton, Fully Recessed Pushbutton |40048C BUTTN-CP 100
and Pushbutton Bubbler models
1000002462 KIT - 50314C ORIFICE FITTING (100 PK) Elkay Flexi-Guard®, Classroom; Halsey Taylor and Elkay 50314C FTTNG-ORIFICE FLOW STRAIGHTNER 100
Pushbutton bubblers
1000002601 KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002212 ASSY-CNTRL BOARD / TRANS (EZ/LZ8) 1
1000002601 KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000003001 WIRE -#20AWG WHT 24V Neutral to Solenoid 1
1000002601 KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000003079 ASSY-VIAL WITH THERMAL MASTIC 1
1000002601 KIT-CNTRL BOARD / TRANS (EZ/LZS8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 50548C CABLE TIE 2
1000002601 KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [56205C CLIP-WIRE 2
1000002705 KIT - HT Double Bubbler Nipple & Gasket Halsey Taylor Double Bubbler™ models 100322740560 |GASKT-BLACK .68 X 1.03
1000002705 KIT - HT Double Bubbler Nipple & Gasket Halsey Taylor Double Bubbler™ models 56159C NIPPL-BUBBLER 1.11" (PLASTIC)
1000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz models (36323C GASKT-OVRLD
1000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz models (36324C COVER-OVERLOAD 1
1000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz models (36325C SPRNG-OVERLOAD 1
1000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz models [36326C OVRLD-115V GA3RNU 1




1000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz models [36327C ASSY-CSR BOX 115V 1
1000003114 KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015) 35839C CNTRL-COLD 1
1000003114 KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015) 55994C TUBE -POLY 1/4X.040 WALL 1
1000003114 KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015) 66703C DRIER-134A 1
1000003114 KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015) 66829C EVAP-NO TIN (MED) HTV 1
1000003114 KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015) 75583C ELBOW-5/16" - 1/4" 1
1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model 35839C CNTRL-COLD 1
1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model 55994C TUBE -POLY 1/4X.040 WALL 1
1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model 66202C DRIER-R134A ID .095 1
1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model 66810C EVAP-NO TIN (MED) 1
1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model 75583C ELBOW-5/16" - 1/4" 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001220 ASSY-COOLER ELECTRONICS CONTROL 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models  [0000001221  [BOARD-NFC CIRCUIT (RFID) PCB 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001224 TRANSFORMER - 120VAC-24VAC 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001225 HARNESS-THERMISTOR & RFID 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001227 HARNESS-24vac POWER 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 0000001374 BRKT-CNTRL BOARD MTG 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001683 COVER-FLTR BOARD PROTECTOR 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001685 BRKT-FILTER/RFID MOUNT 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001835 CLIP-STANDOFF 1/4" SPACE (CIRCUIT BOARD] 3
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000001941 SPACER-#8 I.D. x .25 LG ALUMINUM 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002053 TUBE-CU 3/8" WATER INLET FORMED (NEXT 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000002724 SCREW-#8-32 x .75 HEXAGON SOCKET HEAD 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 1000003079 ASSY-VIAL WITH THERMAL MASTIC 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 38397000 BSHNG-STRAIN RELIEF 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 50548C CABLE TIE 3
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 51294C ASSY -FILTER HEAD 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 55994C TUBE -POLY 1/4X.040 WALL 3
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 56205C CLIP-WIRE 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70002C SCREW-#10 X .50 HHSM 2
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70683C FTTNG-UNION-1/4 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70792C SCREW-#8-18 X .75 SS PHHL 4
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70822C FTTNG-SUPERSEAL 1/4IN 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 70823C FTTNG-SUPERSEAL 3/8IN 1
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 75722C SCREW-#8-18 TYPE B, HH SELF TAP 2
1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP) models 75735C NUT 8-32 SST 1
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models [0000000885 TUBE -CU 3/8" WATER INLET FORMED 1
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models |1000003115 BRKT-FLTR (LVRC / HAC) 1
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models |51294C ASSY -FILTER HEAD 1
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models |55994C TUBE -POLY 1/4X.040 WALL 3
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models [70683C FTTNG-UNION-1/4 1
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models |70792C SCREW-#8-18 X .75 SS PHHL 4
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models (70822C FTTNG-SUPERSEAL 1/4IN 1
1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR models |70823C FTTNG-SUPERSEAL 3/8IN 1
1000003577 KIT-56305C VR BUBLR GASKET (10PK) Vandal-resistant bubbler 56305C GASKT-VR BUBBLER 10
1000003653 KIT-RESET SWITCH/JUMPER WIRE FOR FTN/BF COMBO Elkay & Halsey Taylor Architectural Fountain/Bottle Flller combo (36301C SWITCH - RESET ASSEMBLY 1
models
1000003653 KIT-RESET SWITCH/JUMPER WIRE FOR FTN/BF COMBO Elkay & Halsey Taylor Architectural Fountain/Bottle Flller combo (36332C ASSY - JUMPER WIRE 1
models
1000003692 KIT - BOTTLE FILLER TRIM LK Elkay Outdoor Tubular Bottle Filling Station models 1000003651 TRIM - BOTTLE OUTLINE LK 1




1000003692 KIT - BOTTLE FILLER TRIM LK Elkay Outdoor Tubular Bottle Filling Station models 28958C TRIM - DROP OUTLINE 1
1000003692 KIT - BOTTLE FILLER TRIM LK Elkay Outdoor Tubular Bottle Filling Station models 70016C NUT -HEX 10-32 5
1000003693 KIT - BOTTLE FILLER TRIM HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 1000003650 TRIM - BOTTLE OUTLINE HT 1
Filling Station models
1000003693 KIT - BOTTLE FILLER TRIM HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 28958C TRIM - DROP OUTLINE 1
Filling Station models
1000003693 KIT - BOTTLE FILLER TRIM HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 70016C NUT -HEX 10-32 5
Filling Station models
1000003694 KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models 28308C WASHR-SPACER 2.00 O.D. 2
1000003694 KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models 28703C-LK NAMEPLATE INSERT-LK 1
1000003694 KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models 40045C NUT -HEX 1 5/16UN-2B UNPLATED 2
1000003694 KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models 45662C BUTTN-PUSH 1
1000003694 KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models 45663C SLEEV-PUSH BUTTON GUIDE 1
1000003694 KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models 75672C SCREW-CAP #6-32 1
1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 28091C-HT NAMEPLATE INSERT-HT 1
Filling Station models
1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 28308C WASHR-SPACER 2.00 O.D. 2
Filling Station models
1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 40045C NUT -HEX 1 5/16UN-2B UNPLATED 2
Filling Station models
1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 45662C BUTTN-PUSH 1
Filling Station models
1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 45663C SLEEV-PUSH BUTTON GUIDE 1
Filling Station models
1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost® Bottle 75672C SCREW-CAP #6-32 1
Filling Station models
15013C ASSY -BUBBLER TUBE Halsey Taylor 4520-68, 4521-68, Endura™ Standard and Freeze- 10080C NIPPL-BUBBLER 1/4 1
Resistant (4705, 4710, 4715, 4720) and 4880/4881 models
15013C ASSY -BUBBLER TUBE Halsey Taylor 4520-68, 4521-68, Endura™ Standard and Freeze- (62261C TUBE -CU 1/4 X 1.75 (1-P117) 1
Resistant (4705, 4710, 4715, 4720) and 4880/4881 models
15029C ASSY-NIPPLE Elkay EDF214WC and Premium Composite & Halsey Taylor 5405 |15028C NIPPL-BUBBLER 1
and Marblyte™ models
15029C ASSY-NIPPLE Elkay EDF214WC and Premium Composite & Halsey Taylor 5405 |75513C FTTNG-1/4 PRESS IN 1
and Marblyte™ models
160279908640  [ASSY -DRAIN PLUG & TAILPIECE Halsey Taylor 10000 Fountain 45336C ASSY -STRAINER & FERRULE 1
160279908640  [ASSY -DRAIN PLUG & TAILPIECE Halsey Taylor 10000 Fountain 45940C TPIPE-1.25 X 4.00 1
160279908640  [ASSY -DRAIN PLUG & TAILPIECE Halsey Taylor 10000 Fountain 50074C GASKT-TAILPIPE 1
21781C ASSY -BASIN&TAILPIPE FD1&3 Elkay FD and Halsey Taylor S-Series 3 & 5 gallon models 112705501550 |GASKT 1
21781C ASSY -BASIN&TAILPIPE FD1&3 Elkay FD and Halsey Taylor S-Series 3 & 5 gallon models 21745C BASIN-12X12 0-HOLE 1
21781C ASSY -BASIN&TAILPIPE FD1&3 Elkay FD and Halsey Taylor S-Series 3 & 5 gallon models 40291C TPIPE-1.2500D X5.25IN 1
21782C ASSY -BASIN&TAILPIPE FD3F3 Elkay FD and Halsey Taylor S-Series Glass Filler Prepped models 112705501550 |GASKT 1
21782C ASSY -BASIN&TAILPIPE FD3F3 Elkay FD and Halsey Taylor S-Series Glass Filler Prepped models 21745C BASIN-12X12 0-HOLE 1
21782C ASSY -BASIN&TAILPIPE FD3F3 Elkay FD and Halsey Taylor S-Series Glass Filler Prepped models 40291C TPIPE-1.2500D X5.25IN 1
21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models 112705501550 |GASKT 1
21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models 21745C BASIN-12X12 0-HOLE 1
21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models 40347C PRCLR-WD5F1 1
21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models 55909C HELIX-PRECOOLER 9.95 1
21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models 112705501550 |GASKT 1
21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models 21745C BASIN-12X12 0-HOLE 1
21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models 40348C PRCLR-WDS8F1 1
21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models 55908C HELIX-PRECOOLER 6.00 1
21812C ASSY -BASIN&TAILPIPE WF5000 Elkay WF50003 FTN model 112705501550 |GASKT 1
21812C ASSY -BASIN&TAILPIPE WF5000 Elkay WF50003 FTN model 21745C BASIN-12X12 0-HOLE 1
21812C ASSY -BASIN&TAILPIPE WF5000 Elkay WF50003 FTN model 40291C TPIPE-1.2500D X5.25IN 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 112705501550 [GASKT 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 15005C NUT -REG RETAIN 1 1/8-24 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 21745C BASIN-12X12 0-HOLE 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 40169C NUT -HEX 1 5/16-20UN CP 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 40552C PRCLR-FD3 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 50986C HOLDR-REGULATOR 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 55909C HELIX-PRECOOLER 9.95 1
22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models 62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 1
22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models 112705501550 [GASKT 1
22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models 21745C BASIN-12X12 0-HOLE 1
22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models 40410C PRCLR-FD3F1 1
22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models 55909C HELIX-PRECOOLER 9.95 1
22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models 112705501550 [GASKT 1
22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models 15005C NUT -REG RETAIN 1 1/8-24 1
22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models 21745C BASIN-12X12 0-HOLE 1
22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models 40169C NUT -HEX 1 5/16-20UN CP 1
22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models 40552C PRCLR-FD3 1
22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models 50986C HOLDR-REGULATOR 1
22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models 55909C HELIX-PRECOOLER 9.95 1
22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models 112705501550 |GASKT 1
22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models 15005C NUT -REG RETAIN 1 1/8-24 1
22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models 21745C BASIN-12X12 0-HOLE 1
22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models 40169C NUT -HEX 1 5/16-20UN CP 1
22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models 40553C PRCLR-FD5,8810-1 1
22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models 50986C HOLDR-REGULATOR 1
22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models 55909C HELIX-PRECOOLER 9.95 1
22544C ASSY -BASIN & PRCLR Elkay WD5-1A models 112705501550 |GASKT 1




22544C ASSY -BASIN & PRCLR Elkay WD5-1A models 15005C NUT -REG RETAIN 1 1/8-24 1
22544C ASSY -BASIN & PRCLR Elkay WD5-1A models 21745C BASIN-12X12 0-HOLE 1
22544C ASSY -BASIN & PRCLR Elkay WD5-1A models 40169C NUT -HEX 1 5/16-20UN CP 1
22544C ASSY -BASIN & PRCLR Elkay WD5-1A models 40554C PRCLR-WD5-1A 1
22544C ASSY -BASIN & PRCLR Elkay WD5-1A models 50986C HOLDR-REGULATOR 1
22544C ASSY -BASIN & PRCLR Elkay WD5-1A models 55908C HELIX-PRECOOLER 6.00 1
22545C ASSY -BASIN & PRCLR Elkay WD8-1A models 112705501550 |GASKT 1
22545C ASSY -BASIN & PRCLR Elkay WD8-1A models 15005C NUT -REG RETAIN 1 1/8-24 1
22545C ASSY -BASIN & PRCLR Elkay WD8-1A models 21745C BASIN-12X12 0-HOLE 1
22545C ASSY -BASIN & PRCLR Elkay WD8-1A models 40169C NUT -HEX 1 5/16-20UN CP 1
22545C ASSY -BASIN & PRCLR Elkay WD8-1A models 40555C PRCLR-WDS8-1A 1
22545C ASSY -BASIN & PRCLR Elkay WD8-1A models 50986C HOLDR-REGULATOR 1
22545C ASSY -BASIN & PRCLR Elkay WD8-1A models 55908C HELIX-PRECOOLER 6.00 1
28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models 21051002 NUT -WELD 5/16-18 16
28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models 28220C PLATE-WALL ELKAY 1
28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models 28385C BRKT -MOUNTING SWIRLFLO 2
28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models 75541C WASHR-FLAT .339/.359ID STEEL 8
28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models 75560C SCREW-5/16-18 X 1.00 HHMS 8
28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models 21051002 NUT -WELD 5/16-18 16
28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models 28220C PLATE-WALL ELKAY 1
28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models 28385C BRKT -MOUNTING SWIRLFLO 2
28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models 75541C WASHR-FLAT .339/.359ID STEEL 8
28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models 75560C SCREW-5/16-18 X 1.00 HHMS 8
28394C KIT-WALL PLATE ASSY EDFPBW114C Elkay EDFPBM(V)114(FP) models 21051002 NUT -WELD 5/16-18 8
28394C KIT-WALL PLATE ASSY EDFPBW114C Elkay EDFPBM(V)114(FP) models 28334C WALL PLATE - SINGLE 1
28394C KIT-WALL PLATE ASSY EDFPBW114C Elkay EDFPBM(V)114(FP) models 28385C BRKT -MOUNTING SWIRLFLO 1
28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models 112705501550 [GASKT 1
28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models 15005C NUT -REG RETAIN 1 1/8-24 1
28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models 21745C BASIN-12X12 0-HOLE 1
28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models 40169C NUT -HEX 1 5/16-20UN CP 1
28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models 40553C PRCLR-FD5,8&10-1 1
28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models 50986C HOLDR-REGULATOR 1
28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models 55909C HELIX-PRECOOLER 9.95 1
28443C ASSY -BASIN & T-PIPE S300GF Halsey Taylor S-Series w/Glass Filler models 112705501550 |GASKT 1
28443C ASSY -BASIN & T-PIPE S300GF Halsey Taylor S-Series w/Glass Filler models 21745C BASIN-12X12 0-HOLE 1
28443C ASSY -BASIN & T-PIPE S300GF Halsey Taylor S-Series w/Glass Filler models 40291C TPIPE-1.2500D X5.25IN 1
28615C ASSY-BASIN & TAILPIPE Halsey Taylor S-Series models 112705501550 |GASKT 1
28615C ASSY-BASIN & TAILPIPE Halsey Taylor S-Series models 21745C BASIN-12X12 0-HOLE 1
28615C ASSY-BASIN & TAILPIPE Halsey Taylor S-Series models 40291C TPIPE-1.2500D X5.25IN 1
35762C COMPR-SERVICE PAK 115V WM14W & WM16W models 194243901550 |COVER-ELECT SHIELD 1
35762C COMPR-SERVICE PAK 115V WM14W & WM16W models 31027C OL/RL-115V 1.350.158 1
35762C COMPR-SERVICE PAK 115V WM14W & WM16W models 31512C COMPR-115V FF8.5HBK 1
35762C COMPR-SERVICE PAK 115V WM14W & WM16W models 31797C COVER-RELAY-DOUBLE SIDED 1
35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models 30180C SPRNG-OVERLOAD 1
35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models 30181C COVER-TERM(TECH) 1
35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models 35817C COMPR-230V AE3430Y 1
35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models 35864C RELAY-220/230V 8200EMBE64 1
35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models 35875C OVRLD-220/208 MRP59AMK-69 1
35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models 194243901550 |COVER-ELECT SHIELD 1
35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models 31032C OL/RL-220V 1.350.636 1
35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models 31797C COVER-RELAY-DOUBLE SIDED 1
35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models 35773C COMPR-220V FFI12HBK 1
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35768C COVER-RELAY 1
models
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35845C CAP -CAPACITOR END 1
models
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35846C BRKT -CAPACITOR 1
models
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35874C CLIP -CAPACITOR 1
models
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35952C COMPR-220V FFI12HBX 1
models
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35953C OVRLD-220V MSP36ALZ-5590 1
models
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35954C RELAY - 220V 213516485 1
models
35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH 220V/60Hz 35955C CAPAC-220V 121-145MFD 1
models
35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models 35768C COVER-RELAY 1
35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models 35957C COMPR-115V EM 65 HHR 1
35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models 35959C RELAY-115V 213514121 1
35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models 36196C OVRLD-5TM771RFBZZ53 1
35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models 35768C COVER-RELAY 1
35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models 35966C COMPR-220V EM 30 HNR 1
35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models 36166C RELAY-213514032 1
35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models 36171C OVLRD-220V 5TM189KFBBYY53 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 21368001 SCREW-#6-32 X .25 RHMS 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 33133000 ADAPT-TAB .250 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 35880C OVRLD-115V MRTOOJJH 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 35976C COMPR-115V NE9213E 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 35977C CAPAC-44V 20MF 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 36189C COVER-RELAY 2075200 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 36190C BRKT -OVERLOAD 2075180 1
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 50144C GRMMT-COMPRESSOR 4
35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models 70312C CLAMP-CAPACITOR 1-9/16IN 1
36220C COMPR-SERVICE PAK EFY/XP Elkay EFY and Halsey Taylor XP models 35790C COMPR-W/MACHINED CAP 1




36243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4 35768C COVER-RELAY 1
220V/50Hz models
36243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4 36227C COMPR-220V EM45HNR 1
220V/50Hz models
36243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4 36232C RELAY-220V 213514130 1
220V/50Hz models
36243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4 36237C OVLRD-220V 5TM718MFBYY-53 1
220V/50Hz models
36308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port 36307C COMPR-ASSY 220V NT6220Z 1
locations will be different so the service repairman will have to
mate the copper lines to match up with the correct port locations)
36308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port 70020C NUT -HEX 5/16-18 4
locations will be different so the service repairman will have to
mate the copper lines to match up with the correct port locations)
36308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port 70149C WASHR-FLAT .32 SPLIT 4
locations will be different so the service repairman will have to
mate the copper lines to match up with the correct port locations)
36308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port 70202C BOLT -5/16-18 X 1.50 4
locations will be different so the service repairman will have to
mate the copper lines to match up with the correct port locations)
36308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port 70274C SLEEV-COMPR. MTG 4
locations will be different so the service repairman will have to
mate the copper lines to match up with the correct port locations)
36308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port 70418C WASHR-FLAT(SPECIAL)1.250D 4
locations will be different so the service repairman will have to
mate the copper lines to match up with the correct port locations)
36310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models 36309C COMPR-ASSY 115V NJ6220Z 1
36310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models 70020C NUT -HEX 5/16-18 4
36310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models 70149C WASHR-FLAT .32 SPLIT 4
36310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models 70202C BOLT -5/16-18 X 1.50 4
36310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models 70274C SLEEV-COMPR. MTG 4
36310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models 70418C WASHR-FLAT(SPECIAL)1.250D 4
36312C COMPR-SERVICE PACK 115V FFI12HBX Elkay EFA, EFW, EW(C/TL)A, LFA, LW(C/TL) 14/16/20 and Halsey |[36311C COMPR-ASSY 115V FFI12HBX 1
Taylor HOF, SCWT, SW, WM 14/16/20 models
36314C COMPR-SERVICE PACK 230V NE5187Z EFA16, EWA16, ER10 & SJ10 220Vmodels 36313C COMPR-ASSY 230V NE5187Z 1
36316C COMPR-SERVICE PACK 115V FF10HBK EFA16, EW(TL)A16, ER10, FD70010, S1000,SJ10 & WM16 models (194243901550 |COVER-ELECT SHIELD 1
36316C COMPR-SERVICE PACK 115V FF10HBK EFA16, EW(TL)A16, ER10, FD70010, S1000,SJ10 & WM16 models |36315C COMPR-ASSY 115V FF10HBK 1
36318C COMPR-SERVICE PAK 115V CR Elkay EFWC16 models 36317C COMPR- ASSY. CORROSION RESISTANT 1
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 21368001 SCREW-#6-32 X .25 RHMS 1
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 36319C COMPR-ASSY 115V NT6220Z 1
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 50196C GRMMT-COMPRESSOR 4
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 70020C NUT -HEX 5/16-18 4
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 70149C WASHR-FLAT .32 SPLIT 4
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 70202C BOLT -5/16-18 X 1.50 4
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 70274C SLEEV-COMPR. MTG 4
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 70418C WASHR-FLAT(SPECIAL)1.250D 4
models
36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor SJ19 75664C SCREW-M3.5 x 0.6 x 6mm 1
models
36322C COMPR-SERVICE PAK Most Elkay & Halsey Taylor 4/8 GPH models 36321C COMPR-ASSY 115V EMIS70HHR 1
400942308640 BUBLR-VANDAL RESISTANT Halsey Taylor 2507 and 2509 Fountain Heads 110544942550 |SCREW-#8-32 X .125 SET 1
400942308640 BUBLR-VANDAL RESISTANT Halsey Taylor 2507 and 2509 Fountain Heads 160316508640 [BUBLR-2/STREAM B 1
40322C ASSY -ORIFICE Elkay Flexi-Guard® safety bubbler models 40319C FTTNG-ORIFICE .200 DIA 1
40322C ASSY -ORIFICE Elkay Flexi-Guard® safety bubbler models 50171C ORING-.364ID X .070 1
40322C ASSY -ORIFICE Elkay Flexi-Guard® safety bubbler models 50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1
40575C ASSY -STRAINER & FERRULE CP Elkay ECDFPW, ECRSP, EDFB, EDFP19C, EFRPC, EHF, ESWA, HEW; |40038C STRNR-BEEHIVE CP 1
Halsey Taylor 5701, HBW, HCRF, WC models
40575C ASSY -STRAINER & FERRULE CP Elkay ECDFPW, ECRSP, EDFB, EDFP19C, EFRPC, EHF, ESWA, HEW; |40573C FERRL-TAILPIPE CP 1
Halsey Taylor 5701, HBW, HCRF, WC models
45336C ASSY -STRAINER & FERRULE Elkay DRKR14, EDF210, EDF310C, EDFP(210/214/217), EFRC, 40038C STRNR-BEEHIVE CP 1
EFRP(C), EHFRA, ERFP, ERO, LINE; Halsey Taylor 2634. 5405. 7020,
7030, 10000, HRF(G) models
45336C ASSY -STRAINER & FERRULE Elkay DRKR14, EDF210, EDF310C, EDFP(210/214/217), EFRC, 40619C FERRL-TAILPIPE (CP) 1
EFRP(C), EHFRA, ERFP, ERO, LINE; Halsey Taylor 2634. 5405. 7020,
7030, 10000, HRF(G) models
45442C ASSY -DRAIN Various Elkay models 40252C TPIPE-7.34IN 1
45442C ASSY -DRAIN Various Elkay models 55913C ADAPT-DRAIN W/O HOLES 1
45442C ASSY -DRAIN Various Elkay models 75588C NUT -SLIP JOINT 1-1/4 1
45442C ASSY -DRAIN Various Elkay models 75589C WASHR-SEAL 1
45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB, 1000001883 TUBE - ELBOW VACUUM BREAK 1

WMCB, SCWTWC, XP models




45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB, 40252C TPIPE-7.34IN 1
WMCB, SCWTWC, XP models
45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB, 45679C TPIPE- 1
WMCB, SCWTWC, XP models
45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB, 61299C TUBE -VACUUM BREAK 1
WMCB, SCWTWC, XP models
45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB, 75552C WASHR-BRASS .380/.385ID 1
WMCB, SCWTWC, XP models
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 10031C NUT -RETAIN 1 1/8-24 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 40048C BUTTN-CP 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 40089C NUT -COVER 1-1/8-24 CP 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 40319C FTTNG-ORIFICE .200 DIA 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 45659C BODY -BUBBLER 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 50171C ORING-.364ID X .070 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 60291C SCRN -SS 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 61313C REG -W/ SPRING 1
45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron models 70021C SCREW-#8-32 X .25 SET 1
45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models 100322740560 |GASKT-BLACK .68 X 1.03 2
45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models 160609216550 |[NIPPL-PROJECTOR 3/8 1
45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models 45657C FTTNG-PROJECTOR MOUNT 1
45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models 45703C ASSY -BUBBLER 1
45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and WM(W,CB) 45689C ASSY -TAILPIPE 1
models
45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and WM(W,CB) 55913C ADAPT-DRAIN W/O HOLES 1
models
45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and WM(W,CB) 75588C NUT -SLIP JOINT 1-1/4 1
models
45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and WM(W,CB) 75589C WASHR-SEAL 1
models
45698C ASSY -TAILPIPE (SERVICE) Various Elkay models 45679C TPIPE- 1
45698C ASSY -TAILPIPE (SERVICE) Various Elkay models 55913C ADAPT-DRAIN W/O HOLES 1
45698C ASSY -TAILPIPE (SERVICE) Various Elkay models 75588C NUT -SLIP JOINT 1-1/4 1
45698C ASSY -TAILPIPE (SERVICE) Various Elkay models 75589C WASHR-SEAL 1
45702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAE8, LWCE, WGA5 models 45679C TPIPE- 1
45702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAES, LWCE, WGA5 models 50005C GASKT-TAILPIPE 1
45702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAE8, LWCE, WGAS5 models 50368C RECPT-DRAIN 1
45702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAE8, LWCE, WGA5 models 70750C CLAMP-HOSE 1-15/32 1
45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models 10031C NUT -RETAIN 1 1/8-24 1
45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models 40048C BUTTN-CP 1
45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models 40089C NUT -COVER 1-1/8-24 CP 1
45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models 45675C BODY -BUBBLER SS 1
45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models 60291C SCRN -SS 1
45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models 61313C REG -W/ SPRING 1
45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models 97470C MODUL-ORIFICE ASSY 1
45718C ASSY -TAILPIPE/VACUUM CR Elkay EFWC16S1Z model 45729C ASSY -TAILPIPE/VACUUM BREAK 1
51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters 0000000885 TUBE -CU 3/8" WATER INLET FORMED 1
51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters 22490C BRKT -FILTER MOUNTING 1
51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters 51294C ASSY -FILTER HEAD 1
51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters 70792C SCREW-#8-18 X .75 SS PHHL 4
51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters 70822C FTTNG-SUPERSEAL 1/4IN 1
51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters 70823C FTTNG-SUPERSEAL 3/8IN 1
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 40319C FTTNG-ORIFICE .200 DIA 1
models
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 50171C ORING-.364ID X .070 1
models
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1
models
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 56272C PDSTL-SHORT 1
models
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 56273C ASSY-HOUSING SHORT 1
models
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 75580C NUT -LOCKING 3/8-18 1
models
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 75702C SPACR-BUBBLER 1
models
56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo 75703C SPACR-BUBBLER SUPPORT 1
models
600037951640 ASSY -STRAINER Various Elkay & Halsey Taylor models 100147140560 [GASKT-DRAIN 1
600037951640 ASSY -STRAINER Various Elkay & Halsey Taylor models 100352940560 [GASKT-SLIP NUT 1
600037951640  [ASSY -STRAINER Various Elkay & Halsey Taylor models 110346220550 [NUT -LOCK11/2-111/2 1
600037951640  |ASSY -STRAINER Various Elkay & Halsey Taylor models 160270508640 [STRNR-BRIGHT 1
600037951640  |ASSY -STRAINER Various Elkay & Halsey Taylor models 160346008640 |TPIPE-11/40D X4 1
600037951640  |ASSY -STRAINER Various Elkay & Halsey Taylor models 160346308640 |NUT -SLIP 1-1/2 1
600037951640  [ASSY -STRAINER Various Elkay & Halsey Taylor models 161637308640 |PLUG -DRAIN 1-1/2 CP 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 102645440550 |ORING-.3591D X .139 2
600116618640 ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 110035742830 |[SPRNG-VALVE 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 110113242550 |WASHR-FLAT SS .378 ID x .824 OD 1
600116618640 ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 110113342550 [SPRNG-PACKING 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 110113442550 |WASHR-FLAT SS .378 ID x .604 OD 1




600116618640 ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 110113808550 |NUT -ADJUSTING 3/8-24 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 112705501550 |GASKT 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 114225642550 |WASHR-SS .392ID 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 160112708640 |CAP -HANDLE BRIGHT 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 160113651550 |ASSY -BALL BEARING & RETAINER 1
600116618640 ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 160116508640 [HANDL-LEVER BRIGHT 1
600116618640  |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 160253008550 |SLEEV-LOCK 1
600116618640 ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 162645508640 [ASSY -INCLINE STEM BRGHT CHROM 1
600116618640 ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-handles 600939218550 |STEM -W/SEAT WASHER ASSY 1
600148651640 ASSY -SUPPLY LINE W/AUTO REG Halsey Taylor older cross-handle regulator replacement 160118508640 [CAP -BRIGHT 1
600148651640  |ASSY -SUPPLY LINE W/AUTO REG Halsey Taylor older cross-handle regulator replacement 600116618640 [ASSY -STEM W/LEVER-BRIGHT 1
600148651640  |ASSY -SUPPLY LINE W/AUTO REG Halsey Taylor older cross-handle regulator replacement 600941818640 |ASSY -AUTO VALVE BODY W/REG 1
600661951550  |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 100118740560 |DIAPHRAGM 1
600661951550 ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 101209351740 |ASSY -CAP LESS LOGO 1
600661951550  [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 101420131560 |BODY -VALVE RH-CP 1
600661951550  |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 110091135550 [SPRNG- 1
600661951550  |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 110115708550 [NUT -RING 1 1/4-18 LOCK 1
600661951550 ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 110119108550 |NUT -DIAPHRAGM 10-32 1
600661951550 ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 114225742550 |WASHR-SS 1.51D 1
600661951550  |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 114225942550 |WASHR-SS .193/.196ID 2
600661951550  |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 160161708550 |FTTNG-ELBOW 1/4 X 3/8 1
600661951550 ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 164225116550 |BSHNG-AUTO REGULATOR 1
600661951550 ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 164226042550 |VALVE-AUTO REGULATOR 1
600661951550  |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models 600348851550 [ASSY -TUBE PROJECTOR 1
600755351590  |ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains 10003C BUTTN-PUSH STOP 1
600755351590  |ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains 100755942590 |STEM -P/B 7-3/8 1
600755351590 ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains 50003C BSHNG-SNAP IN 1
600755351590  [ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains 70021C SCREW-#8-32 X .25 SET 1
600755351590  |ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains 71036C CLIP-3/16 STUD LOCKING 1
600755351590  |ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains 75531C WASHR-FLAT .160/.175ID RUBBER 1
600805051550  |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 100118740560 |DIAPHRAGM 1
600805051550  [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 110091135550 |SPRNG- 1
600805051550  |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
600805051550  |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 114225742550 |WASHR-SS 1.51D 1
600805051550  [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
600805051550  [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 140978909880 |CARD -YELLOW 8050 1
600805051550 ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 161475516550 [BSHNG-AUTO REGULATOR 1
600805051550  |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
600805051550  |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
600814051640 ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers 100602640560 [WASHR-FLAT .218ID SEAT 1
600814051640  [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers 100821140560 |ORING-RUBBER 1
600814051640  [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers 114226442550 |SCREW-#8-32X3/8 RHMS 1
600814051640  [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers 114244042550 |SPRNG-PUSH BUTTON 1
600814051640 ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers 160813908640 [SLEEV-VALVE GF-CAP 1
600814051640  [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers 164225516550 |CUP -RETAINING 1
600814051640  [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers 164226242550 |STEM -PUSH BUTTON 1
600824051640  |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 100330240560 |WASHR-SEAT FOR 8240 1
600824051640 ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 100602640560 |WASHR-FLAT .218ID SEAT 1
600824051640  |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 100821140560 |ORING-RUBBER 1
600824051640  [ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 112705501550 |GASKT 1
600824051640  |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 114225842550 |WASHR-SS .156ID 1
600824051640 ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 114226442550 |SCREW-#8-32X3/8 RHMS 1
600824051640 ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 114244042550 [SPRNG-PUSH BUTTON 1
600824051640  |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 160814118640 |SLEEV-VALVE STEM 1
600824051640  |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 164225516550 |CUP -RETAINING 1
600824051640 ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers 164226242550 |STEM -PUSH BUTTON 1
600825051550 ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 100035440560 [WASHR-SEAT .188ID RUBBER 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 101420340550 |ORING-864ID (LG) 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 101420840550 |ORING-.362ID 2
600825051550  |ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 102645440550 |ORING-.3591D X .139 2
600825051550 ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 110035742830 [SPRNG-VALVE 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 110113242550 |WASHR-FLAT SS .378 ID x .824 OD 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 110113342550 |SPRNG-PACKING 1
600825051550  |ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 110113442550 [WASHR-FLAT SS .378 ID x.604 OD 1
600825051550 ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 110113808550 [NUT -ADJUSTING 3/8-24 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 112705501550 |GASKT 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 114225642550 |WASHR-SS .392ID 1
600825051550  |ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 114226342550 |SCREW-#8-32X3/8 RHMS 1
600825051550 ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 142645609570 [SP-BLUE CARD FOR 8250 KIT 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 160253008550 |SLEEV-LOCK 1
600825051550  [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers 160645118640 |FTTNG-RENEWABLE SEAT 1
600939218550 |STEM -W/SEAT WASHER ASSY Various old-style Halsey Taylor fountains & coolers 100035440560 |WASHR-SEAT .188ID RUBBER 1
600939218550 STEM -W/SEAT WASHER ASSY Various old-style Halsey Taylor fountains & coolers 114226342550 |SCREW-#8-32X3/8 RHMS 1
600939218550 STEM -W/SEAT WASHER ASSY Various old-style Halsey Taylor fountains & coolers 160113116550 [STEM -VALVE 1
600941818640  |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 100118740560 |DIAPHRAGM 1
600941818640  [ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 110091135550 [SPRNG- 1
600941818640 ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 110118408550 |SCREW-ADJUSTING 1




600941818640 ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 110119108550 |NUT -DIAPHRAGM 10-32 1
600941818640 ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 114225742550 |WASHR-SS 1.51D 1
600941818640  |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 114225942550 |WASHR-SS .193/.196ID 2
600941818640  [ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 160119208640 |CAP -FRONT BRIGHT 1
600941818640  [ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 160123918640 |BODY -VALVE 3/8 1
600941818640 ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 160645118640 |FTTNG-RENEWABLE SEAT 1
600941818640 ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 161475516550 |BSHNG-AUTO REGULATOR 1
600941818640  |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains 164226042550 |VALVE-AUTO REGULATOR 1
600941951640  |ASSY -1/2 LEVER HANDLE STOP Various old-style Halsey Taylor fountains & coolers 160211808640 |SP VALVE BODY 1/2 IN 1
600941951640 ASSY -1/2 LEVER HANDLE STOP Various old-style Halsey Taylor fountains & coolers 600116618640 [ASSY -STEM W/LEVER-BRIGHT 1
600985451640 ASSY -DRAIN PLUG AND ADAPTOR Various old-style Halsey Taylor fountains & coolers 10078C ADAPT-VP DRAIN PLUG 1
600985451640  [ASSY -DRAIN PLUG AND ADAPTOR Various old-style Halsey Taylor fountains & coolers 161637308640 |PLUG -DRAIN 1-1/2 CP 1
601033751590  |ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers 10003C BUTTN-PUSH STOP 1
601033751590  [ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers 101032542590 [STEM -P/B HBW, 3-1/8 1
601033751590  [ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers 50003C BSHNG-SNAP IN 1
601033751590  [ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers 70021C SCREW-#8-32 X .25 SET 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 110091135550 [SPRNG- 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.51D 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.1961D 2
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 160645118640 |FTTNG-RENEWABLE SEAT 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 160868208550 |BODY -VALVE RC8 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 161475516550 |BSHNG-AUTO REGULATOR 1
601038951920 BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601110851550 ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers 101461040560 [INSUL-TUBE 3/8-3/16 BULK 1
601110851550 ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers 160222708550 |[FTTNG-BUBBLER 3/8 1
601110851550  [ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers 161465208550 [FTTNG-ELBOW 1/4 X5/16 1
601110851550  [ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers 40778003 NUT -FLARE 5/16 X 5/16 1
601110851550 ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers 66583C TUBE - SOFT CU 5/16 X .0265 1
601180751550 ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 100118740560 [DIAPHRAGM 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 101420131560 |BODY -VALVE RH-CP 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601180751550 ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 110115708550 |NUT -RING 1 1/4-18 LOCK 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.51D 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601180751550 ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 161465208550 [FTTNG-ELBOW 1/4 X5/16 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601180751550  |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 600187851550 |ASSY -TUBE INLET 1
601180751550 ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers 600342151550 [TUBE -SUPPLY PROJ 5650 1
601416651550 ASSY -PROJECTOR CONNECTION Various old-style Halsey Taylor fountains & coolers 101473008550 [FTTNG-HOSE BARB 1
601416651550  [ASSY -PROJECTOR CONNECTION Various old-style Halsey Taylor fountains & coolers 160222708550 |[FTTNG-BUBBLER 3/8 1
601420051740  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
601420051740 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601420051740 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 101420131560 (BODY -VALVE RH-CP 1
601420051740  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601420051740  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 110115708550 |NUT -RING 1 1/4-18 LOCK 1
601420051740 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
601420051740 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 114225742550 [WASHR-SS 1.51D 1
601420051740  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601420051740  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
601420051740  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601420251550 ASSY -STEM Various old-style Halsey Taylor fountains & coolers 100035440560 [WASHR-SEAT .188ID RUBBER 1
601420251550  |ASSY -STEM Various old-style Halsey Taylor fountains & coolers 101420340550 |ORING-864ID (LG) 1
601420251550  |ASSY -STEM Various old-style Halsey Taylor fountains & coolers 101420531550 |CAP -SEAL 1
601420251550  |ASSY -STEM Various old-style Halsey Taylor fountains & coolers 101420731550 |VALVE-STEM 1
601420251550 ASSY -STEM Various old-style Halsey Taylor fountains & coolers 101420840550 [ORING-.3621D 2
601420251550 ASSY -STEM Various old-style Halsey Taylor fountains & coolers 110035742830 [SPRNG-VALVE 1
601420251550  |ASSY -STEM Various old-style Halsey Taylor fountains & coolers 114222442550 |SCREW-#8-10X1/2S/S 1
601420251550  |ASSY -STEM Various old-style Halsey Taylor fountains & coolers 114225642550 |WASHR-SS .392ID 1
601420251550 ASSY -STEM Various old-style Halsey Taylor fountains & coolers 162600408550 [NUT -HEX 3/8-24NF2 STEM 1
601420651550 ASSY -STEM (SERV) Various old-style Halsey Taylor fountains & coolers 100035440560 [WASHR-SEAT .188ID RUBBER 1
601420651550  [ASSY -STEM (SERV) Various old-style Halsey Taylor fountains & coolers 101420731550 |VALVE-STEM 1
601420651550  [ASSY -STEM (SERV) Various old-style Halsey Taylor fountains & coolers 114222442550 |SCREW-#8-10X1/2 S/S 1
601424051550 ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 100118740560 [DIAPHRAGM 1
601424051550 ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 101209351740 [ASSY -CAP LESS LOGO 1
601424051550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 101423931560 |BODY -VALVE LH-CP 1
601424051550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601424051550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 110115708550 [NUT -RING 1 1/4-18 LOCK 1
601424051550 ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 110119108550 |[NUT -DIAPHRAGM 10-32 1
601424051550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.51D 1
601424051550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601424051550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
601424051550 ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601451151550 ASSY -PUSHBUTTON Halsey Taylor top pushbutton activation models 101453431640 [CAP -PUSHBUTTON 1
601451151550 |ASSY -PUSHBUTTON Halsey Taylor top pushbutton activation models 101507531550 |STEM -PUSH BUTTON 1
601454951550 ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 100118740560 [DIAPHRAGM 1
601454951550  |ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601454951550 ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 101420131560 (BODY -VALVE RH-CP 1
601454951550  |ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 110091135550 |SPRNG- 1
601454951550  |ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
601454951550 ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 114225742550 [WASHR-SS 1.51D 1




601454951550  |ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601454951550 ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 164225116550 [BSHNG-AUTO REGULATOR 1
601454951550  |ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601456651550  |ASSY -COND & SHROUD Various old-style Halsey Taylor fountains & coolers 101452831560 |SHRD -FAN 1
601456651550  |ASSY -COND & SHROUD Various old-style Halsey Taylor fountains & coolers 111008343890 |SCREW-#10-24 X .62 HHMS 4
601474351550 ASSY -PUSH BUTTON & STEM(SERV) Various old-style Halsey Taylor fountains & coolers 10003C BUTTN-PUSH STOP 1
601474351550  [ASSY -PUSH BUTTON & STEM(SERV) Various old-style Halsey Taylor fountains & coolers 101431042590 |ASSY -CAP & ROD 1
601474351550  [ASSY -PUSH BUTTON & STEM(SERV Various old-style Halsey Taylor fountains & coolers 50003C BSHNG-SNAP IN 1
601474351550  |ASSY -PUSH BUTTON & STEM(SERV Various old-style Halsey Taylor fountains & coolers 70021C SCREW-#8-32 X .25 SET 1
601474351550  |ASSY -PUSH BUTTON & STEM(SERV Various old-style Halsey Taylor fountains & coolers 71036C CLIP-3/16 STUD LOCKING 1
601475751550 ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers 100118740560 [DIAPHRAGM 1
601475751550  |ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
601475751550  [ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601475751550 ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 100118740560 [DIAPHRAGM 1
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 100322740560 |GASKT-BLACK .68 X 1.03 2
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 101420131560 |BODY -VALVE RH-CP 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 101422231550 [FTTNG-COUPLING HOSE PLASTIC 1
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 101422431550 |NIPPL-PROJECTOR PLASTIC 1
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 101422543550 [CLAMP-HOSE 2
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 101461140560 [INSUL-TUBE 1/2 X 3/16 2
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 102607431560 |NUT -LOCK 1
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 110074243890 |[SCREW-3/8-24X1/2 HD MS ZP 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 110091135550 [SPRNG- 1
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 110115708550 [NUT -RING 1 1/4-18 LOCK 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 110119108550 |[NUT -DIAPHRAGM 10-32 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 114225742550 [WASHR-SS 1.51D 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 161455408550 [FTTNG-CONNECTOR 1/4 MALE 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 164225116550 [BSHNG-AUTO REGULATOR 1
601480051550 ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 164226042550 [VALVE-AUTO REGULATOR 1
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 401417131660 |TUBE -PVC 1/4ID X 21 1
601480051550  |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers 601420251550 [ASSY -STEM 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 100118740560 |DIAPHRAGM 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 100322740560 [GASKT-BLACK .68 X 1.03 2
601480151550  [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601480151550  |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 101422231550 |FTTNG-COUPLING HOSE PLASTIC 1
601480151550  |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 101422431550 |NIPPL-PROJECTOR PLASTIC 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 101422543550 |CLAMP-HOSE 2
601480151550  [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 101423931560 |BODY -VALVE LH-CP 1
601480151550  |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 101461140560 |INSUL-TUBE 1/2 X 3/16 2
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 102607431560 [NUT -LOCK 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 110074243890 |[SCREW-3/8-24X1/2 HD MS ZP 1
601480151550  [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 110091135550 |SPRNG- 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 110115708550 |NUT -RING 1 1/4-18 LOCK 1
601480151550  |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 114225742550 |WASHR-SS 1.5ID 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601480151550  [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 161455408550 |FTTNG-CONNECTOR 1/4 MALE 1
601480151550  |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601480151550 ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers 401417131660 |TUBE -PVC 1/4ID X 21 1
601480151550  [ASSY -COLD WATER LINE LH Various old-style Halsey Taylor fountains & coolers 601420251550 |ASSY -STEM 1
601482951550  |ASSY -STEM PLASTIC Various old-style (Pre-1993) fountains & coolers 100035440560 |WASHR-SEAT .188ID RUBBER 1
601482951550  [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 101420340550 |ORING-864ID (LG) 1
601482951550 ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 101420531550 [CAP -SEAL 1
601482951550  [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 101420840550 |ORING-.362ID 2
601482951550  [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 110035742830 |SPRNG-VALVE 1
601482951550  [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 114225642550 |WASHR-SS .392ID 1
601482951550 ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 114226342550 |SCREW-#8-32X3/8 RHMS 1
601482951550 ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 160541008550 [STEM -VALVE 1
601482951550  [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers 162600408550 [NUT -HEX 3/8-24NF2 STEM 1
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
601483751550 ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601483751550 ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 101420131560 (BODY -VALVE RH-CP 1
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 101422231550 |FTTNG-COUPLING HOSE PLASTIC 1
601483751550  |ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 101422431550 |NIPPL-PROJECTOR PLASTIC 1
601483751550 ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 101422543550 [CLAMP-HOSE 2
601483751550 ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 101461040560 [INSUL-TUBE 3/8-3/16 BULK 1
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 110115708550 |NUT -RING 1 1/4-18 LOCK 1
601483751550  |ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
601483751550 ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.5ID 1
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 164225416550 |FTTNG-MALE CONN-5/16 COPPER 1
601483751550 ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601483751550 ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 401482831660 |TUBE -PVC 1/4ID X 11 1
601483751550  [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers 601482951550 [ASSY -STEM PLASTIC 1
601517351550  |[ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
601517351550 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601517351550 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 101423931560 (BODY -VALVE LH-CP 1
601517351550  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601517351550  |[ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
601517351550 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 114225742550 [WASHR-SS 1.51D 1




601517351550  [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601517351550 ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 164225116550 [BSHNG-AUTO REGULATOR 1
601517351550  |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601521451550  [ASSY -DRAIN TUBE Various old-style Halsey Taylor fountains & coolers 160079408550 |NUT -FLARE 1/2 IN 1
601521451550  [ASSY -DRAIN TUBE Various old-style Halsey Taylor fountains & coolers 60812C TUBE -CU .500X.028 3
601576551550 ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 101569751550 |VALVE-CLIPPARD 1
601576551550  [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 104229751550 |REGUL-WATER (WATTS) 1
601576551550  [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 111573608550 [NUT -HEX 15/32-32 THD SPACER 1
601576551550  [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 160020308550 |NIPPL-1/4 NPT CLOSE 1
601576551550 ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 161572108550 [FTTNG-ELBOW 90 STREET 1
601576551550 ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 162705308550 |FTTNG-ELBOW 3/8TU X 1/4 NPT 1
601576551550  [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 162705408550 |FTTNG-ELBOW 3/8TU X 1/8 NPT 1
601576551550  [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers 27333C BRKT -VALVE MTG 1
601590551550 ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 100118740560 [DIAPHRAGM 1
601590551550 ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601590551550  |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 101420131560 |BODY -VALVE RH-CP 1
601590551550  |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 102607431560 |NUT -LOCK 1
601590551550  |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601590551550 ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
601590551550  |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.51D 1
601590551550  |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601590551550  |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 164225116550 |[BSHNG-AUTO REGULATOR 1
601590551550 ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 164225316550 |FTTNG-MALE CONN.-3/8 COPPER 2
601590551550  |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601599951550  |ASSY -FLEX TUBE BFC Various old-style Halsey Taylor fountains & coolers 160132708550 [NUT -FLARE 5/8-18 1
601599951550  |ASSY -FLEX TUBE BFC Various old-style Halsey Taylor fountains & coolers 161565716550 [TUBE -FLEX 3/80D X 26 1
601632251550 ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 100118740560 [DIAPHRAGM 1
601632251550 ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 101209351740 [ASSY -CAP LESS LOGO 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 101422543550 |CLAMP-HOSE 2
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 101423931560 |BODY -VALVE LH-CP 1
601632251550 ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 101449731550 |FTTNG-ELBOW 1/4 PIPEX1/4 HOSE 1
601632251550 ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 102607431560 [NUT -LOCK 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.5I1D 2
601632251550 ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 401496131660 [TUBE -PVC 1/4ID X 8 1
601632251550 ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 600116618640 [ASSY -STEM W/LEVER-BRIGHT 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 601632351550 |ASSY -PROJ CONN 1
601632251550  [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers 601635551550 |ASSY -INLET TUBE 1
601632351550  |ASSY -PROJ CONN Various old-style Halsey Taylor fountains & coolers 101473008550 |FTTNG-HOSE BARB 1
601632351550  |ASSY -PROJ CONN Various old-style Halsey Taylor fountains & coolers 160343208550 |FTTNG-CONNECTOR PROJ 5/16 1
601632751550 ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 100118740560 [DIAPHRAGM 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 101420131560 |BODY -VALVE RH-CP 1
601632751550 ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 101422543550 [CLAMP-HOSE 2
601632751550 ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 101449731550 |FTTNG-ELBOW 1/4 PIPEX1/4 HOSE 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 102607431560 |NUT -LOCK 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
601632751550 ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 114225742550 [WASHR-SS 1.51D 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
601632751550  |ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601632751550 ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 401420931660 [TUBE -PVC 1/4ID X 4 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 600116618640 [ASSY -STEM W/LEVER-BRIGHT 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 601632351550 |ASSY -PROJ CONN 1
601632751550  [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers 601636251550 |ASSY -INLET TUBE 5655 FTN 1
601635551550 ASSY -INLET TUBE Various old-style Halsey Taylor fountains & coolers 161635408550 |[FTTNG-ELBOW 1/4 MPT X 3/8SOL 1
601635551550 ASSY -INLET TUBE Various old-style Halsey Taylor fountains & coolers 401631716550 |TUBE -WATER INLET 1
601635951550  [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
601635951550  [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
601635951550 ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 110118408550 [SCREW-ADJUSTING 1
601635951550 ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
601635951550  [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.51D 1
601635951550  [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
601635951550  [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 160119208550 |CAP -FRONT PLAIN 1
601635951550 ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 160645118640 [FTTNG-RENEWABLE SEAT 1
601635951550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 161475516550 |BSHNG-AUTO REGULATOR 1
601635951550  [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
601635951550  |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers 601635851550 (BODY -VALVE W/ CUSP TUBE 1
601636151550 ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 101422543550 |CLAMP-HOSE 2
601636151550  [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 101449731550 |FTTNG-ELBOW 1/4 PIPEX1/4 HOSE 1
601636151550  [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 102607431560 |NUT -LOCK 1
601636151550  [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 401496131660 |[TUBE -PVC 1/4ID X 8 1
601636151550 ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 600116618640 [ASSY -STEM W/LEVER-BRIGHT 1
601636151550 ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 601632351550 |ASSY -PROJ CONN 1
601636151550  [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 601635551550 |ASSY -INLET TUBE 1
601636151550  [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers 601635951550 |ASSY -VALVE BODY LH 1
601636251550 ASSY -INLET TUBE 5655 FTN Various old-style Halsey Taylor fountains & coolers 161635408550 |[FTTNG-ELBOW 1/4 MPT X 3/8SOL 1
601636251550 ASSY -INLET TUBE 5655 FTN Various old-style Halsey Taylor fountains & coolers 401632116550 |TUBE -WATER INLET 1
601637151550  [ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers 100322740560 |GASKT-BLACK .68 X 1.03 2
601637151550  [ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers 101422543550 |CLAMP-HOSE 2
601637151550  |ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers 160929708550 |NIPPL-PIPE-3/8NPT X 1.25 L 1




601637151550  [ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers 401420931660 [TUBE -PVC 1/4ID X 4 1
601637151550 ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers 601632351550 [ASSY -PROJ CONN 1
602600351550  |ASSY -COLD WATER LINE Various old-style Halsey Taylor fountains & coolers 164229316550 |NIPPL-BUBBLER 1
602600351550  |ASSY -COLD WATER LINE Various old-style Halsey Taylor fountains & coolers 60811C TUBE -CU .375X.028 1
602622951550  [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
602622951550 VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
602622951550  [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 101420131560 |BODY -VALVE RH-CP 1
602622951550  [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 102607431560 |NUT -LOCK 1
602622951550  [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
602622951550 VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
602622951550 VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 114225742550 [WASHR-SS 1.51D 1
602622951550  [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
602622951550  [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
602622951550 VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
602622951550 VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers 601420251550 |ASSY -STEM 1
602623051550  [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
602623051550  [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
602623051550 VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 101423931560 |BODY -VALVE LH-CP 1
602623051550 VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 102607431560 [NUT -LOCK 1
602623051550  [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
602623051550  [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 110115708550 |NUT -RING 1 1/4-18 LOCK 1
602623051550 |VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 110119108550 [NUT -DIAPHRAGM 10-32 1
602623051550 VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 114225742550 [WASHR-SS 1.51D 1
602623051550  [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
602623051550  [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
602623051550  [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
602623051550 VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers 601420251550 |ASSY -STEM 1
602643051550 ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 100118740560 [DIAPHRAGM 1
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 101420131560 |BODY -VALVE RH-CP 1
602643051550 ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 102607431560 [NUT -LOCK 1
602643051550 ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 110074243890 |[SCREW-3/8-24X1/2 HD MS ZP 1
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.5I1D 1
602643051550 ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 164225316550 |FTTNG-MALE CONN.-3/8 COPPER 2
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 164226042550 |VALVE-AUTO REGULATOR 1
602643051550 ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 402674143730 [VALVE-LEVER UNIVERSAL 1
602643051550  |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers 601420251550 |ASSY -STEM 1
602643851640 [STEM -PUSHBUTTON AS PACKED Various old-style Halsey Taylor fountains & coolers 164226242550 |STEM -PUSH BUTTON 1
602650251550  |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
602650251550  |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
602650251550 ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 101420131560 (BODY -VALVE RH-CP 1
602650251550  |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
602650251550  |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 110115708550 |NUT -RING 1 1/4-18 LOCK 1
602650251550 ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 110119108550 |[NUT -DIAPHRAGM 10-32 1
602650251550 ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 114225742550 [WASHR-SS 1.51D 1
602650251550  |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
602650251550 ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 160161708550 |FTTNG-ELBOW 1/4 X 3/8 2
602650251550  |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 164225116550 |BSHNG-AUTO REGULATOR 1
602650251550 ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 164226042550 (VALVE-AUTO REGULATOR 1
602650251550  |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers 601420251550 |ASSY -STEM 1
602663851550  |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 100118740560 |DIAPHRAGM 1
602663851550  [ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 101209351740 |ASSY -CAP LESS LOGO 1
602663851550 ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 101420131560 |BODY -VALVE RH-CP 1
602663851550  |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 110091135550 |SPRNG- 1
602663851550  |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 110115708550 [NUT -RING 1 1/4-18 LOCK 1
602663851550  |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 110119108550 |NUT -DIAPHRAGM 10-32 1
602663851550 ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 114225742550 |WASHR-SS 1.51D 1
602663851550 ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 114225942550 |WASHR-SS .193/.196ID 2
602663851550 ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 160161708550 [FTTNG-ELBOW 1/4 X 3/8 1
602663851550 ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 161465208550 |FTTNG-ELBOW 1/4 X 5/16 1
602663851550 ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 164225116550 [BSHNG-AUTO REGULATOR 1
602663851550 ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 164226042550 (VALVE-AUTO REGULATOR 1
602663851550  |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers 601420251550 |ASSY -STEM 1
602673051550 ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers 101461040560 |INSUL-TUBE 3/8-3/16 BULK 2
602673051550  |ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers 160132708550 |NUT -FLARE 5/8-18 1
602673051550 ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers 161565716550 [TUBE -FLEX 3/80D X 26 1
602673051550  |ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers 164225216550 |NIPPL-PROJECTOR 1
602703251550 KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers 102639931640 |PLUG -DRAIN L/LOGO CP 1
602703251550 KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers 160270508640 |STRNR-BRIGHT 1
602703251550 KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers 45695C PRCLR-(SERVICE) 1
602703351550 KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers 100147140560 |GASKT-DRAIN 1
602703351550 KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers 102639931640 |PLUG -DRAIN L/LOGO CP 1
602703351550 KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers 160270508640 |STRNR-BRIGHT 1
602703351550 KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers 45697C PRCLR-(SERVICE) 1
602703851550 KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models 100147140560 |GASKT-DRAIN 1
602703851550 KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models 102639931640 |PLUG -DRAIN L/LOGO CP 1
602703851550 KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models 160270508640 [STRNR-BRIGHT 1
602703851550 KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models 40778002 NUT -FLARE 1/4 X 1/4 1
602703851550 KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models 45678C PRCLR 1
602703851550 KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models 55913C ADAPT-DRAIN W/O HOLES 1
602703851550 KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models 75588C NUT -SLIP JOINT 1-1/4 1
621403251550 PRTPK-DRAIN PLUG Various Elkay & Halsey Taylor models 100147140560 |GASKT-DRAIN 1




621403251550 PRTPK-DRAIN PLUG Various Elkay & Halsey Taylor models 160270508640 |STRNR-BRIGHT 1
621403251550 PRTPK-DRAIN PLUG Various Elkay & Halsey Taylor models 161637308640 |PLUG -DRAIN 1-1/2 CP 1
621596051550 KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RC8, -1, -2) 601038951920 |BODY -AUTO VALVE W/REG 1
621596051550 KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RC8, -1, -2) 601038951920|BODY -AUTO VALVE W/REG 1
621596051550 KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RC8, -1, -2) 160868408550 |NIPPL-3/8-18 NPT x 2.63 1
66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze valve 401469016550 |CUP -DRAIN DRILLED 2
assembles
66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze valve 45885C CUP - DRAIN - 2 HOLES 1
assembles
66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze valve 45886C TAILPIECE MODIFIED 1
assembles
66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze valve 66785C TUBE - CU .500 X 3.80 1
assembles
66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze valve 66786C TUBE - CU .500 X 3.17 1
assembles
66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze valve 66787C TUBE - CU .500 X 2.97 1
assembles
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 28890C BRKT-WC VALVE MTG 1
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 402655543730 |BRKT -WC CONDENSER MTG 1
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 66797C VALVE-WATER REGULATING 1
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 66803C CNDSR-WATER COOLED 1
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 66804C TUBE-FORMED WC CNDSR 1
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 70002C SCREW-#10 X .50 HHSM 4
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 70426C SCREW-#8-32 X .25 THMS 2
66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models 75561C FTTNG-ELBOW 3/8 X 3/8 NPT X 90 2
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 26853C BRKT -WC CONDENSER MTG 1
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 28890C BRKT-WC VALVE MTG 1
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 66797C VALVE-WATER REGULATING 1
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 66803C CNDSR-WATER COOLED 1
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 66804C TUBE-FORMED WC CNDSR 1
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 70002C SCREW-#10 X .50 HHSM 4
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 70426C SCREW-#8-32 X .25 THMS 2
66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models 75561C FTTNG-ELBOW 3/8 X 3/8 NPT X 90 2
66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models 28274C BRKT -WC CONDENSER MTG 1
66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models 28891C BRKT-WC VALVE MTG (CR) 1
66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models 66801C VALVE-WTR REG. (CR) 1
66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models 66806C CNDSR-WATER COOLED (CR) 1
66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models 66808C TUBE-FORMED WC CNDSR (CR) 1
66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models 70426C SCREW-#8-32 X .25 THMS 2
66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models 75604C SCREW - #10 x .50 SS 4
75559C ASSY -ROD PUSH Elkay LK616A freeze-box assembly for EDFB12FPK models\ 70378C ROD -PUSH 1
75559C ASSY -ROD PUSH Elkay LK616A freeze-box assembly for EDFB12FPK models\ 75558C ROD -PUSH 1
92230C KIT -EVAP ERS1 ERS1 & SJ1 models 31513C CNTRL-COLD 1
92230C KIT -EVAP ERS1 ERS1 & SJ1 models 62031C PLUG -DRAIN (316 SS) 1
92230C KIT -EVAP ERS1 ERS1 & SJ1 models 66199C DRIER-R134AID .077 1
92230C KIT -EVAP ERS1 ERS1 & SJ1 models 66363C EVAP -ERS11D 1
92445C KIT -VALVE SEAL Various Elkay models 100330240560 |WASHR-SEAT FOR 8240 1
92445C KIT -VALVE SEAL Various Elkay models 100602640560 |WASHR-FLAT .218ID SEAT 1
92445C KIT -VALVE SEAL Various Elkay models 101420340550 |ORING-864ID (LG) 1
92445C KIT -VALVE SEAL Various Elkay models 114225842550 |WASHR-SS .1561D 1
92445C KIT -VALVE SEAL Various Elkay models 114226442550 [SCREW-#8-32X3/8 RHMS 1
92445C KIT -VALVE SEAL Various Elkay models 114244042550 |SPRNG-PUSH BUTTON 1
92445C KIT -VALVE SEAL Various Elkay models 164225516550 [CUP -RETAINING 1
92445C KIT -VALVE SEAL Various Elkay models 50164C WASHR-FLAT .15ID TEFLON 1
92445C KIT -VALVE SEAL Various Elkay models 51461C ORING-.114ID X .070 1
92450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include the 15005C NUT -REG RETAIN 1 1/8-24 1
regulator
92450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include the 50986C HOLDR-REGULATOR 1
regulator
92450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include the 62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 2
regulator
92450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include the 92432C TAG -INSTRUCTION REG REPLACEMENT 1
regulator
92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard” bubbler 40319C FTTNG-ORIFICE .200 DIA 1
92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard” bubbler 50171C ORING-.364ID X .070 1
92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard” bubbler 50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1
92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard” bubbler 55997C PDSTL-EZ 1
92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard” bubbler 56011C ASSY-HOUSING EZ 1
92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard  bubbler 62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 1
92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard” bubbler 75580C NUT-LOCKING 3/8-1/8 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 100322740560 [GASKT-BLACK .68 X 1.03 2
92776C KIT -BFC REGUL RPMNT Old-style BFC models 111516043890 |PIN -COT R-SQ CUT-1/8 X 3L 2
92776C KIT -BFC REGUL RPMNT Old-style BFC models 15005C NUT -REG RETAIN 1 1/8-24 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 23004C BRKT -REG MNTG (BFC) 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 40045C NUT -HEX 1 5/16UN-2B UNPLATED 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 40048C BUTTN-CP 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 40116C NUT -COVER 1 1/8-24 UNPLTD 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 401475143730 |STRIP-SPEED CLIP 2
92776C KIT -BFC REGUL RPMNT Old-style BFC models 50986C HOLDR-REGULATOR 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 51544C BUBLR-.4GPM CP 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 51576C BRKT -VALVE&PUSHBAR MTG 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 55994C TUBE -POLY 1/4X.040 WALL 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 55996C STRNR-IN LINE 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 60291C SCRN -SS 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 61314C REG -W/GREEN SPRING 1




92776C KIT -BFC REGUL RPMNT Old-style BFC models 70002C SCREW-#10 X .50 HHSM 2
92776C KIT -BFC REGUL RPMNT Old-style BFC models 70745C FTTNG-UNION-3/8 X 1/4 TUBE 1
92776C KIT -BFC REGUL RPMNT Old-style BFC models 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 2
96831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009 45351C ASSY -WASTE LINE 1
96831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009 56121C ELBOW-DRAIN 1
96831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009 75588C NUT -SLIP JOINT 1-1/4 1
96831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009 75589C WASHR-SEAL 1
96832C KIT -WASTE LINE ASSY Various Elkay models 56121C ELBOW-DRAIN 1
96832C KIT -WASTE LINE ASSY Various Elkay models 66400C ASSY -TUBE WASTE 1
96832C KIT -WASTE LINE ASSY Various Elkay models 75588C NUT -SLIP JOINT 1-1/4 1
96832C KIT -WASTE LINE ASSY Various Elkay models 75589C WASHR-SEAL 1
96846C KIT -WASTE LINE ASSY Various Elkay models 45677C ASSY -WASTELINE 1
96846C KIT -WASTE LINE ASSY Various Elkay models 56121C ELBOW-DRAIN 1
96846C KIT -WASTE LINE ASSY Various Elkay models 75588C NUT -SLIP JOINT 1-1/4 1
96846C KIT -WASTE LINE ASSY Various Elkay models 75589C WASHR-SEAL 1
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 100322740560 |GASKT-BLACK .68 X 1.03 4
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 15007C NIPPLE-BUBBLER (GF) 1
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 55994C TUBE -POLY 1/4X.040 WALL 4
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 70682C FTTNG-TEE 1/4 1
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 70683C FTTNG-UNION-1/4 1
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 75513C FTTNG-1/4 PRESS IN 1
96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models 75630C GLASS FILLER-GOOSENECK 1
96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall 56121C ELBOW-DRAIN 1
mount)
96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall 66346C TUBE -WASTE 1
mount)
96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall 75588C NUT -SLIP JOINT 1-1/4 1
mount)
96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall 75589C WASHR-SEAL 1
mount)
96884C KIT -BASIN & LINER OVL Halsey Taylor OVL-II™ Stainless Steel models 27000C LINER-BASIN OVL FTN. 1
96884C KIT -BASIN & LINER OVL Halsey Taylor OVL-II™ Stainless Steel models 27006C BASIN-OVL FTN 1
96886C KIT-WASTE/DRAIN RIGHT SIDE (EDF310C, 7030) Elkay EDF310C & Halsey Taylor 7030 Fountain (right side drain 45330C TUBE -WASTE ARM-J 16.75 1
only). For full drain system, use p/n LK605.
96886C KIT-WASTE/DRAIN RIGHT SIDE (EDF310C, 7030) Elkay EDF310C & Halsey Taylor 7030 Fountain (right side drain 45336C ASSY -STRAINER & FERRULE 1
only). For full drain system, use p/n LK605.
96886C KIT-WASTE/DRAIN RIGHT SIDE (EDF310C, 7030) Elkay EDF310C & Halsey Taylor 7030 Fountain (right side drain 50074C GASKT-TAILPIPE 1
only). For full drain system, use p/n LK605.
96965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models 56121C ELBOW-DRAIN 1
96965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models 66338C TPIPE-S SERIES 1
96965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models 75588C NUT -SLIP JOINT 1-1/4 1
96965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models 75589C WASHR-SEAL 1
97017C KIT -DRAIN TUBE Halsey Taylor RC8 models 56121C ELBOW-DRAIN 1
97017C KIT -DRAIN TUBE Halsey Taylor RC8 models 66347C TUBE -WASTE RC8 1
97017cC KIT -DRAIN TUBE Halsey Taylor RC8 models 75588C NUT -SLIP JOINT 1-1/4 1
97017C KIT -DRAIN TUBE Halsey Taylor RC8 models 75589C WASHR-SEAL 1
97247C KIT-75535C VR SCREWS (8) & 75521C BIT Outdoor Tubular Steel models 75521C BIT -PINNED TORX T-27 1
97247C KIT-75535C VR SCREWS (8) & 75521C BIT Outdoor Tubular Steel models 75535C SCREW-1/4-20 X .75 PINNED TORX 8
97310C KIT -RC12 PRECOOLER RC12 models 45440C PRCLR-RC12 1
97310C KIT -RC12 PRECOOLER RC12 models 56121C ELBOW-DRAIN 1
97310C KIT -RC12 PRECOOLER RC12 models 75588C NUT -SLIP JOINT 1-1/4 1
97310C KIT -RC12 PRECOOLER RC12 models 75589C WASHR-SEAL 1
97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models 15009C ASSY -BUBBLER NIPPLE 1
97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models 45866C BODY-BUBBLER (SHORT) 1
97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models 56305C GASKT-VR BUBBLER 2
97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models 60291C SCRN -SS 1
97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models 62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 1
97969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models 45896C TUBE-DRAIN 1
97969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models 56118C FTTNG-DRAIN 1
97969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models 56182C BRKT-DRAIN ADAPTER (EZ) 1
97969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models 70444C CLAMP-DRAIN GASKET 1
97970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers 45894C TUBE-DRAIN 1
97970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers 56118C FTTNG-DRAIN 1
97970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers 56182C BRKT-DRAIN ADAPTER (EZ) 1
97970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers 70444C CLAMP-DRAIN GASKET 1
98016C KIT -SOLENOID REPLACEMENT HACEE models 31272C VALVE-SOLENOID 1
98016C KIT -SOLENOID REPLACEMENT HACEE models 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1
98016C KIT -SOLENOID REPLACEMENT HACEE models 75507C FTTNG-1/4NPTF X 1/40D 2
98164C KIT -1/4" PRESS-IN FITTING Various Elkay & Halsey Taylor models 56160C ORING-.237 ID X .438 2
98164C KIT -1/4" PRESS-IN FITTING Various Elkay & Halsey Taylor models 75692C FTTNG-1/4" PRESS-IN 1
98169C KIT -SOLENOID CAP/SCRN/O-RING Elkay EZ and Halsey Taylor HTV/ HTVZ models 56259C PRTPK-SOLENOID CAP/SCRN/O-RING 1
98172C ASSY-3HOLE BASIN Elkay Deluxe EF(TL)A, EFW, EWCA, EW(TL)A, LF(TL)A, LL67, LWCE, (21288C BASIN-2H DEBURRED 1
LW(TL)A, OFA, WGA glass-filler models
98172C ASSY-3HOLE BASIN Elkay Deluxe EF(TL)A, EFW, EWCA, EW(TL)A, LF(TL)A, LL67, LWCE, |70114C STUD -WELD #10-32X.50 2
LW(TL)A, OFA, WGA glass-filler models
98180C COMPR-SRVC PAK_115V PW RPLMT EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models 0000001193 COMPR-ASSY 115V EM45HHR 1
98180C COMPR-SRVC PAK_115V PW RPLMT EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models 98182C LABEL- 3.80 OZ CHARGE R134A 1
98180C COMPR-SRVC PAK_115V PW RPLMT EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models 98183C LABEL- 3.20 OZ CHARGE R134A 1
98181C KIT -66301C HEATX-DRIER EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models 66201C DRIER-R134A 1D.092 1
98181C KIT -66301C HEATX-DRIER EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models 66301C HEATX 1
98195C KIT -PW COMPR RPLMT W/HEAT-X EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models 98180C COMPR-SRVC PAK_115V PW RPLMT 1
98195C KIT -PW COMPR RPLMT W/HEAT-X EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models 98181C KIT -66301C HEATX-DRIER 1
98263C KIT-HBW ACCESSORY PANEL HBW models 20599C ANGLE-STIFFENER MB 1
98263C KIT-HBW ACCESSORY PANEL HBW models 28698C PANEL-ACCESSORY 1
98265C KIT -HT FTN REPLACEMENT To replace HT-E/HT-S Series with the HRFE Series 28612C REAR REINFORCING PLATE 1




98265C KIT -HT FTN REPLACEMENT To replace HT-E/HT-S Series with the HRFE Series 45330C TUBE -WASTE ARM-J 16.75 1

98287C ASSY-BUBLR VR W/SCREEN & SCREW Elkay & Halsey Taylor Outdoor Stone Aggregate Fountains - except|110544942550 |SCREW-#8-32 X .125 SET 1
4591 style

98287C ASSY-BUBLR VR W/SCREEN & SCREW Elkay & Halsey Taylor Outdoor Stone Aggregate Fountains - except|45869C BUBLR-VR W/SET SCREW 1
4591 style

98287C ASSY-BUBLR VR W/SCREEN & SCREW Elkay & Halsey Taylor Outdoor Stone Aggregate Fountains - except|60291C SCRN -SS 1
4591 style

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 1000001865 TUBE -CU 1/4" X 12" (1 EXP) 1

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 28534C BRKT-STRAIN RELIEF 1

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 28704C BRKT -HT MNTG (EFHAS) 1

98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models 28719C BRKT -CLAMP 1

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 36219C CORD -POWER 1

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 36261C ASSY -HOT TANK (ISE-SS) 1

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 38397000 BSHNG-STRAIN RELIEF 1

98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models 50210C TIE -WRAP IT 2

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 55994C TUBE -POLY 1/4X.040 WALL 2

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 56279C TUBING-5/16"0.D.X3/16"1.D. PVC 2

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 66765C TUBE-HOT WATER OUTLET 1

98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models 70002C SCREW-#10 X .50 HHSM 6

98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models 70682C FTTNG-TEE 1/4 1

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 70683C FTTNG-UNION-1/4 1

98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models 75506C SCREW-#10 X .75 HHSM 2

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 1000001865 TUBE -CU 1/4" X 12" (1 EXP) 1

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 111411443890 |SCREW-#8-36 X .38, TYPE23,HH THREAD CUTT 1

98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 28439C BRKT -HTNK MNTNG (SCWT) 1

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 28719C BRKT -CLAMP 1

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 36219C CORD -POWER 1

98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 36261C ASSY -HOT TANK (ISE-SS) 1

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 55994C TUBE -POLY 1/4X.040 WALL 1

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 56279C TUBING-5/16"0.D.X3/16"1.D. PVC 2

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 70002C SCREW-#10 X .50 HHSM 4

98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 70682C FTTNG-TEE 1/4 1

98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 70683C FTTNG-UNION-1/4 1

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 70793C FTTNG-ELBOW 1/4 X 90 1

98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models 75506C SCREW-#10 X .75 HHSM 2

98320C KIT-CONDENSER 66764C RPLCMINT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor SJ10, 66305C CNDSR-2 ROW 134A 1
$10000 models with Bois D'Arc Type B condenser

98320C KIT-CONDENSER 66764C RPLCMNT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor SJ10, 98321C LABEL-5.88 OZ. CHARGE R134A 0
$10000 models with Bois D'Arc Type B condenser

98320C KIT-CONDENSER 66764C RPLCMINT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor SJ10, 98322C LABEL-4.90 OZ. CHARGE R134A 0
$10000 models with Bois D'Arc Type B condenser

98320C KIT-CONDENSER 66764C RPLCMNT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor SJ10, 98365C LABEL-5.50 OZ. CHARGE R134A 0
$10000 models with Bois D'Arc Type B condenser

98320C KIT-CONDENSER 66764C RPLCMINT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor SJ10, 98467C LABEL-4.38 OZ. CHARGE R134A 0
$10000 models with Bois D'Arc Type B condenser

98356C KIT-TAILPIPE ASSY SIMUL RECESS ESWA & HBW models 40575C ASSY -STRAINER & FERRULE CP 1

98356C KIT-TAILPIPE ASSY SIMUL RECESS ESWA & HBW models 45871C TPIPE-ESWA/HBW 1

98356C KIT-TAILPIPE ASSY SIMUL RECESS ESWA & HBW models 50074C GASKT-TAILPIPE 1

98362C KIT-CONDENSER 66305C REPLACEMENT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor SJ10, 66764C CNDSR-2 ROW 134A 1
$10000 models with Heatcraft 2CM-I-26C or Modine Type R
condenser

98418C KIT - HTV COND. RPLCMNT Halsey Taylor HTV models 66762C CNDSR-HTV 1

98466C KIT-SOLENOID VLV/REG. ASSY. EZ/HTV models (Rev C & up) 36247C VALVE - SOLENOID 115V 1

98466C KIT-SOLENOID VLV/REG. ASSY. EZ/HTV models (Rev C & up) 56082C NUT-REGULATOR 1

98466C KIT-SOLENOID VLV/REG. ASSY. EZ/HTV models (Rev C & up) 66654C REG. ASSY - W/RED INTRNL SPRING 1

98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal- 15007C NIPPLE-BUBBLER (GF) 1
Resistant bubblers

98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal- 45878C BUBBLER -VRC/HVR (GREEN) 1
Resistant bubblers

98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal- 56305C GASKT-VR BUBBLER 2
Resistant bubblers

98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal- 60291C SCRN -SS 1
Resistant bubblers

98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal- 75513C FTTNG-1/4 PRESS IN 1
Resistant bubblers

98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-Guard’ 40680C FITTING-ORIFICE .153 DIA LOW FLOW 1
bubbler

98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-Guard” 50171C ORING-.364ID X .070 1
bubbler

98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-Guard" 50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1
bubbler

98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-Guard” 55997C PDSTL-EZ 1
bubbler

98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-Guard” 56011C ASSY-HOUSING EZ 1
bubbler

98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-Guard’ 75580C NUT-LOCKING 3/8-1/8 1
bubbler

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 55994C TUBE -POLY 1/4X.040 WALL 6

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 56160C ORING-.237 ID X .438 10

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 56161C ORING-.299 ID X .500 1

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 56162C ORING-.362 ID X .563 2

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 56307C TUBE -POLY 3/8X.062 WALL 3

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 70822C FTTNG-SUPERSEAL 1/4IN 1

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 70823C FTTNG-SUPERSEAL 3/8IN 1

98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models 75692C FTTNG-1/4" PRESS-IN 5




98533C KIT - HALSEY/TAYLOR DOUBLE BUBBLER Halsey Taylor with chrome-plated plastic Double Bubbler™ 100322740560 |GASKT-BLACK .68 X 1.03 2
98533C KIT - HALSEY/TAYLOR DOUBLE BUBBLER Halsey Taylor with chrome-plated plastic Double Bubbler™ 51544C BUBLR-.4GPM CP 1
98533C KIT - HALSEY/TAYLOR DOUBLE BUBBLER Halsey Taylor with chrome-plated plastic Double Bubbler™ 56159C NIPPL-BUBBLER 1.11" (PLASTIC) 1
98535C KIT - SVC FOR EMI70HNR COMPR Most Elkay & Halsey Taylor 4, 8 GPH 115V models 35768C COVER-RELAY 1
98535C KIT - SVC FOR EMI70HNR COMPR Most Elkay & Halsey Taylor 4, 8 GPH 115V models 35959C RELAY-115V 213514121 1
98535C KIT - SVC FOR EMI70HNR COMPR Most Elkay & Halsey Taylor 4, 8 GPH 115V models 36158C OVRLD-115V 5TM762NFBZZ 1
98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton bubbler 15005C NUT -REG RETAIN 1 1/8-24 1
models
98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton bubbler  |40048C BUTTN-CP 1
models
98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton bubbler 40089C NUT -COVER 1-1/8-24 CP 1
models
98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton bubbler  |40169C NUT -HEX 1 5/16-20UN CP 1
models
98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton bubbler 50986C HOLDR-REGULATOR 1
models
98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton bubbler 61313C REG -W/ SPRING 1
models
98537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models 50129C BUMPR-CORK/RUBBER 2
98537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models 50212C RIVET-DRIVE TYPE 10
98537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models 51531C BLOCK-PIVOT 6
98537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models 51667C BUMPR-PRESS BAR 2
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) [(36296C BFCONTROL BOARD 1
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |36297C BF LED BOARD 1
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) [(36298C BF IR BOARD 1
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |56328C LENS - EE 1
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) (70016C NUT -HEX 10-32 2
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PANH[ 4
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) (75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 4
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |75736C WASHER #4 2
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) (75737C SPACER .250 X .125 2
98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |75749C WASHR-FLAT NYLON .257 I.D. 4
98544C KIT - EE SENSOR EZH20°® & HydroBoost® Indoor Models (except Vandal-Resistant) (36298C BF IR BOARD 1
98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |56328C LENS - EE 1
98544C KIT - EE SENSOR EZH20°® & HydroBoost® Indoor Models (except Vandal-Resistant) (75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 2
98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |75736C WASHER #4 2
98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) |75737C SPACER .250 X .125 2
98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-Resistant) (75749C WASHR-FLAT NYLON .257 I.D. 4
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 28905C SOLENOID BRACKET 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 28936C SOLENOID SHIELD BF - RETRO 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 36293C SOLENOID VALVE 120V 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 56331C CONNECTOR 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 66728C TUBE-FORMED 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 70016C NUT -HEX 10-32 2
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 70288C SCREW-#10X.37 HHSM 2
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 70745C FTTNG-UNION-3/8 X 1/4 TUBE 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H] 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models P05031 FULL FLOW HIDDEN AERATOR 1
98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models P05032 Cache TT Hidden Aerator Install Key 1
98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models 56331C CONNECTOR 1
98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models 75625C SCREW - #8 X .50" LG. HI-.LOW 6 LOBE PANH]| 1
98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models P05031 FULL FLOW HIDDEN AERATOR 1
98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models P05032 Cache TT Hidden Aerator Install Key 1
98547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models 28908C CLIP - TOP COVER 1
98547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models 56323C COVER-TOP LT GRAY LK 1
98547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models 75726C PALNUT .187 X .437 2
98547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models 75729C SCREW 1/4 - 20 SBHS 2
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 0000001144 FTTNG-TEE 1/4x1/4 x 3/8 1
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 55994C TUBE -POLY 1/4X.040 WALL 2
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 56307C TUBE -POLY 3/8X.062 WALL 4
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 70016C NUT -HEX 10-32 6
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 70288C SCREW-#10X.37 HHSM 5
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 70682C FTTNG-TEE 1/4 1
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 70745C FTTNG-UNION-3/8 X 1/4 TUBE 2
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PANHl] 6
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 5
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 75729C SCREW 1/4 - 20 SBHS 2
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 75735C NUT 8-32 SST 5
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 75736C WASHER #4 3
98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models 75737C SPACER .250 X .125 3




98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20°® In-Wall, Integral & Surface Mount models 28939C LK DRAIN COVER - BOTTLE FILLER 1
98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20° In-Wall, Integral & Surface Mount models 56333C DRAIN TRAY LT GRAY LK 1
98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20°® In-Wall, Integral & Surface Mount models 56356C SNAP BUSHING 1-1/8 1
98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20°® In-Wall, Integral & Surface Mount models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H 2
98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20°® In-Wall, Integral & Surface Mount models 75726C PALNUT .187 X .437 6
98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20° In-Wall, Integral & Surface Mount models 75730C WASHER - #8 TYPE B 2
98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20° In-Wall, Integral & Surface Mount models 75731C SCREW SOCKET HD #10-24 X .50 2
98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models 28940C HT DRAIN COVER - BOTTLE FILLER 1
98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models 56333C DRAIN TRAY LT GRAY LK 1
98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models 56356C SNAP BUSHING 1-1/8 1
98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN H 2
98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models 75726C PALNUT .187 X .437 6
98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models 75730C WASHER - #8 TYPE B 2
98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models 75731C SCREW SOCKET HD #10-24 X .50 2
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 36296C BFCONTROL BOARD 1
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 36297C BF LED BOARD 1
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 36298C BF IR BOARD 1
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 56328C LENS - EE 1
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 70016C NUT -HEX 10-32 2
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PANH[ 4
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 4
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 75736C WASHER #4 2
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 75737C SPACER .250 X .125 2
98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models 75749C WASHR-FLAT NYLON .257 I.D. 4
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 28905C SOLENOID BRACKET 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 28936C SOLENOID SHIELD BF - RETRO 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 36294C SOLENOID VALVE 220V 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 56331C CONNECTOR 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 66728C TUBE-FORMED 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 70016C NUT -HEX 10-32 2
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 70288C SCREW-#10X.37 HHSM 2
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 70745C FTTNG-UNION-3/8 X 1/4 TUBE 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models 75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PANH[ 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models P05031 FULL FLOW HIDDEN AERATOR 1
98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models P05032 Cache TT Hidden Aerator Install Key 1
98666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models 28908C CLIP - TOP COVER 1
98666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models 56323C-001 COVER - TOP CHARCOAL HT 1
98666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models 75726C PALNUT .187 X .437 2
98666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models 75729C SCREW 1/4 - 20 SBHS 2
98667C KIT-HTHB DRAIN MAT & MAT COVER REPLACEMENT HydroBoost® Retrofit and Bottle Filler/Water Cooler combo 56360C-001 DRAIN MAT COVER CHARCOAL HT 1
models
98667C KIT-HTHB DRAIN MAT & MAT COVER REPLACEMENT HydroBoost® Retrofit and Bottle Filler/Water Cooler combo 56361C-001 DRAIN MAT BF CHARCOAL HT 1
models
98667C KIT-HTHB DRAIN MAT & MAT COVER REPLACEMENT HydroBoost® Retrofit and Bottle Filler/Water Cooler combo 75745C SCREW #8 HI-LO X .312 4
models
98670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting 38417001 SCREW-#8-18X.37 HHSM 2
98670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting 56332C SNAP BUSHING 1-3/8 1
98670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting 70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1
98670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting 75733C PUNCH 1-3/8 1
98675C KIT - DRAIN MAT & COVER ASSY EZH20® Retrofit and Bottle Filler/Water Cooler combo models 56360C DRAIN MAT COVER LT GRAY LK 1
98675C KIT - DRAIN MAT & COVER ASSY EZH20¢® Retrofit and Bottle Filler/Water Cooler combo models 56361C DRAIN MAT BF LT GRAY LK 1
98675C KIT - DRAIN MAT & COVER ASSY EZH20® Retrofit and Bottle Filler/Water Cooler combo models 75745C SCREW #8 HI-LO X .312 4
98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers 100147140560 [GASKT-DRAIN 1
98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers 100322740560 |GASKT-BLACK .68 X 1.03 1
98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers 101570540560 |GASKT-2.0ID 1
98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers 56305C GASKT-VR BUBBLER 1
98678C KIT - 1.0 GPM REGULATOR Elkay & Halsey Taylor Outdoor Steel Bottle Fillers 10031C NUT -RETAIN 1 1/8-24 1
98678C KIT - 1.0 GPM REGULATOR Elkay & Halsey Taylor Outdoor Steel Bottle Fillers 50985C HOLDR-REGULATOR 1
98678C KIT - 1.0 GPM REGULATOR Elkay & Halsey Taylor Outdoor Steel Bottle Fillers 66822C REGULATOR ASSY. (1.0 GPM) 1
98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle Fillers 15040C NOZZLE - 4400BFS 1
98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle Fillers 56305C GASKT-VR BUBBLER 1
98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle Fillers A54868 GROOVED PIN 1
98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle Fillers P0O5031 FULL FLOW HIDDEN AERATOR 1
98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle Fillers P05032 Cache TT Hidden Aerator Install Key 1
98680C KIT - AERATOR/KEY EZH20° In-Wall, Integral, Surface Mount, Vandal-Resistant and P05031 FULL FLOW HIDDEN AERATOR 1
Outdoor Tubular models
98680C KIT - AERATOR/KEY EZH20°® In-Wall, Integral, Surface Mount, Vandal-Resistant and P05032 Cache TT Hidden Aerator Install Key 1
Outdoor Tubular models
98681C KIT - BOTTLE FILLER TRIM Outdoor Tubular Bottle Filler models 28957C TRIM - BOTTLE OUTLINE 1
98681C KIT - BOTTLE FILLER TRIM Outdoor Tubular Bottle Filler models 28958C TRIM - DROP OUTLINE 1
98681C KIT - BOTTLE FILLER TRIM Outdoor Tubular Bottle Filler models 70016C NUT -HEX 10-32 5
98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models 28308C WASHR-SPACER 2.00 O.D. 2
98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models 28703C NAMEPLATE-INSERT BLANK 1
98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models 40045C NUT -HEX 1 5/16UN-2B UNPLATED 2
98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models 45662C BUTTN-PUSH 1
98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models 45663C SLEEV-PUSH BUTTON GUIDE 1
98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models 75672C SCREW-CAP #6-32 1




98683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler* 100147140560 |GASKT-DRAIN 1
models (*For bottle filler portion only on 4420(DB)BF and 4430BF)

98683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler* 55913C ADAPT-DRAIN W/O HOLES 1
models (*For bottle filler portion only on 4420(DB)BF and 4430BF)

98683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler* 75588C NUT -SLIP JOINT 1-1/4 1
models (*For bottle filler portion only on 4420(DB)BF and 4430BF)

98683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler* 75589C WASHR-SEAL 1
models (*For bottle filler portion only on 4420(DB)BF and 4430BF)

98684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel Fountains, [100147140560 |GASKT-DRAIN 1
4420(DB)BF* & 4430BF* (*For basin/bubbler section only)

98684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel Fountains, (56121C ELBOW-DRAIN 1
4420(DB)BF* & 4430BF* (*For basin/bubbler section only)

98684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel Fountains, |75588C NUT -SLIP JOINT 1-1/4 1
4420(DB)BF* & 4430BF* (*For basin/bubbler section only)

98684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel Fountains, [75589C WASHR-SEAL 1
4420(DB)BF* & 4430BF* (*For basin/bubbler section only)

98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models 110113242550 [WASHR-FLAT SS .378 ID x .824 OD 2

98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models 70016C NUT -HEX 10-32 5

98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models 70204C BOLT -3/8-16 X 1.00" LG. HEX 2

98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models 75521C BIT -PINNED TORX T-27 1

98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models 75535C SCREW-1/4-20 X .75 PINNED TORX 8

98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models 75724C SCREW - 1/4"-20 X 3/4" LG. FLAT HD. PINNED} 3

98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers 100322740560 |GASKT-BLACK .68 X 1.03 1

98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers 101461040560 [INSUL-TUBE 3/8-3/16 BULK 3

98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers 15007C NIPPLE-BUBBLER (GF) 1

98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers 55994C TUBE -POLY 1/4X.040 WALL 3

98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers 56307C TUBE -POLY 3/8X.062 WALL 3

98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers 70745C FTTNG-UNION-3/8 X 1/4 TUBE 2

98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers 75513C FTTNG-1/4 PRESS IN 1

98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011) 35839C CNTRL-COLD 1

98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011) 55994C TUBE -POLY 1/4X.040 WALL 1

98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011) 66809C EVAP-NO TIN (SHORT) 1

98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011) 75542C WASHR-FLAT .250 ID 1

98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011) 75568C SCREW-#12X1.50 HHSM 1

98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011) 75583C ELBOW-5/16" - 1/4" 1

98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011) 98779C LABEL- 3.50 OZ CHARGE R134A 1

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 27681C BRKT -FAN/EVAP MTG 1
models (Pre Julyy 2011)

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 35839C CNTRL-COLD 1
models (Pre Julyy 2011)

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 55994C TUBE -POLY 1/4X.040 WALL 1
models (Pre Julyy 2011)

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 66809C EVAP-NO TIN (SHORT) 1
models (Pre Julyy 2011)

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 70002C SCREW-#10 X .50 HHSM 2
models (Pre Julyy 2011)

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 75542C WASHR-FLAT .250 ID 1
models (Pre Julyy 2011)

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 75568C SCREW-#12X1.50 HHSM 1
models (Pre Julyy 2011)

98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4 75583C ELBOW-5/16" - 1/4" 1
models (Pre Julyy 2011)

98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011) 35839C CNTRL-COLD 1

98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011) 55994C TUBE -POLY 1/4X.040 WALL 1

98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011) 66810C EVAP-NO TIN (MED) 1

98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011) 75542C WASHR-FLAT .250 ID 1

98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011) 75568C SCREW-#12X1.50 HHSM 1

98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011) 75583C ELBOW-5/16" - 1/4" 1

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 27681C BRKT -FAN/EVAP MTG 1

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 35839C CNTRL-COLD 1

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 55994C TUBE -POLY 1/4X.040 WALL 1

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 66810C EVAP-NO TIN (MED) 1

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 70002C SCREW-#10 X .50 HHSM 2

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 75542C WASHR-FLAT .250 ID 1

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 75568C SCREW-#12X1.50 HHSM 1

98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011) 75583C ELBOW-5/16" - 1/4" 1

98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models (Pre 23113C SHELF-EBFA,EBFSA,HAC 1
July 2011)

98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models (Pre 35839C CNTRL-COLD 1
July 2011)

98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models (Pre 55994C TUBE -POLY 1/4X.040 WALL 1
July 2011)

98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models (Pre 66810C EVAP-NO TIN (MED) 1
July 2011)

98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models (Pre 75542C WASHR-FLAT .250 ID 1
July 2011)

98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models (Pre 75568C SCREW-#12X1.50 HHSM 1

July 2011)




98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models (Pre 75583C ELBOW-5/16" - 1/4" 1
July 2011)
98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011) 27304C BSPLT-ER21Y 1
98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011) 35839C CNTRL-COLD 1
98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011) 55994C TUBE -POLY 1/4X.040 WALL 1
98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011) 66810C EVAP-NO TIN (MED) 1
98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011) 75542C WASHR-FLAT .250 ID 1
98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011) 75568C SCREW-#12X1.50 HHSM 1
98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011) 75583C ELBOW-5/16" - 1/4" 1
98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011) 27303C BSPLT-ECH8/SJ8 1
98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011) 35839C CNTRL-COLD 1
98721C EVAP-REPLMNT KIT ECH8/S)8 ECH8 & SJ8 models (Pre July 2011) 55994C TUBE -POLY 1/4X.040 WALL 1
98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011) 66810C EVAP-NO TIN (MED) 1
98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011) 75542C WASHR-FLAT .250 ID 1
98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011) 75568C SCREW-#12X1.50 HHSM 1
98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011) 75583C ELBOW-5/16" - 1/4" 1
98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July 2011) (35839C CNTRL-COLD 1
98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July 2011) [55994C TUBE -POLY 1/4X.040 WALL 1
98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July 2011) (66811C EVAP-NO TIN (LONG) 1
98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July 2011) (75542C WASHR-FLAT .250 ID 1
98722C EVAP-REPLMNT KIT HT (LONG) HOF, $1000, SCWT14/20 & WM14/16(W) models (Pre July 2011) [75568C SCREW-#12X1.50 HHSM 1
98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July 2011) [75583C ELBOW-5/16" - 1/4" 1
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 27681C BRKT -FAN/EVAP MTG 1
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 35839C CNTRL-COLD 1
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 55994C TUBE -POLY 1/4X.040 WALL 1
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 66811C EVAP-NO TIN (LONG) 1
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 70002C SCREW-#10 X .50 HHSM 2
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 75542C WASHR-FLAT .250 ID 1
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 75568C SCREW-#12X1.50 HHSM 1
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14, FD70010, 75583C ELBOW-5/16" - 1/4" 1
LFAE14/16/20, LFDE10, LWAE14 , LWCE14 & LWTLA14/16/20
models (Pre July 2011)
98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July 2011) 35839C CNTRL-COLD 1
98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July 2011) 55994C TUBE -POLY 1/4X.040 WALL 1
98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July 2011) 66703C DRIER-134A 1
98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July 2011) 66810C EVAP-NO TIN (MED) 1
98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July 2011) 75583C ELBOW-5/16" - 1/4" 1
98726C KIT -HEW BASIN REPLACEMENT HEW models 28964C BASIN-2H HEW 1
98726C KIT -HEW BASIN REPLACEMENT HEW models 40575C ASSY -STRAINER & FERRULE CP 1
98726C KIT -HEW BASIN REPLACEMENT HEW models 45932C TPIPE-HEW 1
98726C KIT -HEW BASIN REPLACEMENT HEW models 50074C GASKT-TAILPIPE 1
98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except SCWT |15005C NUT -REG RETAIN 1 1/8-24 1
98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except SCWT |40045C NUT -HEX 1 5/16UN-2B UNPLATED 1
98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except SCWT |50986C HOLDR-REGULATOR 1
98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except SCWT |61313C REG -W/ SPRING 1
98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except SCWT |62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 2
98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models 15005C NUT -REG RETAIN 1 1/8-24 1
98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models 40045C NUT -HEX 1 5/16UN-2B UNPLATED 1
98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models 50986C HOLDR-REGULATOR 1
98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models 61314C REG -W/GREEN SPRING 1
98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models 62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 2
98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ & 10031C NUT -RETAIN 1 1/8-24 1
Contour™ Fountains; Also Outdoor Dual & Triple Bottle Fillers
98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ & 40045C NUT -HEX 1 5/16UN-2B UNPLATED 1

Contour™ Fountains; Also Outdoor Dual & Triple Bottle Fillers




98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ & 50985C HOLDR-REGULATOR 1
Contour™ Fountains; Also Outdoor Dual & Triple Bottle Fillers
98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ & 61313C REG -W/ SPRING 1
Contour™ Fountains; Also Outdoor Dual & Triple Bottle Fillers
98734C KIT-EZ FRONT-SIDE PUSHBARS Elkay EZS/LZS models 55999C P BAR-FRNT EZ GRAY 1
98734C KIT-EZ FRONT-SIDE PUSHBARS Elkay EZS/LZS models 56002C P BAR-SIDE EZ GRAY 2
98744C KIT-EM20HBR ELECTRICALS ERS1 & SJ1 models 35768C COVER-RELAY 1
98744C KIT-EM20HBR ELECTRICALS ERS1 & SJ1 models 36139C RELAY-115V 213514180 1
98744C KIT-EM20HBR ELECTRICALS ERS1 & SJ1 models 36169C OVLRD-115V 5TM734KFBYY53 1
98745C KIT-EM30HNR ELECTRICALS 115V HEW3 models 35768C COVER-RELAY 1
98745C KIT-EM30HNR ELECTRICALS 115V HEW3 models 36165C RELAY-213514075 1
98745C KIT-EM30HNR ELECTRICALS 115V HEW3 models 36170C OVLRD-115V 5TM283NHBYY53 1
98746C KIT-EM30HNR ELECTRICALS 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models 35768C COVER-RELAY 1
98746C KIT-EM30HNR ELECTRICALS 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models 36166C RELAY-213514032 1
98746C KIT-EM30HNR ELECTRICALS 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models 36171C OVLRD-220V 5TM189KFBBYY53 1
98747C KIT-EM45HHR ELECTRICALS EFA4, ER2, ER5, EW(C)A4, FD7003/7005, LFDE3, LWCE4, 35768C COVER-RELAY 1
$300/500, SCWT4, SJ2, SJ5 & SW4 models
98747C KIT-EM45HHR ELECTRICALS EFA4, ER2, ER5, EW(C)A4, FD7003/7005, LFDE3, LWCE4, 36231C RELAY- 115V 213514105 1
S$300/500, SCWT4, SJ2, SJ5 & SW4 models
98747C KIT-EM45HHR ELECTRICALS EFA4, ER2, ER5, EW(C)A4, FD7003/7005, LFDE3, LWCE4, 36236C OVLRD-115V 5TM757MFBYY-53 1
$300/500, SCWT4, SJ2, SJ5 & SW4 models
98748C KIT-EM45HNR ELECTRICALS EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4 35768C COVER-RELAY 1
220V/50Hz models
98748C KIT-EM45HNR ELECTRICALS EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4 36232C RELAY-220V 213514130 1
220V/50Hz models
98748C KIT-EM45HNR ELECTRICALS EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4 36237C OVLRD-220V 5TM718MFBYY-53 1
220V/50Hz models
98749C KIT-EM65HHR ELECTRICALS Various old-style 8GPH models 35768C COVER-RELAY 1
98749C KIT-EM65HHR ELECTRICALS Various old-style 8GPH models 35959C RELAY-115V 213514121 1
98749C KIT-EM65HHR ELECTRICALS Various old-style 8GPH models 36196C OVRLD-5TM771RFBZZ53 1
98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models 35768C COVER-RELAY 1
98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models 36238C OVLD - 115V 5TM427NFBYY-53 1
98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models 36271C RELAY - PTC (8EA14C3) 1
98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models 36272C CAPACITOR - RUN (US-24152) 1
98751C KIT-EM65HNR ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/50Hz models 35768C COVER-RELAY 1
98751C KIT-EM65HNR ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/50Hz models 36050C RELAY-220V 1
98751C KIT-EM65HNR ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/50Hz models 36195C OVRLD-5TM734KDBZZ53 1
98752C KIT-EMI70OHER ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/60Hz models 35768C COVER-RELAY 1
98752C KIT-EMI70HER ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/60Hz models 36050C RELAY-220V 1
98752C KIT-EMI70HER ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/60Hz models 36174C OVLRD-220V 5TM739LFBYY53 1
98753C KIT-FF8.5HBK ELECTRICALS WM14W & WM16W models 31027C OL/RL-115V 1.350.158 1
98753C KIT-FF8.5HBK ELECTRICALS WM14W & WM16W models 31797C COVER-RELAY-DOUBLE SIDED 1
98754C KIT-FF10HBK ELECTRICALS Old-style EFA16, ER10, EWA16, FD70010 & WM16 models 35768C COVER-RELAY 1
98754C KIT-FF10HBK ELECTRICALS Old-style EFA16, ER10, EWA16, FD70010 & WM16 models 36221C RELAY 1
98754C KIT-FF10HBK ELECTRICALS Old-style EFA16, ER10, EWA16, FD70010 & WM16 models 36222C OVERLOAD 1
98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models 35768C COVER-RELAY 1
98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models 35840C OVRLD-115V MRT22AFZ-5598 1
98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models 35843C RELAY-115V 1.351.605 1
98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models 35844C CAPAC-165V 378-454MFD 1
98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models 35845C CAP -CAPACITOR END 1
98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models 35846C BRKT -CAPACITOR 1
98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models 35874C CLIP -CAPACITOR 1
98756C KIT-FFI12HBK ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 31032C OL/RL-220V 1.350.636 1
98756C KIT-FFI12HBK ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35768C COVER-RELAY 1
98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35768C COVER-RELAY 1
98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35845C CAP -CAPACITOR END 1
98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35846C BRKT -CAPACITOR 1
98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35874C CLIP -CAPACITOR 1
98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35953C OVRLD-220V MSP36ALZ-5590 1
98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35954C RELAY - 220V 213516485 1
98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models 35955C CAPAC-220V 121-145MFD 1
98758C KIT-FG85HAK ELECTRICALS EFA14, EFW16, EWCA14, SCWT14, WM14 & SW14 models 36177C OVLRD-220V 5TM276RFBYY53 1
98758C KIT-FG85HAK ELECTRICALS EFA14, EFW16, EWCA14, SCWT14, WM14 & SW14 models 36178C RELAY-8EA 5B1 1
98758C KIT-FG85HAK ELECTRICALS EFA14, EFW16, EWCA14, SCWT14, WM14 & SW14 models 36224C COVER - TERM. 013555007 1
98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models 35984C OVLRD 1
98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models 35988C SPRING-OVERLOAD 1
98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models 35989C GASKT-COVER 1
98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models 35990C STRAP -BALE 1
98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models 36045C COVER-OVERLOAD 1
98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models 36252C ASSY-CSIR BOX 1
98760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models 30262C RELAY-220/240V 9660B-040-149 1
98760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models 36188C OVLRD-220V MRP36AMK-3 1
98760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models 36189C COVER-RELAY 2075200 1
98760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models 36190C BRKT -OVERLOAD 2075180 1
98761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models 35880C OVRLD-115V MRTOOIJJH 1
98761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models 35977C CAPAC-44V 20MF 1
98761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models 36189C COVER-RELAY 2075200 1
98761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models 36190C BRKT -OVERLOAD 2075180 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 30233C SPRNG-OL ASPERA 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 30234C CLIP -COMPR (ASPERA) 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 30235C COVER-TERM (ASPERA) 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 30812C OVLRD-115V 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 35845C CAP -CAPACITOR END 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 35846C BRKT -CAPACITOR 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 35921C CAPAC-115V MFD165 1
98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models 36079C RELAY-115V 1




98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models 36229C BRKT-OVERLOAD (220V) 2075247 1
98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models 36230C COVER-RELAY (220V) 2075248 1
98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models 36305C ASSY-CSR BOX 220/240V 1
98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models 36306C OVRLD-220/240V MRT22AHK 1
98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF, 35839C CNTRL-COLD 1
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models
98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF, 55994C TUBE -POLY 1/4X.040 WALL 1
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models
98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF, 66203C DRIER-R134AID .102 1
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models
98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF, 66811C EVAP-NO TIN (LONG) 1
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models
98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF, 75583C ELBOW-5/16" - 1/4" 1
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models
98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300, S500, (35839C CNTRL-COLD 1
SCWT4 & SW4 models
98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300, S500, (55994C TUBE -POLY 1/4X.040 WALL 1
SCWT4 & SW4 models
98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300, S500, |66201C DRIER-R134A 1D.092 1
SCWT4 & SW4 models
98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300, S500, [66809C EVAP-NO TIN (SHORT) 1
SCWT4 & SW4 models
98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300, S500, |75583C ELBOW-5/16" - 1/4" 1
SCWT4 & SW4 models
98773C KIT-35839C COLD CONTROL Various Elkay & Halsey Taylor models 111411443890 |SCREW-#8-36 X .38,TYPE23,HH THREAD CUTT| 2
98773C KIT-35839C COLD CONTROL Various Elkay & Halsey Taylor models 35839C CNTRL-COLD 1
98774C KIT-EZ INTERNAL WIRING EZ & HTV models 36161C WIRE - WHITE JUMPER 1
98774C KIT-EZ INTERNAL WIRING EZ & HTV models 36162C WIRE - BLACK JUMPER 1
98774C KIT-EZ INTERNAL WIRING EZ & HTV models 36287C CORD-POWER EZTLR 115V 1
98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models 30664C BLADE-FAN 8.00DIA 30P CW 1
98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models 31490C MOTOR-FAN 4W 115V 1
98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models 56237C SHRD-FAN 1
98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models 70009C EXP - SCREW FURN W/ MOTOR 4
98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models 70018C NUT -HEX 1/4-20 1
98776C KIT-66743C CNDNSR/DRIER Most Elkay & Halsey Taylor 8 GPH models 66703C DRIER-134A 1
98776C KIT-66743C CNDNSR/DRIER Most Elkay & Halsey Taylor 8 GPH models 66743C CNDSR-2 ROW 134A 1
98777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models 101474551730|STUD -COMPR MTG 4
98777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models 100806740570 |GRMMT-RUBBER 4
98777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models 101516143550 |STUD -COMPR MTG 4
98777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models 19037000 CLIP -COMPR MTG 4
98778C KIT-66576C HEATX/DRIER Most Elkay & Halsey Taylor 8GPH models 66576C HEATX-BARRIER FREE 1
98778C KIT-66576C HEATX/DRIER Most Elkay & Halsey Taylor 8GPH models 66703C DRIER-134A 1
98788C KIT-31341C FAN MOTOR ASSY Elkay ER2, ERS1, FD7003, FD7005, LFDE3, HEW, (L)VRCHD; Halsey |111543043890 [NUT -HEX #6-32 2
Taylor HVRHD, SJ1, SJ2, S300, S500 models
98788C KIT-31341C FAN MOTOR ASSY Elkay ER2, ERS1, FD7003, FD7005, LFDE3, HEW, (L)VRCHD; Halsey (30824C BLADE-FAN 5.00DIA CCW 1
Taylor HVRHD, SJ1, SJ2, S300, S500 models
98788C KIT-31341C FAN MOTOR ASSY Elkay ER2, ERS1, FD7003, FD7005, LFDE3, HEW, (L)VRCHD; Halsey (31341C MOTOR-FAN 115V 1
Taylor HVRHD, SJ1, SJ2, S300, S500 models
98789C KIT-PUSHBAR BRACKET Elkay EHFSA, EMABF, LMABF; Halsey Taylor 5701, HAC, WC 22900C BRKT -FRONT PUSH 1
models
98789C KIT-PUSHBAR BRACKET Elkay EHFSA, EMABF, LMABF; Halsey Taylor 5701, HAC, WC 22901C BRKT -SIDE PUSH 2
models
98789C KIT-PUSHBAR BRACKET Elkay EHFSA, EMABF, LMABF; Halsey Taylor 5701, HAC, WC 70864C SCREW-#8 X .62 TORX/SLOT 8
models
98790C KIT-DRAIN (BACKSPLASH/RECESSD) Elkay EDFB, EDFP19C, EFRPC, EHFSA, OHFA; Halsey Taylor 5701, {0000000928 TPIPE-1.88 1
WC models
98790C KIT-DRAIN (BACKSPLASH/RECESSD) Elkay EDFB, EDFP19C, EFRPC, EHFSA, OHFA; Halsey Taylor 5701, |40575C ASSY -STRAINER & FERRULE CP 1
WC models
98790C KIT-DRAIN (BACKSPLASH/RECESSD) Elkay EDFB, EDFP19C, EFRPC, EHFSA, OHFA; Halsey Taylor 5701, [50074C GASKT-TAILPIPE 1
WC models
98791C KIT-EHFSA PUSHBAR EHFSA Light Gray Granite & Stainless Steel models 111411743620 [NUT -1/4 SELF THREAD 8
98791C KIT-EHFSA PUSHBAR EHFSA Light Gray Granite & Stainless Steel models 51559C PBAR -PUSH FRONT GRAY 1
98791C KIT-EHFSA PUSHBAR EHFSA Light Gray Granite & Stainless Steel models 51565C PBAR -PUSH SIDE GRAY 2
98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models 20685C PANEL-FRONT EWCA N 1
98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models 21468C PANEL-LEFT SIDE (N) 1
98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models 21469C PANEL-RIGHT SIDE (N) 1
98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models 70002C SCREW-#10 X .50 HHSM 10
98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models 75569C SCREW-#10 X .38 THSM 4
98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models 20648C PANEL-LEFT SIDE (S) 1
98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models 20649C PANEL-RIGHT SIDE (S) 1
98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models 20681C PANEL-FRONT EWCA S 1
98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models 70002C SCREW-#10 X .50 HHSM 10
98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models 75569C SCREW-#10 X .38 THSM 4
98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models 21456C PANEL-FRONT EWCAT 1
98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models 21466C PANEL-LEFT SIDE (T) 1
98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models 21467C PANEL-RIGHT SIDE (T) 1
98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models 70002C SCREW-#10 X .50 HHSM 10
98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models 75569C SCREW-#10 X .38 THSM 4
98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models 27154C PANEL-FRONT EWCA (L) 1
98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models 27178C PANEL-LEFT SIDE (L) 1
98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models 27181C PANEL- RIGHT SIDE (L) 1




98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models 70002C SCREW-#10 X .50 HHSM 10
98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models 75569C SCREW-#10 X .38 THSM 4
98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models 131490531920 |[NMPLT-ENG EFF 1
98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models 401450348410 |PANEL-RH PLT VINYL 1
98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models 401450448410 |PANEL-LH PLT VINYL 1
98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models 401450548410 [PANEL-FRONT (PV) 1
98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models 75506C SCREW-#10 X .75 HHSM 4
98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models 75532C SCREW-#10-16 X .63 THSM 4
98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models 131490531920 [NMPLT-ENG EFF 1
98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models 26890C PANEL-FRONT (AV) 1
98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models 26894C PANEL-LH SIDE (AV) 1
98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models 26895C PANEL-RH SIDE (AV) 1
98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models 75506C SCREW-#10 X .75 HHSM 4
98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models 75532C SCREW-#10-16 X .63 THSM 4
98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models 131490531920 |NMPLT-ENG EFF 1
98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models 401450348440 |PANEL-RH (SV) 1
98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models 401450448440 (PANEL-LH (SV) 1
98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models 401450548440 |PANEL-FRONT (SV) 1
98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models 75506C SCREW-#10 X .75 HHSM 4
98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models 75532C SCREW-#10-16 X .63 THSM 4
98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models 131490531920 |[NMPLT-ENG EFF 1
98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models 401450342830 [PANEL-RH SW 1
98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models 401450442830 |PANEL-LH SW 1
98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models 401450542830 [PANEL-FRONT (SS) 1
98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models 75506C SCREW-#10 X .75 HHSM 4
98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models 75532C SCREW-#10-16 X .63 THSM 4
98802C KIT-HEW WRAPPER (T) Elkay HEW Sandalwood models 27206C CABNT-HEW (T) 1
98802C KIT-HEW WRAPPER (T) Elkay HEW Sandalwood models 75497C SCREW-#10 X .50 PHSM 7
98803C KIT-HEW WRAPPER (L) Elkay HEW Light Gray Granite models 28379C CABNT-HEW (L) 1
98803C KIT-HEW WRAPPER (L) Elkay HEW Light Gray Granite models 75497C SCREW-#10 X .50 PHSM 7
98805C KIT-HEW WRAPPER (N) Elkay HEW Almond models 27207C CABNT-HEW (N) 1
98805C KIT-HEW WRAPPER (N) Elkay HEW Almond models 75497C SCREW-#10 X .50 PHSM 7
98806C KIT-HEW WRAPPER (S) Elkay HEW Stainless Steel models 33966005 CABNT-HEW (S) 1
98806C KIT-HEW WRAPPER (S) Elkay HEW Stainless Steel models 75497C SCREW-#10 X .50 PHSM 7
98807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models 21481C PANEL-WRAPPER N 1
98807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models 50125C BUMPR-CORK/RUBBER 4
98807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models 50127C BUMPR-SIDE PANEL 5
98807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models 75502C SCREW-#10-16 x .50 THSM 4
98807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models 75536C SCREW-#10 X .63 THSM 4
98808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models 21013C PANEL-WRAPPER S 1
98808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models 50125C BUMPR-CORK/RUBBER 4
98808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models 50127C BUMPR-SIDE PANEL 5
98808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models 75502C SCREW-#10-16 x .50 THSM 4
98808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models 75536C SCREW-#10 X .63 THSM 4
98809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models 21480C PANEL-WRAPPER T 1
98809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models 50125C BUMPR-CORK/RUBBER 4
98809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models 50127C BUMPR-SIDE PANEL 5
98809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models 75502C SCREW-#10-16 x .50 THSM 4
98809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models 75536C SCREW-#10 X .63 THSM 4
98810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models 27209C PANEL-WRAPPER ESWA/ESRC (L) 1
98810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models 50125C BUMPR-CORK/RUBBER 4
98810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models 50127C BUMPR-SIDE PANEL 5
98810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models 75502C SCREW-#10-16 x .50 THSM 4
98810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models 75536C SCREW-#10 X .63 THSM 4
98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models 26943C PANEL-WRAPPER (PV) 1
98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models 50125C BUMPR-CORK/RUBBER 4
98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models 50127C BUMPR-SIDE PANEL 5
98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models 75502C SCREW-#10-16 x .50 THSM 4
98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models 75536C SCREW-#10 X .63 THSM 4
98812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models 21013C PANEL-WRAPPER S 1
98812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models 50125C BUMPR-CORK/RUBBER 4
98812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models 50127C BUMPR-SIDE PANEL 5
98812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models 75502C SCREW-#10-16 x .50 THSM 4
98812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models 75536C SCREW-#10 X .63 THSM 4
98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models 21455C PANEL-FRONT EWA (L) 1
98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models 27172C PANEL-LEFT SIDE (L) 1
98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models 27175C PANEL-RIGHT SIDE (L) 1
98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models 70002C SCREW-#10 X .50 HHSM 12
98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models 75569C SCREW-#10 X .38 THSM 4
98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models 20676C PANEL-FRONT EWA N 1
98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models 21464C PANEL-LEFT SIDE (N) 1
98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models 21465C PANEL-RIGHT SIDE (N) 1
98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models 70002C SCREW-#10 X .50 HHSM 12
98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models 75569C SCREW-#10 X .38 THSM 4
98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models 20640C PANEL-LEFT SIDE (S) 1
98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models 20641C PANEL-RIGHT SIDE (S) 1
98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models 20672C PANEL-FRONT EWA S 1
98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models 70002C SCREW-#10 X .50 HHSM 12
98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models 75569C SCREW-#10 X .38 THSM 4
98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models 21454C PANEL-FRONT EWAT 1
98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models 21462C PANEL-LEFT SIDE (T) 1
98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models 21463C PANEL-RIGHT SIDE (T) 1




98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models 70002C SCREW-#10 X .50 HHSM 12
98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models 75569C SCREW-#10 X .38 THSM 4
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 21455C PANEL-FRONT EWA (L) 1
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 27154C PANEL-FRONT EWCA (L) 1
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 27175C PANEL-RIGHT SIDE (L) 1
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 27178C PANEL-LEFT SIDE (L) 1
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 27187C PANEL-LH SIDE EWTLA (L) 1
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 27190C PANEL-RH SIDE TLAD (L) 1
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 70002C SCREW-#10 X .50 HHSM 18
98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models 75569C SCREW-#10 X .38 THSM 8
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 20676C PANEL-FRONT EWA N 1
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 20685C PANEL-FRONT EWCA N 1
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 21465C PANEL-RIGHT SIDE (N) 1
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 21468C PANEL-LEFT SIDE (N) 1
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 21477C PANEL-SIDE LH EWTLA N 1
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 21479C PANEL-SIDE RH TLAD N 1
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 70002C SCREW-#10 X .50 HHSM 18
98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models 75569C SCREW-#10 X .38 THSM 8
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 20641C PANEL-RIGHT SIDE (S) 1
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 20648C PANEL-LEFT SIDE (S) 1
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 20672C PANEL-FRONT EWA S 1
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 20681C PANEL-FRONT EWCA S 1
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 20733C PANEL-SIDE LH EWTLA'S 1
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 20737C PANEL-SIDE RH TLAD S 1
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 70002C SCREW-#10 X .50 HHSM 18
98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models 75569C SCREW-#10 X .38 THSM 8
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 21454C PANEL-FRONT EWAT 1
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 21456C PANEL-FRONT EWCAT 1
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 21463C PANEL-RIGHT SIDE (T) 1
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 21466C PANEL-LEFT SIDE (T) 1
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 21476C PANEL-SIDE LH EWTLAT 1
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 21478C PANEL-SIDERHTLAD T 1
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 70002C SCREW-#10 X .50 HHSM 18
98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models 75569C SCREW-#10 X .38 THSM 8
98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models 131490531920 [NMPLT-ENG EFF 1
98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models 401432248410 [PANEL-FRONT (PV) 1
98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models 401483948410 [PANEL-LH (PV) 1
98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models 401484048410 [PANEL-RH (PV) 1
98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models 70002C SCREW-#10 X .50 HHSM 12
98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models 75532C SCREW-#10-16 X .63 THSM 4
98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models 131490531920 |NMPLT-ENG EFF 1
98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models 26874C PANEL-FRONT (AV) 1
98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models 26878C PANEL-LH SIDE (AV) 1
98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models 26879C PANEL-RH SIDE (AV) 1
98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models 70002C SCREW-#10 X .50 HHSM 12
98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models 75532C SCREW-#10-16 X .63 THSM 4
98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models 111008343890 [SCREW-#10-24 X .62 HHMS 8
98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models 131490531920 |NMPLT-ENG EFF 1
98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models 401432248440 |PANEL-FRNT (SV) 1
98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models 401483948440 [PANEL-LH (SV) 1
98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models 401484048440 |PANEL-RH (SV) 1
98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models 70002C SCREW-#10 X .50 HHSM 12
98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models 75532C SCREW-#10-16 X .63 THSM 4
98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models 131490531920 |NMPLT-ENG EFF 1
98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models 401432242830 [PANEL-FRONT (SS) 1
98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models 401483942830 [PANEL-WM1 LH 1
98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models 401484042830 [PANEL-WM1 RH 1
98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models 70002C SCREW-#10 X .50 HHSM 12
98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models 75532C SCREW-#10-16 X .63 THSM 4
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 131490531920 |[NMPLT-ENG EFF 2
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 26874C PANEL-FRONT (AV) 1
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 26879C PANEL-RH SIDE (AV) 1
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 26886C PANEL-LH SIDE (AV) 1
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 26920C PANEL-FRONT RECESSED AV 1
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 26924C PANEL-LH (AV) 1
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 26928C PANEL-RH AV 1
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 70002C SCREW-#10 X .50 HHSM 8
98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models 75532C SCREW-#10-16 X .63 THSM 8
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 131490531920 |NMPLT-ENG EFF 2
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 400810442830 [PANEL-FRONT RECESSED 1
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 401432242830 |PANEL-FRONT (SS) 1
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 401471042830 (PANEL-LH 1
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 401484042830 |PANEL-WM1 RH 1
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 401528242830 [PANEL-LH SS 1
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 401528342830 [PANEL-RH SS 1
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 70002C SCREW-#10 X .50 HHSM 8
98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models 75532C SCREW-#10-16 X .63 THSM 8
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 111008343890 [SCREW-#10-24 X .62 HHMS 8
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 131490531920 |NMPLT-ENG EFF 2
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 400810448410 |PANEL-FRONT RECESSED 1
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 401432248410 [PANEL-FRONT (PV) 1




98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 401471048410 |PANEL-LH PLT VINYL 1
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 401483948410 |PANEL-LH (PV) 1
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 401528248410 [PANEL-LH PV 1
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 401528348410 |PANEL-RH PV 1
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 70002C SCREW-#10 X .50 HHSM 8
98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models 75532C SCREW-#10-16 X .63 THSM 8
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 111008343890 |SCREW-#10-24 X .62 HHMS 8
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 131490531920 |[NMPLT-ENG EFF 2
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 400810448440 [PANEL-FRONT REC (SV) 1
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 401432248440 [PANEL-FRNT (SV) 1
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 401471048440 [PANEL-LH BL (SV) 1
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 401484048440 |PANEL-RH (SV) 1
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 401528248440 [PANEL-LH SIDE (SV) 1
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 401528348440 [PANEL-RH SIDE (SV) 1
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 70002C SCREW-#10 X .50 HHSM 8
98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models 75532C SCREW-#10-16 X .63 THSM 8
98832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models 21481C PANEL-WRAPPER N 1
98832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models 50125C BUMPR-CORK/RUBBER 4
98832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models 50127C BUMPR-SIDE PANEL 5
98832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models 75502C SCREW-#10-16 x .50 THSM 4
98832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models 75536C SCREW-#10 X .63 THSM 4
98833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models 26949C PANEL-WRAPPER (SV) 1
98833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models 50125C BUMPR-CORK/RUBBER 4
98833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models 50127C BUMPR-SIDE PANEL 5
98833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models 75502C SCREW-#10-16 x .50 THSM 4
98833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models 75536C SCREW-#10 X .63 THSM 4
98839C KIT-HEATX HEW HEW models 66199C DRIER-R134AID .077 1
98839C KIT-HEATX HEW HEW models 66590C HEATX-HEW 1&3 1
98840C KIT-HEATX 14 GAL 220V EFA14, EFW16, EW(TL)A14, EWCA14, LWCE14, SCWT14, SW14, 66202C DRIER-R134A ID .095 1
WM14 & WM16W 220V models
98840C KIT-HEATX 14 GAL 220V EFA14, EFW16, EW(TL)A14, EWCA14, LWCE14, SCWT14, SW14, 66229C HEATX-14 GAL 1
WM14 & WM16W 220V models
98841C KIT-HEATX EFA/EWA 220V EFA4, EW(C)A4, LWCE4, SCWT4 & SW4 220V models 66201C DRIER-R134A 1D.092 1
98841C KIT-HEATX EFA/EWA 220V EFA4, EW(C)A4, LWCE4, SCWT4 & SW4 220V models 66452C HEATX-EFA/EWA 230V 1
98842C KIT-HEATX/DRIER--ERS1 ERS1 & SJ1 models 66199C DRIER-R134AID .077 1
98842C KIT-HEATX/DRIER--ERS1 ERS1 & SJ1 models 66606C HEATX-ER11Y 1
98843C KIT-HEATX FD8 FD70010 & S1000 220V/50Hz models 66202C DRIER-R134A ID .095 1
98843C KIT-HEATX FD8 FD70010 & S1000 220V/50Hz models 66508C HEATX-FD8 1
98844C KIT-HEATX 16 GAL EFA16, EWA16, EWTLA16 & WM16 models 66203C DRIER-R134A 1D .102 1
98844C KIT-HEATX 16 GAL EFA16, EWA16, EWTLA16 & WM16 models 66256C HEATX- 1
98845C KIT-HEATX SW/WM 14 GAL SW14 & WM14 models 66203C DRIER-R134A ID .102 1
98845C KIT-HEATX SW/WM 14 GAL SW14 & WM14 models 66257C HEATX- 1
98846C KIT-HEATX SCWT/HOF 14 SCWT14 & HOF14 models 66203C DRIER-R134AID .102 1
98846C KIT-HEATX SCWT/HOF 14 SCWT14 & HOF14 models 66581C HEATX-SCWT14 1
98847C KIT-HEATX FD10 FD70010, LFDE10 & S1000 models 66203C DRIER-R134A ID .102 1
98847C KIT-HEATX FD10 FD70010, LFDE10 & S1000 models 66558C HEATX-FD10 1
98848C KIT-HEATX EFA/EWA 14,16,20 GAL EFA14/16/20, EFW16, EW(TL)A14/16/20, LFAE14/16/20, LWAE14 (66203C DRIER-R134AID .102 1
& LWTLA14/16/20 models
98848C KIT-HEATX EFA/EWA 14,16,20 GAL EFA14/16/20, EFW16, EW(TL)A14/16/20, LFAE14/16/20, LWAE14 (66445C HEATX- 1
& LWTLA14/16/20 models
98849C KIT-HEATX CR EFWC16 model 66203C DRIER-R134A ID .102 1
98849C KIT-HEATX CR EFWC16 model 66682C HEATX-CR 1
98850C KIT-HEATX (1-5 GALLON) FD7003, FD7005, LFDE3, S300 & S500 models 66704C DRIER-134A 1
98850C KIT-HEATX (1-5 GALLON) FD7003, FD7005, LFDE3, S300 & S500 models 66749C HEATX- (1-5 GALLON) 1
98851C KIT-HEATX HTV HTV, HVRHD & VRCHD models 66661C HEATX-HTV 1
98851C KIT-HEATX HTV HTV, HVRHD & VRCHD models 66703C DRIER-134A 1
98852C KIT-HEATX ER30 ER30, ERW32, SJ30 & SJ32W models 66621C DRIER-134A 1
98852C KIT-HEATX ER30 ER30, ERW32, SJ30 & SJ32W models 66623C HEATX-ER30 1
98853C KIT-HEATX ER19 ER19, ERW20 & SJ19 models 66204C DRIER-R134A .111 1
98853C KIT-HEATX ER19 ER19, ERW20 & SJ19 models 66629C HEATX-ER19 1
98856C KIT-HAC/EMABF DRAIN HAC and EMABF models 100147140560 |GASKT-DRAIN 1
98856C KIT-HAC/EMABF DRAIN HAC and EMABF models 102639931640 |PLUG -DRAIN L/LOGO CP 1
98856C KIT-HAC/EMABF DRAIN HAC and EMABF models 160270508640 [STRNR-BRIGHT 1
98856C KIT-HAC/EMABF DRAIN HAC and EMABF models 56121C ELBOW-DRAIN 1
98856C KIT-HAC/EMABF DRAIN HAC and EMABF models 75588C NUT -SLIP JOINT 1-1/4 1
98856C KIT-HAC/EMABF DRAIN HAC and EMABF models 75589C WASHR-SEAL 1
98857C KIT-CONDENSER/DRIER--ERS1 ERS1 models 61521C CNDSR-2 ROW 134A 1
98857C KIT-CONDENSER/DRIER--ERS1 ERS1 models 66199C DRIER-R134A ID .077 1
98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models 27948C BRKT -REGULATOR PIVOT 1
98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models 27951C ASSY -BRKT 1
98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models 50198C BSHNG-SNAP .125I1D 2
98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models 70831C ROD -SUPPORT 1
98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models 75555C CLIP -.125 STUD LOCK 1
98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models 31525003 ORING-.239ID X .070 #010 1
98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models 40266C VALVE-CHECK 1
98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models 40267C INSRT-.25 DIA CU 1
98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models 70284C BODY -CHECK VALVE 1
98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-II™, Soft Sides® & SwirlFlo® freeze{66603C ASSY -DRAIN TUBE 1
resistant models
98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo® freeze{72000833 ASSY -WASTE ARM 1
resistant models
98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo® freeze{72000835 TRAP -1 1/4IN SINK 1
resistant models
98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-II™, Soft Sides® & SwirlFlo® freeze{72001843 FTTNG-SLIP ELL 1-1/4 X 7 1

resistant models




98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-II™, Soft Sides® & SwirlFlo® freeze{55994C TUBE -POLY 1/4X.040 WALL 1
resistant models
98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo® freeze{66602C ASSY -WATER OUTLET 1
resistant models
98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-II™, Soft Sides® & SwirlFlo® freeze{70683C FTTNG-UNION-1/4 1
resistant models
98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo® freeze{70841C FTTNG-UNION-BULKHEAD 1
resistant models
98862C KIT-8880 BUBBLER TUBE ASSY 8880 models 102688531550 [SUPRS-SURGE 1
98862C KIT-8880 BUBBLER TUBE ASSY 8880 models 66210C ASSY -TUBE BUBBLER(8880 FTN) 1
98863C KIT-GF HANDLE/STEM LK1110 & 96852CA glass filler models 33651002 HANDL-BLACK 1
98863C KIT-GF HANDLE/STEM LK1110 & 96852CA glass filler models 40500C STEM -VALVE 2000 (SERV) 1
98863C KIT-GF HANDLE/STEM LK1110 & 96852CA glass filler models 98486C KIT-GF HANDLE/VALVE STEM ASSY. 1
98864C KIT-HTICF DRAIN ASSEMBLY HTICF model 40038C STRNR-BEEHIVE CP 1
98864C KIT-HTICF DRAIN ASSEMBLY HTICF model 40619C FERRL-TAILPIPE (CP) 1
98864C KIT-HTICF DRAIN ASSEMBLY HTICF model 45860C DRAIN-ICE CHILLED FTN 1
98864C KIT-HTICF DRAIN ASSEMBLY HTICF model 50074C GASKT-TAILPIPE 1
98865C KIT-HTICF FITTING ASSY HTICF model 15001C NIPPL-3/8 CLOSE SS 1
98865C KIT-HTICF FITTING ASSY HTICF model 75677C FTTNG-BULKHEAD 1
98865C KIT-HTICF FITTING ASSY HTICF model 75678C FTTNG-VALVE 1
98866C KIT-HTICF WATERWAY ASSY HTICF model 55994C TUBE -POLY 1/4X.040 WALL 6
98866C KIT-HTICF WATERWAY ASSY HTICF model 55996C STRNR-IN LINE 1
98866C KIT-HTICF WATERWAY ASSY HTICF model 70745C FTTNG-UNION-3/8 X 1/4 TUBE 2
98867C KIT-HTICF BIN & EVAP COIL HTICF model 45859C COIL -EVAP ICF 1
98867C KIT-HTICF BIN & EVAP COIL HTICF model 56253C TUB -ICE CHILLED FTN 1
98868C KIT-HTICF HOLD DOWN HTICF model 45862C ROD-ICF HOLD DOWN 1
98868C KIT-HTICF HOLD DOWN HTICF model 56258C BRACE-ICF HOLD DOWN 1
98869C KIT-HTV WIRING-ELECTRCL SWITCH HTV models 35948C *ENG* SWTCH-ELECTRICAL 2
98869C KIT-HTV WIRING-ELECTRCL SWITCH HTV models 36279C WIRING - HARNESS (HTV) 1
98870C KIT-5701 PUSHBAR ASSY 5701 models 101514331640 |INSRT-PUSH BAR CP 4
98870C KIT-5701 PUSHBAR ASSY 5701 models 111411743620 [NUT -1/4 SELF THREAD 8
98870C KIT-5701 PUSHBAR ASSY 5701 models 55859C PBAR 4
98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models 45847C PIN -PUSH BUTTON SWIRLFLO 1
98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models 45848C BUTTN-PUSH SWIRLFLO 1
98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models 75671C SPRNG-PUSH BUTTON SWIRLFLO 1
98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models 75720C WASHR-#10 FLAT TYPE A 1
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant|27945C BRKT -BASIN 1
models
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant|27946C BRKT -BASIN PIVOT 1
models
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant|40206000 STEEL RETAINER-ZINC PLATE FINISH 1
models
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant{50198C BSHNG-SNAP .125ID 2
models
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant|51667C BUMPR-PRESS BAR 1
models
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant{55919C BUTTN-PUSH(EXTENSION) 1
models
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant|66744C ASSY -TAILPIECE 1-1/4 X 12 IN 1
models
98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-resistant{70425C ROD -PIVOT 1
models
98895C KIT-HAC/WC PUSHBAR HAC & WC models 111411743620 [NUT -1/4 SELF THREAD 8
98895C KIT-HAC/WC PUSHBAR HAC & WC models 55859C PBAR 4
98895C KIT-HAC/WC PUSHBAR HAC & WC models 55947C INSRT-PUSH BAR GRAY 4
98896C KIT-EZO PUSHBAR FILLER EZO models 56074C PUSH-FILLER EZO/LZO 2
98896C KIT-EZO PUSHBAR FILLER EZO models 56079C PUSH-FRONT EZ-EE GRAY 1
98896C KIT-EZO PUSHBAR FILLER EZO models 97552C NMPLT-LABEL EZ-EE 1
98897C KIT-LZO PUSHBAR FILLER LZO models 56074C PUSH-FILLER EZO/LZO 2
98897C KIT-LZO PUSHBAR FILLER LZO models 56282C PUSH-FRONT EZ-EE VFM GRAY 1
98897C KIT-LZO PUSHBAR FILLER LZO models 98368C NMPLT-LABEL LZO-VFM 1
98898C KIT-EZ HARDWARE (FOR PANELS) EZ models 111411443890 |SCREW-#8-36 X .38, TYPE23,HH THREAD CUTT 3
98898C KIT-EZ HARDWARE (FOR PANELS) EZ models 38417001 SCREW-#8-18X.37 HHSM 4
98898C KIT-EZ HARDWARE (FOR PANELS) EZ models 70002C SCREW-#10 X .50 HHSM 4
98898C KIT-EZ HARDWARE (FOR PANELS) EZ models 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE 4
98899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models 111411443890 |SCREW-#8-36 X .38, TYPE23,HH THREAD CUTT 3
98899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models 38417001 SCREW-#8-18X.37 HHSM 4
98899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models 70002C SCREW-#10 X .50 HHSM 9
98899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models 75524C CLIP-UTYPE 2
98899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models 75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE 8
98900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models 45890C TUBE-DRAIN ASSY- EZ 1
98900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models 56118C FTTNG-DRAIN 1
98900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models 56182C BRKT-DRAIN ADAPTER (EZ) 1
98900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models 70444C CLAMP-DRAIN GASKET 1
98901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall- 15014C NUT -RETAINING 1
mount)
98901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall- 40045C NUT -HEX 1 5/16UN-2B UNPLATED 1
mount)
98901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall- 45403C BUTTN-PUSH ACTUATOR 1
mount)
98901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall- 45663C SLEEV-PUSH BUTTON GUIDE 1
mount)
98916C KIT-BASIN RPLCMINT HAC SINGLE HAC single models 28960C BASIN - HAC STANDARD 1
98916C KIT-BASIN RPLCMNT HAC SINGLE HAC single models 45930C TUBE - DRAIN 1
98917C KIT-BASIN RPLCMNT HAC BI-LEVEL HAC bi-level models 28960C BASIN - HAC STANDARD 1
98917C KIT-BASIN RPLCMNT HAC BI-LEVEL HAC bi-level models 45929C TUBE - DRAIN 1




98923C KIT-DOUBLE BUBBLER Halsey Taylor old-style .6GPM bubbler models 100322740560 |GASKT-BLACK .68 X 1.03 2

98923C KIT-DOUBLE BUBBLER Halsey Taylor old-style .6GPM bubbler models 101422831640 (BUBLR-.6 GPM CP 1

98923C KIT-DOUBLE BUBBLER Halsey Taylor old-style .6GPM bubbler models 15009C ASSY -BUBBLR NIPPLE (GF) 1

98924C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA, HEW; |40575C ASSY -STRAINER & FERRULE CP 1
Halsey Taylor 5701, HBW, HCRF, WM models

98924C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA, HEW; |50074C GASKT-TAILPIPE 1
Halsey Taylor 5701, HBW, HCRF, WM models

98925C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA, HEW; |45336C ASSY -STRAINER & FERRULE 1
Halsey Taylor 5701, HBW, HCRF, WM models

98925C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA, HEW; |50074C GASKT-TAILPIPE 1
Halsey Taylor 5701, HBW, HCRF, WM models

98926C KIT-FILTER HEAD FITTING Elkay and Halsey Taylor models with WaterSentry?® filtration 70818C FTTNG-ELBOW 3/8 STEM X3/8TUBE 1

98926C KIT-FILTER HEAD FITTING Elkay and Halsey Taylor models with WaterSentry® filtration 70822C FTTNG-SUPERSEAL 1/4IN 1

98926C KIT-FILTER HEAD FITTING Elkay and Halsey Taylor models with WaterSentry® filtration 70823C FTTNG-SUPERSEAL 3/8IN 1

98999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler models 0000000059 NUT-#10-32 RIVNUT RUBBER 4

98999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler models 0000000061 GASKET - DRAIN PLATE VRBF 1

98999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler models 0000000062 SCREW-#10-32 x .750 PINNED TORX BHCS SST1 4

98999C KIT-DRAIN PAD VRC8WS/HTHB-HVR8 EZH20® & HydroBoost® Vandal-Resistant Bottle Filler models 15041C TRIM RING 1

98999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler models 29034C DRAIN COVER 1

98999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler models 75758C EXTERNAL RETAINING RING 1

99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-Resistant 0000000178 O-RING1.35ID X 1.43 OD, AS568A-027 BUN 1
bottle fillers

99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-Resistant 40045C NUT -HEX 1 5/16UN-2B UNPLATED 1
bottle fillers

99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-Resistant 45737C SLEEVE-PUSH BUTTON GUIDE 1
bottle fillers

99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-Resistant 45960C BUTTON - PUSH W/O HOLE 1
bottle fillers

99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-Resistant 75672C SCREW-CAP #6-32 1
bottle fillers

99002C KIT-GASKET VR BF TOWER/BASIN Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-Resistant 56375C GASKET - TOWER MOUNTING 1
bottle fillers

99002C KIT-GASKET VR BF TOWER/BASIN Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-Resistant 56376C GASKET - TOWER - SPACER 1
bottle fillers

99003C KIT-RESET SWITCH Elkay EZH20® & Halsey Taylor HydroBoost® In-Wall, Architectural |36301C SWITCH - RESET ASSEMBLY 1
Combos, Surface Mount and Vandal-Resistant Cooler Combo
models

99004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey Taylor [36333C SWITCH - MICRO 1
HTHBHVR bottle filler combo models

99004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey Taylor {40045C NUT -HEX 1 5/16UN-2B UNPLATED 1
HTHBHVR bottle filler combo models

99004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey Taylor (45736C NUT-REG. MNTG. HALF 1
HTHBHVR bottle filler combo models

99004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey Taylor [45958C ROD - PUSH 1
HTHBHVR bottle filler combo models

99004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey Taylor {45959C NUT - CAP 1
HTHBHVR bottle filler combo models

99004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey Taylor [A53214 SPRING: SHUT OFF BUBBLER 1
HTHBHVR bottle filler combo models

LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models 100322740560 |GASKT-BLACK .68 X 1.03 1

LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models 70012C NUT-LOCKING 3/8-1/8 1

LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models 72460042 WASHR-FLAT .69 I.D. STEEL 1

LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models 75630C GLASS FILLER-GOOSENECK 1

LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models A54800 NIPPLE 1

LK128 DRAIN DRKR & 10000 models 45336C ASSY -STRAINER & FERRULE 1

LK128 DRAIN DRKR & 10000 models 45861C TPIPE 1.25X 4.88 1

LK128 DRAIN DRKR & 10000 models 50074C GASKT-TAILPIPE 1

LK128 DRAIN DRKR & 10000 models 50074C GASKT-TAILPIPE 1

LK464 ASSY -DRAIN Soft Sides® & Contour™ models 45336C ASSY -STRAINER & FERRULE 1

LK464 ASSY -DRAIN Soft Sides® & Contour™ models 45784C TRAP -DRAIN CP (SERV) 1

LK464 ASSY -DRAIN Soft Sides® & Contour™ models 45796C FTTNG-ELBOW-1/ 1/4 CP I.P.S. (SERV) 1

LK464 ASSY -DRAIN Soft Sides® & Contour™ models 50074C GASKT-TAILPIPE 1

LK464 ASSY -DRAIN Soft Sides® & Contour™ models 72001527 WASHR-RUBBER 1

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 45330C TUBE -WASTE ARM-J 16.75 1

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 45336C ASSY -STRAINER & FERRULE 3

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 45852C ASSY -TRAP 1

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 45853C ASSY -WASTELINE TEE 1

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 45854C TPIPE 2

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 45856C ASSY -WASTELINE TEE 1

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 45858C WASTELINE 1

LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models 50074C GASKT-TAILPIPE 3




Elkay & Halsey Taylor Drinking Water Product Service Part Kits Cross Reference (Sorted by Service Component)

Dec-2016

Simply scroll to the indiviudal component in Column A or use filtering to determine the appropriate service kit. Filtering Instructions: Simply click the Drop Down arrow on the column to filter and enter the search
criteria. For example, type in a specific part number or to find service kit components related to compressors, click the drop down arrow in Column B and choose Text Filters and Contains. Type in "Comp" and click
OK. To return to original listing, click the drop down arrow and click Select All and OK.

Service Kit Comp Description Qty |Included in Service Kit Description Service Kit for use with:

Component Service Kit:

0000000030 SCREW-MACHINE #10-24 HWHS 2 1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models

0000000059  |NUT-#10-32 RIVNUT RUBBER 4 198999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler
models

0000000061  |GASKET - DRAIN PLATE VRBF 1 198999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler
models

0000000062  [SCREW-#10-32 x .750 PINNED TORX BHCS SST 4 198999C KIT-DRAIN PAD VRC8WS/HTHB-HVR8 EZH20® & HydroBoost® Vandal-Resistant Bottle Filler
models

0000000165 SEAL - VRBF COVER 1 |1000001907 KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler
combo models

0000000178 O-RING 1.35ID X 1.43 OD, AS568A-027 BUNA-N 1 |99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-
Resistant bottle fillers

0000000179 WASHER - SEALING .26 ID X .50 OD 2 11000001907 KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler
combo models

0000000289 |BRACKET-EZ COLD CNTRL 1 |0000000288 |KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012

0000000511 NMPLT-EZ GREEN 1 |0000000747 KIT-EZ/LZ WRAPPER / NMPLT (S) Elkay Single EZ Green Cooler & Bottle Filler Combo models
(Stainless Steel)

0000000511 NMPLT-EZ GREEN 1 (0000000748 KIT-EZ/LZ WRAPPER / NMPLT (L) Elkay Single EZ Green Cooler & Bottle Filler Combo models
(Light Gray Granite)

0000000512 |NMPLT-HAC GREEN 1 |0000000762  |KIT-PANEL HAC FR LOWER/NMPLT (P) Halsey Taylor Single HAC Green Cooler & Bottle Filler
Combo models (Platinum Vinyl)

0000000512  |[NMPLT-HAC GREEN 1 |0000000763 |KIT-PANEL HAC FR LOWER/NMPLT (S) Halsey Taylor Single HAC Green Cooler & Bottle Filler
Combo models (Stainless Steel)

0000000514  |EVAP ASSY-TANKLESS (MED) 1 |0000000886 |KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models

0000000767 COMPR-ASSY 115V EM65HHC 1 (0000000768 COMPR-SERVICE PACK 115V EM65HHC Elkay EZS(TL)G, LZS(TL)G, ECH8GRN, (L)VRCGRN coolers &
bottle fillers and Halsey Taylor HACG, HYRGRN, HTHB-
HACG, HTHB-HVRGRN, SI8GRN models

0000000885 TUBE -CU 3/8" WATER INLET FORMED 1 10000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

0000000885 |TUBE -CU 3/8" WATER INLET FORMED 1 |1000003563  |KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

0000000885 |TUBE -CU 3/8" WATER INLET FORMED 1 |51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters

0000000910 TUBE-1/4" CU FORMED 1 (0000000886 KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models

0000000928 |TPIPE-1.88 1 |98790C KIT-DRAIN (BACKSPLASH/RECESSD) Elkay EDFB, EDFP19C, EFRPC, EHFSA, OHFA; Halsey Taylor
5701, WC models

0000001144 |FTTNG-TEE1/4x1/4x 3/8 3 1000002062 |KIT - 0000001144 TEE (3-PK) Elkay EZH20® and Halsey Taylor HydroBoost® bottle filler
models

0000001144 FTTNG-TEE 1/4x 1/4 x 3/8 1 |98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

0000001193 COMPR-ASSY 115V EM45HHR 1 (0000001194 COMPR-SERVICE PACK 115V EM45HHR Elkay EFA4, EW(C)A4, ER2, FD7003/5, FGDF3/5, LFAE4,
LWCE4, LFDE3/5 and Halsey Taylor SCWT4, SJ2, SW4,
S300/500 models

0000001193 COMPR-ASSY 115V EM45HHR 1 |98180C COMPR-SRVC PAK_115V PW RPLMT EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models

0000001215  |ASSY-ALPHA-NUMERIC DISPLAY 1 11000002436  |KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

0000001217  |ASSY-LED FILTER STATUS 1 11000002436  |KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

0000001218 ASSY-IR BOTTLE PROXIMITY PCB 1 11000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

0000001220 ASSY-COOLER ELECTRONICS CONTROL 1 11000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001220 ASSY-COOLER ELECTRONICS CONTROL 1 (1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001221 |BOARD-NFC CIRCUIT (RFID) PCB 1 |1000002030 |KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001221 |BOARD-NFC CIRCUIT (RFID) PCB 1 11000002443 [KIT-NFC BOARD & COVER Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

0000001221 |BOARD-NFC CIRCUIT (RFID) PCB 1 11000003413  [KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001224 |TRANSFORMER - 120VAC-24VAC 1 11000002437  |KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001224 TRANSFORMER - 120VAC-24VAC 1 |1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001225 HARNESS-THERMISTOR & RFID 1 11000002444 KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001225 HARNESS-THERMISTOR & RFID 1 (1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001227 |HARNESS-24vac POWER 1 11000002442 |KIT-POWER CORD / STRAIN RELIEF Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

0000001227 |HARNESS-24vac POWER 1 11000003413  [KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001301 |GASKT-TOWER / BASIN, BLK 1 |1000001813 [KIT-TOWER/BASIN GASKET For replacement of the gasket on Elkay EZH20® and Halsey
Taylor HydroBoost® bottle fillers with steel integrated
drain/mat

0000001337  |BASIN-EZ (BF) 1 11000001814  |KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001337  |BASIN-EZ (BF) 1 11000001815 |[KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001338  |BASIN-EMABF/HAC (BF) 1 (1000001816 [KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001338  |BASIN-EMABF/HAC (BF) 1 11000001817  [KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with

rubber drain mat (updates to integrated stainless
drain/basin)




0000001338  |BASIN-EMABF/HAC (BF) 1 11000001818 |KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001338 BASIN-EMABF/HAC (BF) 1 |1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001339 FERRL-DRAIN BF 1 1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-
Cooler combo models

0000001339 FERRL-DRAIN BF 1 (1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001339  |FERRL-DRAIN BF 1 |1000001815 |KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001339  |FERRL-DRAIN BF 1 11000001816 |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001339 FERRL-DRAIN BF 1 (1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001339 FERRL-DRAIN BF 1 11000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001339 FERRL-DRAIN BF 1 (1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001339  |FERRL-DRAIN BF 1 |1000001861 [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001339  |FERRL-DRAIN BF 1 11000001862  |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001339  |FERRL-DRAIN BF 1 11000001863  [KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models

0000001339 FERRL-DRAIN BF 1 (1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models

0000001342 |ADAPTER-ALCOVE LK 1 11000001814 [KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001342 ADAPTER-ALCOVE LK 1 |1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001342 ADAPTER-ALCOVE LK 1 11000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001342 ADAPTER-ALCOVE LK 1 (1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001342 |ADAPTER-ALCOVE LK 1 11000001861 |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001342 |ADAPTER-ALCOVE LK 1 11000001862  [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001343 |ADAPTER-ALCOVE HT 1 11000001816 |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001343 |ADAPTER-ALCOVE HT 1 11000001817  |KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001343 ADAPTER-ALCOVE HT 1 (1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

0000001343 |ADAPTER-ALCOVE HT 1 11000001864 |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models

0000001344 HOSE-CONNECTION 1 (1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-
Cooler combo models

0000001344 |HOSE-CONNECTION 1 |1000001814  |KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001344 |HOSE-CONNECTION 1 11000001815 |KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001344 |HOSE-CONNECTION 1 (1000001816 [KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001344 |HOSE-CONNECTION 1 11000001817  [KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001344 HOSE-CONNECTION 1 (1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001344 |HOSE-CONNECTION 1 ]1000001819  |KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001344 |HOSE-CONNECTION 1 11000001861 [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001344 |HOSE-CONNECTION 1 11000001862  [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001344 |HOSE-CONNECTION 1 (1000001863 [KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

0000001344 |[HOSE-CONNECTION 1 11000001864  |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models

0000001348  |BRKT-FLTR (EZ SNGL) 1 |0000000746 |ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

0000001349 |GASKET-TOWER/BASIN RETRO 1 11000001814 [KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001349 GASKET-TOWER/BASIN RETRO 1 |1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001349 |GASKET-TOWER/BASIN RETRO 1 (1000001816 [KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001349 |GASKET-TOWER/BASIN RETRO 1 11000001817  [KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001349 |GASKET-TOWER/BASIN RETRO 1 11000001818  |KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001349 |GASKET-TOWER/BASIN RETRO 1 |1000001819  |KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001349 |GASKET-TOWER/BASIN RETRO 1 11000001861 [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001349 |GASKET-TOWER/BASIN RETRO 1 11000001862  [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001349 GASKET-TOWER/BASIN RETRO 1 |1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

0000001349 |GASKET-TOWER/BASIN RETRO 1 11000001864 |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models




0000001355 |PLATE-BACK, RETRO 1000001814  |KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001355 PLATE-BACK, RETRO 1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001355 PLATE-BACK, RETRO 1000001816  |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001355  |PLATE-BACK, RETRO 1000001817  |KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001355  |PLATE-BACK, RETRO 1000001818  |KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001355  |PLATE-BACK, RETRO 1000001819  |KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001355 PLATE-BACK, RETRO 1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001355 PLATE-BACK, RETRO 1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001355 PLATE-BACK, RETRO 1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

0000001355 |PLATE-BACK, RETRO 1000001864  |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models

0000001357 DRAIN-BRANCH LINE, EZ 1000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001357 |DRAIN-BRANCH LINE, EZ 1000001877  |KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models

0000001358 |DRAIN-BRANCH LINE, EZTLR 1000001815  |KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001358 |DRAIN-BRANCH LINE, EZTLR 1000001922  |KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models

0000001359 DRAIN-BRANCH LINE, HAC SNGL 1000001816  |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001359 |DRAIN-BRANCH LINE, HAC SNGL 1000001818  |KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001359 |DRAIN-BRANCH LINE, HAC SNGL 1000001861  |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001359 DRAIN-BRANCH LINE, HAC SNGL 1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

0000001359 |DRAIN-BRANCH LINE, HAC SNGL 1000001889  |KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey
Taylor HAC-HydroBoost® combo models

0000001359 |DRAIN-BRANCH LINE, HAC SNGL 1000001900  |KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-
HVRGRN combo models

0000001360 |DRAIN-BRANCH LINE, HAC BL 1000001817  |KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001360 |DRAIN-BRANCH LINE, HAC BL 1000001819  |KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001360 |DRAIN-BRANCH LINE, HAC BL 1000001862  |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001360 DRAIN-BRANCH LINE, HAC BL 1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models

0000001360 |DRAIN-BRANCH LINE, HAC BL 1000001890  |KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor
HTHB-HAC combo models

0000001360 |DRAIN-BRANCH LINE, HAC BL 1000001923  |KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models

0000001361  |BRKT-BRACE, BASIN SEAL 1000001813  |KIT-TOWER/BASIN GASKET For replacement of the gasket on Elkay EZH20® and Halsey
Taylor HydroBoost® bottle fillers with steel integrated
drain/mat

0000001364 |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001812  |KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-
Cooler combo models

0000001364 |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001814  |KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001364 |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001816  |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001364 |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001817  |KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001364 |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001818  |[KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001364  |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001819  |KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001364 |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001861  |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001364 O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

0000001364 |O-RING, BF DRAIN 1-1/8 OD x 15/16 ID 1000001864  |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models

0000001365 DRAIN-RECEPTOR 1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-
Cooler combo models

0000001365 |DRAIN-RECEPTOR 1000001814  |KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001365 |DRAIN-RECEPTOR 1000001815  |KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001365 |DRAIN-RECEPTOR 1000001816  |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

0000001365 |DRAIN-RECEPTOR 1000001817  |KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with

rubber drain mat (updates to integrated stainless
drain/basin)




0000001365 |DRAIN-RECEPTOR 1000001818  |[KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001365 DRAIN-RECEPTOR 1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001365 DRAIN-RECEPTOR 1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

0000001365 DRAIN-RECEPTOR 1000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

0000001365 |DRAIN-RECEPTOR 1000001863  |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models

0000001365 DRAIN-RECEPTOR 1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models

0000001371  |WIRE -#20AWG WHT 1000002031  |KIT-EXTENSION WIRE (BI-LEVEL) Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

0000001372  |WIRE -#20AWG BLK 1000002031  |KIT-EXTENSION WIRE (BI-LEVEL) Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

0000001374 BRKT-CNTRL BOARD MTG 1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

0000001374 BRKT-CNTRL BOARD MTG 1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001621 VALVE-SOLENOID 24V (EZ) 1000002435 KIT-SOLENOID VLV/REG. ASSY. Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001676 BASIN-VRC/HVR (BF) 1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

1000001676  |BASIN-VRC/HVR (BF) 1000001862  |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

1000001676  |BASIN-VRC/HVR (BF) 1000001863  |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models

1000001676 BASIN-VRC/HVR (BF) 1000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models

1000001683 |COVER-FLTR BOARD PROTECTOR 1000002030  |KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001683 COVER-FLTR BOARD PROTECTOR 1000002443 KIT-NFC BOARD & COVER Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

1000001683 COVER-FLTR BOARD PROTECTOR 1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001685 BRKT-FILTER/RFID MOUNT 1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001685  |BRKT-FILTER/RFID MOUNT 1000003413  |KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001763  |EVAP-NO TIN (MED) (NEXT GEN) 1000002438  |KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

1000001834 |MOTOR-FAN 4W 115V 1000002439  |KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001835 CLIP-STANDOFF 1/4" SPACE (CIRCUIT BOARD) 1000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001835 CLIP-STANDOFF 1/4" SPACE (CIRCUIT BOARD) 1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001865 TUBE -CU 1/4" X 12" (1 EXP) 98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

1000001865 |TUBE-CU 1/4" X 12" (1 EXP) 98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

1000001883 |TUBE - ELBOW VACUUM BREAK 45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB,
WMCB, SCWTWC, XP models

1000001891  |BRKT -TRIM STRIP EZ UNIV. (SS) 1000000758  |KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit)

1000001891  |BRKT -TRIM STRIP EZ UNIV. (SS) 1000000888  |KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit)

1000001891  |BRKT -TRIM STRIP EZ UNIV. (SS) 1000002253  |KIT-EZTL UNIV TRIM (SS) Elkay EZ / LZ Universal Bi-Level stainless steel models

1000001891  |BRKT -TRIM STRIP EZ UNIV. (SS) 1000002421  [KIT-HTVZ UNIV TRIM (SS) Halsey Taylor HTVZ Universal Bi-Level stainless steel models

1000001892  |BRKT -TRIM STRIP EZ UNIV. (L) 1000000759  |KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side
unit)

1000001892  |BRKT -TRIM STRIP EZ UNIV. (L) 1000000944  |KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side
unit)

1000001892  |BRKT -TRIM STRIP EZ UNIV. (L) 1000002254  |KIT-EZTL UNIV TRIM (L) Elkay EZ / LZ Universal Bi-Level light gray granite models

1000001893 |COVER PLATE-EZ UNIV TRIM (SS) 1000000758  |KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit)

1000001893 |COVER PLATE-EZ UNIV TRIM (SS) 1000000888  |KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit)

1000001893 |COVER PLATE-EZ UNIV TRIM (SS) 1000002253  |KIT-EZTL UNIV TRIM (SS) Elkay EZ / LZ Universal Bi-Level stainless steel models

1000001893 COVER PLATE-EZ UNIV TRIM (SS) 1000002421 KIT-HTVZ UNIV TRIM (SS) Halsey Taylor HTVZ Universal Bi-Level stainless steel models

1000001894 |COVER PLATE- EZ UNIV TRIM (L) 1000000759  |KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side
unit)

1000001894 |COVER PLATE- EZ UNIV TRIM (L) 1000000944  |KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side
unit)

1000001894  |COVER PLATE- EZ UNIV TRIM (L) 1000002254  |KIT-EZTL UNIV TRIM (L) Elkay EZ / LZ Universal Bi-Level light gray granite models

1000001905 |CLAMP-HOSE #6 1000001812  |KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-
Cooler combo models

1000001905 |CLAMP-HOSE #6 1000001814  |KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

1000001905 |CLAMP-HOSE #6 1000001815  |KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

1000001905 |CLAMP-HOSE #6 1000001816  |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

1000001905 |CLAMP-HOSE #6 1000001817  |KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

1000001905 CLAMP-HOSE #6 1000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

1000001905 |CLAMP-HOSE #6 1000001819  |KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABEF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

1000001905 |CLAMP-HOSE #6 1000001861  |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat

(updates to integrated stainless drain/basin)




1000001905 |CLAMP-HOSE #6 1 11000001862 [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

1000001905 |CLAMP-HOSE #6 1 |1000001863 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

1000001905 |CLAMP-HOSE #6 1 ]1000001864 |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models

1000001941 SPACER-#8 I.D. x .25 LG ALUMINUM 1 11000002437 KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001941 SPACER-#8 I.D. x .25 LG ALUMINUM 1 (1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000001980  |BRKT-ADAPTOR ALPHA/NUMERIC MTG 1 11000002436 |KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

1000001984  |SCREW-#4-20 X .250 PHP 4 11000001032  |[KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models

1000001985 SCREW-#4-40 X .312 FHP 2 1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models

1000001987  |NUT-#4-40 HEX 2 |1000001032 |KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models

1000001997 ELECTRONIC CONTROL-BATTERY 1 (1000001032 KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models

1000002053 TUBE-CU 3/8" WATER INLET FORMED (NEXT GEN) 1 11000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000002053 TUBE-CU 3/8" WATER INLET FORMED (NEXT GEN) 1 |1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000002060 COVER-TOP & FRONT 1 (1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000002118 |COMPR-ASSY 115V/60Hz EM 30 HNR 1 |1000002149 |[COMPR-SERVICE PACK 115V-60H EM30HNR Elkay HEW3 models

1000002125 |COMPR-ASSY 115V/60Hz EM 20 HBR 1 (1000002148 [COMPR-SERVICE PACK 115V-60H EM20HBR Elkay ERS1 and Halsey Taylor SJ1 models

1000002142  |INSERT-TOP COVER (NEXT GEN) 1 11000002433  |KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000002196 |COVER-PROTECTIVE ALPHA DISPLAY 1 11000002433  |KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000002212  |ASSY-CNTRL BOARD / TRANS (EZ/LZ8) 1 |1000002601 |KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000002222 CAP-.187 I.D. x .50 LG PLASTIC 1 11000002438 KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

1000002222 CAP-.187 I.D. x .50 LG PLASTIC 1 11000002444 KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000002298 PANEL-HT UNIV TRIM (PV) 1 (1000002422 KIT-HTVZ UNIV TRIM (PV) Halsey Taylor HTVZ Universal Bi-Level Platinum Vinyl
models

1000002300  |BRKT-TRIM STRIP HT UNIV. (PV) 1 11000002422  |KIT-HTVZ UNIV TRIM (PV) Halsey Taylor HTVZ Universal Bi-Level Platinum Vinyl
models

1000002315 |P BAR-FRONT H/T CHARCOAL 1 11000002029 [KIT-HTVZ FRONT-SIDE PUSHBARS Halsey Taylor HTVZ models

1000002321 P BAR-SIDE H/T CHARCOAL 2 1000002029 KIT-HTVZ FRONT-SIDE PUSHBARS Halsey Taylor HTVZ models

1000002460 |LABEL-SERVICE 1 |0000000747  |KIT-EZ/LZ WRAPPER / NMPLT (S) Elkay Single EZ Green Cooler & Bottle Filler Combo models
(Stainless Steel)

1000002724 SCREW-#8-32 x .75 HEXAGON SOCKET HEAD CAP 1 |1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000003001 WIRE -#20AWG WHT 24V Neutral to Solenoid - Bi-Level| 1 [1000002601 KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000003079 ASSY-VIAL WITH THERMAL MASTIC 1 (1000002444 KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000003079 ASSY-VIAL WITH THERMAL MASTIC 1 (1000002601 KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000003079  |ASSY-VIAL WITH THERMAL MASTIC 1 11000003413  [KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

1000003115  |BRKT-FLTR (LVRC / HAC) 1 11000003563 |[KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

1000003650 |TRIM - BOTTLE OUTLINE HT 1 (1000003693  (KIT - BOTTLE FILLER TRIM HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

1000003651 |TRIM - BOTTLE OUTLINE LK 1 |1000003692 KIT - BOTTLE FILLER TRIM LK Elkay Outdoor Tubular Bottle Filling Station models

100023340560 |GASKT-NEOPRENE 1 [1000002143 |KIT-OVL-Il DRAIN/STRAINER ASSY. Halsey Taylor OVL-1l models

100035440560 |WASHR-SEAT .188ID RUBBER 1 |600939218550 |STEM -W/SEAT WASHER ASSY Various old-style Halsey Taylor fountains & coolers

100035440560 |WASHR-SEAT .188ID RUBBER 1 1601482951550 |ASSY -STEM PLASTIC Various old-style (Pre-1993) fountains & coolers

100035440560 |WASHR-SEAT .188ID RUBBER 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers

100035440560 |WASHR-SEAT .188ID RUBBER 1 (601420251550 [ASSY -STEM Various old-style Halsey Taylor fountains & coolers

100035440560 |WASHR-SEAT .188ID RUBBER 1 1601420651550 |ASSY -STEM (SERV) Various old-style Halsey Taylor fountains & coolers

10003C BUTTN-PUSH STOP 1 (600755351590 [ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains

10003C BUTTN-PUSH STOP 1 (601033751590 [ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers

10003C BUTTN-PUSH STOP 1 (601474351550 [ASSY -PUSH BUTTON & STEM(SERV) Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 |600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models

100118740560 |DIAPHRAGM 1 1600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains

100118740560 |DIAPHRAGM 1 1601038951920 |[BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 (601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 |601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 (601424051550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 |601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers

100118740560 |DIAPHRAGM 1 (601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers

100118740560 |DIAPHRAGM 1 |601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers

100118740560 |DIAPHRAGM 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 (601517351550 |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

100118740560 [DIAPHRAGM 1 |601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 (601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 |601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 (601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 1602622951550 |VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 1602623051550 (VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 |602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers

100118740560 |DIAPHRAGM 1 (600805051550 [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers

100118740560 |DIAPHRAGM 1 (601475751550 [ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers

100147140560 |GASKT-DRAIN 1 1602703851550 |KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers

100147140560 |GASKT-DRAIN 1 1621403251550 [PRTPK- Various Elkay & Halsey Taylor models

100147140560 |GASKT-DRAIN 1 |0000000964 [KIT-BASIN RPLCMINT EMABF EMABF & LMABF models

100147140560 |GASKT-DRAIN 1 |0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models




100147140560 |GASKT-DRAIN 1 |0000000966 [KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models

100147140560 |GASKT-DRAIN 1 |1000001889 |KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey
Taylor HAC-HydroBoost® combo models

100147140560 |GASKT-DRAIN 1 |1000001890 |KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor
HTHB-HAC combo models

100147140560 |GASKT-DRAIN 1 11000001900 |KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-
HVRGRN combo models

100147140560 |GASKT-DRAIN 1 |1000001923  |KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models

100147140560 |GASKT-DRAIN 1 |600037951640 [ASSY -STRAINER Various Elkay & Halsey Taylor models

100147140560 |GASKT-DRAIN 1 (602703351550 (KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers

100147140560 |GASKT-DRAIN 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models

100147140560 |GASKT-DRAIN 1 1621403251550 [PRTPK-DRAIN PLUG Various Elkay & Halsey Taylor models

100147140560 |GASKT-DRAIN 1 (98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers

100147140560 |GASKT-DRAIN 1 |98683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler*
models (*For bottle filler portion only on 4420(DB)BF and
4430BF)

100147140560 |GASKT-DRAIN 1 198684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel
Fountains, 4420(DB)BF* & 4430BF* (*For basin/bubbler
section only)

100147140560 |GASKT-DRAIN 1 |98856C KIT-HAC/EMABF DRAIN HAC and EMABF models

10031C NUT -RETAIN 1 1/8-24 4 1000001965 |KIT-10031C RETAING NUT (4 PCS) Various Elkay and Halsey Taylor models

10031C NUT -RETAIN 1 1/8-24 10 |1000001966  |KIT - 10031C RETAING NUT (10 PCS) Various Elkay and Halsey Taylor models

10031C NUT -RETAIN 1 1/8-24 1 11000002024 KIT-PUSHBUTTON BUBBLER BUTTON ASSY Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

10031C NUT -RETAIN 1 1/8-24 1 (45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

10031C NUT -RETAIN 11/8-24 1 [(45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models

10031C NUT -RETAIN 1 1/8-24 1 |98678C KIT - 1.0 GPM REGULATOR Elkay & Halsey Taylor Outdoor Steel Bottle Fillers

10031C NUT -RETAIN 1 1/8-24 98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ &
Contour™ Fountains; Also Outdoor Dual & Triple Bottle
Fillers

100322740560 |GASKT-BLACK .68 X 1.03 2 |[601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers

100322740560 |GASKT-BLACK .68 X 1.03 2 1601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers

100322740560 |GASKT-BLACK .68 X 1.03 2 1601637151550 |ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers

100322740560 |GASKT-BLACK .68 X 1.03 4 (0000001192 KIT-100322740560 GASKET (4 PCS) Various Elkay & Halsey Taylor models

100322740560 |GASKT-BLACK .68 X 1.03 2 |1000001792  |KIT - GF BUBBLER NIPPLE W/GASKET Elkay LK109A glass fillers, outdoor tubular EZH20® bottle
fillers and Halsey Taylor Endura [I™ HydroBoost® tubular
bottle fillers

100322740560 |GASKT-BLACK .68 X 1.03 25 (1000001878  |KIT - 100322740560 Gasket (25 PCS) Various Elkay and Halsey Taylor models

100322740560 |GASKT-BLACK .68 X 1.03 1 (1000002022 [KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

100322740560 |GASKT-BLACK .68 X 1.03 1 11000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

100322740560 |GASKT-BLACK .68 X 1.03 4 11000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

100322740560 | GASKT-BLACK .68 X 1.03 2 1000002705 |KIT - HT Double Bubbler Nipple & Gasket Halsey Taylor Double Bubbler™ models

100322740560 |GASKT-BLACK .68 X 1.03 2 |45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models

100322740560 | GASKT-BLACK .68 X 1.03 2 192776C KIT -BFC REGUL RPMNT Old-style BFC models

100322740560 |GASKT-BLACK .68 X 1.03 4 [96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

100322740560 |GASKT-BLACK .68 X 1.03 2 |98533C KIT - HALSEY/TAYLOR DOUBLE BUBBLER Halsey Taylor with chrome-plated plastic Double Bubbler™

100322740560 |GASKT-BLACK .68 X 1.03 1 [98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers

100322740560 |GASKT-BLACK .68 X 1.03 1 198686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers

100322740560 |GASKT-BLACK .68 X 1.03 2 [98923C KIT-DOUBLE BUBBLER Halsey Taylor old-style .6GPM bubbler models

100322740560 |GASKT-BLACK .68 X 1.03 1 |LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models

100330240560 |WASHR-SEAT FOR 8240 1 |600824051640 [ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers

100330240560 |WASHR-SEAT FOR 8240 1 [92445C KIT -VALVE SEAL Various Elkay models

100352940560 |GASKT-SLIP NUT 1 |600037951640 |ASSY -STRAINER Various Elkay & Halsey Taylor models

100602640560 |WASHR-FLAT .218ID SEAT 1 (600814051640 [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers

100602640560 |WASHR-FLAT .218ID SEAT 1 1600824051640 |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers

100602640560 |WASHR-FLAT .218ID SEAT 1 192445C KIT -VALVE SEAL Various Elkay models

100755942590 |STEM -P/B 7-3/8 1 |600755351590 |ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains

10078C ADAPT-VP DRAIN PLUG 1 |600985451640 [ASSY -DRAIN PLUG AND ADAPTOR Various old-style Halsey Taylor fountains & coolers

100806740570 | GRMMT-RUBBER 4 |0000000255 |KIT-COMPR MTG-5/10 GAL REMOTE 5 & 10 GPH Remote Chillers

100806740570 |GRMMT-RUBBER 4 10000000256 KIT-COMPR MTG-SCWT/HOF/SW/WM SCWT, HOF, SW & WM models

100806740570 |GRMMT-RUBBER 4 |98777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models

10080C NIPPL-BUBBLER 1/4 1 |15013C ASSY -BUBBLER TUBE Halsey Taylor 4520-68, 4521-68, Endura™ Standard and
Freeze-Resistant (4705, 4710, 4715, 4720) and 4880/4881
models

100821140560 |ORING-RUBBER 1 |600814051640 [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers

100821140560 |ORING-RUBBER 1 (600824051640 [ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers

101032542590 |STEM -P/B HBW, 3-1/8 1 (601033751590 [ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 (600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models

101209351740 |ASSY -CAP LESS LOGO 1 1601038951920 |BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 |601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 (601420051740 |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 |601424051550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 (601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 1601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 |601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 |601517351550 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 (601590551550 |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 |601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 (601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 1602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 1602623051550 (VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers

101209351740 |ASSY -CAP LESS LOGO 1 |602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers




101209351740 |ASSY -CAP LESS LOGO 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 1600661951550 |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models
101420131560 |BODY -VALVE RH-CP 1 |601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 (601420051740 |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 |601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 1601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 1601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 (601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 1601632751550 |ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 1602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 |602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers
101420131560 |BODY -VALVE RH-CP 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
101420340550 |ORING-864ID (LG) 1 (601482951550 [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers
101420340550 |ORING-864ID (LG) 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
101420340550 |ORING-864ID (LG) 1 (601420251550 [ASSY -STEM Various old-style Halsey Taylor fountains & coolers
101420340550 |ORING-864ID (LG) 1 192445C KIT -VALVE SEAL Various Elkay models
101420531550 [CAP -SEAL 1 (601482951550 [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers
101420531550 |CAP -SEAL 1 |601420251550 [ASSY -STEM Various old-style Halsey Taylor fountains & coolers
101420731550 |VALVE-STEM 1 (601420251550 |ASSY -STEM Various old-style Halsey Taylor fountains & coolers
101420731550 |VALVE-STEM 1 |601420651550 |ASSY -STEM (SERV) Various old-style Halsey Taylor fountains & coolers
101420840550 |ORING-.362ID 2 1601482951550 |ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers
101420840550 |ORING-.362ID 2 |600825051550 |ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
101420840550 |ORING-.362ID 2 1601420251550 |ASSY -STEM Various old-style Halsey Taylor fountains & coolers
101422231550 [FTTNG-COUPLING HOSE PLASTIC 1 |601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
101422231550 |FTTNG-COUPLING HOSE PLASTIC 1 (601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
101422231550 [FTTNG-COUPLING HOSE PLASTIC 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
101422431550 [NIPPL-PROJECTOR PLASTIC 1 1601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
101422431550 [NIPPL-PROJECTOR PLASTIC 1 (601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
101422431550 |NIPPL-PROJECTOR PLASTIC 1 1601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
101422543550 |[CLAMP-HOSE 2 [601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
101422543550 |CLAMP-HOSE 2 1601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
101422543550 |[CLAMP-HOSE 2 (601483751550 |ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
101422543550 |CLAMP-HOSE 2 1601632251550 |ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
101422543550 |CLAMP-HOSE 2 1601632751550 |ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
101422543550 |[CLAMP-HOSE 2 (601636151550 |ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers
101422543550 |CLAMP-HOSE 2 |601637151550 |ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers
101422831640 |BUBLR-.6 GPM CP 1 |98923C KIT-DOUBLE BUBBLER Halsey Taylor old-style .6GPM bubbler models
101423931560 |BODY -VALVE LH-CP 1 (601424051550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
101423931560 |BODY -VALVE LH-CP 1 (601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
101423931560 |BODY -VALVE LH-CP 1 (601517351550 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
101423931560 |BODY -VALVE LH-CP 1 (601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
101423931560 |BODY -VALVE LH-CP 1 1602623051550 (VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers
101431042590 |ASSY -CAP & ROD 1 (601474351550 [ASSY -PUSH BUTTON & STEM(SERV) Various old-style Halsey Taylor fountains & coolers
101449731550 |FTTNG-ELBOW 1/4 PIPEX1/4 HOSE 1 (601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
101449731550 |FTTNG-ELBOW 1/4 PIPEX1/4 HOSE 1 (601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
101449731550 |FTTNG-ELBOW 1/4 PIPEX1/4 HOSE 1 (601636151550 [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers
101452831560 |SHRD -FAN 1 (601456651550 [ASSY -COND & SHROUD Various old-style Halsey Taylor fountains & coolers
101453431640 |CAP -PUSHBUTTON 1 (601451151550 [ASSY -PUSHBUTTON Halsey Taylor top pushbutton activation models
101461040560 |INSUL-TUBE 3/8-3/16 BULK 1 |601110851550 (ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers
101461040560 [INSUL-TUBE 3/8-3/16 BULK 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
101461040560 |INSUL-TUBE 3/8-3/16 BULK 2 1602673051550 |ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers
101461040560 |INSUL-TUBE 3/8-3/16 BULK 3 198686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers
101461140560 [INSUL-TUBE 1/2 X 3/16 2 (601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
101461140560 |INSUL-TUBE 1/2 X 3/16 2 1601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
101473008550 |FTTNG-HOSE BARB 1 (601416651550 [ASSY -PROJECTOR CONNECTION Various old-style Halsey Taylor fountains & coolers
101473008550 |FTTNG-HOSE BARB 1 1601632351550 [ASSY -PROJ CONN Various old-style Halsey Taylor fountains & coolers
101474551730|STUD -COMPR MTG 4 198777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models
101507531550 |STEM -PUSH BUTTON 1 |601451151550 [ASSY -PUSHBUTTON Halsey Taylor top pushbutton activation models
101514331640 [INSRT-PUSH BAR CP 4 198870C KIT-5701 PUSHBAR ASSY 5701 models
101516143550 |STUD -COMPR MTG 4 198777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models
101569751550 |VALVE-CLIPPARD 1 |601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers
101570540560 |GASKT-2.0 ID 1 |0000000325 |KIT-DRAIN PLUG/GASKET (4400 SERIES) Outdoor Tubular Fountains & Bottle Fillers
101570540560 |GASKT-2.0 ID 1 11000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models
101570540560 |GASKT-2.0 ID 1 |98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers
101637451550 [RING -FRICTION 1 (1000002143 KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models
102607431560 |NUT -LOCK 1 (601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
102607431560 [NUT -LOCK 1 1601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
102607431560 |NUT -LOCK 1 |601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers
102607431560 |NUT -LOCK 1 (601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
102607431560 |NUT -LOCK 1 |601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
102607431560 |NUT -LOCK 1 (601636151550 [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers
102607431560 |NUT -LOCK 1 (602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers
102607431560 |NUT -LOCK 1 (602623051550 [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers
102607431560 |NUT -LOCK 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers
102639931640 |PLUG -DRAIN L/LOGO CP 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers
102639931640 |PLUG -DRAIN L/LOGO CP 1 |0000000964 |KIT-BASIN RPLCMINT EMABF EMABF & LMABF models
102639931640 |PLUG -DRAIN L/LOGO CP 1 (0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models
102639931640 |PLUG -DRAIN L/LOGO CP 1 ]1000001889 |KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey
Taylor HAC-HydroBoost® combo models
102639931640 |PLUG -DRAIN L/LOGO CP 1 11000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor
HTHB-HAC combo models
102639931640 |PLUG -DRAIN L/LOGO CP 1 1602703251550 (KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers
102639931640 |PLUG -DRAIN L/LOGO CP 1 (602703351550 (KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers
102639931640 |PLUG -DRAIN L/LOGO CP 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models
102639931640 |PLUG -DRAIN L/LOGO CP 1 |98856C KIT-HAC/EMABF DRAIN HAC and EMABF models
102645440550 |ORING-.3591D X .139 2 1600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles
102645440550 |ORING-.3591D X .139 2 |600825051550 |ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
102688531550 |SUPRS-SURGE 1 |98862C KIT-8880 BUBBLER TUBE ASSY 8880 models




104229751550 |REGUL-WATER (WATTS) 1 (601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers

110035742830 |[SPRNG-VALVE 1 (601482951550 [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers

110035742830 |SPRNG-VALVE 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles

110035742830 |SPRNG-VALVE 600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers

110035742830 |[SPRNG-VALVE 601420251550 [ASSY -STEM Various old-style Halsey Taylor fountains & coolers

110074243890

SCREW-3/8-24X1/2 HD MS ZP

601480051550

ASSY -COLD WATER LINE RH

Various old-style (Pre-1993) fountains & coolers

110074243890

SCREW-3/8-24X1/2 HD MS ZP

601480151550

ASSY -COLD WATER LINE LH

Various old-style (Pre-1993) fountains & coolers

110074243890

SCREW-3/8-24X1/2 HD MS ZP

602643051550

ASSY -VALVE

Various old-style Halsey Taylor fountains & coolers

110091135550

SPRNG-

600661951550

ASSY -COLD WATER LINE-WM

Halsey Taylor older WM models

1
1
1
1
1
1
110091135550 |SPRNG- 1 |600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains
110091135550 |SPRNG- 1 1601038951920 [BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers
110091135550 |[SPRNG- 1 (601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 (601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
110091135550 |[SPRNG- 1 (601424051550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 |601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers
110091135550 |[SPRNG- 1 (601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
110091135550 |SPRNG- 1 |601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
110091135550 |SPRNG- 1 1601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
110091135550 |[SPRNG- 1 (601517351550 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 (601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers
110091135550 |[SPRNG- 1 (601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 (601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 |601635951550 (ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
110091135550 [SPRNG- 1 (602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 1602623051550 (VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers
110091135550 [SPRNG- 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 1602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
110091135550 |SPRNG- 1 (600805051550 [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers
110113242550 |WASHR-FLAT SS .378 ID x .824 OD 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles
110113242550 |WASHR-FLAT SS .378 ID x .824 OD 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
110113242550 |WASHR-FLAT SS .378 ID x .824 OD 2 |98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models
110113342550 |SPRNG-PACKING 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles
110113342550 |SPRNG-PACKING 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
110113442550 |WASHR-FLAT SS .378 ID x .604 OD 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles
110113442550 |WASHR-FLAT SS .378 ID x .604 OD 1 |600825051550 |ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
110113808550 |NUT -ADJUSTING 3/8-24 1 |600116618640 [ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles
110113808550 |[NUT -ADJUSTING 3/8-24 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
110115708550 |[NUT -RING 1 1/4-18 LOCK 1 |600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models
110115708550 [NUT -RING 1 1/4-18 LOCK 1 |601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers
110115708550 |[NUT -RING 1 1/4-18 LOCK 1 (601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
110115708550 [NUT -RING 1 1/4-18 LOCK 1 (601424051550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
110115708550 |[NUT -RING 1 1/4-18 LOCK 1 (601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
110115708550 |[NUT -RING 1 1/4-18 LOCK 1 1601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
110115708550 |[NUT -RING 1 1/4-18 LOCK 1 1601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
110115708550 [NUT -RING 1 1/4-18 LOCK 1 (602623051550 [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers
110115708550 [NUT -RING 1 1/4-18 LOCK 1 |602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers
110115708550 |[NUT -RING 1 1/4-18 LOCK 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
110118408550 |[SCREW-ADJUSTING 1 |600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains
110118408550 |SCREW-ADJUSTING 1 |601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 |600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models
110119108550 |[NUT -DIAPHRAGM 10-32 1 1600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains
110119108550 [NUT -DIAPHRAGM 10-32 1 |601038951920 [BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 |601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 1601424051550 |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 |601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 1601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 |601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (601517351550 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 |601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (602623051550 [VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 |602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
110119108550 |[NUT -DIAPHRAGM 10-32 1 (600805051550 [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers
110119108550 [NUT -DIAPHRAGM 10-32 1 (601475751550 [ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers
110346220550 |[NUT -LOCK 1 1/2-111/2 2 11000002143 KIT-OVL-Il DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models
110346220550 |[NUT -LOCK 11/2-111/2 1 (600037951640 [ASSY -STRAINER Various Elkay & Halsey Taylor models
110544942550 |SCREW-#8-32 X .125 SET 1 1400942308640 [BUBLR-VANDAL RESISTANT Halsey Taylor 2507 and 2509 Fountain Heads
110544942550 |SCREW-#8-32 X .125 SET 1 |98287C ASSY-BUBLR VR W/SCREEN & SCREW Elkay & Halsey Taylor Outdoor Stone Aggregate Fountains -
except 4591 style
110868642550 |SCREW-#10-24 X .75 SOCKET HEAD 1 |0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models
110868642550 |[SCREW-#10-24 X .75 SOCKET HEAD 1 11000001900 |KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-
HVRGRN combo models
110868642550 |SCREW-#10-24 X .75 SOCKET HEAD 1 |1000001923  |KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models
111008343890 |SCREW-#10-24 X .62 HHMS 4 (601456651550 |ASSY -COND & SHROUD Various old-style Halsey Taylor fountains & coolers
111008343890 |SCREW-#10-24 X .62 HHMS 8 [98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models
111008343890 |SCREW-#10-24 X .62 HHMS 8 [98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models




111008343890 |SCREW-#10-24 X .62 HHMS 8 [98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models

111008343890 |SCREW-#10-24 X .62 HHMS 8 [98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models

111008343890 |SCREW-#10-24 X .62 HHMS 8 [98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models

111008343890 |SCREW-#10-24 X .62 HHMS 8 [98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models

111008343890 |SCREW-#10-24 X .62 HHMS 8 (98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models

111008343890 [SCREW-#10-24 X .62 HHMS 8 198825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models

111008343890 [SCREW-#10-24 X .62 HHMS 8 198826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

111008343890 |SCREW-#10-24 X .62 HHMS 8 [98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

111008343890 |SCREW-#10-24 X .62 HHMS 8 [98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

111008343890 |SCREW-#10-24 X .62 HHMS 8 [98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

111411443890 |SCREW-#8-36 X .38,TYPE23,HH THREAD CUTTING 1 |98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

111411443890 |SCREW-#8-36 X .38, TYPE23,HH THREAD CUTTING 2 |98773C KIT-35839C COLD CONTROL Various Elkay & Halsey Taylor models

111411443890 |SCREW-#8-36 X .38,TYPE23,HH THREAD CUTTING 3 ]98898C KIT-EZ HARDWARE (FOR PANELS) EZ models

111411443890 |SCREW-#8-36 X .38, TYPE23,HH THREAD CUTTING 3 198899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models

111411743620 |[NUT -1/4 SELF THREAD 8 0000000872 KIT-EMABF PUSHBAR / NUTS EMABF models

111411743620 |[NUT -1/4 SELF THREAD 8 [98791C KIT-EHFSA PUSHBAR EHFSA Light Gray Granite & Stainless Steel models

111411743620 |[NUT -1/4 SELF THREAD 8 [98870C KIT-5701 PUSHBAR ASSY 5701 models

111411743620 |NUT -1/4 SELF THREAD 8 [98895C KIT-HAC/WC PUSHBAR HAC & WC models

111516043890 |PIN -COT R-SQ CUT-1/8 X 3L 2 192776C KIT -BFC REGUL RPMNT Old-style BFC models

111543043890 |[NUT -HEX #6-32 2 10000000243 |KIT-31395C FAN MOTOR ASSY ER2, ERS1, FD7003/7005, HEW3, HVRHD, LFDE3, (L)VRCHD,
$300/500, SJ1 & SJ2 220V models

111543043890 |NUT -HEX #6-32 2 |98788C KIT-31341C FAN MOTOR ASSY Elkay ER2, ERS1, FD7003, FD7005, LFDE3, HEW, (L)VRCHD;
Halsey Taylor HVRHD, SJ1, SJ2, S300, S500 models

111573608550 [NUT -HEX 15/32-32 THD SPACER 1 (601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers

112627543890 |SCREW-#10-24X.50 PHTC 6 11000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models

112705501550 |GASKT 1 (21781C ASSY -BASIN&TAILPIPE FD1&3 Elkay FD and Halsey Taylor S-Series 3 & 5 gallon models

112705501550 |GASKT 1 (21782C ASSY -BASIN&TAILPIPE FD3F3 Elkay FD and Halsey Taylor S-Series Glass Filler Prepped
models

112705501550 |GASKT 1 |21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models

112705501550 |GASKT 1 |21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models

112705501550 |GASKT 1 |21812C ASSY -BASIN&TAILPIPE WF5000 Elkay WF50003 FTN model

112705501550 [GASKT 1 (22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

112705501550 |GASKT 1 (22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models

112705501550 |GASKT 1 |22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models

112705501550 |GASKT 1 |22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models

112705501550 |GASKT 1 |22544C ASSY -BASIN & PRCLR Elkay WD5-1A models

112705501550 |GASKT 1 |22545C ASSY -BASIN & PRCLR Elkay WD8-1A models

112705501550 |GASKT 1 |28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models

112705501550 |GASKT 1 (28443C ASSY -BASIN & T-PIPE S300GF Halsey Taylor S-Series w/Glass Filler models

112705501550 |GASKT 1 (28615C ASSY-BASIN & TAILPIPE Halsey Taylor S-Series models

112705501550 |GASKT 1 1600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles

112705501550 |GASKT 1 (600824051640 [ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers

112705501550 |GASKT 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers

114222442550 |[SCREW-#8-10X1/2 S/S 1 (601420251550 [ASSY -STEM Various old-style Halsey Taylor fountains & coolers

114222442550 |SCREW-#8-10X1/2 S/S 1 (601420651550 [ASSY -STEM (SERV) Various old-style Halsey Taylor fountains & coolers

114225642550 |WASHR-SS .392ID 1 (601482951550 [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers

114225642550 |WASHR-SS .392ID 1 1600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles

114225642550 |WASHR-SS .392ID 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers

114225642550 |WASHR-SS .392ID 1 |601420251550 [ASSY -STEM Various old-style Halsey Taylor fountains & coolers

114225742550 [WASHR-SS 1.51D 1 |600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models

114225742550 |WASHR-SS 1.51D 1 |600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains

114225742550 |WASHR-SS 1.5ID 1 |601038951920 [BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 (601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.5ID 1 |601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 (601424051550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.5ID 1 |601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers

114225742550 |WASHR-SS 1.51D 1 (601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers

114225742550 |WASHR-SS 1.5ID 1 1601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers

114225742550 |WASHR-SS 1.5ID 1 1601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 (601517351550 |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.5ID 1 |601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 2 1601632251550 |ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 (601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 (601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.5I1D 1 (602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.5ID 1 1602623051550 (VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.5ID 1 |602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers

114225742550 |WASHR-SS 1.51D 1 |600805051550 |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers

114225842550 |WASHR-SS .156ID 1 (600824051640 [ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers

114225842550 [WASHR-SS .156ID 1 192445C KIT -VALVE SEAL Various Elkay models

114225942550 [WASHR-SS .193/.196ID 2 600661951550 |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models

114225942550 |WASHR-SS .193/.1961D 2 1600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains

114225942550 [WASHR-SS .193/.196ID 2 1601038951920 |BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers

114225942550 [WASHR-SS .193/.196ID 2 1601180751550 |ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers

114225942550 |WASHR-SS .193/.1961D 2 (601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

114225942550 [WASHR-SS .193/.196ID 2 (601424051550 |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

114225942550 |WASHR-SS .193/.1961D 2 1601454951550 |ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers

114225942550 [WASHR-SS .193/.196ID 2 1601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers

114225942550 |WASHR-SS .193/.1961D 2 1601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers

114225942550 [WASHR-SS .193/.196ID 2 1601483751550 |ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers

114225942550 [WASHR-SS .193/.196ID 2 |601517351550 |ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers

114225942550 |WASHR-SS .193/.1961D 2 (601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers

114225942550 [WASHR-SS .193/.196ID 1 |601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

114225942550 |[WASHR-SS .193/.196ID 2 1601632751550 |ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

114225942550 [WASHR-SS .193/.196ID 2 |[601635951550 |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers




114225942550

WASHR-SS .193/.1961D

602622951550

VALVE-UNIVERSAL REPL RH

Various old-style Halsey Taylor fountains & coolers

114225942550

WASHR-SS .193/.1961D

602623051550

VALVE-UNIVERSAL REPL LH

Various old-style Halsey Taylor fountains & coolers

114225942550

WASHR-SS .193/.1961D

602643051550

ASSY -VALVE

Various old-style Halsey Taylor fountains & coolers

114225942550 |[WASHR-SS .193/.196ID 602650251550 [ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers
114225942550 [WASHR-SS .193/.196ID 602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
114225942550 |WASHR-SS .193/.1961D 600805051550 [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers

114225942550 [WASHR-SS .193/.196ID 601475751550 |ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers
114226342550 |SCREW-#8-32X3/8 RHMS 600939218550 |STEM -W/SEAT WASHER ASSY Various old-style Halsey Taylor fountains & coolers

114226342550

SCREW-#8-32X3/8 RHMS

601482951550

ASSY -STEM PLASTIC

Various old-style Halsey Taylor fountains & coolers

114226342550

SCREW-#8-32X3/8 RHMS

600825051550

ASSY -STEM REPLACEMT(SERV)

Various old-style Halsey Taylor fountains & coolers

114226442550 |SCREW-#8-32X3/8 RHMS 600814051640 [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers
114226442550 |SCREW-#8-32X3/8 RHMS 600824051640 |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers
114226442550 |[SCREW-#8-32X3/8 RHMS 92445C KIT -VALVE SEAL Various Elkay models

114244042550

SPRNG-PUSH BUTTON

600814051640

ASSY -PUSH BUTTON STEM CP

Various old-style Halsey Taylor fountains & coolers

114244042550

SPRNG-PUSH BUTTON

600824051640

ASSY -PUSH BUTTON STEM BRI

Various old-style Halsey Taylor fountains & coolers

= T=Y =9 I3 [ N} [ N) I NN [ U] FEY PR FEN T N T e e N B P N T Y I Y S Y SN DS A LS AL R E SR IS ISR )

114244042550 [SPRNG-PUSH BUTTON 92445C KIT -VALVE SEAL Various Elkay models

13074005 BOLT -1/4-20X.50 0000000248 |KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models

13074005 BOLT -1/4-20X.50 0000000249 |KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models

131490531920 INMPLT-ENG EFF 98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models

131490531920 INMPLT-ENG EFF 98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models

131490531920 [NMPLT-ENG EFF 98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models

131490531920 |INMPLT-ENG EFF 98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models

131490531920 |INMPLT-ENG EFF 98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models

131490531920 |NMPLT-ENG EFF 98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models

131490531920 [NMPLT-ENG EFF 98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models

131490531920 [NMPLT-ENG EFF 98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models

131490531920 INMPLT-ENG EFF 98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

131490531920 [NMPLT-ENG EFF 98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

131490531920 [NMPLT-ENG EFF 98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

131490531920 [NMPLT-ENG EFF 98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

140978909880 |CARD -YELLOW 8050 600805051550 [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers

142645609570 |SP-BLUE CARD FOR 8250 KIT 600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers

15001C NIPPL-3/8 CLOSE SS 98865C KIT-HTICF FITTING ASSY HTICF model

15005C NUT -REG RETAIN 1 1/8-24 1000001673  |KIT - EMASM (BF) 1.0 GPM REGULATOR Elkay EMASM, EMASMB, LMASMB Surface Mount bottle
fillers

15005C NUT -REG RETAIN 1 1/8-24 1 (1000001906 ([KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models

15005C NUT -REG RETAIN 1 1/8-24 5 11000002027 |KIT - 15005C REG RETAING NUT (5 PCS) Various Elkay and Halsey Taylor models

15005C NUT -REG RETAIN 1 1/8-24 1 |22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

15005C NUT -REG RETAIN 1 1/8-24 1 |22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models

15005C NUT -REG RETAIN 1 1/8-24 1 (22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models

15005C NUT -REG RETAIN 1 1/8-24 1 |22544C ASSY -BASIN & PRCLR Elkay WD5-1A models

15005C NUT -REG RETAIN 1 1/8-24 1 |22545C ASSY -BASIN & PRCLR Elkay WD8-1A models

15005C NUT -REG RETAIN 1 1/8-24 1 |28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models

15005C NUT -REG RETAIN 1 1/8-24 1 (92450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include
the regulator

15005C NUT -REG RETAIN 1 1/8-24 1 |92776C KIT -BFC REGUL RPMNT Old-style BFC models

15005C NUT -REG RETAIN 1 1/8-24 1 [98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton
bubbler models

15005C NUT -REG RETAIN 1 1/8-24 1 (98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except
SCWT

15005C NUT -REG RETAIN 1 1/8-24 1 |98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models

15007C NIPPLE-BUBBLER (GF) 1 (0000000466 KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain

15007C NIPPLE-BUBBLER (GF) 1 11000002033  |KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

15007C NIPPLE-BUBBLER (GF) 1 [96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

15007C NIPPLE-BUBBLER (GF) 1 (98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal-
Resistant bubblers

15007C NIPPLE-BUBBLER (GF) 1 |98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers

15009C ASSY -BUBBLR NIPPLE (GF) 1 (1000001791 KIT - VR BUBBLER NIPPLE W/GASKET Elkay and Halsey Taylor models with Vandal-Resistant
Bubbler

15009C ASSY -BUBBLR NIPPLE (GF) 1 1000001792 |KIT - GF BUBBLER NIPPLE W/GASKET Elkay LK109A glass fillers, outdoor tubular EZH20® bottle
fillers and Halsey Taylor Endura [I™ HydroBoost® tubular
bottle fillers

15009C ASSY -BUBBLER NIPPLE 1 (97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models

15009C ASSY -BUBBLR NIPPLE (GF) 1 |98923C KIT-DOUBLE BUBBLER Halsey Taylor old-style .6GPM bubbler models

15014C NUT -RETAINING 1 |98901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall-
mount)

15028C NIPPL-BUBBLER 1 [15029C ASSY-NIPPLE Elkay EDF214WC and Premium Composite & Halsey Taylor
5405 and Marblyte™ models

15040C NOZZLE - 4400BFS 1 [98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle
Fillers

15041C TRIM RING 1 |98999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler
models

160020308550 |NIPPL-1/4 NPT CLOSE 1 (601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers

160079408550 [NUT -FLARE 1/2 IN 1 (601521451550 [ASSY -DRAIN TUBE Various old-style Halsey Taylor fountains & coolers

160112708640 |CAP -HANDLE BRIGHT 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles

160113116550 |STEM -VALVE 1 |600939218550 |STEM -W/SEAT WASHER ASSY Various old-style Halsey Taylor fountains & coolers

160113651550 |ASSY -BALL BEARING & RETAINER 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles

160116508640 |HANDL-LEVER BRIGHT 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles

160118508640 |CAP -BRIGHT 1 |600148651640 |ASSY -SUPPLY LINE W/AUTO REG Halsey Taylor older cross-handle regulator replacement

160119208550 |CAP -FRONT PLAIN 1 (601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

160119208640 |CAP -FRONT BRIGHT 1 1600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains

160123918640 |BODY -VALVE 3/8 1 1600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains

160132708550 |NUT -FLARE 5/8-18 1 1601599951550 |ASSY -FLEX TUBE BFC Various old-style Halsey Taylor fountains & coolers

160132708550 |[NUT -FLARE 5/8-18 1 |602673051550 |ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers

160161708550 |FTTNG-ELBOW 1/4 X 3/8 1 |600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models

160161708550 |FTTNG-ELBOW 1/4 X 3/8 2 1602650251550 |ASSY -REG/VALVE RWMSA-1 Various old-style Halsey Taylor fountains & coolers




160161708550 |FTTNG-ELBOW 1/4 X 3/8 1 |602663851550 [ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
160194316550 |[FTTNG-PROJECTOR CONNECTION 1 1621596051550 [KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RC8, -1, -2)
160211808640 |SP VALVE BODY 1/2 IN 1 |600941951640 |ASSY -1/2 LEVER HANDLE STOP Various old-style Halsey Taylor fountains & coolers
160222708550 |[FTTNG-BUBBLER 3/8 1 (601110851550 [ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers
160222708550 |FTTNG-BUBBLER 3/8 1 |601416651550 [ASSY -PROJECTOR CONNECTION Various old-style Halsey Taylor fountains & coolers
160253008550 |SLEEV-LOCK 1 |600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles
160253008550 |SLEEV-LOCK 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
160270508640 [STRNR-BRIGHT 1 1602703851550 |KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers
160270508640 |STRNR-BRIGHT 1 1621403251550 [PRTPK- Various Elkay & Halsey Taylor models
160270508640 [STRNR-BRIGHT 1 |0000000964  |KIT-BASIN RPLCMINT EMABF EMABF & LMABF models
160270508640 |STRNR-BRIGHT 1 |0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models
160270508640 [STRNR-BRIGHT 1 |0000000966 [KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models
160270508640 [STRNR-BRIGHT 1 (1000001889 KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey
Taylor HAC-HydroBoost® combo models
160270508640 [STRNR-BRIGHT 1 |1000001890 |KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor
HTHB-HAC combo models
160270508640 [STRNR-BRIGHT 1 |{1000001900 |KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-
HVRGRN combo models
160270508640 [STRNR-BRIGHT 1 11000001923  |KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models
160270508640 |STRNR-BRIGHT 1 11000002143 KIT-OVL-Il DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models
160270508640 |[STRNR-BRIGHT 1 1600037951640 [ASSY -STRAINER Various Elkay & Halsey Taylor models
160270508640 |STRNR-BRIGHT 1 1602703251550 (KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers
160270508640 |STRNR-BRIGHT 1 (602703351550 (KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers
160270508640 [STRNR-BRIGHT 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models
160270508640 |STRNR-BRIGHT 1 (621403251550 [PRTPK-DRAIN PLUG Various Elkay & Halsey Taylor models
160270508640 [STRNR-BRIGHT 1 |98856C KIT-HAC/EMABF DRAIN HAC and EMABF models
160316508640 |BUBLR-2/STREAM B 1 |400942308640 [BUBLR-VANDAL RESISTANT Halsey Taylor 2507 and 2509 Fountain Heads
160343208550 |FTTNG-CONNECTOR PROJ 5/16 1 (601632351550 [ASSY -PROJ CONN Various old-style Halsey Taylor fountains & coolers
160346008640 |TPIPE-11/4 0D X 4 1 |600037951640 [ASSY -STRAINER Various Elkay & Halsey Taylor models
160346308640 |NUT -SLIP 1-1/2 1 |600037951640 |ASSY -STRAINER Various Elkay & Halsey Taylor models
160541008550 |STEM -VALVE 1 |601482951550 [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers
160609216550 |[NIPPL-PROJECTOR 3/8 1 |45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models
160645118640 |[FTTNG-RENEWABLE SEAT 1 |600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains
160645118640 |FTTNG-RENEWABLE SEAT 1 1601038951920 [BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers
160645118640 |FTTNG-RENEWABLE SEAT 1 (601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
160645118640 |FTTNG-RENEWABLE SEAT 1 (600825051550 [ASSY -STEM REPLACEMT(SERV) Various old-style Halsey Taylor fountains & coolers
160813908640 [SLEEV-VALVE GF-CAP 1 (600814051640 [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers
160814118640 |SLEEV-VALVE STEM 1 (600824051640 [ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers
160868208550 |BODY -VALVE RC8 1 |601038951920 [BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers
160868408550 |NIPPL-3/8-18 NPT x 2.63 1 1621596051550 [KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RC8, -1, -2)
160868408550 |NIPPL-3/8-18 NPT x 2.63 1 1621596051550 (KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RCS, -1, -2)
160929708550 [NIPPL-PIPE-3/8NPT X 1.25 L 1 (601637151550 [ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers
161455408550 |[FTTNG-CONNECTOR 1/4 MALE 1 (601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
161455408550 |[FTTNG-CONNECTOR 1/4 MALE 1 (601480151550 [ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
161465208550 |[FTTNG-ELBOW 1/4 X 5/16 1 (601110851550 [ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers
161465208550 |FTTNG-ELBOW 1/4 X 5/16 1 (601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers
161465208550 |FTTNG-ELBOW 1/4 X 5/16 1 (602663851550 [ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
161475516550 |BSHNG-AUTO REGULATOR 1 1600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains
161475516550 [BSHNG-AUTO REGULATOR 1 1601038951920 |BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers
161475516550 |BSHNG-AUTO REGULATOR 1 |601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
161475516550 [BSHNG-AUTO REGULATOR 1 (600805051550 [ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers
161565716550 |[TUBE -FLEX 3/80D X 26 1 1601599951550 |ASSY -FLEX TUBE BFC Various old-style Halsey Taylor fountains & coolers
161565716550 |TUBE -FLEX 3/80D X 26 1 |602673051550 |ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers
161572108550 |FTTNG-ELBOW 90 STREET 1 (601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers
161635408550 |FTTNG-ELBOW 1/4 MPT X 3/8SOL 1 |601635551550 [ASSY -INLET TUBE Various old-style Halsey Taylor fountains & coolers
161635408550 |[FTTNG-ELBOW 1/4 MPT X 3/8S0L 1 (601636251550 [ASSY -INLET TUBE 5655 FTN Various old-style Halsey Taylor fountains & coolers
161637308640 |PLUG -DRAIN 1-1/2 CP 1 (621403251550 [PRTPK- Various Elkay & Halsey Taylor models
161637308640 |PLUG -DRAIN 1-1/2 CP 1 |1000002143 |KIT-OVL-1l DRAIN/STRAINER ASSY. Halsey Taylor OVL-1l models
161637308640 |PLUG -DRAIN 1-1/2 CP 1 1600037951640 [ASSY -STRAINER Various Elkay & Halsey Taylor models
161637308640 |PLUG -DRAIN 1-1/2 CP 1 |600985451640 [ASSY -DRAIN PLUG AND ADAPTOR Various old-style Halsey Taylor fountains & coolers
161637308640 |PLUG -DRAIN 1-1/2 CP 1 1621403251550 [PRTPK-DRAIN PLUG Various Elkay & Halsey Taylor models
162600408550 |[NUT -HEX 3/8-24NF2 STEM 1 |601482951550 [ASSY -STEM PLASTIC Various old-style Halsey Taylor fountains & coolers
162600408550 |[NUT -HEX 3/8-24NF2 STEM 1 (601420251550 [ASSY -STEM Various old-style Halsey Taylor fountains & coolers
162645508640 |ASSY -INCLINE STEM BRGHT CHROM 1 1600116618640 |ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles
162705308550 [FTTNG-ELBOW 3/8TU X 1/4 NPT 1 [601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers
162705408550 |FTTNG-ELBOW 3/8TU X 1/8 NPT 1 |601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 |600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models
164225116550 |BSHNG-AUTO REGULATOR 1 |601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 (601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 |601424051550 |ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 (601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 1601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
164225116550 |BSHNG-AUTO REGULATOR 1 |601480151550 (ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
164225116550 |BSHNG-AUTO REGULATOR 1 |601517351550 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 (601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 1601632251550 |ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
164225116550 |BSHNG-AUTO REGULATOR 1 1601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 (602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers
164225116550 |BSHNG-AUTO REGULATOR 1 1602623051550 (VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers
164225116550 |BSHNG-AUTO REGULATOR 1 |602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
164225116550 [BSHNG-AUTO REGULATOR 1 1600805051550 |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers
164225216550 |NIPPL-PROJECTOR 1 |602673051550 |ASSY -PROJ SERV LINE-BFC L/R Various old-style Halsey Taylor fountains & coolers
164225316550 |FTTNG-MALE CONN.-3/8 COPPER 2 1601590551550 |ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers
164225316550 |[FTTNG-MALE CONN.-3/8 COPPER 2 [602643051550 |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers




164225416550

FTTNG-MALE CONN-5/16 COPPER

601483751550

ASSY -COLD WATER LINE-WC7A-1

Various old-style Halsey Taylor fountains & coolers

164225516550

CUP -RETAINING

600814051640

ASSY -PUSH BUTTON STEM CP

Various old-style Halsey Taylor fountains & coolers

164225516550

CUP -RETAINING

600824051640

ASSY -PUSH BUTTON STEM BRI

Various old-style Halsey Taylor fountains & coolers

1
1
1
164225516550 |CUP -RETAINING 1 [92445C KIT -VALVE SEAL Various Elkay models
164226042550 |VALVE-AUTO REGULATOR 1 |600661951550 [ASSY -COLD WATER LINE-WM Halsey Taylor older WM models
164226042550 |VALVE-AUTO REGULATOR 1 1600941818640 |ASSY -AUTO VALVE BODY W/REG 4540, 2509 and old-style 4616/4617 fountains
164226042550 |VALVE-AUTO REGULATOR 1 1601038951920 [BODY -AUTO VALVE W/REG Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 (601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 1601420051740 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 1601424051550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 1601454951550 [ASSY -VALVE BODY Various old-style (Pre-1993) fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 |601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 |601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers
164226042550 |[VALVE-AUTO REGULATOR 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 (601517351550 [ASSY -VALVE BODY Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 (601590551550 [ASSY -VALVE BL-301 Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 1601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 (601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 |601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 (602622951550 [VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 |602623051550 |VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 (602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 1602650251550 |ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 |600805051550 |ASSY -DIAPHRAGM (SERV) Various old-style (Pre-1993) fountains & coolers
164226042550 |VALVE-AUTO REGULATOR 1 |601475751550 [ASSY -DIAPHRAM Various old-style Halsey Taylor fountains & coolers
164226242550 |STEM -PUSH BUTTON 1 (600814051640 [ASSY -PUSH BUTTON STEM CP Various old-style Halsey Taylor fountains & coolers
164226242550 [STEM -PUSH BUTTON 1 1600824051640 |ASSY -PUSH BUTTON STEM BRI Various old-style Halsey Taylor fountains & coolers
164226242550 |STEM -PUSH BUTTON 1 1602643851640 [STEM -PUSHBUTTON AS PACKED Various old-style Halsey Taylor fountains & coolers
164229316550 |NIPPL-BUBBLER 1 (602600351550 [ASSY -COLD WATER LINE Various old-style Halsey Taylor fountains & coolers
19037000 CLIP -COMPR MTG 4 10000000254 KIT-COMPR MTG-FD/S-SERIES FD & S-Series models
19037000 CLIP -COMPR MTG 4 |0000000255 [KIT-COMPR MTG-5/10 GAL REMOTE 5 & 10 GPH Remote Chillers
19037000 CLIP -COMPR MTG 4 10000000256 KIT-COMPR MTG-SCWT/HOF/SW/WM SCWT, HOF, SW & WM models
19037000 CLIP -COMPR MTG 4 |98777C KIT-COMPR MTG HDWE Most Elkay & Halsey Taylor models
194243901550 |COVER-ELECT SHIELD 1 |35762C COMPR-SERVICE PAK 115V WM14W & WM16W models
194243901550 |COVER-ELECT SHIELD 1 |35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models
194243901550 |COVER-ELECT SHIELD 1 |36316C COMPR-SERVICE PACK 115V FF10HBK EFA16, EW(TL)A16, ER10, FD70010, S1000,SJ10 & WM16
models
20599C ANGLE-STIFFENER MB 1 |98263C KIT-HBW ACCESSORY PANEL HBW models
20640C PANEL-LEFT SIDE (S) 1 (98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models
20641C PANEL-RIGHT SIDE (S) 1 (98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models
20641C PANEL-RIGHT SIDE (S) 1 198820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models
20648C PANEL-LEFT SIDE (S) 1 |98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models
20648C PANEL-LEFT SIDE (S) 1 198820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models
20649C PANEL-RIGHT SIDE (S) 1 [(98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models
20672C PANEL-FRONT EWA S 1 |98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models
20672C PANEL-FRONT EWA S 1 ]98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models
20676C PANEL-FRONT EWA N 1 |98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models
20676C PANEL-FRONT EWA N 1 198819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models
20681C PANEL-FRONT EWCA S 1 |98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models
20681C PANEL-FRONT EWCA S 1 |98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models
20685C PANEL-FRONT EWCA N 1 (98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models
20685C PANEL-FRONT EWCA N 1 |98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models
20733C PANEL-SIDE LH EWTLA S 1 198820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models
20737C PANEL-SIDE RH TLAD S 1 |98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models
21013C PANEL-WRAPPER S 1 |98808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models
21013C PANEL-WRAPPER S 1 |98812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models
21051002 NUT -WELD 5/16-18 16 |28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models
21051002 NUT -WELD 5/16-18 16 [28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models
21051002 NUT -WELD 5/16-18 8 [28394C KIT-WALL PLATE ASSY EDFPBW114C Elkay EDFPBM(V)114(FP) models
21288C BASIN-2H DEBURRED 1 |98172C ASSY-3HOLE BASIN Elkay Deluxe EF(TL)A, EFW, EWCA, EW(TL)A, LF(TL)A, LL67,
LWCE, LW(TL)A, OFA, WGA glass-filler models
21368001 SCREW-#6-32 X .25 RHMS 1 (35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models
21368001 SCREW-#6-32 X .25 RHMS 1 |136320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models
21454C PANEL-FRONT EWAT 1 (98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models
21454C PANEL-FRONT EWAT 1 |98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models
21455C PANEL-FRONT EWA (L) 1 198814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models
21455C PANEL-FRONT EWA (L) 1 |98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models
21456C PANEL-FRONT EWCAT 1 |98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models
21456C PANEL-FRONT EWCA T 1 (98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models
21462C PANEL-LEFT SIDE (T) 1 |98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models
21463C PANEL-RIGHT SIDE (T) 1 (98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models
21463C PANEL-RIGHT SIDE (T) 1 |98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models
21464C PANEL-LEFT SIDE (N) 1 |98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models
21465C PANEL-RIGHT SIDE (N) 1 |98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models
21465C PANEL-RIGHT SIDE (N) 1 |98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models
21466C PANEL-LEFT SIDE (T) 1 (98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models
21466C PANEL-LEFT SIDE (T) 1 |98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models
21467C PANEL-RIGHT SIDE (T) 1 198796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models
21468C PANEL-LEFT SIDE (N) 1 |98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models
21468C PANEL-LEFT SIDE (N) 1 |98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models
21469C PANEL-RIGHT SIDE (N) 1 |98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models
21476C PANEL-SIDE LH EWTLA T 1 |98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models
21477C PANEL-SIDE LH EWTLA N 1 (98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models
21478C PANEL-SIDERHTLAD T 1 |98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models
21479C PANEL-SIDE RH TLAD N 1 198819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models
21480C PANEL-WRAPPER T 1 |98809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models
21481C PANEL-WRAPPER N 1 |98807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models
21481C PANEL-WRAPPER N 1 |98832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models




21708C ASSY -PUSH BAR BUFFED 1 11000001576 |KIT-EDFP19C PUSHBAR Elkay EDFP19C models

21745C BASIN-12X12 0-HOLE 1 [21781C ASSY -BASIN&TAILPIPE FD1&3 Elkay FD and Halsey Taylor S-Series 3 & 5 gallon models

21745C BASIN-12X12 0-HOLE 1 ]21782C ASSY -BASIN&TAILPIPE FD3F3 Elkay FD and Halsey Taylor S-Series Glass Filler Prepped
models

21745C BASIN-12X12 0-HOLE 1 |21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models

21745C BASIN-12X12 0-HOLE 1 |21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models

21745C BASIN-12X12 0-HOLE 1 (21812C ASSY -BASIN&TAILPIPE WF5000 Elkay WF50003 FTN model

21745C BASIN-12X12 0-HOLE 1 [22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

21745C BASIN-12X12 0-HOLE 1 [22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models

21745C BASIN-12X12 0-HOLE 1 |22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models

21745C BASIN-12X12 0-HOLE 1 |22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models

21745C BASIN-12X12 0-HOLE 1 |22544C ASSY -BASIN & PRCLR Elkay WD5-1A models

21745C BASIN-12X12 0-HOLE 1 |22545C ASSY -BASIN & PRCLR Elkay WD8-1A models

21745C BASIN-12X12 0-HOLE 1 (28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models

21745C BASIN-12X12 0-HOLE 1 (28443C ASSY -BASIN & T-PIPE S300GF Halsey Taylor S-Series w/Glass Filler models

21745C BASIN-12X12 0-HOLE 1 |28615C ASSY-BASIN & TAILPIPE Halsey Taylor S-Series models

22490C BRKT -FILTER MOUNTING 1 |51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters

22844C PANEL-FRT LWR (PV) 1 |0000000762 |KIT-PANEL HAC FR LOWER/NMPLT (P) Halsey Taylor Single HAC Green Cooler & Bottle Filler
Combo models (Platinum Vinyl)

22900C BRKT -FRONT PUSH 1 |98789C KIT-PUSHBAR BRACKET Elkay EHFSA, EMABF, LMABF; Halsey Taylor 5701, HAC, WC
models

22901C BRKT -SIDE PUSH 2 (98789C KIT-PUSHBAR BRACKET Elkay EHFSA, EMABF, LMABF; Halsey Taylor 5701, HAC, WC
models

22955C PANEL-FRONT LWR(S) 1 |0000000763  |KIT-PANEL HAC FR LOWER/NMPLT (S) Halsey Taylor Single HAC Green Cooler & Bottle Filler
Combo models (Stainless Steel)

22955C PANEL-FRONT LWR(S) 1 (0000000834 KIT-EMABF FRONT PANEL/NMPLT (S) Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
Stainless Steel models

23004C BRKT -REG MNTG (BFC) 1 [92776C KIT -BFC REGUL RPMNT Old-style BFC models

23113C SHELF-EBFA,EBFSA,HAC 1 |98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models
(Pre July 2011)

26853C BRKT -WC CONDENSER MTG 1 |166799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

26874C PANEL-FRONT (AV) 1 ]98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models

26874C PANEL-FRONT (AV) 1 (98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

26878C PANEL-LH SIDE (AV) 1 (98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models

26879C PANEL-RH SIDE (AV) 1 198823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models

26879C PANEL-RH SIDE (AV) 1 (98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

26886C PANEL-LH SIDE (AV) 1 |98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

26890C PANEL-FRONT (AV) 1 |98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models

26894C PANEL-LH SIDE (AV) 1 |98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models

26895C PANEL-RH SIDE (AV) 1 (98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models

26920C PANEL-FRONT RECESSED AV 1 |98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

26924C PANEL-LH (AV) 1 198826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

26928C PANEL-RH AV 1 |98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

26943C PANEL-WRAPPER (PV) 1 |98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models

26949C PANEL-WRAPPER (SV) 1 (98833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models

27000C LINER-BASIN OVL FTN. 1 (96884C KIT -BASIN & LINER OVL Halsey Taylor OVL-II™ Stainless Steel models

27006C BASIN-OVL FTN 1 |96884C KIT -BASIN & LINER OVL Halsey Taylor OVL-1I™ Stainless Steel models

27154C PANEL-FRONT EWCA (L) 1 |98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models

27154C PANEL-FRONT EWCA (L) 1 198818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models

27172C PANEL-LEFT SIDE (L) 1 (98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models

27175C PANEL-RIGHT SIDE (L) 1 |98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models

27175C PANEL-RIGHT SIDE (L) 1 (98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models

27178C PANEL-LEFT SIDE (L) 1 (98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models

27178C PANEL-LEFT SIDE (L) 1 |98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models

27181C PANEL- RIGHT SIDE (L) 1 |98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models

27187C PANEL-LH SIDE EWTLA (L) 1 |98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models

27190C PANEL-RH SIDE TLAD (L) 1 |98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models

27206C CABNT-HEW (T) 1 |98802C KIT-HEW WRAPPER (T) Elkay HEW Sandalwood models

27207C CABNT-HEW (N) 1 (98805C KIT-HEW WRAPPER (N) Elkay HEW Almond models

27209C PANEL-WRAPPER ESWA/ESRC (L) 1 |98810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models

27215C PANEL-FRONT LWR (L) 1 |0000000804 |KIT-EMABF FRONT PANEL / NMPLT (L) Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
Light Gray Granite models

27303C BSPLT-ECHS8/SJ8 1 |98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011)

27304C BSPLT-ER21Y 1 |98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011)

27333C BRKT -VALVE MTG 1 (601576551550 [ASSY -VALVE CLUSTER OVL Various old-style Halsey Taylor fountains & coolers

27413C PANEL-WRAPPER EZ (L) 1 (0000000748 KIT-EZ/LZ WRAPPER / NMPLT (L) Elkay Single EZ Green Cooler & Bottle Filler Combo models
(Light Gray Granite)

27416C WRAPPER-EZ (S) 1 |0000000747 KIT-EZ/LZ WRAPPER / NMPLT (S) Elkay Single EZ Green Cooler & Bottle Filler Combo models
(Stainless Steel)

27681C BRKT -FAN/EVAP MTG 1 |98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

27681C BRKT -FAN/EVAP MTG 1 |98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

27681C BRKT -FAN/EVAP MTG 1 (98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

27852K PANEL-WRAPPER TL L- EZ BLANK (S) 1 |1000000758  |KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit)

27854K PANEL-WRAPPER TL L- EZ BLANK (L) 1 (1000000759 KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side
unit)

27862K PANEL-WRAPPER TL R- EZ BLANK (S) 1 1000000888 |KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit)

27864K PANEL-WRAPPER TL R- EZ BLANK (L) 1 |[1000000944 |KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side
unit)

27945C BRKT -BASIN 2 |0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant
models

27945C BRKT -BASIN 1 |98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

27946C BRKT -BASIN PIVOT 2 |0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant

models




27946C BRKT -BASIN PIVOT 1 |98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

27948C BRKT -REGULATOR PIVOT 1 |98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models

27951C ASSY -BRKT 1 [98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models

28091C-HT NAMEPLATE INSERT-HT 1 |1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

28220C PLATE-WALL ELKAY 1 |28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models

28220C PLATE-WALL ELKAY 1 |28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models

28274C BRKT -WC CONDENSER MTG 1 166802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models

28308C WASHR-SPACER 2.00 O.D. 2 [1000003694  |KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models

28308C WASHR-SPACER 2.00 O.D. 2 1000003695 |KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

28308C WASHR-SPACER 2.00 O.D. 2 198682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models

28334C WALL PLATE - SINGLE 1 128394C KIT-WALL PLATE ASSY EDFPBW114C Elkay EDFPBM(V)114(FP) models

28379C CABNT-HEW (L) 1 [98803C KIT-HEW WRAPPER (L) Elkay HEW Light Gray Granite models

28385C BRKT -MOUNTING SWIRLFLO 2 [28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models

28385C BRKT -MOUNTING SWIRLFLO 2 [28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models

28385C BRKT -MOUNTING SWIRLFLO 1 128394C KIT-WALL PLATE ASSY EDFPBW114C Elkay EDFPBM(V)114(FP) models

28439C BRKT -HTNK MNTNG (SCWT) 1 |98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

28534C BRKT-STRAIN RELIEF 1 |98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

28612C REAR REINFORCING PLATE 1 |98265C KIT -HT FTN REPLACEMENT To replace HT-E/HT-S Series with the HRFE Series

28698C PANEL-ACCESSORY 1 198263C KIT-HBW ACCESSORY PANEL HBW models

28703C NAMEPLATE-INSERT BLANK 1 198682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models

28703C-LK NAMEPLATE INSERT-LK 1 |1000003694 KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models

28704C BRKT -HT MNTG (EFHAS) 1 |98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

28719C BRKT -CLAMP 1 |98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

28719C BRKT -CLAMP 1 [98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

28890C BRKT-WC VALVE MTG 1 166798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

28890C BRKT-WC VALVE MTG 1 |66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

28891C BRKT-WC VALVE MTG (CR) 1 |66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models

28905C SOLENOID BRACKET 1 198545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

28905C SOLENOID BRACKET 1 |98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

28908C CLIP - TOP COVER 1 [98547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models

28908C CLIP - TOP COVER 1 198666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models

28936C SOLENOID SHIELD BF - RETRO 1 |98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

28936C SOLENOID SHIELD BF - RETRO 1 198632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

28939C LK DRAIN COVER - BOTTLE FILLER 1 |0000000033 EZH20 Drain Cover Kit EZH20® In-Wall, Integral & Surface Mount models

28939C LK DRAIN COVER - BOTTLE FILLER 1 |98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20°® In-Wall, Integral & Surface Mount models

28940C HT DRAIN COVER - BOTTLE FILLER 1 |98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models

28957C TRIM - BOTTLE OUTLINE 1 198681C KIT - BOTTLE FILLER TRIM Outdoor Tubular Bottle Filler models

28958C TRIM - DROP OUTLINE 1 |1000003692 KIT - BOTTLE FILLER TRIM LK Elkay Outdoor Tubular Bottle Filling Station models

28958C TRIM - DROP OUTLINE 1 [1000003693  |KIT - BOTTLE FILLER TRIM HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

28958C TRIM - DROP OUTLINE 1 |98681C KIT - BOTTLE FILLER TRIM Outdoor Tubular Bottle Filler models

28959C BRKT-STOP EDFP19C 2 |1000001576 |KIT-EDFP19C PUSHBAR Elkay EDFP19C models

28960C BASIN - HAC STANDARD 1 |0000000964 KIT-BASIN RPLCMNT EMABF EMABF &LMABF models

28960C BASIN - HAC STANDARD 1 198916C KIT-BASIN RPLCMNT HAC SINGLE HAC single models

28960C BASIN - HAC STANDARD 1 198917C KIT-BASIN RPLCMNT HAC BI-LEVEL HAC bi-level models

28960C-002 BASIN - GLASS FILLER 1 |0000000965  [KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models

28963C BASIN HVR STANDARD 1 0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models

28963C BASIN HVR STANDARD 1 |0000000967  [KIT-BASIN RPLCMNT HVR HVR(GRN) models

28964C BASIN-2H HEW 1 198726C KIT -HEW BASIN REPLACEMENT HEW models

29018C TOP COVER 1 (1000001907 |[KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler
combo models

29034C DRAIN COVER 1 |98999C KIT-DRAIN PAD VRC8WS/HTHB-HVR8 EZH20® & HydroBoost® Vandal-Resistant Bottle Filler
models

29035C COVER-COLD CONTROL 1 |0000000288 |[KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012

30180C SPRNG-OVERLOAD 1 |35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models

30181C COVER-TERM(TECH) 1 |35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models

30233C SPRNG-OL ASPERA 1 198762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

30234C CLIP -COMPR (ASPERA) 1 |98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

30235C COVER-TERM (ASPERA) 1 198762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

30262C RELAY-220/240V 9660B-040-149 1 |98760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models

30502C BLADE-FAN 9.00D CCW 1 |0000000248 [KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models

30502C BLADE-FAN 9.00D CCW 1 |0000000249 [KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models

30646C BLADE-FAN 7.00 DIA 38P CW 1 |0000000250 [KIT-HTV FAN MOTOR ASSY HTV models

30664C BLADE-FAN 8.00DIA 30P CW 1 ]0000000244 KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA,
ER5/10, ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW,
SCWT4/8, SJ8, SW4/8, WC, WMS; 220V/60Hz models: EFAS,
ER5/10, EWAS, EWCAS, FD70010, SCWTS8, SW8

30664C BLADE-FAN 8.00DIA 30P CW 1 10000000245 KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR,
HTV, SCWT14, SW14, WM14, VRC; 220V/60Hz models:
ECH83, EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14,
EZ, HAC, HVR, SCWT14, SJ8, VRC

30664C BLADE-FAN 8.00DIA 30P CW 1 |0000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models

30664C BLADE-FAN 8.00DIA 30P CW 1 10000000247  [KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 &
WM14 models

30664C BLADE-FAN 8.00DIA 30P CW 1 11000002439 KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

30664C BLADE-FAN 8.00DIA 30P CW 1 |98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models

30812C OVLRD-115V 1 |98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

30824C BLADE-FAN 5.00DIA CCW 1 |0000000243 KIT-31395C FAN MOTOR ASSY ER2, ERS1, FD7003/7005, HEW3, HVRHD, LFDE3, (L)VRCHD,
$300/500, SJ1 & SJ2 220V models

30824C BLADE-FAN 5.00DIA CCW 1 |98788C KIT-31341C FAN MOTOR ASSY Elkay ER2, ERS1, FD7003, FD7005, LFDE3, HEW, (L)VRCHD;
Halsey Taylor HVRHD, SJ1, SJ2, S300, S500 models

31027C OL/RL-115V 1.350.158 1 |35762C COMPR-SERVICE PAK 115V WM14W & WM16W models




31027C OL/RL-115V 1.350.158 1 |98753C KIT-FF8.5HBK ELECTRICALS WM14W & WM16W models

31032C OL/RL-220V 1.350.636 1 |35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models

31032C OL/RL-220V 1.350.636 1 |98756C KIT-FFI12HBK ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

31272C VALVE-SOLENOID 1 |98016C KIT -SOLENOID REPLACEMENT HACEE models

31341C MOTOR-FAN 115V 1 |98788C KIT-31341C FAN MOTOR ASSY Elkay ER2, ERS1, FD7003, FD7005, LFDE3, HEW, (L)VRCHD;
Halsey Taylor HVRHD, SJ1, SJ2, S300, S500 models

31395C MOTOR-FAN 220/240V 1 10000000243  [KIT-31395C FAN MOTOR ASSY ER2, ERS1, FD7003/7005, HEW3, HVRHD, LFDE3, (L)VRCHD,
$300/500, SJ1 & SJ2 220V models

31430C MOTOR-FAN 4W 230V 50/60 HZ 1 ]0000000244 KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA,
ER5/10, ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW,
SCWT4/8, SJ8, SW4/8, WC, WMS; 220V/60Hz models: EFAS,
ER5/10, EWAS, EWCAS, FD70010, SCWTS8, SW8

31431C MOTOR-FAN 5W 230V 50/60 HZ 1 10000000245 [KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR,
HTV, SCWT14, SW14, WM14, VRC; 220V/60Hz models:
ECH83, EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14,
EZ, HAC, HVR, SCWT14, SJ8, VRC

31490C MOTOR-FAN 4W 115V 1 |0000000250 KIT-HTV FAN MOTOR ASSY HTV models

31490C MOTOR-FAN 4W 115V 1 |98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models

31491C MOTOR-FAN 5W 115V 1 |0000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models

31492C MOTOR-FAN 5W 115V 1 10000000247  [KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 &
WM14 models

31512C COMPR-115V FF8.5HBK 1 |35762C COMPR-SERVICE PAK 115V WM14W & WM16W models

31513C CNTRL-COLD 1 192230C KIT -EVAP ERS1 ERS1 & SJ1 models

31525003 ORING-.239ID X .070 #010 1 |98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models

31797C COVER-RELAY-DOUBLE SIDED 1 |35762C COMPR-SERVICE PAK 115V WM14W & WM16W models

31797C COVER-RELAY-DOUBLE SIDED 1 |35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models

31797C COVER-RELAY-DOUBLE SIDED 1 |98753C KIT-FF8.5HBK ELECTRICALS WM14W & WM16W models

32817000 SHRD -FAN ER19 1 10000000248 |KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models

32817000 SHRD -FAN ER19 1 |0000000249 [KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models

33133000 ADAPT-TAB .250 1 |35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

33651002 HANDL-BLACK 1 |98863C KIT-GF HANDLE/STEM LK1110 & 96852CA glass filler models

33966005 CABNT-HEW (S) 1 [98806C KIT-HEW WRAPPER (S) Elkay HEW Stainless Steel models

34175000 CLIP -SPEED .187 STUD 2 1000001976 |KIT - ELKAY NAMEPLATE Most Elkay models

35768C COVER-RELAY 1 (0000000236 |[KIT-FG65HAK ELECTRICALS Various old-style Elkay & Halsey Taylor models

35768C COVER-RELAY 1 |0000000238  [KIT-115V EMI70HER ELECTRICALS Various old-style Elkay & Halsey Taylor models

35768C COVER-RELAY 1 |35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35768C COVER-RELAY 1 |35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models

35768C COVER-RELAY 1 |35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models

35768C COVER-RELAY 1 136243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SI5 & SW4
220V/50Hz models

35768C COVER-RELAY 1 |98535C KIT - SVC FOR EMI70HNR COMPR Most Elkay & Halsey Taylor 4, 8 GPH 115V models

35768C COVER-RELAY 1 |98744C KIT-EM20HBR ELECTRICALS ERS1 & SJ1 models

35768C COVER-RELAY 1 |98745C KIT-EM30HNR ELECTRICALS 115V HEW3 models

35768C COVER-RELAY 1 |98746C KIT-EM30HNR ELECTRICALS 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models

35768C COVER-RELAY 1 |98747C KIT-EM45HHR ELECTRICALS EFA4, ER2, ER5, EW(C)A4, FD7003/7005, LFDE3, LWCE4,
$300/500, SCWT4, SJ2, SJ5 & SW4 models

35768C COVER-RELAY 1 |98748C KIT-EM45HNR ELECTRICALS EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4
220V/50Hz models

35768C COVER-RELAY 1 |98749C KIT-EM65HHR ELECTRICALS Various old-style 8GPH models

35768C COVER-RELAY 1 |98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models

35768C COVER-RELAY 1 |98751C KIT-EM65HNR ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/50Hz models

35768C COVER-RELAY 1 [98752C KIT-EMI70HER ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/60Hz models

35768C COVER-RELAY 1 198754C KIT-FF10HBK ELECTRICALS Old-style EFA16, ER10, EWA16, FD70010 & WM16 models

35768C COVER-RELAY 1 |98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models

35768C COVER-RELAY 1 |98756C KIT-FFI12HBK ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35768C COVER-RELAY 1 |98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35773C COMPR-220V FFI12HBK 1 |35777C COMPR-SERVICE PAK 220V Elkay & Halsey Taylor 14, 16, 20 GPH 220V/50Hz models

35790C COMPR-W/MACHINED CAP 1 136220C COMPR-SERVICE PAK EFY/XP Elkay EFY and Halsey Taylor XP models

35817C COMPR-230V AE3430Y 1 |35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models

35839C CNTRL-COLD 1 10000000745  [KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN &
VRCGRN models

35839C CNTRL-COLD 1 |0000000886 |KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models

35839C CNTRL-COLD 1 11000003114  |KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015)

35839C CNTRL-COLD 1 ]1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model

35839C CNTRL-COLD 1 |98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011)

35839C CNTRL-COLD 1 |98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

35839C CNTRL-COLD 1 |98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011)

35839C CNTRL-COLD 1 |98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

35839C CNTRL-COLD 1 ]98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models
(Pre July 2011)

35839C CNTRL-COLD 1 |98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011)

35839C CNTRL-COLD 1 198721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011)

35839C CNTRL-COLD 1 |98722C EVAP-REPLMNT KIT HT (LONG) HOF, $1000, SCWT14/20 & WM14/16(W) models (Pre July
2011)

35839C CNTRL-COLD 1 198723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

35839C CNTRL-COLD 1 [98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July
2011)

35839C CNTRL-COLD 1 |98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF,
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models

35839C CNTRL-COLD 1 |98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300,

S500, SCWT4 & SW4 models




35839C CNTRL-COLD 1 (98773C KIT-35839C COLD CONTROL Various Elkay & Halsey Taylor models

35840C OVRLD-115V MRT22AFZ-5598 1 |98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models

35843C RELAY-115V 1.351.605 1 |98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models

35844C CAPAC-165V 378-454MFD 1 |98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models

35845C CAP -CAPACITOR END 1 [35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35845C CAP -CAPACITOR END 1 |98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models

35845C CAP -CAPACITOR END 1 |98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35845C CAP -CAPACITOR END 1 |98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

35846C BRKT -CAPACITOR 1 [35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35846C BRKT -CAPACITOR 1 |98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models

35846C BRKT -CAPACITOR 1 |98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35846C BRKT -CAPACITOR 1 (98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

35864C RELAY-220/230V 8200EMBE64 1 (35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models

35874C CLIP -CAPACITOR 1 |35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35874C CLIP -CAPACITOR 1 |98755C KIT-FFI12HBX 115V ELECTRICALS Various old-style Elkay & Halsey Taylor 14/16 GPH models

35874C CLIP -CAPACITOR 1 |98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35875C OVRLD-220/208 MRP59AMK-69 1 (35776C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor models

35880C OVRLD-115V MRTOOJJH 1 [35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

35880C OVRLD-115V MRTOOJJH 1 198761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models

35921C CAPAC-115V MFD165 1 |98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

35948C *ENG* SWTCH-ELECTRICAL 2 |98869C KIT-HTV WIRING-ELECTRCL SWITCH HTV models

35952C COMPR-220V FFI12HBX 1 |35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35953C OVRLD-220V MSP36ALZ-5590 1 |35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35953C OVRLD-220V MSP36ALZ-5590 1 |98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35954C RELAY - 220V 213516485 1 |35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35954C RELAY - 220V 213516485 1 |98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35955C CAPAC-220V 121-145MFD 1 |35856C COMPR-SERVICE PAK 220V Various old-style Elkay & Halsey Taylor 14/16 GPH
220V/60Hz models

35955C CAPAC-220V 121-145MFD 1 |98757C KIT-FFI12HBX 220V ELECTRICALS Elkay & Halsey Taylor 14/16/20 GPH 220V/50Hz models

35957C COMPR-115V EM 65 HHR 1 |35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models

35959C RELAY-115V 213514121 1 |35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models

35959C RELAY-115V 213514121 1 |98535C KIT - SVC FOR EMI70HNR COMPR Most Elkay & Halsey Taylor 4, 8 GPH 115V models

35959C RELAY-115V 213514121 1 (98749C KIT-EM65HHR ELECTRICALS Various old-style 8GPH models

35966C COMPR-220V EM 30 HNR 1 |35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models

35976C COMPR-115V NE9213E 1 |35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

35977C CAPAC-44V 20MF 1 [35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

35977C CAPAC-44V 20MF 1 |98761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models

35984C OVLRD 1 |98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models

35988C SPRING-OVERLOAD 1 |98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models

35989C GASKT-COVER 1 |98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models

35990C STRAP -BALE 1 |98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models

36045C COVER-OVERLOAD 1 198759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models

36050C RELAY-220V 1 |98751C KIT-EM65HNR ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/50Hz models

36050C RELAY-220V 1 |98752C KIT-EMI70HER ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/60Hz models

36072C MOTOR-FAN (115V) 9W 50/60 HZ 1 |0000000248 [KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models

36073C MOTOR-FAN (230V) 50/60HZ 1 |0000000249 [KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models

36079C RELAY-115V 1 (98762C KIT-T6213Z ELECTRICALS Old-style ER19, ERW20 & SJ19 models

36139C RELAY-115V 213514180 1 |98744C KIT-EM20HBR ELECTRICALS ERS1 & SJ1 models

36158C OVRLD-115V 5TM762NFBZZ 1 198535C KIT - SVC FOR EMI70HNR COMPR Most Elkay & Halsey Taylor 4, 8 GPH 115V models

36161C WIRE - WHITE JUMPER 1 |98774C KIT-EZ INTERNAL WIRING EZ & HTV models

36162C WIRE - BLACK JUMPER 1 |98774C KIT-EZ INTERNAL WIRING EZ & HTV models

36165C RELAY-213514075 1 |98745C KIT-EM30HNR ELECTRICALS 115V HEW3 models

36166C RELAY-213514032 1 |35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models

36166C RELAY-213514032 1 (98746C KIT-EM30HNR ELECTRICALS 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models

36167C RELAY-213514067 1 (0000000238 (KIT-115V EMI70HER ELECTRICALS Various old-style Elkay & Halsey Taylor models

36169C OVLRD-115V 5TM734KFBYY53 1 198744C KIT-EM20HBR ELECTRICALS ERS1 & SJ1 models

36170C OVLRD-115V 5TM283NHBYY53 1 |98745C KIT-EM30HNR ELECTRICALS 115V HEW3 models

36171C OVLRD-220V 5TM189KFBBYY53 1 |35967C COMPR-SERVICE PAK 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models

36171C OVLRD-220V 5TM189KFBBYY53 1 (98746C KIT-EM30HNR ELECTRICALS 220V ER2, ERS1, HEW3 & SJ1 220V/50Hz models

36173C OVLRD-115V 5TM762PFBZZ53 1 (0000000238 (KIT-115V EMI70HER ELECTRICALS Various old-style Elkay & Halsey Taylor models

36174C OVLRD-220V 5TM739LFBYY53 1 (98752C KIT-EMI70HER ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/60Hz models

36175C OVLRD-220V 5TM232RFBYY53 1 (0000000236 [KIT-FG65HAK ELECTRICALS Various old-style Elkay & Halsey Taylor models

36177C OVLRD-220V 5TM276RFBYY53 1 |98758C KIT-FG85HAK ELECTRICALS EFA14, EFW16, EWCA14, SCWT14, WM14 & SW14 models

36178C RELAY-8EA 5B1 1 (0000000236 [KIT-FG65HAK ELECTRICALS Various old-style Elkay & Halsey Taylor models

36178C RELAY-8EA 5B1 1 (98758C KIT-FG85HAK ELECTRICALS EFA14, EFW16, EWCA14, SCWT14, WM14 & SW14 models

36188C OVLRD-220V MRP36AMK-3 1 198760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models

36189C COVER-RELAY 2075200 1 |35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

36189C COVER-RELAY 2075200 1 |98760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models

36189C COVER-RELAY 2075200 1 |98761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models

36190C BRKT -OVERLOAD 2075180 1 [35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

36190C BRKT -OVERLOAD 2075180 1 (98760C KIT-NE5187Z ELECTRICALS EFA16, ER10, LFAE16 & SJ10 old-style models

36190C BRKT -OVERLOAD 2075180 1 |98761C KIT-NE9213E ELECTRICALS ER19, ERW20, SJ19 old-style models

36195C OVRLD-5TM734KDBZZ53 1 |98751C KIT-EM65HNR ELECTRICALS Most Elkay & Halsey Taylor 8GPH 220V/50Hz models

36196C OVRLD-5TM771RFBZZ53 1 |35960C COMPR-SERVICE PAK 115V Various old-style 8GPH models

36196C OVRLD-5TM771RFBZZ53 1 |98749C KIT-EM65HHR ELECTRICALS Various old-style 8GPH models

36219C CORD -POWER 1 |98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models




36219C CORD -POWER 1 [98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

36221C RELAY 1 |98754C KIT-FF10HBK ELECTRICALS Old-style EFA16, ER10, EWA16, FD70010 & WM16 models

36222C OVERLOAD 1 |98754C KIT-FF1OHBK ELECTRICALS Old-style EFA16, ER10, EWA16, FD70010 & WM16 models

36224C COVER - TERM. 013555007 1 |98758C KIT-FG85HAK ELECTRICALS EFA14, EFW16, EWCA14, SCWT14, WM14 & SW14 models

36227C COMPR-220V EM45HNR 1 |36243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4
220V/50Hz models

36229C BRKT-OVERLOAD (220V) 2075247 1 |98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models

36230C COVER-RELAY (220V) 2075248 1 |98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models

36231C RELAY- 115V 213514105 1 |98747C KIT-EM45HHR ELECTRICALS EFA4, ER2, ER5, EW(C)A4, FD7003/7005, LFDE3, LWCE4,
$300/500, SCWT4, SJ2, SI5 & SW4 models

36232C RELAY-220V 213514130 1 (36243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4
220V/50Hz models

36232C RELAY-220V 213514130 1 |98748C KIT-EM45HNR ELECTRICALS EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4
220V/50Hz models

36236C OVLRD-115V 5TM757MFBYY-53 1 |98747C KIT-EM45HHR ELECTRICALS EFA4, ER2, ER5, EW(C)A4, FD7003/7005, LFDE3, LWCEA4,
$300/500, SCWT4, SJ2, SI5 & SW4 models

36237C OVLRD-220V 5TM718MFBYY-53 1 |36243C COMPR-SERVICE PAK 220V EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4
220V/50Hz models

36237C OVLRD-220V 5TM718MFBYY-53 1 |98748C KIT-EM45HNR ELECTRICALS EFA4, ER5, EW(C)A4, FD7005, S500, SCWT4, SJ5 & SW4
220V/50Hz models

36238C OVLD - 115V 5TM427NFBYY-53 1 |98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models

36247C VALVE - SOLENOID 115V 1 |98466C KIT-SOLENOID VLV/REG. ASSY. EZ/HTV models (Rev C & up)

36248C VALVE - SOLENOID 220V - 240V 1 (0000000802 KIT-SOLENOID VLV/REG. ASSY. (220V-240V) EZ & HTV 220V models

36252C ASSY-CSIR BOX 1 |98759C KIT-NJ6220Z ELECTRICALS ER30, ERW32, SJ30 & SJ32W old-style models

36261C ASSY -HOT TANK (ISE-SS) 1 198309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

36261C ASSY -HOT TANK (ISE-SS) 1 [98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

36271C RELAY - PTC (8EA14C3) 1 |98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models

36272C CAPACITOR - RUN (US-24152) 1 |98750C KIT-EM65HHC GREEN ELECTRICALS HVRGRN & VRCGRN models

36279C WIRING - HARNESS (HTV) 1 |98869C KIT-HTV WIRING-ELECTRCL SWITCH HTV models

36287C CORD-POWER EZTLR 115V 1 (98774C KIT-EZ INTERNAL WIRING EZ & HTV models

36293C SOLENOID VALVE 120V 1 (98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

36294C SOLENOID VALVE 220V 1 ]98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

36296C BFCONTROL BOARD 1 |98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

36296C BFCONTROL BOARD 1 |98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

36297C BF LED BOARD 1 198543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

36297C BF LED BOARD 1 |98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

36298C BF IR BOARD 1 (98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

36298C BF IR BOARD 1 |98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

36298C BF IR BOARD 1 |98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

36301C SWITCH - RESET ASSEMBLY 1 |1000003653 KIT-RESET SWITCH/JUMPER WIRE FOR FTN/BF COMBO Elkay & Halsey Taylor Architectural Fountain/Bottle Flller
combo models

36301C SWITCH - RESET ASSEMBLY 1 ]99003C KIT-RESET SWITCH Elkay EZH20® & Halsey Taylor HydroBoost® In-Wall,
Architectural Combos, Surface Mount and Vandal-Resistant
Cooler Combo models

36305C ASSY-CSR BOX 220/240V 1 (98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models

36306C OVRLD-220/240V MRT22AHK 1 |98763C KIT-NT6220Z ELECTRICALS Various old-style Elkay & Halsey Taylor 220V models

36307C COMPR-ASSY 220V NT6220Z 1 |36308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port
locations will be different so the service repairman will have
to mate the copper lines to match up with the correct port
locations)

36309C COMPR-ASSY 115V NJ6220Z 1 (36310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models

36311C COMPR-ASSY 115V FFI12HBX 1 |36312C COMPR-SERVICE PACK 115V FFI12HBX Elkay EFA, EFW, EW(C/TL)A, LFA, LW(C/TL) 14/16/20 and
Halsey Taylor HOF, SCWT, SW, WM 14/16/20 models

36313C COMPR-ASSY 230V NE5187Z 1 |36314C COMPR-SERVICE PACK 230V NE5187Z EFA16, EWA16, ER10 & SJ10 220Vmodels

36315C COMPR-ASSY 115V FF10HBK 1 |36316C COMPR-SERVICE PACK 115V FF10HBK EFA16, EW(TL)A16, ER10, FD70010, S1000,5J10 & WM16
models

36317C COMPR- ASSY. CORROSION RESISTANT 1 |36318C COMPR-SERVICE PAK 115V CR Elkay EFWC16 models

36319C COMPR-ASSY 115V NT6220Z 1 (36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models

36321C COMPR-ASSY 115V EMIS70HHR 1 |36322C COMPR-SERVICE PAK Most Elkay & Halsey Taylor 4/8 GPH models

36323C GASKT-OVRLD 1 11000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz
models

36324C COVER-OVERLOAD 1 |1000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz
models

36325C SPRNG-OVERLOAD 1 (1000002965 KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz
models

36326C OVRLD-115V GA3RNU 1 |1000002965 |KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz
models

36327C ASSY-CSR BOX 115V 1 11000002965 |[KIT-36326C OVERLOAD Elkay ER191, ERW201 and Halsey Taylor SJ19 115V/60Hz
models

36332C ASSY - JUMPER WIRE 1 |1000003653 KIT-RESET SWITCH/JUMPER WIRE FOR FTN/BF COMBO Elkay & Halsey Taylor Architectural Fountain/Bottle Flller
combo models

36333C SWITCH - MICRO 1 199004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey
Taylor HTHBHVR bottle filler combo models

37077001 SCREW-#10-32 X .37 PHMS 2 11000001576 KIT-EDFP19C PUSHBAR Elkay EDFP19C models

38397000 BSHNG-STRAIN RELIEF 1 11000002437 |KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

38397000 BSHNG-STRAIN RELIEF 1 |1000002442 |KIT-POWER CORD / STRAIN RELIEF Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

38397000 BSHNG-STRAIN RELIEF 1 |1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

38397000 BSHNG-STRAIN RELIEF 1 |98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models




38417001 SCREW-#8-18X.37 HHSM 2 198670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting

38417001 SCREW-#8-18X.37 HHSM 4 198898C KIT-EZ HARDWARE (FOR PANELS) EZ models

38417001 SCREW-#8-18X.37 HHSM 4 198899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models

40038C STRNR-BEEHIVE CP 1 |40575C ASSY -STRAINER & FERRULE CP Elkay ECDFPW, ECRSP, EDFB, EDFP19C, EFRPC, EHF, ESWA,
HEW; Halsey Taylor 5701, HBW, HCRF, WC models

40038C STRNR-BEEHIVE CP 1 |45336C ASSY -STRAINER & FERRULE Elkay DRKR14, EDF210, EDF310C, EDFP(210/214/217), EFRC,
EFRP(C), EHFRA, ERFP, ERO, LINE; Halsey Taylor 2634. 5405.
7020, 7030, 10000, HRF(G) models

40038C STRNR-BEEHIVE CP 1 |98864C KIT-HTICF DRAIN ASSEMBLY HTICF model

40045C NUT -HEX 1 5/16UN-2B UNPLATED 6 |0000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant
models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 (1000001906 KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 4 1000001926 |[KIT - SERVICE 40045C HEX NUT (4 PC) Various Elkay and Halsey Taylor models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 10 |1000001927  |KIT - SERVICE 40045C HEX NUT (10 PC) Various Elkay and Halsey Taylor models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 2 (1000003694  |KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 2 1000003695 |KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 |92776C KIT -BFC REGUL RPMNT Old-style BFC models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 2 198682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 [98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except
SCWT

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 ]98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 |98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ &
Contour™ Fountains; Also Outdoor Dual & Triple Bottle
Fillers

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 198901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall-
mount)

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 199000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-
Resistant bottle fillers

40045C NUT -HEX 1 5/16UN-2B UNPLATED 1 199004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey
Taylor HTHBHVR bottle filler combo models

40048C BUTTN-CP 1 (1000002024 [KIT-PUSHBUTTON BUBBLER BUTTON ASSY Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

40048C BUTTN-CP 50 11000002457 KIT - 40048C PUSHBUTTON (50 PK) Elkay & Halsey Taylor Top Pushbutton, Fully Recessed
Pushbutton and Pushbutton Bubbler models

40048C BUTTN-CP 100(1000002458  |KIT - 40048C PUSHBUTTON (100 PK) Elkay & Halsey Taylor Top Pushbutton, Fully Recessed
Pushbutton and Pushbutton Bubbler models

40048C BUTTN-CP 1 (45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

40048C BUTTN-CP 1 |45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models

40048C BUTTN-CP 1 192776C KIT -BFC REGUL RPMNT Old-style BFC models

40048C BUTTN-CP 1 [98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton
bubbler models

400810442830 [PANEL-FRONT RECESSED 1 (98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

400810448410 |PANEL-FRONT RECESSED 1 (98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

400810448440 |PANEL-FRONT REC (SV) 1 |98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

40089C NUT -COVER 1-1/8-24 CP 1 11000002024 |KIT-PUSHBUTTON BUBBLER BUTTON ASSY Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

40089C NUT -COVER 1-1/8-24 CP 1 145660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

40089C NUT -COVER 1-1/8-24 CP 1 |45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models

40089C NUT -COVER 1-1/8-24 CP 1 198536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton
bubbler models

40116C NUT -COVER 1 1/8-24 UNPLTD 1 |92776C KIT -BFC REGUL RPMNT Old-style BFC models

401417131660 |[TUBE -PVC 1/4ID X 21 1 |601480051550 [ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers

401417131660 |TUBE -PVC 1/4ID X 21 1 1601480151550 |ASSY -COLD WATER LINE LH Various old-style (Pre-1993) fountains & coolers

401420931660 |TUBE -PVC 1/4ID X 4 1 |601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

401420931660 |TUBE -PVC 1/4ID X 4 1 (601637151550 [ASSY -PROJ LINE ELIER-5655 Various old-style Halsey Taylor fountains & coolers

401432242830 |PANEL-FRONT (SS) 1 198825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models

401432242830 |PANEL-FRONT (SS) 1 (98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

401432248410 |PANEL-FRONT (PV) 1 (98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models

401432248410 |PANEL-FRONT (PV) 1 |98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

401432248440 |PANEL-FRNT (SV) 1 198824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models

401432248440 |PANEL-FRNT (SV) 1 (98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

401450342830 |[PANEL-RH SW 1 (98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models

401450348410 |[PANEL-RH PLT VINYL 1 198798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models

401450348440 |PANEL-RH (SV) 1 (98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models

401450442830 |PANEL-LH SW 1 (98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models

401450448410 |PANEL-LH PLT VINYL 1 (98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models

401450448440 [PANEL-LH (SV) 1 |98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models

401450542830 |PANEL-FRONT (SS) 1 (98801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models

401450548410 |PANEL-FRONT (PV) 1 [98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models

401450548440 |[PANEL-FRONT (SV) 1 198800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models

401469016550 |CUP -DRAIN DRILLED 2 |66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze
valve assembles

401471042830 |PANEL-LH 1 (98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

401471048410 |PANEL-LH PLT VINYL 1 (98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

401471048440 |PANEL-LH BL (SV) 1 198829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

401475143730 |STRIP-SPEED CLIP 2 [92776C KIT -BFC REGUL RPMNT Old-style BFC models

401482831660 |TUBE -PVC 1/4ID X 11 1 (601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers

401483942830 |PANEL-WM1 LH 1 |98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models

401483948410 |PANEL-LH (PV) 1 (98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models

401483948410 |PANEL-LH (PV) 1 (98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

401483948440 |PANEL-LH (SV) 1 (98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models

401484042830 |PANEL-WM1 RH 1 198825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models

401484042830 [PANEL-WM1 RH 1 |98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

401484048410 [PANEL-RH (PV) 1 (98822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models

401484048440 |PANEL-RH (SV) 1 |98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models




401484048440 |PANEL-RH (SV) 1 |98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

401496131660 |[TUBE -PVC 1/4ID X 8 1 1601632251550 |ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

401496131660 [TUBE -PVC 1/4ID X 8 1 |601636151550 [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers

401528242830 |PANEL-LH SS 1 |98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

401528248410 |PANEL-LH PV 1 ]98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

401528248440 |PANEL-LH SIDE (SV) 1 |98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

401528342830 |PANEL-RH SS 1 (98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

401528348410 |PANEL-RH PV 1 (98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

401528348440 |PANEL-RH SIDE (SV) 1 198829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

401631716550 |[TUBE -WATER INLET 1 |601635551550 [ASSY -INLET TUBE Various old-style Halsey Taylor fountains & coolers

401632116550 |[TUBE -WATER INLET 1 (601636251550 [ASSY -INLET TUBE 5655 FTN Various old-style Halsey Taylor fountains & coolers

40169C NUT -HEX 1 5/16-20UN CP 1 |22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

40169C NUT -HEX 1 5/16-20UN CP 1 |22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models

40169C NUT -HEX 1 5/16-20UN CP 1 (22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models

40169C NUT -HEX 15/16-20UN CP 1 |22544C ASSY -BASIN & PRCLR Elkay WD5-1A models

40169C NUT -HEX 1 5/16-20UN CP 1 |22545C ASSY -BASIN & PRCLR Elkay WD8-1A models

40169C NUT -HEX 1 5/16-20UN CP 1 |28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models

40169C NUT -HEX 1 5/16-20UN CP 1 [98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton
bubbler models

40206000 STEEL RETAINER-ZINC PLATE FINISH 4 10000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant
models

40206000 STEEL RETAINER-ZINC PLATE FINISH 1 |98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

40252C TPIPE-7.34IN 1 |45442C ASSY -DRAIN Various Elkay models

40252C TPIPE-7.34IN 1 |45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB,
WMCB, SCWTWC, XP models

402655543730 |BRKT -WC CONDENSER MTG 1 [66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

40266C VALVE-CHECK 1 |98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models

402674143730 [VALVE-LEVER UNIVERSAL 1 1602643051550 [ASSY -VALVE Various old-style Halsey Taylor fountains & coolers

40267C INSRT-.25 DIA CU 1 [98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models

40291C TPIPE-1.2500D X5.25IN 1 |21781C ASSY -BASIN&TAILPIPE FD1&3 Elkay FD and Halsey Taylor S-Series 3 & 5 gallon models

40291C TPIPE-1.2500D X5.25IN 1 (21782C ASSY -BASIN&TAILPIPE FD3F3 Elkay FD and Halsey Taylor S-Series Glass Filler Prepped
models

40291C TPIPE-1.2500D X5.25IN 1 |21812C ASSY -BASIN&TAILPIPE WF5000 Elkay WF50003 FTN model

40291C TPIPE-1.2500D X5.25IN 1 |28443C ASSY -BASIN & T-PIPE S300GF Halsey Taylor S-Series w/Glass Filler models

40291C TPIPE-1.2500D X5.25IN 1 |28615C ASSY-BASIN & TAILPIPE Halsey Taylor S-Series models

40319C FTTNG-ORIFICE .200 DIA 1 (40322C ASSY -ORIFICE Elkay Flexi-Guard® safety bubbler models

40319C FTTNG-ORIFICE .200 DIA 1 |45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

40319C FTTNG-ORIFICE .200 DIA 1 (56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

40319C FTTNG-ORIFICE .200 DIA 1 |92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard bubbler

40347C PRCLR-WD5F1 1 |21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models

40348C PRCLR-WDS8F1 1 (21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models

40410C PRCLR-FD3F1 1 (22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models

40500C STEM -VALVE 2000 (SERV) 1 |98863C KIT-GF HANDLE/STEM LK1110 & 96852CA glass filler models

40552C PRCLR-FD3 1 |22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

40552C PRCLR-FD3 1 |22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models

40553C PRCLR-FD5,8&10-1 1 |22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models

40553C PRCLR-FD5,8&10-1 1 |28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models

40554C PRCLR-WD5-1A 1 (22544C ASSY -BASIN & PRCLR Elkay WD5-1A models

40555C PRCLR-WD8-1A 1 |22545C ASSY -BASIN & PRCLR Elkay WD8-1A models

40573C FERRL-TAILPIPE CP 1 |40575C ASSY -STRAINER & FERRULE CP Elkay ECDFPW, ECRSP, EDFB, EDFP19C, EFRPC, EHF, ESWA,
HEW; Halsey Taylor 5701, HBW, HCRF, WC models

40575C ASSY -STRAINER & FERRULE CP 1 (98356C KIT-TAILPIPE ASSY SIMUL RECESS ESWA & HBW models

40575C ASSY -STRAINER & FERRULE CP 1 |98726C KIT -HEW BASIN REPLACEMENT HEW models

40575C ASSY -STRAINER & FERRULE CP 1 (98790C KIT-DRAIN (BACKSPLASH/RECESSD) Elkay EDFB, EDFP19C, EFRPC, EHFSA, OHFA; Halsey Taylor
5701, WC models

40575C ASSY -STRAINER & FERRULE CP 1 198924C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA,
HEW; Halsey Taylor 5701, HBW, HCRF, WM models

40619C FERRL-TAILPIPE (CP) 1 (45336C ASSY -STRAINER & FERRULE Elkay DRKR14, EDF210, EDF310C, EDFP(210/214/217), EFRC,
EFRP(C), EHFRA, ERFP, ERO, LINE; Halsey Taylor 2634. 5405.
7020, 7030, 10000, HRF(G) models

40619C FERRL-TAILPIPE (CP) 1 |98864C KIT-HTICF DRAIN ASSEMBLY HTICF model

40680C FITTING-ORIFICE .153 DIA LOW FLOW 1 |98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-
Guard  bubbler

40778002 NUT -FLARE 1/4X 1/4 1 |602703851550 |KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers

40778002 NUT -FLARE 1/4 X 1/4 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models

40778003 NUT -FLARE 5/16 X 5/16 1 (601110851550 [ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers

45330C TUBE -WASTE ARM-J 16.75 1 |196886C KIT-WASTE/DRAIN RIGHT SIDE (EDF310C, 7030) Elkay EDF310C & Halsey Taylor 7030 Fountain (right side
drain only). For full drain system, use p/n LK605.

45330C TUBE -WASTE ARM-J 16.75 1 (98265C KIT -HT FTN REPLACEMENT To replace HT-E/HT-S Series with the HRFE Series

45330C TUBE -WASTE ARM-J 16.75 1 [LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

45336C ASSY -STRAINER & FERRULE 1 1160279908640 [ASSY -DRAIN PLUG & TAILPIECE Halsey Taylor 10000 Fountain

45336C ASSY -STRAINER & FERRULE 1 |196886C KIT-WASTE/DRAIN RIGHT SIDE (EDF310C, 7030) Elkay EDF310C & Halsey Taylor 7030 Fountain (right side
drain only). For full drain system, use p/n LK605.

45336C ASSY -STRAINER & FERRULE 1 |98925C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA,
HEW; Halsey Taylor 5701, HBW, HCRF, WM models

45336C ASSY -STRAINER & FERRULE 1 |LK128 DRAIN DRKR & 10000 models

45336C ASSY -STRAINER & FERRULE 1 |LK464 ASSY -DRAIN Soft Sides® & Contour™ models

45336C ASSY -STRAINER & FERRULE 3 |LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

45351C ASSY -WASTE LINE 1 |96831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009

45403C BUTTN-PUSH ACTUATOR 1 (98901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall-
mount)

45440C PRCLR-RC12 1 (97310C KIT -RC12 PRECOOLER RC12 models

45464C PLUG -DRAIN 1-1/2" 1 |0000000325 KIT-DRAIN PLUG/GASKET (4400 SERIES) Outdoor Tubular Fountains & Bottle Fillers




45657C FTTNG-PROJECTOR MOUNT 1 (45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models

45659C BODY -BUBBLER 1 145660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

45662C BUTTN-PUSH 1 |1000001906 |KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models

45662C BUTTN-PUSH 1 |1000003694 [KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models

45662C BUTTN-PUSH 1 (1000003695 [KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

45662C BUTTN-PUSH 1 (98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models

45663C SLEEV-PUSH BUTTON GUIDE 1 11000003694  |KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models

45663C SLEEV-PUSH BUTTON GUIDE 1 |1000003695 KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

45663C SLEEV-PUSH BUTTON GUIDE 1 |98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models

45663C SLEEV-PUSH BUTTON GUIDE 1 (98901C KIT - FRZ RESIST PUSH BUTTON Outdoor Steel Fountains & Bottle Filler models (except wall-
mount)

45675C BODY -BUBBLER SS 1 |45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models

45677C ASSY -WASTELINE 1 196846C KIT -WASTE LINE ASSY Various Elkay models

45678C PRCLR 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers

45678C PRCLR 1 1602703851550 |KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models

45679C TPIPE- 1 (45448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB,
WMCB, SCWTWC, XP models

45679C TPIPE- 1 |45698C ASSY -TAILPIPE (SERVICE) Various Elkay models

45679C TPIPE- 1 145702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAE8, LWCE, WGA5 models

45689C ASSY -TAILPIPE 1 |45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and
WM(W,CB) models

45695C PRCLR-(SERVICE) 1 (602703251550 (KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers

45697C PRCLR-(SERVICE) 1 1602703351550 (KIT -PRECOOLER Various old-style Halsey Taylor fountains & coolers

45703C ASSY -BUBBLER 1 (45661C ASSY -BUBBLER BRACKET FTN Halsey Taylor 4540 and 2501A models

45727C BODY -BUBBLER (4400DB) 1 10000000466 |KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain

45729C ASSY -TAILPIPE/VACUUM BREAK 1 |45718C ASSY -TAILPIPE/VACUUM CR Elkay EFWC16S1Z model

45736C NUT-REG. MNTG. HALF 1 |1000001906 |KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models

45736C NUT-REG. MNTG. HALF 1 199004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey
Taylor HTHBHVR bottle filler combo models

45737C SLEEVE-PUSH BUTTON GUIDE 1 (1000001906 [KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models

45737C SLEEVE-PUSH BUTTON GUIDE 1 [99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-
Resistant bottle fillers

45784C TRAP -DRAIN CP (SERV) 1 |LK464 ASSY -DRAIN Soft Sides® & Contour™ models

45796C FTTNG-ELBOW-1/ 1/4 CP I.P.S. (SERV) 1 |LK464 ASSY -DRAIN Soft Sides® & Contour™ models

45847C PIN -PUSH BUTTON SWIRLFLO 1 |98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models

45848C BUTTN-PUSH SWIRLFLO 1 |98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models

45852C ASSY -TRAP 1 [LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

45853C ASSY -WASTELINE TEE 1 |LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

45854C TPIPE 2 [LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

45856C ASSY -WASTELINE TEE 1 |LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

45858C WASTELINE 1 |LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

45859C COIL -EVAP ICF 1 (98867C KIT-HTICF BIN & EVAP COIL HTICF model

45860C DRAIN-ICE CHILLED FTN 1 |98864C KIT-HTICF DRAIN ASSEMBLY HTICF model

45861C TPIPE 1.25X 4.88 1 |LK128 DRAIN DRKR & 10000 models

45862C ROD-ICF HOLD DOWN 1 |98868C KIT-HTICF HOLD DOWN HTICF model

45866C BODY-BUBBLER (SHORT) 1 [97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models

45869C BUBLR-VR W/SET SCREW 1 ]98287C ASSY-BUBLR VR W/SCREEN & SCREW Elkay & Halsey Taylor Outdoor Stone Aggregate Fountains -
except 4591 style

45871C TPIPE-ESWA/HBW 1 (98356C KIT-TAILPIPE ASSY SIMUL RECESS ESWA & HBW models

45878C BUBBLER -VRC/HVR (GREEN) 1 (98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal-
Resistant bubblers

45885C CUP - DRAIN - 2 HOLES 1 |66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze
valve assembles

45886C TAILPIECE MODIFIED 1 |66789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRB1 triple freeze
valve assembles

45890C TUBE-DRAIN ASSY- EZ 1 (98900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models

45892C TUBE-DRAIN 1 |0000001146 |KIT-DRAIN REPLACE HTV SINGLE HTV single models

45893C TUBE-DRAIN 1 10000001147 |KIT-DRAIN REPLACE HTVBL(R) HTV bi-level models

45894C TUBE-DRAIN 1 197970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers

45896C TUBE-DRAIN 1 |97969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models

45929C TUBE - DRAIN 1 |0000000964 KIT-BASIN RPLCMNT EMABF EMABF &LMABF models

45929C TUBE - DRAIN 1 |0000000965 |KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models

45929C TUBE - DRAIN 1 (0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models

45929C TUBE - DRAIN 1 |0000000967 KIT-BASIN RPLCMNT HVR HVR(GRN) models

45929C TUBE - DRAIN 1 198917C KIT-BASIN RPLCMNT HAC BI-LEVEL HAC bi-level models

45930C TUBE - DRAIN 1 |98916C KIT-BASIN RPLCMNT HAC SINGLE HAC single models

45932C TPIPE-HEW 1 |98726C KIT -HEW BASIN REPLACEMENT HEW models

45940C TPIPE-1.25 X 4.00 1 1160279908640 [ASSY -DRAIN PLUG & TAILPIECE Halsey Taylor 10000 Fountain

45958C ROD - PUSH 1 199004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey
Taylor HTHBHVR bottle filler combo models

45959C NUT - CAP 1 199004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey
Taylor HTHBHVR bottle filler combo models

45960C BUTTON - PUSH W/O HOLE 1 [99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-
Resistant bottle fillers

50003C BSHNG-SNAP IN 1 |600755351590 |ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains

50003C BSHNG-SNAP IN 1 (601033751590 [ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers

50003C BSHNG-SNAP IN 1 |601474351550 |ASSY -PUSH BUTTON & STEM(SERV) Various old-style Halsey Taylor fountains & coolers

50005C GASKT-TAILPIPE 1 145702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAE8, LWCE, WGA5 models

50074C GASKT-TAILPIPE 1 1160279908640 |ASSY -DRAIN PLUG & TAILPIECE Halsey Taylor 10000 Fountain

50074C GASKT-TAILPIPE 1 |196886C KIT-WASTE/DRAIN RIGHT SIDE (EDF310C, 7030) Elkay EDF310C & Halsey Taylor 7030 Fountain (right side
drain only). For full drain system, use p/n LK605.

50074C GASKT-TAILPIPE 1 [98356C KIT-TAILPIPE ASSY SIMUL RECESS ESWA & HBW models

50074C GASKT-TAILPIPE 1 |98726C KIT -HEW BASIN REPLACEMENT HEW models

50074C GASKT-TAILPIPE 1 198790C KIT-DRAIN (BACKSPLASH/RECESSD) Elkay EDFB, EDFP19C, EFRPC, EHFSA, OHFA; Halsey Taylor
5701, WC models

50074C GASKT-TAILPIPE 1 |98864C KIT-HTICF DRAIN ASSEMBLY HTICF model




50074C GASKT-TAILPIPE 1 198924C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA,
HEW; Halsey Taylor 5701, HBW, HCRF, WM models

50074C GASKT-TAILPIPE 1 198925C KIT-STRAINER/FERRULE Elkay ECDFP, ECRSP, EDFB, EDFP19C, EFRPC, EHFSA, ESWA,
HEW; Halsey Taylor 5701, HBW, HCRF, WM models

50074C GASKT-TAILPIPE 1 [LK128 DRAIN DRKR & 10000 models

50074C GASKT-TAILPIPE 1 |LK128 DRAIN DRKR & 10000 models

50074C GASKT-TAILPIPE 1 |LK464 ASSY -DRAIN Soft Sides® & Contour™ models

50074C GASKT-TAILPIPE 3 |LK605 DRAIN ASSEMBLY EDF210C, EDF310C, 7020 & 7030 models

50125C BUMPR-CORK/RUBBER 4 198807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models

50125C BUMPR-CORK/RUBBER 4 198808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models

50125C BUMPR-CORK/RUBBER 4 198809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models

50125C BUMPR-CORK/RUBBER 4 198810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models

50125C BUMPR-CORK/RUBBER 4 |98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models

50125C BUMPR-CORK/RUBBER 4 198812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models

50125C BUMPR-CORK/RUBBER 4 198832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models

50125C BUMPR-CORK/RUBBER 4 198833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models

50127C BUMPR-SIDE PANEL 5 198807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models

50127C BUMPR-SIDE PANEL 5 198808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models

50127C BUMPR-SIDE PANEL 5 198809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models

50127C BUMPR-SIDE PANEL 5 198810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models

50127C BUMPR-SIDE PANEL 5 [98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models

50127C BUMPR-SIDE PANEL 5 [98812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models

50127C BUMPR-SIDE PANEL 5 198832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models

50127C BUMPR-SIDE PANEL 5 198833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models

50129C BUMPR-CORK/RUBBER 2 |98537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models

50144C GRMMT-COMPRESSOR 4 (0000000252 |KIT-COMPR MTG-DLX/BACKSPLASH EFA, EFW, EHFSA, ESWA, EW(TL)A, EWCA, HBW, LFAE,
LWAE, LWCE, OHFA, SCWT & WC models

50144C GRMMT-COMPRESSOR 4 10000000253 |[KIT-COMPR MTG-EFWC16 EFWC16 model

50144C GRMMT-COMPRESSOR 4 10000000254 KIT-COMPR MTG-FD/S-SERIES FD & S-Series models

50144C GRMMT-COMPRESSOR 4 |35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

50164C WASHR-FLAT .15ID TEFLON 1 (92445C KIT -VALVE SEAL Various Elkay models

50171C ORING-.364ID X .070 1 (40322C ASSY -ORIFICE Elkay Flexi-Guard® safety bubbler models

50171C ORING-.364ID X .070 1 |45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

50171C ORING-.364ID X .070 1 |56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

50171C ORING-.364ID X .070 1 [92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard bubbler

50171C ORING-.364ID X .070 1 (98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-
Guard bubbler

50196C GRMMT-COMPRESSOR 4 10000000257 [KIT-COMPR MTG-LARGE REMOTES 19, 20, 30 & 32 GPH Chiller models

50196C GRMMT-COMPRESSOR 4 136320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models

50198C BSHNG-SNAP .125ID 4 |0000001323  [KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant
models

50198C BSHNG-SNAP .125ID 2 |1000001576 |KIT-EDFP19C PUSHBAR Elkay EDFP19C models

50198C BSHNG-SNAP .125ID 2 |98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models

50198C BSHNG-SNAP .125ID 2 |98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

50210C TIE -WRAP IT 2 (98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models

50212C RIVET-DRIVE TYPE 6 (1000001867 |[KIT - 50212C RIVETS (6) Mutipack of 50212C rivets

50212C RIVET-DRIVE TYPE 10 [98537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models

50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1001000002462  |[KIT - 50314C ORIFICE FITTING (100 PK) Elkay Flexi-Guard®, Classroom; Halsey Taylor and Elkay
Pushbutton bubblers

50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1 (40322C ASSY -ORIFICE Elkay Flexi-Guard® safety bubbler models

50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1 |45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1 |56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1 [92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard bubbler

50314C FTTNG-ORIFICE FLOW STRAIGHTNER 1 |98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-
Guard bubbler

50368C RECPT-DRAIN 1 |45702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAE8, LWCE, WGA5 models

50548C CABLE TIE 1 (1000001812 KIT-BOTTLER FILLER DRAIN Elkay EZH20®-Cooler combo; Halsey Taylor HydroBoost®-
Cooler combo models

50548C CABLE TIE 1 11000001861 |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

50548C CABLE TIE 1 11000002437 |KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

50548C CABLE TIE 4 (1000002444  [KIT-THERMISTOR/RFID HARNESS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

50548C CABLE TIE 2 11000002456 KIT-CONDENSER / DRIER / WIRE TIES Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

50548C CABLE TIE 2 (1000002601  [KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

50548C CABLE TIE 3 11000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

50985C HOLDR-REGULATOR 5 (1000002144  |[KIT - 50985C REG HOLDER (5 PK) Various Elkay and Halsey Taylor models

50985C HOLDR-REGULATOR 1 |98678C KIT - 1.0 GPM REGULATOR Elkay & Halsey Taylor Outdoor Steel Bottle Fillers

50985C HOLDR-REGULATOR 1 |98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ &
Contour™ Fountains; Also Outdoor Dual & Triple Bottle
Fillers

50986C HOLDR-REGULATOR 1 (1000001673 KIT - EMASM (BF) 1.0 GPM REGULATOR Elkay EMASM, EMASMB, LMASMB Surface Mount bottle
fillers

50986C HOLDR-REGULATOR 1 |1000001913 |KIT-EZ/HTV REGULATOR PRE JUNE 2008 EZ & HTV models produced prior to June 2008*

50986C HOLDR-REGULATOR 5 11000002145 |KIT - 50986C REG HOLDER (5 PK) Multipack of 50986C Regulator Holders

50986C HOLDR-REGULATOR 1 [22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

50986C HOLDR-REGULATOR 1 (22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models




50986C HOLDR-REGULATOR 1 |22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models

50986C HOLDR-REGULATOR 1 [22544C ASSY -BASIN & PRCLR Elkay WD5-1A models

50986C HOLDR-REGULATOR 1 |22545C ASSY -BASIN & PRCLR Elkay WD8-1A models

50986C HOLDR-REGULATOR 1 |28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models

50986C HOLDR-REGULATOR 1 ]92450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include
the regulator

50986C HOLDR-REGULATOR 1 (92776C KIT -BFC REGUL RPMNT Old-style BFC models

50986C HOLDR-REGULATOR 1 [98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton
bubbler models

50986C HOLDR-REGULATOR 1 |98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except
SCWT

50986C HOLDR-REGULATOR 1 [98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models

51294C ASSY -FILTER HEAD 1 |0000000746 |ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

51294C ASSY -FILTER HEAD 1 (1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

51294C ASSY -FILTER HEAD 1 (1000003413 (KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

51294C ASSY -FILTER HEAD 1 11000003563 [KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

51294C ASSY -FILTER HEAD 1 (51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters

51461C ORING-.114ID X .070 1 [92445C KIT -VALVE SEAL Various Elkay models

51531C BLOCK-PIVOT 6 [98537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models

51544C BUBLR-.4GPM CP 1 [92776C KIT -BFC REGUL RPMNT Old-style BFC models

51544C BUBLR-.4GPM CP 1 |98533C KIT - HALSEY/TAYLOR DOUBLE BUBBLER Halsey Taylor with chrome-plated plastic Double Bubbler™

51559C PBAR -PUSH FRONT GRAY 1 [98791C KIT-EHFSA PUSHBAR EHFSA Light Gray Granite & Stainless Steel models

51560C PBAR -PUSH FRONT BROWN 1 |0000000242  [KIT-EHFSA PUSHBAR (BROWN) EHFSA Almond & Sandalwood models

51565C PBAR -PUSH SIDE GRAY 4 (0000000872  |KIT-EMABF PUSHBAR / NUTS EMABF models

51565C PBAR -PUSH SIDE GRAY 2 [98791C KIT-EHFSA PUSHBAR EHFSA Light Gray Granite & Stainless Steel models

51566C PBAR -PUSH SIDE BROWN 2 (0000000242  [KIT-EHFSA PUSHBAR (BROWN) EHFSA Almond & Sandalwood models

51575C RING -PACKING 1 11000002143 KIT-OVL-Il DRAIN/STRAINER ASSY. Halsey Taylor OVL-Il models

51576C BRKT -VALVE&PUSHBAR MTG 1 |92776C KIT -BFC REGUL RPMNT Old-style BFC models

51667C BUMPR-PRESS BAR 2 10000001323 KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant
models

51667C BUMPR-PRESS BAR 2 198537C KIT - PUSH BAR SERVICE EHFSA, EMABF, HAC & WC models

51667C BUMPR-PRESS BAR 1 |98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

55836C PLATE-ACTUATOR OVL 1 |0000000258 |KIT-ACTUATOR OVL OVL-II™ models

55839C PLATE-ACTUATOR BTM 1 |0000000258 |KIT-ACTUATOR OVL OVL-II™ models

55840C PLATE-ACTUATOR TOP 1 (0000000258 KIT-ACTUATOR OVL OVL-1I™ models

55859C PBAR 4 198870C KIT-5701 PUSHBAR ASSY 5701 models

55859C PBAR 4 198895C KIT-HAC/WC PUSHBAR HAC & WC models

55908C HELIX-PRECOOLER 6.00 1 |21790C ASSY -BASIN & PRCLR WD8 Elkay WD8 models

55908C HELIX-PRECOOLER 6.00 1 |22544C ASSY -BASIN & PRCLR Elkay WD5-1A models

55908C HELIX-PRECOOLER 6.00 1 (22545C ASSY -BASIN & PRCLR Elkay WD8-1A models

55909C HELIX-PRECOOLER 9.95 1 |21789C ASSY -BASIN & PRCLR WD5 Elkay WD5 models

55909C HELIX-PRECOOLER 9.95 1 [22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

55909C HELIX-PRECOOLER 9.95 1 (22031C ASSY -BASIN&PRECLR FD7003-FA Elkay FD Glass Filler Prepped models

55909C HELIX-PRECOOLER 9.95 1 |22542C ASSY -BASIN & PRCLR FD3 Elkay FD3 models

55909C HELIX-PRECOOLER 9.95 1 |22543C ASSY -BASIN & PRCLR FD5 Elkay FD5 models

55909C HELIX-PRECOOLER 9.95 1 |28442C ASSY -BASIN & PRCLR S3,5 &10 Halsey Taylor S-Series models

55913C ADAPT-DRAIN W/O HOLES 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers

55913C ADAPT-DRAIN W/O HOLES 1 |45442C ASSY -DRAIN Various Elkay models

55913C ADAPT-DRAIN W/O HOLES 1 [(45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and
WM(W,CB) models

55913C ADAPT-DRAIN W/O HOLES 1 |45698C ASSY -TAILPIPE (SERVICE) Various Elkay models

55913C ADAPT-DRAIN W/O HOLES 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models

55913C ADAPT-DRAIN W/O HOLES 1 |98683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler*
models (*For bottle filler portion only on 4420(DB)BF and
4430BF)

55919C BUTTN-PUSH(EXTENSION) 1 |98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

55947C INSRT-PUSH BAR GRAY 4 198895C KIT-HAC/WC PUSHBAR HAC & WC models

55994C TUBE -POLY 1/4X.040 WALL 1 |0000000745 KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJI8GRN &
VRCGRN models

55994C TUBE -POLY 1/4X.040 WALL 3 10000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

55994C TUBE -POLY 1/4X.040 WALL 3 1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

55994C TUBE -POLY 1/4X.040 WALL 4 11000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

55994C TUBE -POLY 1/4X.040 WALL 1 (1000002438 KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

55994C TUBE -POLY 1/4X.040 WALL 1 |1000003114 |KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015)

55994C TUBE -POLY 1/4X.040 WALL 1 |1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model

55994C TUBE -POLY 1/4X.040 WALL 3 1000003413  |KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

55994C TUBE -POLY 1/4X.040 WALL 3 1000003563  |KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

55994C TUBE -POLY 1/4X.040 WALL 1 |92776C KIT -BFC REGUL RPMNT Old-style BFC models

55994C TUBE -POLY 1/4X.040 WALL 4 |96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

55994C TUBE -POLY 1/4X.040 WALL 2 (98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models

55994C TUBE -POLY 1/4X.040 WALL 1 |98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

55994C TUBE -POLY 1/4X.040 WALL 6 [98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

55994C TUBE -POLY 1/4X.040 WALL 2 198549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

55994C TUBE -POLY 1/4X.040 WALL 0.33|98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers

55994C TUBE -POLY 1/4X.040 WALL 1 [98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011)




55994C TUBE -POLY 1/4X.040 WALL 1 |98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models
(Pre July 2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July
2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July
2011)

55994C TUBE -POLY 1/4X.040 WALL 1 |98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF,
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models

55994C TUBE -POLY 1/4X.040 WALL 1 |98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300,
S500, SCWT4 & SW4 models

55994C TUBE -POLY 1/4X.040 WALL 1 |98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

55994C TUBE -POLY 1/4X.040 WALL 6 |98866C KIT-HTICF WATERWAY ASSY HTICF model

55996C STRNR-IN LINE 1 (92776C KIT -BFC REGUL RPMNT Old-style BFC models

55996C STRNR-IN LINE 1 |98866C KIT-HTICF WATERWAY ASSY HTICF model

55997C PDSTL-EZ 1 |92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard bubbler

55997C PDSTL-EZ 1 (98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-
Guard  bubbler

55999C P BAR-FRNT EZ GRAY 2 |1000001600 |KIT-EZ FRONT PUSHBARS Elkay EZ-LZ models

55999C P BAR-FRNT EZ GRAY 1 /1000002032 KIT-EZ FRONT PUSHBAR/SIDE FILLERS Elkay EZ/LZ Front Activation only models

55999C P BAR-FRNT EZ GRAY 1 |98734C KIT-EZ FRONT-SIDE PUSHBARS Elkay EZS/LZS models

56002C P BAR-SIDE EZ GRAY 2 198734C KIT-EZ FRONT-SIDE PUSHBARS Elkay EZS/LZS models

56011C ASSY-HOUSING EZ 1 [92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard bubbler

56011C ASSY-HOUSING EZ 1 ]98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-
Guard bubbler

56033C SPACR-WASHER 1 (1000001906 ([KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models

56074C PUSH-FILLER EZO/LZO 2 |1000002032 |KIT-EZ FRONT PUSHBAR/SIDE FILLERS Elkay EZ/LZ Front Activation only models

56074C PUSH-FILLER EZO/LZO 2 |98896C KIT-EZO PUSHBAR FILLER EZO models

56074C PUSH-FILLER EZO/LZO 2 |98897C KIT-LZO PUSHBAR FILLER LZO models

56079C PUSH-FRONT EZ-EE GRAY 1 (98896C KIT-EZO PUSHBAR FILLER EZO models

56082C NUT-REGULATOR 1 |0000000802 |KIT-SOLENOID VLV/REG. ASSY. (220V-240V) EZ & HTV 220V models

56082C NUT-REGULATOR 2 1000001912 |KIT-56082C REGULATOR NUT (2 PK) Various Elkay & Halsey Taylor Models

56082C NUT-REGULATOR 1 |1000001913 KIT-EZ/HTV REGULATOR PRE JUNE 2008 EZ & HTV models produced prior to June 2008*

56082C NUT-REGULATOR 1 1000002435 |KIT-SOLENOID VLV/REG. ASSY. Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

56082C NUT-REGULATOR 1 |98466C KIT-SOLENOID VLV/REG. ASSY. EZ/HTV models (Rev C & up)

56110C PUSHBAR-HTV 2 10000001324 KIT-HTV PUSHBAR HTV models

56118C FTTNG-DRAIN 1 |0000001146 |KIT-DRAIN REPLACE HTV SINGLE HTV single models

56118C FTTNG-DRAIN 1 10000001147 |KIT-DRAIN REPLACE HTVBL(R) HTV bi-level models

56118C FTTNG-DRAIN 1 [1000001877 |KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models

56118C FTTNG-DRAIN 1 1000001922 KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models

56118C FTTNG-DRAIN 1 [97969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models

56118C FTTNG-DRAIN 1 197970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers

56118C FTTNG-DRAIN 1 198900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models

56121C ELBOW-DRAIN 1 10000000964 KIT-BASIN RPLCMNT EMABF EMABF &LMABF models

56121C ELBOW-DRAIN 1 |0000000965 |KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models

56121C ELBOW-DRAIN 1 |0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models

56121C ELBOW-DRAIN 1 11000001889 |KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey
Taylor HAC-HydroBoost® combo models

56121C ELBOW-DRAIN 1 11000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor
HTHB-HAC combo models

56121C ELBOW-DRAIN 1 11000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-
HVRGRN combo models

56121C ELBOW-DRAIN 1 (1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models

56121C ELBOW-DRAIN 1 [96831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009

56121C ELBOW-DRAIN 1 [96832C KIT -WASTE LINE ASSY Various Elkay models

56121C ELBOW-DRAIN 1 196846C KIT -WASTE LINE ASSY Various Elkay models

56121C ELBOW-DRAIN 1 ]96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall
mount)

56121C ELBOW-DRAIN 1 [96965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models

56121C ELBOW-DRAIN 1 (97017C KIT -DRAIN TUBE Halsey Taylor RC8 models

56121C ELBOW-DRAIN 1 [97310C KIT -RC12 PRECOOLER RC12 models

56121C ELBOW-DRAIN 1 |98684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel
Fountains, 4420(DB)BF* & 4430BF* (*For basin/bubbler
section only)

56121C ELBOW-DRAIN 1 |98856C KIT-HAC/EMABF DRAIN HAC and EMABF models

56159C NIPPL-BUBBLER 1.11" (PLASTIC) 1 (1000002705 (KIT - HT Double Bubbler Nipple & Gasket Halsey Taylor Double Bubbler™ models

56159C NIPPL-BUBBLER 1.11" (PLASTIC) 1 [98533C KIT - HALSEY/TAYLOR DOUBLE BUBBLER Halsey Taylor with chrome-plated plastic Double Bubbler™

56160C ORING-.237 ID X .438 2 [98164C KIT -1/4" PRESS-IN FITTING Various Elkay & Halsey Taylor models

56160C ORING-.237 ID X .438 10 [98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

56161C ORING-.299 ID X .500 1 |98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

56162C ORING-.362 ID X .563 2 |98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

56182C BRKT-DRAIN ADAPTER (EZ) 1 (1000001877 KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models

56182C BRKT-DRAIN ADAPTER (EZ) 1 ]1000001922  |KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models

56182C BRKT-DRAIN ADAPTER (EZ) 1 |97969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models

56182C BRKT-DRAIN ADAPTER (EZ) 1 (97970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers




56182C BRKT-DRAIN ADAPTER (EZ) 1 [98900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models

56189C NMPLT-ELKAY 1 |1000001975 |[KIT - ELKAY NAMEPLATE (EHW) Elkay EHW(M) models

56189C NMPLT-ELKAY 1 11000001976 KIT - ELKAY NAMEPLATE Most Elkay models

56205C CLIP-WIRE 2 |1000002601 |KIT-CNTRL BOARD / TRANS (EZ/LZ8) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

56205C CLIP-WIRE 1 11000003413  [KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

56237C SHRD-FAN 1 10000000244  [KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA,
ER5/10, ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW,
SCWT4/8, SJ8, SW4/8, WC, WMS; 220V/60Hz models: EFAS,
ER5/10, EWAS, EWCAS, FD70010, SCWTS8, SW8

56237C SHRD-FAN 1 |0000000246 [KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models

56237C SHRD-FAN 50 11000002221 KIT - 56237C FAN SHROUD (50 PK) Various Elkay & Halsey Taylor models

56237C SHRD-FAN 1 (98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models

56251C TUBE -POLY 24.00" 2 1000001880 |KIT - GLASS FILLER FITTINGS Elkay models with LK109A glass fillers

56253C TUB -ICE CHILLED FTN 1 |98867C KIT-HTICF BIN & EVAP COIL HTICF model

56258C BRACE-ICF HOLD DOWN 1 |98868C KIT-HTICF HOLD DOWN HTICF model

56259C PRTPK-SOLENOID CAP/SCRN/O-RING 1 |98169C KIT -SOLENOID CAP/SCRN/O-RING Elkay EZ and Halsey Taylor HTV/ HTVZ models

56272C PDSTL-SHORT 1 |56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

56273C ASSY-HOUSING SHORT 1 |56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

56279C TUBING-5/16"0.D.X3/16"1.D. PVC 2 (98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models

56279C TUBING-5/16"0.D.X3/16"1.D. PVC 2 |98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

56282C PUSH-FRONT EZ-EE VFM GRAY 1 (98897C KIT-LZO PUSHBAR FILLER LZO models

56305C GASKT-VR BUBBLER 2 |0000000466 |KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain

56305C GASKT-VR BUBBLER 2 (1000001791 (KIT - VR BUBBLER NIPPLE W/GASKET Elkay and Halsey Taylor models with Vandal-Resistant
Bubbler

56305C GASKT-VR BUBBLER 10 |1000003577  |KIT-56305C VR BUBLR GASKET (10PK) Vandal-resistant bubbler

56305C GASKT-VR BUBBLER 2 [97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models

56305C GASKT-VR BUBBLER 2 198481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal-
Resistant bubblers

56305C GASKT-VR BUBBLER 1 [98677C KIT-GASKET OUTDOOR FTN / BF Elkay & Halsey Taylor Outdoor Steel Bottle Fillers

56305C GASKT-VR BUBBLER 1 [98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle
Fillers

56307C TUBE -POLY 3/8X.062 WALL 3 198532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

56307C TUBE -POLY 3/8X.062 WALL 4 (98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

56307C TUBE -POLY 3/8X.062 WALL 3 198686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers

56323C COVER-TOP LT GRAY LK 1 (98547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models

56323C-001 COVER - TOP CHARCOAL HT 1 |98666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models

56328C LENS - EE 1 11000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

56328C LENS - EE 1 |98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

56328C LENS - EE 1 |98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

56328C LENS - EE 1 |98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

56331C CONNECTOR 1 ]98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

56331C CONNECTOR 1 ]98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models

56331C CONNECTOR 1 |98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

56332C SNAP BUSHING 1-3/8 1 |98670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting

56333C DRAIN TRAY LT GRAY LK 1 |98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20® In-Wall, Integral & Surface Mount models

56333C DRAIN TRAY LT GRAY LK 1 ]98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models

56356C SNAP BUSHING 1-1/8 1 |0000000033 EZH20 Drain Cover Kit EZH20® In-Wall, Integral & Surface Mount models

56356C SNAP BUSHING 1-1/8 1 |98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20® In-Wall, Integral & Surface Mount models

56356C SNAP BUSHING 1-1/8 1 |98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models

56360C DRAIN MAT COVER LT GRAY LK 1 |98675C KIT - DRAIN MAT & COVER ASSY EZH20® Retrofit and Bottle Filler/Water Cooler combo
models

56360C-001 DRAIN MAT COVER CHARCOAL HT 1 |98667C KIT-HTHB DRAIN MAT & MAT COVER REPLACEMENT HydroBoost® Retrofit and Bottle Filler/Water Cooler combo
models

56361C DRAIN MAT BF LT GRAY LK 1 |98675C KIT - DRAIN MAT & COVER ASSY EZH20® Retrofit and Bottle Filler/Water Cooler combo
models

56361C-001 DRAIN MAT BF CHARCOAL HT 1 |98667C KIT-HTHB DRAIN MAT & MAT COVER REPLACEMENT HydroBoost® Retrofit and Bottle Filler/Water Cooler combo
models

56375C GASKET - TOWER MOUNTING 1 ]99002C KIT-GASKET VR BF TOWER/BASIN Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-
Resistant bottle fillers

56376C GASKET - TOWER - SPACER 1 199002C KIT-GASKET VR BF TOWER/BASIN Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-
Resistant bottle fillers

600116618640 |ASSY -STEM W/LEVER-BRIGHT 1 |600941951640 |ASSY -1/2 LEVER HANDLE STOP Various old-style Halsey Taylor fountains & coolers

600116618640 |ASSY -STEM W/LEVER-BRIGHT 1 (601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

600116618640 |ASSY -STEM W/LEVER-BRIGHT 1 (601632751550 [ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

600116618640 |ASSY -STEM W/LEVER-BRIGHT 1 |601636151550 [ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers

600116618640 |ASSY -STEM W/LEVER-BRIGHT 1 1600148651640 |ASSY -SUPPLY LINE W/AUTO REG Halsey Taylor older cross-handle regulator replacement

600187851550 |ASSY -TUBE INLET 1 |601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers

600342151550 |[TUBE -SUPPLY PROJ 5650 1 (601180751550 [ASSY -SUPPLY LINE Various old-style Halsey Taylor fountains & coolers

600348851550 |ASSY -TUBE PROJECTOR 1 |600661951550 |ASSY -COLD WATER LINE-WM Halsey Taylor older WM models

600939218550 |STEM -W/SEAT WASHER ASSY 1 |600116618640 [ASSY -STEM W/LEVER-BRIGHT Halsey Taylor lever-handle models; also replaces cross-
handles

600941818640 |ASSY -AUTO VALVE BODY W/REG 1 1600148651640 |ASSY -SUPPLY LINE W/AUTO REG Halsey Taylor older cross-handle regulator replacement

600985451640 |ASSY -DRAIN PLUG AND ADAPTOR 1 |0000000966 [KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models

600985451640 |ASSY -DRAIN PLUG AND ADAPTOR 1 (1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-
HVRGRN combo models

600985451640 |ASSY -DRAIN PLUG AND ADAPTOR 1 |1000001923 |KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models

601038951920 |BODY -AUTO VALVE W/REG 1 1621596051550 [KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RC8, -1, -2)

601038951920({BODY -AUTO VALVE W/REG 1 1621596051550 (KIT -RC SERV COLD WATER LN Halsey Taylor older RC models (RCS, -1, -2)




601420251550 |ASSY -STEM 1 [601480051550 |ASSY -COLD WATER LINE RH Various old-style (Pre-1993) fountains & coolers

601420251550 |ASSY -STEM 1 [601480151550 [ASSY -COLD WATER LINE LH Various old-style Halsey Taylor fountains & coolers

601420251550 |ASSY -STEM 1 |602622951550 |VALVE-UNIVERSAL REPL RH Various old-style Halsey Taylor fountains & coolers

601420251550 |ASSY -STEM 1 |602623051550 |VALVE-UNIVERSAL REPL LH Various old-style Halsey Taylor fountains & coolers

601420251550 |ASSY -STEM 1 |602643051550 |ASSY -VALVE Various old-style Halsey Taylor fountains & coolers

601420251550 |ASSY -STEM 1 |602650251550 [ASSY -REG/VALVE RWMS8A-1 Various old-style Halsey Taylor fountains & coolers

601420251550 |ASSY -STEM 1 1602663851550 |ASSY -REG/VALVE RWM13A-1 Various old-style Halsey Taylor fountains & coolers

601482951550 [ASSY -STEM PLASTIC 1 |601483751550 [ASSY -COLD WATER LINE-WC7A-1 Various old-style Halsey Taylor fountains & coolers

601632351550 |ASSY -PROJ CONN 1 1601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

601632351550 |ASSY -PROJ CONN 1 |601632751550 |ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

601632351550 [ASSY -PROJ CONN 1 |601636151550 |ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers

601632351550 |ASSY -PROJ CONN 1 |601637151550 |ASSY -PROJ LINE ELJER-5655 Various old-style Halsey Taylor fountains & coolers

601635551550 [ASSY -INLET TUBE 1 [601632251550 [ASSY -VALVE 5656FTN Various old-style Halsey Taylor fountains & coolers

601635551550 [ASSY -INLET TUBE 1 |601636151550 |ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers

601635851550 |BODY -VALVE W/ CUSP TUBE 1 [601635951550 [ASSY -VALVE BODY LH Various old-style Halsey Taylor fountains & coolers

601635951550 [ASSY -VALVE BODY LH 1 |601636151550 |ASSY -VALVE CUSPIDOR Various old-style Halsey Taylor fountains & coolers

601636251550 |ASSY -INLET TUBE 5655 FTN 1 |601632751550 |ASSY -VALVE 5655FTN Various old-style Halsey Taylor fountains & coolers

60291C SCRN -SS 1 145660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

60291C SCRN -SS 1 |45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models

60291C SCRN -SS 1 |92776C KIT -BFC REGUL RPMNT Old-style BFC models

60291C SCRN -SS 1 |97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models

60291C SCRN -SS 1 [98287C ASSY-BUBLR VR W/SCREEN & SCREW Elkay & Halsey Taylor Outdoor Stone Aggregate Fountains -
except 4591 style

60291C SCRN -SS 1 [98481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal-
Resistant bubblers

60811C TUBE -CU .375X.028 1 [602600351550 [ASSY -COLD WATER LINE Various old-style Halsey Taylor fountains & coolers

60812C TUBE -CU .500X.028 3 1601521451550 |ASSY -DRAIN TUBE Various old-style Halsey Taylor fountains & coolers

61299C TUBE -VACUUM BREAK 1 145448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB,
WMCB, SCWTWC, XP models

61313C REG -W/ SPRING 1 145660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

61313C REG -W/ SPRING 1 |45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models

61313C REG -W/ SPRING 1 [98536C KIT - PUSH BUTTON ASSY. Elkay & Halsey Taylor top pushbutton and Pushbutton
bubbler models

61313C REG -W/ SPRING 1 |98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except
SCWT

61313C REG -W/ SPRING 1 |98733C KIT-61313C REG-BRASS RETAN NUT Freeze Resistant Boxes for SwirlFlo®, Soft Sides®, OVL-II™ &
Contour™ Fountains; Also Outdoor Dual & Triple Bottle
Fillers

61314C REG -W/GREEN SPRING 1 |1000001913 KIT-EZ/HTV REGULATOR PRE JUNE 2008 EZ & HTV models produced prior to June 2008*

61314C REG -W/GREEN SPRING 1 192776C KIT -BFC REGUL RPMNT Old-style BFC models

61314C REG -W/GREEN SPRING 1 |98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models

61521C CNDSR-2 ROW 134A 1 |98857C KIT-CONDENSER/DRIER--ERS1 ERS1 models

62031C PLUG -DRAIN (316 SS) 1 192230C KIT -EVAP ERS1 ERS1 & SJ1 models

62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 1 |22027C ASSY -BASIN&PRECOOLER FD7003-A Elkay FD3 models

62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 2 192450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include
the regulator

62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 1 192715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard bubbler

62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 97446C KIT-VR BUBBLER REPLACEMENT Most Elkay and Halsey Taylor Vandal-Resistant models

62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 98731C KIT- REGULATOR W/SPRING Elkay & Halsey Taylor pushbutton activated models, except
SCWT

62195C TUBE-CU 1/4X5 (1-EXP/1-P117) 2 |98732C KIT- REGULATOR - GREEN SPRING Elkay & Halsey Taylor pushbar activated & SCWT models

62261C TUBE -CU 1/4 X 1.75 (1-P117) 1 |15013C ASSY -BUBBLER TUBE Halsey Taylor 4520-68, 4521-68, Endura™ Standard and
Freeze-Resistant (4705, 4710, 4715, 4720) and 4880/4881
models

66199C DRIER-R134AID .077 1 192230C KIT -EVAP ERS1 ERS1 & SJ1 models

66199C DRIER-R134A 1D .077 1 |98839C KIT-HEATX HEW HEW models

66199C DRIER-R134AID .077 1 198842C KIT-HEATX/DRIER--ERS1 ERS1 & SJ1 models

66199C DRIER-R134AID .077 1 |98857C KIT-CONDENSER/DRIER--ERS1 ERS1 models

66200C DRIER-R134A I1D.086 1 |0000001014 KIT -66529C HEATX-DRIER Elkay ER2 220V volt chillers

66201C DRIER-R134A 1D.092 1 198181C KIT -66301C HEATX-DRIER EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models

66201C DRIER-R134A 1D.092 1 |98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300,
S500, SCWT4 & SW4 models

66201C DRIER-R134A 1D.092 1 198841C KIT-HEATX EFA/EWA 220V EFA4, EW(C)A4, LWCE4, SCWT4 & SW4 220V models

66202C DRIER-R134A ID .095 1 ]0000000240 KIT-66336C HEATX W-DRIER EFY & XP models

66202C DRIER-R134A ID .095 1 ]1000003361 |KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model

66202C DRIER-R134A ID .095 1 198840C KIT-HEATX 14 GAL 220V EFA14, EFW16, EW(TL)A14, EWCA14, LWCE14, SCWT14,
SW14, WM14 & WM16W 220V models

66202C DRIER-R134A ID .095 1 |98843C KIT-HEATX FD8 FD70010 & S1000 220V/50Hz models

66203C DRIER-R134A ID .102 1 |98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF,
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models

66203C DRIER-R134A ID .102 1 198844C KIT-HEATX 16 GAL EFA16, EWA16, EWTLA16 & WM16 models

66203C DRIER-R134A ID .102 1 198845C KIT-HEATX SW/WM 14 GAL SW14 & WM14 models

66203C DRIER-R134A ID .102 1 |98846C KIT-HEATX SCWT/HOF 14 SCWT14 & HOF14 models

66203C DRIER-R134A 1D .102 1 |98847C KIT-HEATX FD10 FD70010, LFDE10 & S1000 models

66203C DRIER-R134A ID .102 1 198848C KIT-HEATX EFA/EWA 14,16,20 GAL EFA14/16/20, EFW16, EW(TL)A14/16/20, LFAE14/16/20,
LWAE14 & LWTLA14/16/20 models

66203C DRIER-R134A ID .102 1 198849C KIT-HEATX CR EFWC16 model

66204C DRIER-R134A .111 1 |98853C KIT-HEATX ER19 ER19, ERW20 & SJ19 models

66210C ASSY -TUBE BUBBLER(8880 FTN) 1 |98862C KIT-8880 BUBBLER TUBE ASSY 8880 models

66229C HEATX-14 GAL 1 198840C KIT-HEATX 14 GAL 220V EFA14, EFW16, EW(TL)A14, EWCA14, LWCE14, SCWT14,
SW14, WM14 & WM16W 220V models

66256C HEATX- 1 198844C KIT-HEATX 16 GAL EFA16, EWA16, EWTLA16 & WM16 models

66257C HEATX- 1 198845C KIT-HEATX SW/WM 14 GAL SW14 & WM14 models

66301C HEATX 1 |98181C KIT -66301C HEATX-DRIER EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models

66305C CNDSR-2 ROW 134A 1 198320C KIT-CONDENSER 66764C RPLCMNT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor
$J10, S10000 models with Bois D'Arc Type B condenser

66336C HEATX-XP/EFY 1 |0000000240 [KIT-66336C HEATX W-DRIER EFY & XP models




66338C TPIPE-S SERIES 1 [96965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models

66346C TUBE -WASTE 1 ]96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall
mount)

66347C TUBE -WASTE RC8 1 |97017C KIT -DRAIN TUBE Halsey Taylor RC8 models

66363C EVAP -ERS11D 1 192230C KIT -EVAP ERS1 ERS1 & SJ1 models

66400C ASSY -TUBE WASTE 1 |96832C KIT -WASTE LINE ASSY Various Elkay models

66445C HEATX- 1 (98848C KIT-HEATX EFA/EWA 14,16,20 GAL EFA14/16/20, EFW16, EW(TL)A14/16/20, LFAE14/16/20,
LWAE14 & LWTLA14/16/20 models

66452C HEATX-EFA/EWA 230V 1 |98841C KIT-HEATX EFA/EWA 220V EFA4, EW(C)A4, LWCE4, SCWT4 & SW4 220V models

66508C HEATX-FD8 1 |98843C KIT-HEATX FD8 FD70010 & S1000 220V/50Hz models

66529C HEATX-ER2 1 |0000001014 [KIT -66529C HEATX-DRIER Elkay ER2 220V volt chillers

66558C HEATX-FD10 1 |98847C KIT-HEATX FD10 FD70010, LFDE10 & S1000 models

66576C HEATX-BARRIER FREE 1 |98778C KIT-66576C HEATX/DRIER Most Elkay & Halsey Taylor 8GPH models

66581C HEATX-SCWT14 1 (98846C KIT-HEATX SCWT/HOF 14 SCWT14 & HOF14 models

66583C TUBE - SOFT CU 5/16 X .0265 1 (601110851550 [ASSY -SUPPLY TUBE Various old-style Halsey Taylor fountains & coolers

66590C HEATX-HEW 1&3 1 198839C KIT-HEATX HEW HEW models

66602C ASSY -WATER OUTLET 1 |98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

66603C ASSY -DRAIN TUBE 1 (98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

66606C HEATX-ER11Y 1 |98842C KIT-HEATX/DRIER--ERS1 ERS1 & SJ1 models

66621C DRIER-134A 1 |98852C KIT-HEATX ER30 ER30, ERW32, SJ30 & SJ32W models

66623C HEATX-ER30 1 198852C KIT-HEATX ER30 ER30, ERW32, SJ30 & SJ32W models

66629C HEATX-ER19 1 |98853C KIT-HEATX ER19 ER19, ERW20 & SJ19 models

66654C REG. ASSY - W/RED INTRNL SPRING 1 |0000000802 |KIT-SOLENOID VLV/REG. ASSY. (220V-240V) EZ & HTV 220V models

66654C REG. ASSY - W/RED INTRNL SPRING 1 (1000002435 KIT-SOLENOID VLV/REG. ASSY. Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

66654C REG. ASSY - W/RED INTRNL SPRING 1 198466C KIT-SOLENOID VLV/REG. ASSY. EZ/HTV models (Rev C & up)

66661C HEATX-HTV 1 |98851C KIT-HEATX HTV HTV, HVRHD & VRCHD models

66682C HEATX-CR 1 |98849C KIT-HEATX CR EFWC16 model

66703C DRIER-134A 1 |0000000745 KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN &
VRCGRN models

66703C DRIER-134A 1 |0000000886 |KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models

66703C DRIER-134A 1 11000002438 |KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

66703C DRIER-134A 1 11000002456 KIT-CONDENSER / DRIER / WIRE TIES Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

66703C DRIER-134A 1 |1000003114 KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015)

66703C DRIER-134A 1 (98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July
2011)

66703C DRIER-134A 1 (98776C KIT-66743C CNDNSR/DRIER Most Elkay & Halsey Taylor 8 GPH models

66703C DRIER-134A 1 198778C KIT-66576C HEATX/DRIER Most Elkay & Halsey Taylor 8GPH models

66703C DRIER-134A 1 |98851C KIT-HEATX HTV HTV, HVRHD & VRCHD models

66704C DRIER-134A 1 |0000000241 [KIT-66763C HEATX W-DRIER EFY & XP models

66704C DRIER-134A 1 (98850C KIT-HEATX (1-5 GALLON) FD7003, FD7005, LFDE3, S300 & S500 models

66728C TUBE-FORMED 1 (98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

66728C TUBE-FORMED 1 [98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

66743C CNDSR-2 ROW 134A 1 |1000002456 |KIT-CONDENSER / DRIER / WIRE TIES Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

66743C CNDSR-2 ROW 134A 1 |98776C KIT-66743C CNDNSR/DRIER Most Elkay & Halsey Taylor 8 GPH models

66744C ASSY -TAILPIECE 1-1/4 X 12 IN 1 (98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

66749C HEATX- (1-5 GALLON) 1 |98850C KIT-HEATX (1-5 GALLON) FD7003, FD7005, LFDE3, S300 & S500 models

66762C CNDSR-HTV 1 ]98418C KIT - HTV COND. RPLCMNT Halsey Taylor HTV models

66763C HEATX-FD 220V 1 |0000000241 |[KIT-66763C HEATX W-DRIER EFY & XP models

66764C CNDSR-2 ROW 134A 1 |98362C KIT-CONDENSER 66305C REPLACEMENT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor
SJ10, S10000 models with Heatcraft 2CM-1-26C or Modine
Type R condenser

66765C TUBE-HOT WATER OUTLET 1 |98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

66785C TUBE - CU .500 X 3.80 1 166789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRBL1 triple freeze
valve assembles

66786C TUBE - CU .500 X 3.17 1 |166789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRBL1 triple freeze
valve assembles

66787C TUBE - CU .500 X 2.97 1 |166789C ASSY - DRAIN TUBE Elkay LKTFRB1 and Halsey Taylor HTTFRBL1 triple freeze
valve assembles

66797C VALVE-WATER REGULATING 1 |66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

66797C VALVE-WATER REGULATING 1 166799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

66801C VALVE-WTR REG. (CR) 1 |166802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models

66803C CNDSR-WATER COOLED 1 |66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

66803C CNDSR-WATER COOLED 1 [66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

66804C TUBE-FORMED WC CNDSR 1 [66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

66804C TUBE-FORMED WC CNDSR 1 |66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

66806C CNDSR-WATER COOLED (CR) 1 |66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models

66808C TUBE-FORMED WC CNDSR (CR) 1 |66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models

66809C EVAP-NO TIN (SHORT) 1 |98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011)

66809C EVAP-NO TIN (SHORT) 1 |98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

66809C EVAP-NO TIN (SHORT) 1 |98772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300,
S500, SCWT4 & SW4 models

66810C EVAP-NO TIN (MED) 1 |1000003361 KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model

66810C EVAP-NO TIN (MED) 1 |98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011)

66810C EVAP-NO TIN (MED) 1 |98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

66810C EVAP-NO TIN (MED) 1 |98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models
(Pre July 2011)

66810C EVAP-NO TIN (MED) 1 |98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011)

66810C EVAP-NO TIN (MED) 1 |98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011)

66810C EVAP-NO TIN (MED) 1 |98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July

2011)




66811C EVAP-NO TIN (LONG) 1 |98722C EVAP-REPLMNT KIT HT (LONG) HOF, $1000, SCWT14/20 & WM14/16(W) models (Pre July
2011)

66811C EVAP-NO TIN (LONG) 1 198723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

66811C EVAP-NO TIN (LONG) 1 |98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF,
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models

66817C EVAP ASSY (GRN CLR) 1 10000000745 |KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJ8GRN &
VRCGRN models

66822C REGULATOR ASSY. (1.0 GPM) 1 11000001673 [KIT - EMASM (BF) 1.0 GPM REGULATOR Elkay EMASM, EMASMB, LMASMB Surface Mount bottle
fillers

66822C REGULATOR ASSY. (1.0 GPM) 1 |98678C KIT - 1.0 GPM REGULATOR Elkay & Halsey Taylor Outdoor Steel Bottle Fillers

66829C EVAP-NO TIN (MED) HTV 1 |1000003114 KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015)

70002C SCREW-#10 X .50 HHSM 8 10000001325 |KIT-70002C SCREW (8 PCS) Various Elkay & Halsey Taylor models

70002C SCREW-#10 X .50 HHSM 4 11000002437  |KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70002C SCREW-#10 X .50 HHSM 2 1000003413  |KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70002C SCREW-#10 X .50 HHSM 4 166798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

70002C SCREW-#10 X .50 HHSM 4 166799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

70002C SCREW-#10 X .50 HHSM 2 |92776C KIT -BFC REGUL RPMNT Old-style BFC models

70002C SCREW-#10 X .50 HHSM 6 [98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

70002C SCREW-#10 X .50 HHSM 4 198311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

70002C SCREW-#10 X .50 HHSM 2 [98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

70002C SCREW-#10 X .50 HHSM 2 [98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

70002C SCREW-#10 X .50 HHSM 2 [98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

70002C SCREW-#10 X .50 HHSM 10 [98794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models

70002C SCREW-#10 X .50 HHSM 10 |98795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models

70002C SCREW-#10 X .50 HHSM 10 [98796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models

70002C SCREW-#10 X .50 HHSM 10 |98797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models

70002C SCREW-#10 X .50 HHSM 12 |98814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models

70002C SCREW-#10 X .50 HHSM 12 |98815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models

70002C SCREW-#10 X .50 HHSM 12 |98816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models

70002C SCREW-#10 X .50 HHSM 12 |98817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models

70002C SCREW-#10 X .50 HHSM 18 |98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models

70002C SCREW-#10 X .50 HHSM 18 [98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models

70002C SCREW-#10 X .50 HHSM 18 [98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models

70002C SCREW-#10 X .50 HHSM 18 [98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models

70002C SCREW-#10 X .50 HHSM 12 198822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models

70002C SCREW-#10 X .50 HHSM 12 [98823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models

70002C SCREW-#10 X .50 HHSM 12 [98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models

70002C SCREW-#10 X .50 HHSM 12 [98825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models

70002C SCREW-#10 X .50 HHSM 8 [98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

70002C SCREW-#10 X .50 HHSM 8 198827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

70002C SCREW-#10 X .50 HHSM 8 [98828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

70002C SCREW-#10 X .50 HHSM 8 [98829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

70002C SCREW-#10 X .50 HHSM 4 198898C KIT-EZ HARDWARE (FOR PANELS) EZ models

70002C SCREW-#10 X .50 HHSM 9 198899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models

70009C EXP - SCREW FURN W/ MOTOR 4 10000000244  |KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA,
ER5/10, ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW,
SCWT4/8, SJ8, SW4/8, WC, WMS; 220V/60Hz models: EFAS,
ER5/10, EWAS, EWCAS, FD70010, SCWTS8, SW8

70009C EXP - SCREW FURN W/ MOTOR 4 10000000245 |KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR,
HTV, SCWT14, SW14, WM14, VRC; 220V/60Hz models:
ECH83, EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14,
EZ, HAC, HVR, SCWT14, SJ8, VRC

70009C EXP - SCREW FURN W/ MOTOR 4 10000000246 KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models

70009C EXP - SCREW FURN W/ MOTOR 4 10000000247  |KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 &
WM14 models

70009C EXP - SCREW FURN W/ MOTOR 4 10000000248 |KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models

70009C EXP - SCREW FURN W/ MOTOR 4 10000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models

70009C EXP - SCREW FURN W/ MOTOR 4 10000000250 |KIT-HTV FAN MOTOR ASSY HTV models

70009C EXP - SCREW FURN W/ MOTOR 4 11000002439 |KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70009C EXP - SCREW FURN W/ MOTOR 4 198775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models

70012C NUT -LOCK 3/8-18 1 11000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

70012C NUT -LOCK 3/8-18 1 [1000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

70012C NUT-LOCKING 3/8-1/8 1 |LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models

70016C NUT -HEX 10-32 2 [0000000288 |KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012

70016C NUT -HEX 10-32 2 |1000001576 |KIT-EDFP19C PUSHBAR Elkay EDFP19C models

70016C NUT -HEX 10-32 5 11000002028 |KIT - 70016C HEX NUT (5 PCS) Various Elkay and Halsey Taylor models

70016C NUT -HEX 10-32 4 11000002436  |KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

70016C NUT -HEX 10-32 5 11000003692  |KIT - BOTTLE FILLER TRIM LK Elkay Outdoor Tubular Bottle Filling Station models

70016C NUT -HEX 10-32 5 11000003693  |KIT - BOTTLE FILLER TRIM HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

70016C NUT -HEX 10-32 2 [98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

70016C NUT -HEX 10-32 2 198545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

70016C NUT -HEX 10-32 6 198549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

70016C NUT -HEX 10-32 2 [98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models




70016C NUT -HEX 10-32 2 |98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

70016C NUT -HEX 10-32 5 198681C KIT - BOTTLE FILLER TRIM Outdoor Tubular Bottle Filler models

70016C NUT -HEX 10-32 5 198685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models

70018C NUT -HEX 1/4-20 1 10000000244  [KIT-31430C FAN MOTOR ASSY 220V/50Hz models: ECH82, EFA4/8/14, EFHA, EHFSA,
ER5/10, ESWA, EWA4/8/14, EWCA4/8/14, FD70010, HBW,
SCWTA4/8, SJ8, SW4/8, WC, WMS; 220V/60Hz models: EFAS,
ER5/10, EWAS8, EWCAS, FD70010, SCWTS8, SW8

70018C NUT -HEX 1/4-20 1 |0000000245 [KIT-31431C FAN MOTOR ASSY 220V/50Hz models: EFA16/20, EWA16/20, EZ, HAC, HVR,
HTV, SCWT14, SW14, WM14, VRC; 220V/60Hz models:
ECH83, EFA14/16/20, EHFSA, ESWA, EWA14/16, EWCA14,
EZ, HAC, HVR, SCWT14, SJ8, VRC

70018C NUT -HEX 1/4-20 1 |0000000246 [KIT-31491C FAN MOTOR ASSY EFA16, EWA16 & HOF models

70018C NUT -HEX 1/4-20 1 (0000000247 KIT-31492C FAN MOTOR ASSY EFA14/20, EWA14/20, EWCA14, SCWT14/20, SW14 &
WM14 models

70018C NUT -HEX 1/4-20 5 10000000248 |KIT-36072C FAN MOTOR ASSY ER19 & SJ19 models

70018C NUT -HEX 1/4-20 5 0000000249 KIT-36073C FAN MOTOR ASSY ER19 & SJ19 220V/50Hz models

70018C NUT -HEX 1/4-20 1 |0000000250 [KIT-HTV FAN MOTOR ASSY HTV models

70018C NUT -HEX 1/4-20 1 11000002439 KIT-1000001834 FAN MOTOR ASSY Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70018C NUT -HEX 1/4-20 1 (98775C KIT-31490C FAN MOTOR ASSY Most Elkay & Halsey Taylor 4, 8 & 10 GPH models

70020C NUT -HEX 5/16-18 4 136308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port
locations will be different so the service repairman will have
to mate the copper lines to match up with the correct port
locations)

70020C NUT -HEX 5/16-18 4 136310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models

70020C NUT -HEX 5/16-18 4 136320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models

70021C SCREW-#8-32 X .25 SET 1 |45660C ASSY -BUBBLER VR-CAST IRON FTN Halsey Taylor 4520-68, 4521-68, 4616, 4617 Cast Iron
models

70021C SCREW-#8-32 X .25 SET 1 (600755351590 [ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains

70021C SCREW-#8-32 X .25 SET 1 (601033751590 [ASSY -PUSH BUTTON (SERV) Various old-style Halsey Taylor fountains & coolers

70021C SCREW-#8-32 X .25 SET 1 (601474351550 [ASSY -PUSH BUTTON & STEM(SERV) Various old-style Halsey Taylor fountains & coolers

70114C STUD -WELD #10-32X.50 2 |98172C ASSY-3HOLE BASIN Elkay Deluxe EF(TL)A, EFW, EWCA, EW(TL)A, LF(TL)A, LL67,
LWCE, LW(TL)A, OFA, WGA glass-filler models

70149C WASHR-FLAT .32 SPLIT 4 136308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port
locations will be different so the service repairman will have
to mate the copper lines to match up with the correct port
locations)

70149C WASHR-FLAT .32 SPLIT 4 136310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models

70149C WASHR-FLAT .32 SPLIT 4 136320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models

70184C HAIR PIN-COTTER 4 10000000252 KIT-COMPR MTG-DLX/BACKSPLASH EFA, EFW, EHFSA, ESWA, EW(TL)A, EWCA, HBW, LFAE,
LWAE, LWCE, OHFA, SCWT & WC models

70202C BOLT -5/16-18 X 1.50 4 136308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port
locations will be different so the service repairman will have
to mate the copper lines to match up with the correct port
locations)

70202C BOLT -5/16-18 X 1.50 4 136310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models

70202C BOLT -5/16-18 X 1.50 4 |36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models

70204C BOLT -3/8-16 X 1.00" LG. HEX 2 198685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models

70274C SLEEV-COMPR. MTG 4 136308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port
locations will be different so the service repairman will have
to mate the copper lines to match up with the correct port
locations)

70274C SLEEV-COMPR. MTG 4 136310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models

70274C SLEEV-COMPR. MTG 4 136320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models

70284C BODY -CHECK VALVE 1 [98859C KIT-FRZ BOX CHECK VALVE ASSY Elkay & Halsey Taylor Freeze-Resistant models

70288C SCREW-#10X.37 HHSM 2 198545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

70288C SCREW-#10X.37 HHSM 5 198549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

70288C SCREW-#10X.37 HHSM 2 198632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

70312C CLAMP-CAPACITOR 1-9/16IN 1 |35986C COMPR-SERVICE PACK 115V Various old-style Elkay & Halsey Taylor models

70368C SCREW-#10-32 X .62 HHTC 2 0000000288 |KIT-EZ COLD CNTRL RETRO FIT Elkay EZ models produced Aug 2008 thru Sept 2012

70378C ROD -PUSH 1 |75559C ASSY -ROD PUSH Elkay LK616A freeze-box assembly for EDFB12FPK models\

70418C WASHR-FLAT(SPECIAL)1.250D 4 (0000000252 |KIT-COMPR MTG-DLX/BACKSPLASH EFA, EFW, EHFSA, ESWA, EW(TL)A, EWCA, HBW, LFAE,
LWAE, LWCE, OHFA, SCWT & WC models

70418C WASHR-FLAT(SPECIAL)1.250D 4 10000000257 |KIT-COMPR MTG-LARGE REMOTES 19, 20, 30 & 32 GPH Chiller models

70418C WASHR-FLAT(SPECIAL)1.250D 4 136308C COMPR-SERVICE PAK 220V NT6220Z ER19, ER30, SJ19 & SJ30 220V models (Note that the port
locations will be different so the service repairman will have
to mate the copper lines to match up with the correct port
locations)

70418C WASHR-FLAT(SPECIAL)1.250D 4 136310C COMPR-SERVICE PACK 115V NJ6220Z ER20, ERW32, SJ30, SJ32W models

70418C WASHR-FLAT(SPECIAL)1.250D 4 136320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
SJ19 models

70421C WASHER-FLAT (CR) 0000000253 KIT-COMPR MTG-EFWC16 EFWC16 model

70425C ROD -PIVOT 98872C KIT - PIVOT BRACKET FRZ RESIST 4405, 4705, Contour™, OVL-II™ & Soft Sides® steel freeze-
resistant models

70426C SCREW-#8-32 X .25 THMS 2 |66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

70426C SCREW-#8-32 X .25 THMS 2 |66799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

70426C SCREW-#8-32 X .25 THMS 2 |66802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models

70444C CLAMP-DRAIN GASKET 1 |0000001146 |KIT-DRAIN REPLACE HTV SINGLE HTV single models

70444C CLAMP-DRAIN GASKET 1 |0000001147 KIT-DRAIN REPLACE HTVBL(R) HTV bi-level models

70444C CLAMP-DRAIN GASKET 1 11000001877  |KIT - DRAIN REPLACEMENT EZ/EZTL (BF) Single Elkay EZ style water cooler-EZH20® combo models




70444C CLAMP-DRAIN GASKET 1 (1000001922 (KIT - DRAIN REPLACEMENT EZTLR (BF) Bi-Level Elkay EZ style water cooler-EZH20® combo models

70444C CLAMP-DRAIN GASKET 1 |197969C KIT -DRAIN REPLACE (EZTL) LR EZSTL (left-side unit) models

70444C CLAMP-DRAIN GASKET 1 |97970C KIT -DRAIN REPLACEMENT (EZ) Single EZ Coolers

70444C CLAMP-DRAIN GASKET 1 |98900C KIT-DRAIN REPLACE (EZTL) EZSTL (right-side unit) models

70639C SCREW-#8-32X.75HHTC 1 11000002437 |KIT-TRANSFORMER,BOARD,BRKT Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70682C FTTNG-TEE 1/4 1 11000001880 |KIT - GLASS FILLER FITTINGS Elkay models with LK109A glass fillers

70682C FTTNG-TEE 1/4 3 (1000001994 [KIT - 70682C 1/4" TEES (3-PK) Various Elkay and Halsey Taylor coolers and fountains

70682C FTTNG-TEE 1/4 1 11000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

70682C FTTNG-TEE 1/4 1 |96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

70682C FTTNG-TEE 1/4 1 |98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

70682C FTTNG-TEE 1/4 1 (98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

70682C FTTNG-TEE 1/4 1 |98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

70683C FTTNG-UNION-1/4 1 |0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

70683C FTTNG-UNION-1/4 2 1000001880 |KIT - GLASS FILLER FITTINGS Elkay models with LK109A glass fillers

70683C FTTNG-UNION-1/4 1 (1000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70683C FTTNG-UNION-1/4 1 (1000002033 KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

70683C FTTNG-UNION-1/4 3 (1000002162 [KIT - 70683C 1/4" UNION (3-PK) Various Elkay and Halsey Taylor coolers and fountains

70683C FTTNG-UNION-1/4 1 |1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70683C FTTNG-UNION-1/4 1 (1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

70683C FTTNG-UNION-1/4 1 [96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

70683C FTTNG-UNION-1/4 1 |98309C KIT-EFHAS8 ISE HOT TANK Elkay EFHA8 Hot Tank models

70683C FTTNG-UNION-1/4 1 |98311C KIT-SCWTS8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

70683C FTTNG-UNION-1/4 1 |98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

70745C FTTNG-UNION-3/8 X 1/4 TUBE 2 11000002025 KIT - 70745C UNION FITTING (2 PCS) Various Elkay and Halsey Taylor models

70745C FTTNG-UNION-3/8 X 1/4 TUBE 10 (1000002026  [KIT - 70745C UNION FITTING (10 PCS) Various Elkay and Halsey Taylor models

70745C FTTNG-UNION-3/8 X 1/4 TUBE 1 [92776C KIT -BFC REGUL RPMNT Old-style BFC models

70745C FTTNG-UNION-3/8 X 1/4 TUBE 1 (98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

70745C FTTNG-UNION-3/8 X 1/4 TUBE 2 (98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

70745C FTTNG-UNION-3/8 X 1/4 TUBE 1 (98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

70745C FTTNG-UNION-3/8 X 1/4 TUBE 2 |98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers

70745C FTTNG-UNION-3/8 X 1/4 TUBE 2 |98866C KIT-HTICF WATERWAY ASSY HTICF model

70750C CLAMP-HOSE 1-15/32 1 145702C ASSY -TAILPIPE (SERVICE) Elkay EF(H,0)A8, EWA(D,8), LFAE8, LWCE, WGA5 models

70792C SCREW-#8-18 X .75 SS PHHL 4 (0000000746  |ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

70792C SCREW-#8-18 X .75 SS PHHL 4 11000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70792C SCREW-#8-18 X .75 SS PHHL 4 11000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70792C SCREW-#8-18 X .75 SS PHHL 4 11000003563  [KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

70792C SCREW-#8-18 X .75 SS PHHL 4 |51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters

70793C FTTNG-ELBOW 1/4 X 90 1 (98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1 |0000000746 |ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 3 1000001772 |KIT - 70817C ELBOW FITTINGS (3) Various Elkay & Halsey Taylor Filtered or Freeze-Resistant
models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1 11000002030 [KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1 11000002033  |KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1 11000003413  [KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 2 [92776C KIT -BFC REGUL RPMNT Old-style BFC models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1 |96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1 |98016C KIT -SOLENOID REPLACEMENT HACEE models

70817C FTTNG-ELBOW 1/4 STEM X 1/4 X90 1 |98670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting

70818C FTTNG-ELBOW 3/8 STEM X3/8TUBE 1 [98926C KIT-FILTER HEAD FITTING Elkay and Halsey Taylor models with WaterSentry® filtration

70822C FTTNG-SUPERSEAL 1/4IN 1 |0000000746 ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

70822C FTTNG-SUPERSEAL 1/4IN 1 11000002030  [KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70822C FTTNG-SUPERSEAL 1/4IN 1 11000003413  [KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70822C FTTNG-SUPERSEAL 1/4IN 1 |1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

70822C FTTNG-SUPERSEAL 1/4IN 1 |51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters

70822C FTTNG-SUPERSEAL 1/4IN 1 |98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

70822C FTTNG-SUPERSEAL 1/4IN 1 ]98926C KIT-FILTER HEAD FITTING Elkay and Halsey Taylor models with WaterSentry® filtration

70823C FTTNG-SUPERSEAL 3/8IN 1 |0000000746 |ASSY-FILTER & BRKT (LZ/HAC) HAC, HVR(GRN), LMABF & LVRC(GRN) models

70823C FTTNG-SUPERSEAL 3/8IN 1 11000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70823C FTTNG-SUPERSEAL 3/8IN 1 /1000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

70823C FTTNG-SUPERSEAL 3/8IN 1 (1000003563 KIT - FILTER HEAD & BRKT (LMABF, LVRC, HAC, HVR) Elkay LMABF, LVRC and Halsey Taylor filtered HAC & HVR
models

70823C FTTNG-SUPERSEAL 3/8IN 1 [51469C ASSY -FILTER & BRACKET Elkay and Halsey Taylor WaterSentry® VIl and Plus filters

70823C FTTNG-SUPERSEAL 3/8IN 1 |98532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

70823C FTTNG-SUPERSEAL 3/8IN 1 [98926C KIT-FILTER HEAD FITTING Elkay and Halsey Taylor models with WaterSentry® filtration




70831C ROD -SUPPORT 1 (98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models

70841C FTTNG-UNION-BULKHEAD 1 |98861C KIT-FRZ BOX WATER OUTLET ASSY 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

70854C ROD -PIVOT OVL-1 2 (0000001323  [KIT-PIVOT BRACKET (OVL) OVL-II™ & Premium Composite/Marblyte™ Freeze-Resistant
models

70864C SCREW-#8 X .62 TORX/SLOT 8 |98789C KIT-PUSHBAR BRACKET Elkay EHFSA, EMABF, LMABF; Halsey Taylor 5701, HAC, WC
models

71036C CLIP-3/16 STUD LOCKING 1 (600755351590 [ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains

71036C CLIP-3/16 STUD LOCKING 1 1601474351550 |ASSY -PUSH BUTTON & STEM(SERV) Various old-style Halsey Taylor fountains & coolers

72000833 ASSY -WASTE ARM 1 |98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

72000835 TRAP -1 1/4IN SINK 1 |98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

72001527 WASHR-RUBBER 1 [LK464 ASSY -DRAIN Soft Sides® & Contour™ models

72001843 FTTNG-SLIP ELL 1-1/4 X 7 1 |98860C KIT-FRZ BOX WASTE LINE 4405(BF), 4705, Contour™, OVL-1I™, Soft Sides® & SwirlFlo®
freeze-resistant models

72460042 WASHR-FLAT .69 I.D. STEEL 1 1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

72460042 WASHR-FLAT .69 I.D. STEEL 1 (1000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

72460042 WASHR-FLAT .69 I.D. STEEL 1 |LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models

75497C SCREW-#10 X .50 PHSM 7 198802C KIT-HEW WRAPPER (T) Elkay HEW Sandalwood models

75497C SCREW-#10 X .50 PHSM 7 198803C KIT-HEW WRAPPER (L) Elkay HEW Light Gray Granite models

75497C SCREW-#10 X .50 PHSM 7 (98805C KIT-HEW WRAPPER (N) Elkay HEW Almond models

75497C SCREW-#10 X .50 PHSM 7 198806C KIT-HEW WRAPPER (S) Elkay HEW Stainless Steel models

75502C SCREW-#10-16 x .50 THSM 4 198807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models

75502C SCREW-#10-16 x .50 THSM 4 198808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models

75502C SCREW-#10-16 x .50 THSM 4 198809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models

75502C SCREW-#10-16 x .50 THSM 4 198810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models

75502C SCREW-#10-16 x .50 THSM 4 198811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models

75502C SCREW-#10-16 x .50 THSM 4 198812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models

75502C SCREW-#10-16 x .50 THSM 4 198832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models

75502C SCREW-#10-16 x .50 THSM 4 198833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models

75506C SCREW-#10 X .75 HHSM 2 |98309C KIT-EFHA8 ISE HOT TANK Elkay EFHA8 Hot Tank models

75506C SCREW-#10 X .75 HHSM 2 |98311C KIT-SCWT8CB ISE HOT TANK Elkay EFHA & Halsey Taylor SCWTCB Hot-Cold models

75506C SCREW-#10 X .75 HHSM 4 (98798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models

75506C SCREW-#10 X .75 HHSM 4 198799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models

75506C SCREW-#10 X .75 HHSM 4 (98800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models

75506C SCREW-#10 X .75 HHSM 4 198801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models

75507C FTTNG-1/4NPTF X 1/40D 2 198016C KIT -SOLENOID REPLACEMENT HACEE models

75513C FTTNG-1/4 PRESS IN 1 (0000000466 |[KIT-BUBBLER (DOG BOWL) Outdoor Tubular models w/pet fountain

75513C FTTNG-1/4 PRESS IN 1 (1000002033  |KIT-GLASS FILLER HARDWARE/WATERWAY Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

75513C FTTNG-1/4 PRESS IN 1 [15029C ASSY-NIPPLE Elkay EDF214WC and Premium Composite & Halsey Taylor
5405 and Marblyte™ models

75513C FTTNG-1/4 PRESS IN 1 [96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

75513C FTTNG-1/4 PRESS IN 1 198481C KIT-VR WATER EFFICIENT BUBBLER Elkay and Halsey Taylor models with Water-efficient Vandal-
Resistant bubblers

75513C FTTNG-1/4 PRESS IN 1 [98686C KIT - BOTTLE FILLER WATERWAY Elkay & Halsey Taylor Outdoor Tubular Bottle Fillers

75520C BIT -PINNED TORX T-25 1 |0000001190 KIT-75570C TORX SCREW/T25 BIT Elkay & Halsey Taylor Vandal-Resistant models

75520C BIT -PINNED TORX T-25 1 |0000001191 |KIT-75566C TORX SCREW/T25 BIT HTV VR and SW8VR models

75521C BIT -PINNED TORX T-27 1 (97247C KIT-75535C VR SCREWS (8) & 75521C BIT Outdoor Tubular Steel models

75521C BIT -PINNED TORX T-27 1 |98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models

75524C CLIP - U TYPE 2 |98899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models

75531C WASHR-FLAT .160/.175ID RUBBER 1 (600755351590 [ASSY -PUSH BUTTON (SERV) Various old-style pushbutton fountains

75532C SCREW-#10-16 X .63 THSM 4 198798C KIT-SW PANEL (PV) Halsey Taylor SW Platinum Vinyl models

75532C SCREW-#10-16 X .63 THSM 4 [98799C KIT-SW PANEL (AV) Halsey Taylor SW Almond models

75532C SCREW-#10-16 X .63 THSM 4 198800C KIT-SW PANEL (SV) Halsey Taylor SW Slate models

75532C SCREW-#10-16 X .63 THSM 4 198801C KIT-SW PANEL (SS) Halsey Taylor SW Stainless Steel models

75532C SCREW-#10-16 X .63 THSM 4 198822C KIT-WM PANEL (PV) Halsey Taylor WM single Platinum Vinyl models

75532C SCREW-#10-16 X .63 THSM 4 198823C KIT-WM PANEL (AV) Halsey Taylor WM single Almond models

75532C SCREW-#10-16 X .63 THSM 4 (98824C KIT-WM PANEL (SV) Halsey Taylor WM single Slate models

75532C SCREW-#10-16 X .63 THSM 4 198825C KIT-WM PANEL (SS) Halsey Taylor WM singleStainless Steel models

75532C SCREW-#10-16 X .63 THSM 8 [98826C KIT-WM14BL PANEL (AV) Halsey Taylor WMBL Almond models

75532C SCREW-#10-16 X .63 THSM 8 [98827C KIT-WM14BL PANEL (SS) Halsey Taylor WMBL Stainless Steel models

75532C SCREW-#10-16 X .63 THSM 8 198828C KIT-WM14BL PANEL (PV) Halsey Taylor WMBL Platinum Vinyl models

75532C SCREW-#10-16 X .63 THSM 8 198829C KIT-WM14BL PANEL (SV) Halsey Taylor WMBL Slate models

75535C SCREW-1/4-20 X .75 PINNED TORX 8 [97247C KIT-75535C VR SCREWS (8) & 75521C BIT Outdoor Tubular Steel models

75535C SCREW-1/4-20 X .75 PINNED TORX 8 [98685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models

75536C SCREW-#10 X .63 THSM 4 198807C KIT-ESWA WRAPPER (N) Elkay ESWA Almond models

75536C SCREW-#10 X .63 THSM 4 198808C KIT-ESWA WRAPPER (S) Elkay ESWA Stainless Steel models

75536C SCREW-#10 X .63 THSM 4 198809C KIT-ESWA WRAPPER (T) Elkay ESWA Sandalwood models

75536C SCREW-#10 X .63 THSM 4 198810C KIT-ESWA WRAPPER (L) Elkay ESWA Light Gray Granite models

75536C SCREW-#10 X .63 THSM 4 |98811C KIT-HBW WRAPPER (PV) Halsey Taylor HBW Platinum Vinyl models

75536C SCREW-#10 X .63 THSM 4 198812C KIT-HBW WRAPPER (SS) Halsey Taylor HBW Stainless Steel models

75536C SCREW-#10 X .63 THSM 4 (98832C KIT-HBW WRAPPER (AV) Halsey Taylor HBW Almond models

75536C SCREW-#10 X .63 THSM 4 198833C KIT-HBW WRAPPER (SV) Halsey Taylor HBW Slate models

75541C WASHR-FLAT .339/.359ID STEEL 8 128260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models

75541C WASHR-FLAT .339/.359ID STEEL 8 [28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models

75542C WASHR-FLAT .250 ID 1 |98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011)

75542C WASHR-FLAT .250 ID 1 |98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

75542C WASHR-FLAT .250 ID 1 |98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011)

75542C WASHR-FLAT .250 ID 1 |98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

75542C WASHR-FLAT .250 ID 1 (98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models
(Pre July 2011)

75542C WASHR-FLAT .250 ID 1 198720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011)

75542C WASHR-FLAT .250 ID 1 |98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011)

75542C WASHR-FLAT .250 ID 1 |98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July

2011)




75542C WASHR-FLAT .250 ID 1 |98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

75552C WASHR-BRASS .380/.3851D 1 145448C ASSY -TAILPIPE/VACUUM BREAK Elkay EFHA, EWHA, EFW16, EFY and Halsey Taylor SCWTCB,
WMCB, SCWTWC, XP models

75555C CLIP -.125 STUD LOCK 1 [98858C KIT-FRZ BOX REG BRKT ASSY Various Elkay & Halsey Taylor Freeze-Resistant models

75558C ROD -PUSH 1 |75559C ASSY -ROD PUSH Elkay LK616A freeze-box assembly for EDFB12FPK models\

75560C SCREW-5/16-18 X 1.00 HHMS 8 [28260C KIT -MOUNTING PLATE RH ADA Elkay EDFPBM(V)117C models

75560C SCREW-5/16-18 X 1.00 HHMS 8 [28261C KIT -MOUNTING PLATE LH ADA Elkay EDFPBM(V)117RAC models

75561C FTTNG-ELBOW 3/8 X 3/8 NPT X 90 2 |66798C ASSY-WC CONDENSER EFY Elkay EFY and Halsey Taylor SCWT14, XP models

75561C FTTNG-ELBOW 3/8 X 3/8 NPT X 90 2 166799C ASSY-WC CONDENSER EFW Elkay EFW and Halsey Taylor WM14/16W models

75566C SCREW-#10 X 1 PINNED TORX 4 (0000001191 [KIT-75566C TORX SCREW/T25 BIT HTV VR and SW8VR models

75568C SCREW-#12X1.50 HHSM 1 |98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011)

75568C SCREW-#12X1.50 HHSM 1 |98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

75568C SCREW-#12X1.50 HHSM 1 |98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011)

75568C SCREW-#12X1.50 HHSM 1 |98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

75568C SCREW-#12X1.50 HHSM 1 |98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models
(Pre July 2011)

75568C SCREW-#12X1.50 HHSM 1 |98720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011)

75568C SCREW-#12X1.50 HHSM 1 198721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011)

75568C SCREW-#12X1.50 HHSM 1 |98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July
2011)

75568C SCREW-#12X1.50 HHSM 1 |98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

75569C SCREW-#10 X .38 THSM 4 198794C KIT-EWCA PANEL (N) Elkay EWCA/LWCE Almond models

75569C SCREW-#10 X .38 THSM 4 198795C KIT-EWCA PANEL (S) Elkay EWCA/LWCE Stainless Steel models

75569C SCREW-#10 X .38 THSM 4 198796C KIT-EWCA PANEL (T) Elkay EWCA/LWCE Sandalwood models

75569C SCREW-#10 X .38 THSM 4 198797C KIT-EWCA PANEL (L) Elkay EWCA/LWCE Light Gray Granite models

75569C SCREW-#10 X .38 THSM 4 198814C KIT-EWA PANEL (L) Elkay EWA/LWAE Light Gray Granite models

75569C SCREW-#10 X .38 THSM 4 198815C KIT-EWA PANEL (N) Elkay EWA/LWAE Almond models

75569C SCREW-#10 X .38 THSM 4 198816C KIT-EWA PANEL (SS) Elkay EWA/LWAE Stainless Steel models

75569C SCREW-#10 X .38 THSM 4 198817C KIT-EWA PANEL (T) Elkay EWA/LWAE Sandalwood models

75569C SCREW-#10 X .38 THSM 8 [98818C KIT-EWTLA PANEL (L) Elkay EWTLA/LWTLA Light Gray Granite models

75569C SCREW-#10 X .38 THSM 8 [98819C KIT-EWTLA PANEL (N) Elkay EWTLA/LWTLA Almond models

75569C SCREW-#10 X .38 THSM 8 [98820C KIT-EWTLA PANEL (SS) Elkay EWTLA/LWTLA Stainless Steel models

75569C SCREW-#10 X .38 THSM 8 [98821C KIT-EWTLA PANEL (T) Elkay EWTLA/LWTLA Sandalwood models

75570C SCREW-#10 X .50 PINNED TORX 12 (0000001190 KIT-75570C TORX SCREW/T25 BIT Elkay & Halsey Taylor Vandal-Resistant models

75575C BALL -ANTI ROTATIONAL 10 (1000002021  [KIT-75575C ANTI-ROTATION BALL (10 PK) Elkay Premium Composite and Halsey Taylor Marblyte™
models

75580C NUT -LOCKING 3/8-18 5 11000002141 KIT - 75580C LOCK NUT 3/8-18 (5-PK) Elkay and Halsey Taylor models with Gooseneck Glass Fillers

75580C NUT -LOCKING 3/8-18 1 |56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

75580C NUT-LOCKING 3/8-1/8 1 |92715C KIT-FLEXI-GUARD BUBBLER REPLCMNT Elkay models with Flexi-Guard” bubbler

75580C NUT-LOCKING 3/8-1/8 1 |98501C KIT-FLEXI STREAMSAVER BUBBLER Elkay models with water -efficient StreamSaver™ Flexi-
Guard  bubbler

75583C ELBOW-5/16" - 1/4" 1 10000000745 |KIT-EVAP REPLACE 66817C GRN (MED) ECH8GRN, EZ Green, HAC Green, HVRGRN, SJI8GRN &
VRCGRN models

75583C ELBOW-5/16" - 1/4" 1 |0000000886 |KIT-EVAP REPLACE (TANKLESS)(MED) Elkay & Halsey Taylor 8GPH tankless evaporator models

75583C ELBOW-5/16" - 1/4" 3 1000001602 KIT-75583C ELBOW 5/16" - 1/4" (3 PC) Multipack of 75583C Elbows

75583C ELBOW-5/16" - 1/4" 1 11000002438 [KIT-EVAP REPLACE 1000001763 Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

75583C ELBOW-5/16" - 1/4" 1 |1000003114 [KIT-EVAP REPLACEMENT VOYAGER 66829C Halsey Taylor HTV8 and HTV4 models (2012-2015)

75583C ELBOW-5/16" - 1/4" 1 ]1000003361 |KIT-EVAP REPLACEMENT 66810C (EFY) Elkay EFY8 model

75583C ELBOW-5/16" - 1/4" 1 |98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011)

75583C ELBOW-5/16" - 1/4" 1 |98716C EVAP-REPLMNT KIT LK (SHORT) EFA4, EW(C)A4, EZ4, FD7003/7005, HEW3, LFDE3 & LWCE4
models (Pre Julyy 2011)

75583C ELBOW-5/16" - 1/4" 1 |98717C EVAP-REPLMNT KIT HT (MEDIUM) Most Halsey Taylor 8GPH models (Pre July 2011)

75583C ELBOW-5/16" - 1/4" 1 |98718C EVAP-REPLMNT KIT LK (MEDIUM) Most Elkay 8GPH models (Pre July 2011)

75583C ELBOW-5/16" - 1/4" 1 |98719C EVAP-REPLMNT KIT BARRIER FREE Elkay EBFSA, EMABF, VRC; Halsey Taylor HAC, HVR models
(Pre July 2011)

75583C ELBOW-5/16" - 1/4" 1 198720C EVAP-REPLMNT KIT ER2 ER2 & SJ2 models (Pre July 2011)

75583C ELBOW-5/16" - 1/4" 1 |98721C EVAP-REPLMNT KIT ECH8/SJ8 ECH8 & SJ8 models (Pre July 2011)

75583C ELBOW-5/16" - 1/4" 1 |98722C EVAP-REPLMNT KIT HT (LONG) HOF, S1000, SCWT14/20 & WM14/16(W) models (Pre July
2011)

75583C ELBOW-5/16" - 1/4" 1 |98723C EVAP-REPLMNT KIT LK (LONG) EFA14/16/20, EFW16, EW(TL)A14/16/20, EWCA14,
FD70010, LFAE14/16/20, LFDE10, LWAE14 , LWCE14 &
LWTLA14/16/20 models (Pre July 2011)

75583C ELBOW-5/16" - 1/4" 1 |98724C KIT-EVAP REPLACEMENT 66810C Most Elkay & Halsey Taylor 8GPH models (built since July
2011)

75583C ELBOW-5/16" - 1/4" 1 |98771C KIT- EVAP REPLACEMENT 66811C EFA14/16/20, EFW16, EW(TL)A14/16/20, FD70010, HOF,
LFAE14/16/20, LFDE10, LWAE14 , LWTLA14/16/20, S1000,
SCWT14/20 & WM14/16(W) models

75583C ELBOW-5/16" - 1/4" 1 198772C KIT- EVAP REPLACEMENT 66809C EFA4, EW(C)A4, EZ4, FD7003, FD7005, HEW3, LWCE4, S300,
S500, SCWT4 & SW4 models

75588C NUT -SLIP JOINT 1-1/4 1 |602703851550 |KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers

75588C NUT -SLIP JOINT 1-1/4 1 |0000000964  [KIT-BASIN RPLCMNT EMABF EMABF & LMABF models

75588C NUT -SLIP JOINT 1-1/4 1 0000000965 KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models

75588C NUT -SLIP JOINT 1-1/4 1 |0000000966 [KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models

75588C NUT -SLIP JOINT 1-1/4 1 (1000001889 |KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey
Taylor HAC-HydroBoost® combo models

75588C NUT -SLIP JOINT 1-1/4 1 (1000001890 |KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor
HTHB-HAC combo models

75588C NUT -SLIP JOINT 1-1/4 1 |1000001900 |KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-

HVRGRN combo models




75588C NUT -SLIP JOINT 1-1/4 1 11000001923  |KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models

75588C NUT -SLIP JOINT 1-1/4 1 145442C ASSY -DRAIN Various Elkay models

75588C NUT -SLIP JOINT 1-1/4 1 |45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and
WM(W,CB) models

75588C NUT -SLIP JOINT 1-1/4 1 |45698C ASSY -TAILPIPE (SERVICE) Various Elkay models

75588C NUT -SLIP JOINT 1-1/4 1 (602703851550 (KIT -14513 PRECOOLER (SERV) Halsey Taylor SCWT, SW, WM 14/16/20 gallon models

75588C NUT -SLIP JOINT 1-1/4 1 [96831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009

75588C NUT -SLIP JOINT 1-1/4 1 196832C KIT -WASTE LINE ASSY Various Elkay models

75588C NUT -SLIP JOINT 1-1/4 1 196846C KIT -WASTE LINE ASSY Various Elkay models

75588C NUT -SLIP JOINT 1-1/4 1 |96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall
mount)

75588C NUT -SLIP JOINT 1-1/4 1 196965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models

75588C NUT -SLIP JOINT 1-1/4 1 (97017C KIT -DRAIN TUBE Halsey Taylor RC8 models

75588C NUT -SLIP JOINT 1-1/4 1 |97310C KIT -RC12 PRECOOLER RC12 models

75588C NUT -SLIP JOINT 1-1/4 1 198683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler*
models (*For bottle filler portion only on 4420(DB)BF and
4430BF)

75588C NUT -SLIP JOINT 1-1/4 1 (98684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel
Fountains, 4420(DB)BF* & 4430BF* (*For basin/bubbler
section only)

75588C NUT -SLIP JOINT 1-1/4 1 |98856C KIT-HAC/EMABF DRAIN HAC and EMABF models

75589C WASHR-SEAL 1 |602703851550 |KIT -14513 PRECOOLER (SERV) Various old-style Halsey Taylor fountains & coolers

75589C WASHR-SEAL 1 10000000964 KIT-BASIN RPLCMNT EMABF EMABF &LMABF models

75589C WASHR-SEAL 1 |0000000965 |KIT-BASIN RPLCMNT EMABF GF Elkay EMABF, LMABF glass filler models

75589C WASHR-SEAL 1 (0000000966 KIT-BASIN RPLCMNT VRC (L)VRC(GRN) models

75589C WASHR-SEAL 1 11000001889  |KIT - DRAIN REPLACEMENT EMABF/HAC (BF) Elkay EMABF-EZH20®, LMABF-EZH20® combo; Halsey
Taylor HAC-HydroBoost® combo models

75589C WASHR-SEAL 1 11000001890 KIT - DRAIN REPLACEMENT EMABFTL/HACBL (BF) Single Elkay EMABF/LMABF-EZH20® and Halsey Taylor
HTHB-HAC combo models

75589C WASHR-SEAL 1 /1000001900 KIT - DRAIN REPLACEMENT VRCGRN/HVRGRN (BF) Single Elkay VRCGRN-EZH20® and Halsey Taylor HTHB-
HVRGRN combo models

75589C WASHR-SEAL 1 (1000001923 KIT - DRAIN REPLACEMENT VRCGRNTL/HVRGRNBL (BF) Single EZH20® and Halsey Taylor HTHB-HVRGRNBL combo
models

75589C WASHR-SEAL 1 145442C ASSY -DRAIN Various Elkay models

75589C WASHR-SEAL 1 [(45696C ASSY -TAILPIPE (SERVICE) Older Elkay EFY and Halsey Taylor SCWT(W,CB) and
WM(W,CB) models

75589C WASHR-SEAL 1 |45698C ASSY -TAILPIPE (SERVICE) Various Elkay models

75589C WASHR-SEAL 1 196831C KIT -WASTE LINE ASSY Halsey Taylor HAC, HVR models pre-July 2009

75589C WASHR-SEAL 1 (96832C KIT -WASTE LINE ASSY Various Elkay models

75589C WASHR-SEAL 1 (96846C KIT -WASTE LINE ASSY Various Elkay models

75589C WASHR-SEAL 1 ]96883C KIT-WASTE LINE (OUTDOOR, BFMR L/R) Outdoor Steel Fountains & Bottle Filler models (except wall
mount)

75589C WASHR-SEAL 1 196965C KIT-WASTE LINE (WM BL) Halsey Taylor WM Bi-Level models

75589C WASHR-SEAL 1 (97017C KIT -DRAIN TUBE Halsey Taylor RC8 models

75589C WASHR-SEAL 1 |97310C KIT -RC12 PRECOOLER RC12 models

75589C WASHR-SEAL 1 198683C KIT - DRAIN EFY, HOF, SCWT, SW, WM, XP & Outdoor Steel Bottle Filler*
models (*For bottle filler portion only on 4420(DB)BF and
4430BF)

75589C WASHR-SEAL 1 |98684C KIT - 90 DRAIN EMABF, VRC(GRN), HAC, HVR(GRN), RC, Outdoor Steel
Fountains, 4420(DB)BF* & 4430BF* (*For basin/bubbler
section only)

75589C WASHR-SEAL 1 |98856C KIT-HAC/EMABF DRAIN HAC and EMABF models

75602C HAIR PIN COTTER (CR) 4 |0000000253 [KIT-COMPR MTG-EFWC16 EFWC16 model

75604C SCREW - #10 x .50 SS 4 166802C ASSY-WC CONDENSER EFWC Elkay EFWC16 models

75621C SPRING-PUSHBAR 4 |0000001324  [KIT-HTV PUSHBAR HTV models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 10000001324 KIT-HTV PUSHBAR HTV models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 4 [1000001032  [KIT-ELECTRICAL EMASMB-LMASMB Elkay EZH20® EMASMB and LMASMB models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 11000001813 KIT-TOWER/BASIN GASKET For replacement of the gasket on Elkay EZH20® and Halsey
Taylor HydroBoost® bottle fillers with steel integrated
drain/mat

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 11000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 1000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 11000001816 KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 |1000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 (1000001818  [KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABEF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 |1000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 11000001862 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 (1000001863  [KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HYRGRN-HydroBoost® combo models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 11000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 4 (1000002433 [KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 4 |1000002436 |KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 4 198543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 1 |98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 1 |98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models




75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 6 |98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 198629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20® In-Wall, Integral & Surface Mount models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 2 (98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 4 198631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

75625C SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD 1 [98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

75630C GLASS FILLER-GOOSENECK 1 [96852CA GLASS FILLER-PUSH LEVER (GOOSENECK) Halsey Taylor Gooseneck Glass Filler models

75630C GLASS FILLER-GOOSENECK 1 [LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models

75664C SCREW-M3.5 x 0.6 x 6mm 1 |36320C COMPR-SERVICE PAK 115V NJ6220Z For use with 115V Elkay ER19, ERW20 and Halsey Taylor
$J19 models

75671C SPRNG-PUSH BUTTON SWIRLFLO 1 (98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models

75672C SCREW-CAP #6-32 1 (1000001906 ([KIT-PUSH BUTTON ASSY (VR) Elkay & Halsey Taylor VR pushbutton activated models

75672C SCREW-CAP #6-32 1 (1000003694  [KIT - PUSH BUTTON 4400 SERIES FTN LK Elkay Outdoor Tubular Bottle Filling Station models

75672C SCREW-CAP #6-32 1 (1000003695 [KIT - PUSH BUTTON 4400 SERIES FTN HT Halsey Taylor Endura II™ Outdoor Tubular HyroBoost®
Bottle Filling Station models

75672C SCREW-CAP #6-32 1 [98682C KIT - PUSH BUTTON 4400 SERIES FTN Elkay & Halsey Taylor front pushbutton models

75672C SCREW-CAP #6-32 1 [99000C KIT-PUSH BUTTON VR (BF) Elkay EZH20® and Halsey Taylor HydroBoost® Vandal-
Resistant bottle fillers

75673C CLIP -SPEED .188 STUD 2 11000001975 KIT - ELKAY NAMEPLATE (EHW) Elkay EHW(M) models

75677C FTTNG-BULKHEAD 1 [(98865C KIT-HTICF FITTING ASSY HTICF model

75678C FTTNG-VALVE 1 |98865C KIT-HTICF FITTING ASSY HTICF model

75692C FTTNG-1/4" PRESS-IN 1 [98164C KIT -1/4" PRESS-IN FITTING Various Elkay & Halsey Taylor models

75692C FTTNG-1/4" PRESS-IN 5 198532C KIT - SUPERSEAL FITTINGS Various Elkay & Halsey Taylor models

75694C STUD-COMPR MNTG 4 10000000256 KIT-COMPR MTG-SCWT/HOF/SW/WM SCWT, HOF, SW & WM models

75702C SPACR-BUBBLER 1 [56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

75703C SPACR-BUBBLER SUPPORT 1 |56274C ASSY-BUBLR FLEXI-GUARD SHORT Elkay EMABF/LMABF Water Cooler and Bottle Filler Combo
models

75705C STUD -COMPR MTG 4 10000000255 KIT-COMPR MTG-5/10 GAL REMOTE 5 & 10 GPH Remote Chillers

75706C STUD-COMPR MTG 4 10000000254 |KIT-COMPR MTG-FD/S-SERIES FD & S-Series models

75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 2 11000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 2 11000002436 KIT-ALPHA NUMERIC LED BOARD Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 4 198543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 2 198544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 5 198549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

75710C SCREW - #2-28 X .250 48-2 PLASTITE PHPS 4 198631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

75720C WASHR-#10 FLAT TYPE A 1 |98871C KIT-SWIRLFLO PUSHBUTTON SwirlFlo® models

75722C SCREW-#8-18 TYPE B, HH SELF TAP 2 11000002030 KIT-FILTER HEAD-BRKT-FTGS Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

75722C SCREW-#8-18 TYPE B, HH SELF TAP 2 11000002443 KIT-NFC BOARD & COVER Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

75722C SCREW-#8-18 TYPE B, HH SELF TAP 2 11000003413 KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

75724C SCREW - 1/4"-20 X 3/4" LG. FLAT HD. PINNED TORX 3 198685C KIT - 4400 SERIES HARDWARE Outdoor Tubular Bottle Filler models

75726C PALNUT .187 X .437 6 [1000002433 KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

75726C PALNUT .187 X .437 2 198547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models

75726C PALNUT .187 X .437 6 [98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20® In-Wall, Integral & Surface Mount models

75726C PALNUT .187 X .437 6 [98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models

75726C PALNUT .187 X .437 2 198666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models

75729C SCREW 1/4 - 20 SBHS 2 11000001907 |KIT-TOP COVER (VR) Elkay VRC-EZH20® and Halsey Taylor HTHBHVR botttle filler
combo models

75729C SCREW 1/4 - 20 SBHS 2 11000002433 |KIT-TOP COVER ASSY (NEXT GEN) Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

75729C SCREW 1/4 - 20 SBHS 2 198547C KIT - TOP COVER ASSY Various Elkay & Halsey Taylor 8 GPH models

75729C SCREW 1/4 - 20 SBHS 2 |98549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

75729C SCREW 1/4 - 20 SBHS 2 |98666C KIT - HTHB-HAC TOP COVER REPLACEMENT HydroBoost® Bottle Filler / Water Cooler combo models

75730C WASHER - #8 TYPE B 2 11000001814 KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

75730C WASHER - #8 TYPE B 2 11000001815 KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

75730C WASHER - #8 TYPE B 2 1000001816 |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

75730C WASHER - #8 TYPE B 2 11000001817 KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

75730C WASHER - #8 TYPE B 2 11000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABEF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

75730C WASHER - #8 TYPE B 2 1000001819 KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

75730C WASHER - #8 TYPE B 2 11000001861 KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

75730C WASHER - #8 TYPE B 2 1000001862 |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

75730C WASHER - #8 TYPE B 2 1000001863 |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

75730C WASHER - #8 TYPE B 2 11000001864 KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HVRGRNBL-HydroBoost® combo models

75730C WASHER - #8 TYPE B 2 198629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20® In-Wall, Integral & Surface Mount models

75730C WASHER - #8 TYPE B 2 |98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models

75731C SCREW SOCKET HD #10-24 X .50 2 |0000000033 EZH20 Drain Cover Kit EZH20® In-Wall, Integral & Surface Mount models

75731C SCREW SOCKET HD #10-24 X .50 4 11000002220 [KIT - 75731C SOCKET SCREW (4 PCS) Used to secure drains on Elkay EZH20® and Halsey Taylor
HydroBoost® in-wall and surface mount bottle fillers

75731C SCREW SOCKET HD #10-24 X .50 2 (98629C EZH20 In-Wall/Surface Mount Drain Svc Kit EZH20® In-Wall, Integral & Surface Mount models




75731C SCREW SOCKET HD #10-24 X .50 2 |98630C HYDROBOOST In-Wall/Surface Mount Drain Svc Kit HydroBoost® In-Wall, Integral & Surface Mount models

75733C PUNCH 1-3/8 1 198670C KIT-RETRO FILTER MOUNTING HTHB-HAC HydroBoost-HAC combo model - alternate filter mounting

75735C NUT 8-32 SST 1 11000003413  [KIT - NEXT GEN NFC TECH Elkay Enhanced EZH20® (LZS(TL)8WSLP, LZS(TL)8WSSP)
models

75735C NUT 8-32 SST 5 198549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

75736C WASHER #4 2 1000002434 |KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8BWSSP models

75736C WASHER #4 2 198543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75736C WASHER #4 2 |98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75736C WASHER #4 3 198549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

75736C WASHER #4 2 [98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

75737C SPACER .250 X .125 2 11000002434 KIT - IR SENSOR Elkay Enhanced EZH20® LZSTL8WSLP, LZSTL8WSSP models

75737C SPACER .250 X .125 2 [98543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75737C SPACER .250 X .125 2 |98544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75737C SPACER .250 X .125 3 198549C KIT-BF HARDWARE & WATERWAY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

75737C SPACER .250 X .125 2 |98631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 11000000758 KIT-EZTL WRAPPER (S) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Left side unit)

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 (1000000759  [KIT-EZTL WRAPPER (L) W/SVC LBL (LH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Left side
unit)

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 11000000888  |KIT-EZTL WRAPPER (S) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Stainless Steel models (Right side unit)

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 (1000000944  |[KIT-EZTL WRAPPER (L) W/SVC LBL (RH) Elkay EZ(S)TL/LZ(S)TL Light Gray Granite models (Right side
unit)

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 11000002253 |KIT-EZTL UNIV TRIM (SS) Elkay EZ / LZ Universal Bi-Level stainless steel models

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 1000002254 |KIT-EZTL UNIV TRIM (L) Elkay EZ / LZ Universal Bi-Level light gray granite models

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 (1000002421 KIT-HTVZ UNIV TRIM (SS) Halsey Taylor HTVZ Universal Bi-Level stainless steel models

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 2 11000002422 KIT-HTVZ UNIV TRIM (PV) Halsey Taylor HTVZ Universal Bi-Level Platinum Vinyl
models

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 4 198898C KIT-EZ HARDWARE (FOR PANELS) EZ models

75740C SCREW-#10-16 x .50 6-LOBE TRUSS HD, TYPE AB 8 [98899C KIT-HAC/EMABF HARDWARE (FOR PANELS) EMABF & HAC models

75744C NUT-1/4-20 CAL STYLE RIVET 2 1000001814 |KIT-BOTTLE FILLR BASIN ADPTR (EZ(TL)) For EZH20®-EZ/LZ Bi-Level units with rubber drain mat
(updates to integrated stainless drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 11000001815 |KIT-BOTTLE FILLR BASIN ADPTR (EZTL REVERSED) For EZH20®-EZ/LZ Bi-Level Reverse units with rubber drain
mat (updates to integrated stainless drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 11000001816 |KIT-BOTTLE FILLR BASIN ADPTR (HAC SGL) For Halsey Taylor HAC-HydroBoost® Single units with
rubber drain mat (updates to integrated stainless
drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 (1000001817  |[KIT-BOTTLE FILLR BASIN ADPTR (HAC BI-LVL) For Halsey Taylor HAC-HydroBoost® Bi-Level units with
rubber drain mat (updates to integrated stainless
drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 11000001818 KIT-BOTTLE FILLR BASIN ADPTR (EMABF SGL) For EZH20®-EMABF/LMABF Single units with rubber drain
mat (updates to integrated stainless drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 1000001819 |KIT-BOTTLE FILLR BASIN ADPTR (EMABFTL) For EZH20®-EMABF/LMABF Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 (1000001861  [KIT-BOTTLE FILLR BASIN ADPTR (VRCGRN SGL) For EZH20®-(L)VRCGRN Single units with rubber drain mat
(updates to integrated stainless drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 1000001862 |KIT-BOTTLE FILLR BASIN ADPTR (VRCGRNTL) For EZH20®-(L)VRCGRNTL Bi-Level units with rubber drain
mat (updates to integrated stainless drain/basin)

75744C NUT-1/4-20 CAL STYLE RIVET 2 11000001863 |KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN SGL) Halsey Taylor HVRGRN-HydroBoost® combo models

75744C NUT-1/4-20 CAL STYLE RIVET 2 (1000001864  [KIT-BOTTLE FILLR BASIN ADPTR (HVRGRN BI-LVL) Halsey Taylor HYRGRNBL-HydroBoost® combo models

75745C SCREW #8 HI-LO X .312 4 (1000001881 [KIT - 75745C SCREW (4 PC) Elkay EZH20® & Halsey Taylor HydroBoost® models with
rubber mat, also current HTHB-HAC-RF models

75745C SCREW #8 HI-LO X .312 20 (1000001882 KIT - 75745C SCREW (20 PC) Elkay EZH20® & Halsey Taylor HydroBoost® models with
rubber mat, also current HTHB-HAC-RF models

75745C SCREW #8 HI-LO X .312 4 198667C KIT-HTHB DRAIN MAT & MAT COVER REPLACEMENT HydroBoost® Retrofit and Bottle Filler/Water Cooler combo
models

75745C SCREW #8 HI-LO X .312 4 198675C KIT - DRAIN MAT & COVER ASSY EZH20® Retrofit and Bottle Filler/Water Cooler combo
models

75749C WASHR-FLAT NYLON .257 I.D. 4 198543C KIT - ELECTRICAL PACKAGE EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75749C WASHR-FLAT NYLON .257 I.D. 4 198544C KIT - EE SENSOR EZH20® & HydroBoost® Indoor Models (except Vandal-
Resistant)

75749C WASHR-FLAT NYLON .257 I.D. 4 198631C KIT - ELECTRICAL PACKAGE 220V EZH20® & HydroBoost® Bottle Filler models

75758C EXTERNAL RETAINING RING 1 198999C KIT-DRAIN PAD VRC8WS/HTHB-HVRS EZH20® & HydroBoost® Vandal-Resistant Bottle Filler
models

92432C TAG -INSTRUCTION REG REPLACEMENT 1 (92450C KIT -REGULATOR (SERV) Various Elkay and Halsey Taylor models - does not include
the regulator

97470C MODUL-ORIFICE ASSY 1 |45703C ASSY -BUBBLER Halsey Taylor 5405, 7020 & 7030 models

97552C NMPLT-LABEL EZ-EE 1 |98896C KIT-EZO PUSHBAR FILLER EZO models

98014C LABEL-SERVICE 1 |0000000748 |KIT-EZ/LZ WRAPPER / NMPLT (L) Elkay Single EZ Green Cooler & Bottle Filler Combo models
(Light Gray Granite)

98180C COMPR-SRVC PAK_115V PW RPLMT 1 |98195C KIT -PW COMPR RPLMT W/HEAT-X EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models

98181C KIT -66301C HEATX-DRIER 1 |98195C KIT -PW COMPR RPLMT W/HEAT-X EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models

98182C LABEL- 3.80 OZ CHARGE R134A 1 (98180C COMPR-SRVC PAK_115V PW RPLMT EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models

98183C LABEL- 3.20 OZ CHARGE R134A 1 [98180C COMPR-SRVC PAK_115V PW RPLMT EFA4, EW(C)A4, ER2, LWCE4, SCWT4, SJ2 & SW4 models

98321C LABEL-5.88 OZ. CHARGE R134A 0 |98320C KIT-CONDENSER 66764C RPLCMNT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor
$J10, S10000 models with Bois D'Arc Type B condenser

98322C LABEL-4.90 OZ. CHARGE R134A 0 |98320C KIT-CONDENSER 66764C RPLCMNT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor

$J10, S10000 models with Bois D'Arc Type B condenser




98365C LABEL-5.50 OZ. CHARGE R134A 98320C KIT-CONDENSER 66764C RPLCMNT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor
$J10, S10000 models with Bois D'Arc Type B condenser

98368C NMPLT-LABEL LZO-VFM 98897C KIT-LZO PUSHBAR FILLER LZO models

98467C LABEL-4.38 OZ. CHARGE R134A 98320C KIT-CONDENSER 66764C RPLCMNT Elkay ER10, FD70010,FGDF10, LFDE10 and Halsey Taylor
$J10, S10000 models with Bois D'Arc Type B condenser

98486C KIT-GF HANDLE/VALVE STEM ASSY. 98863C KIT-GF HANDLE/STEM LK1110 & 96852CA glass filler models

98779C LABEL- 3.50 OZ CHARGE R134A 98715C EVAP-REPLMNT KIT HT (SHORT) $300/500, SCWT4 & SW4 models (Pre July 2011)

A53214 SPRING: SHUT OFF BUBBLER 99004C KIT-MICRO SWITCH Elkay EMASMB/LMASMB, VRC-EZH20® combos and Halsey
Taylor HTHBHVR bottle filler combo models

A54800 NIPPLE 1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

A54800 NIPPLE 1000002023 KIT-NIPPLE ASSY(GOOSENECK GLASS FILLER) Elkay LK1110, LK1114 and Halsey Taylor 96852CA glass filler
models

A54800 NIPPLE LK1110 GLASS FILLER-PUSH LEVER (GOOSENECK) Elkay Gooseneck Glass Filler models

A54868 GROOVED PIN 98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle
Fillers

A54888 SCREEN 1000002022 KIT-NIPPLE ASSY(PUSHBUTTON BUBBLER) Elkay LK142 and Halsey Taylor A54881 pushbutton bubblers

P0O5031 FULL FLOW HIDDEN AERATOR 98545C KIT-BOTTLE FILLER SOLENOQOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

P05031 FULL FLOW HIDDEN AERATOR 98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models

P05031 FULL FLOW HIDDEN AERATOR 98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

P05031 FULL FLOW HIDDEN AERATOR 98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle
Fillers

P05031 FULL FLOW HIDDEN AERATOR 98680C KIT - AERATOR/KEY EZH20°® In-Wall, Integral, Surface Mount, Vandal-Resistant
and Outdoor Tubular models

P05032 Cache TT Hidden Aerator Install Key 98545C KIT-BOTTLE FILLER SOLENOID VALVE ASSY EZH20® & HydroBoost® Indoor & Vandal-Resistant models

P05032 Cache TT Hidden Aerator Install Key 98546C KIT - AERATOR EZH20® & HydroBoost® Bottle Filler models

P05032 Cache TT Hidden Aerator Install Key 98632C KIT - SOLENOID VALVE 220V EZH20® & HydroBoost® Bottle Filler 220V models

P05032 Cache TT Hidden Aerator Install Key 98679C KIT - NOZZLE Elkay & Halsey Taylor Outdoor & Vandal-Resistant Bottle
Fillers

P05032 Cache TT Hidden Aerator Install Key 98680C KIT - AERATOR/KEY EZH20® In-Wall, Integral, Surface Mount, Vandal-Resistant

and Outdoor Tubular models




This is alisting of parts that have been obsoleted or are no longer available for individual sale.
(Listing includes information avaialble at this time. We will continue to update with information as it becomes avaialble.)

Part Number

Description

0000000234
0000000235
0000001092
10031C
100322740560
101422831640
101453431640
110865343890
191516551550
191516651550
27852C
27854C
27862C
27864C
27872C
27874C
27919C
27921C
27929C
27931C
27994C
27996C
28183C
28341U
28462C
28593C
28701C
28702C
28859C
28860C
28916C
28944C
28945C
28946C
28947C
28948C
28949C
31517C
35764C
35771C
35774C
35775C
35935C
35948C
35961C
35962C
35982C
36013C
36074C
36075C
36085C
36087C
36094C
36138C
36141C
36226C
36242C
36251C
36270C
36283C
40050C
401031548410
40384C
40572C
45351C
45392C
45463C
45733C
45857C
45891C
55922C
56259C
56273C
600148751640
66218C
70165C
75580C
75583C
75588C
75589C
75625C
75692C
96866C
97441C
97442C
97443C
97524C
97525C
97538C
97539C
97540C
98118C
98530C
98531C
98534C
98548C
98920C

KIT-115V AE3440A ELECTRICALS

KIT-115V B5125A ELECTRICALS

KIT-RETRO BF W/O FILTER INSTALL

NUT -RETAIN 1 1/8-24

GASKT-BLACK .68 X 1.03

BUBLR-.6 GPM CP

CAP -PUSHBUTTON

OBSOLETE -SCREW-#10-13 X .63 WOOD
OBSOLETE - OVRLD-115V MRP36GL-34
OBSOLETE - RELAY-115V 9660-042-149
PANEL-WRAPPER TL L-EZ (S)
PANEL-WRAPPER TL L-EZ (L)
PANEL-WRAPPER TL R-EZ (S)
PANEL-WRAPPER TL R-EZ (L)

OBSOLETE -PANEL-WRAPPER D EZ (S)
OBSOLETE -PANEL-WRAPPER D EZ (L)
OBSOLETE - PANEL-WRAPPER TLR L-EZ (S)
OBSOLETE - PANEL-WRAPPER TLR L-EZ (L)
OBSOLETE - PANEL-WRAPPER TLR R-EZ (S)
OBSOLETE - PANEL-WRAPPER TLR R-EZ (L)
OBSOLETE -PANEL-WRAPPER (S) DDTLR
OBSOLETE -PANEL-WRAPPER (L) DDTLR
OBSOLETE - PANEL-SINGLE SWIRFLOW
OBSOLETE - BASIN - HVR (OLD HAC)
OBSOLETE - BASIN-HACVR (SERVICE)
OBSOLETE - BASIN - VRC

OBSOLETE - BASIN - CHILD ADA
OBSOLETE - BASIN - HAC CHILD ADA

OBSOLETE - PANEL - FRONT DISP W/ELKAY & GRN SPEC LOGOS
OBSOLETE - PANEL - FRONT DISP W/HT & GRN SPEC LOGOS

OBSOLETE - WELDMENT-BOTTOM HINGE
OBSOLETE - PANEL-UPPER OVL-ER-GRN
OBSOLETE - PANEL-UPPER OVL-SER-GRN
OBSOLETE - PANEL-UPPER OVL-ESR-GRN
OBSOLETE - PANEL-UPPER SNGL-SWILFLOW-GRN
OBSOLETE - PANEL-UPPER DBL-SWIRLFLO-GRN
OBSOLETE - PANEL-UPPER DBL-SWIRLFLO-REV-GRN
OBSOLETE - CORD -POWER 115V HAC/EBF
OBSOLETE -COMPR-SERVICE PAK 220V
OBSOLETE -COMPR-115V FFI12HBX

OBSOLETE -COMPR-SERVICE PAK 115V
OBSOLETE -COMPR-SERVICE PAK 115V
OBSOLETE -CAPAC-115V 20UF 180VAC

*ENG* SWTCH-ELECTRICAL

OBSOLETE - COMPR-115V EM 30 HNR
COMPR-SERVICE PAK 115V

OBSOLETE -COMPR- 115V NJ6220Z

OBSOLETE - COMPR-SERVICE PAK

OBSOLETE -COMPR-SERVICE PAK (115V)
OBSOLETE - COMPR-SERVICE PAK (220V)
COMPR-SERVICE PAK 220V/50Hz

OBSOLETE -COMPR-115V EMI 70 HNR
OBSOLETE - COMPR-SERVICE PAK 115V EMI 70 HNR
OBSOLETE - COMPR-115V EM20HBR

OBSOLETE - COMPR-SERVICE PAK 115V
OBSOLETE -COMPR-115V EM45HHR

OBSOLETE -COMPR-SERVICE PAK 115V
OBSOLETE -COMPR-SERVICE PAK

OBSOLETE - COMPR-SERVICE PAK 115V EM 65 HHC
OBSOLETE - CORD-POWER EZ/HTV 115V
FERRL-DRAIN CP .93

OBSOLETE - PANEL-WRAP AROUND PLT VINYL
ASSY -STRAINER&FERRULE CP

OBSOLETE - TPIPE

ASSY -WASTE LINE

OBSOLETE - BODY-BUBBLER

OBSOLETE - ASSY-WASTE LNE EZTL
OBSOLETE - ASSY -WASTE LINE HTVBL
OBSOLETE - WASTELINE

OBSOLETE - TUBE-DRAIN

OBSOLETE - PLATE-ACTUATOR OVL
PRTPK-SOLENOID CAP/SCRN/O-RING
ASSY-HOUSING SHORT

OBSOLETE - ASSY-STEM W/VP CROSS HNDL
OBSOLETE - ASSY-WC CONDENSER

OBSOLETE - CLAMP-HARNESS

NUT -LOCKING 3/8-18

ELBOW-5/16" - 1/4"

NUT -SLIP JOINT 1-1/4

WASHR-SEAL

SCREW - #8 X .50" LG. HI-LOW 6 LOBE PAN HD
FTTNG-1/4" PRESS-IN

OBSOLETE - KIT-ACTUATOR OVL-OLD STYLE
OBSOLETE - EVAP-REPLACEMENT KIT (SHORT)
OBSOLETE - EVAP -REPLACEMENT KIT (MEDIUM)
OBSOLETE - EVAP-REPLACEMENT KIT (LONG)
OBSOLETE - EVAP-REPLACEMENT KIT (MED)
OBSOLETE - EVAP-REPLACEMENT KIT (SHORT)
OBSOLETE - EVAP-REPLMNT KIT BARRIER FREE
OBSOLETE - EVAP-REPLACEMENT ER2
OBSOLETE - EVAP-REPLACEMENT REMOTES
ASSY-BUBBLER VR W/SCREEN

KIT-REGULATOR W/SPRING

KIT - REGULATOR W/GREEN SPRING
OBSOLETE - KIT-EVAPORATOR

OBSOLETE - KIT-DRAIN MAT & COVER ASSY
OBSOLETE - KIT-VR BUBBLER SHORT

Lifecycle Phase

Obsolete

Obsolete

Obsolete

Not for individual sale
Not for individual sale
Not for individual sale
Not for individual sale
Obsolete

Obsolete

Obsolete

Not for individual sale
Not for individual sale
Not for individual sale
Not for individual sale
Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Not for individual sale
Obsolete
Discontinued-limited inventory
Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Not for individual sale
Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Not for individual sale
Not for individual sale
Obsolete

Obsolete

Obsolete

Not for individual sale
Not for individual sale
Not for individual sale
Not for individual sale
Not for individual sale
Not for individual sale
Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Obsolete

Not for individual sale
Not for individual sale
Not for individual sale
Obsolete

Obsolete

Obsolete

Replacement
No replacement

No replacement

No replacement

Various service Kits

0000001192 (4 pcs), 1000001878 (25 pcs), Various service kits
98923C - KIT-DOUBLE BUBBLER

601451151550 - ASSY -PUSHBUTTON

75506C - SCREW-#10 X .75 HHSM

No replacement

No replacement

1000000758 - KIT-EZTL WRAPPER (S) W/SVC LBL (LH)
1000000759 - KIT-EZTL WRAPPER (L) W/SVC LBL (LH)
1000000888 - KIT-EZTL WRAPPER (S) W/SVC LBL (RH)
1000000944 - KIT-EZTL WRAPPER (L) W/SVC LBL (RH)
27416C - WRAPPER-EZ (S)

27413C - PANEL-WRAPPER EZ (L)

1000000758 - KIT-EZTL WRAPPER (S) W/SVC LBL (LH)
1000000759 - KIT-EZTL WRAPPER (L) W/SVC LBL (LH)
1000000888 - KIT-EZTL WRAPPER (S) W/SVC LBL (RH)
1000000944 - KIT-EZTL WRAPPER (L) W/SVC LBL (RH)
1000000888 - KIT-EZTL WRAPPER (S) W/SVC LBL (RH)
1000000944 - KIT-EZTL WRAPPER (L) W/SVC LBL (RH)

No replacement

28963C - BASIN HVR STANDARD

28963C - BASIN HVR STANDARD

0000000966 - KIT-BASIN RPLCMNT VRC

0000000964 - KIT-BASIN RPLCMNT EMABF

28960C - BASIN - HAC STANDARD

1000003511 - PANEL-FRONT DISP W/ELKAY & GRN SPEC LOGOS
1000003512 - PANEL-FRONT DISP W/HT & GRN SPEC LOGOS
28915C - WELDMENT - TOP HINGE

1000003515 - PANEL-UPPER OVL-ER-GRN

1000003517 - PANEL-UPPER OVL-SER-GRN

1000003518 - PANEL-UPPER OVL-ESR-GRN

1000003516 - PANEL-UPPER SNGL-SWIRLFLO-GRN
1000003513 - PANEL-UPPER DBL-SWIRLFLO-GRN
1000003514 - PANEL-UPPER DBL-SWIRLFLO -REV-GRN
36208C - CORD -POWER

35777C - COMPR-SERVICE PAK 220V

36311C - COMPR-ASSY 115V FFI12HBX

36316C - COMPR-SERVICE PACK 115V FF10HBK

36312C - COMPR-SERVICE PACK 115V FFI12HBX

36272C - CAPACITOR - RUN (US-24152)

98869C - KIT-HTV WIRING-ELECTRCL SWITCH
1000002149 - COMPR-SERVICE PACK 115V-60H EM30HNR
1000002149 - COMPR-SERVICE PACK 115V-60H EM30HNR
36309C - COMPR-ASSY 115V NJ6220Z

1000002149 - COMPR-SERVICE PACK 115V-60H EM30HNR
36320C - COMPR-SERVICE PAK 115V NJ6220Z

36308C - COMPR-SERVICE PAK 220V NT6220Z
1000002147 - COMPR-SERVICE PACK 220V-50H EM65HNR
36321C - COMPR-ASSY 115V EMIS70HHR

36322C - COMPR-SERVICE PAK

1000002148 - COMPR-SERVICE PACK 115V-60H EM20HBR
1000002148 - COMPR-SERVICE PACK 115V-60H EM20HBR
0000001194 - COMPR-SERVICE PACK 115V EM45HHR
0000001194 - COMPR-SERVICE PACK 115V EM45HHR
36310C - COMPR-SERVICE PACK 115V NJ6220Z
0000000768 - COMPR-SERVICE PACK 115V EM65HHC
36287C - CORD-POWER EZTLR 115V

98924C - KIT-STRAINER/FERRULE

26943C - PANEL-WRAPPER (PV)

98924C - KIT-STRAINER/FERRULE

0000000928 - TPIPE-1.88

96831C - KIT -WASTE LINE ASSY

45866C - BODY-BUBBLER (SHORT)

45874C - ASSY-DRAIN-EZ UNV BL

45875C ASSY-DRAIN-HTV UNV BL (Discontinued-limited inventory)
45330C - TUBE -WASTE ARM-J 16.75

45929C - TUBE - DRAIN

No replacement

98169C - KIT -SOLENOID CAP/SCRN/O-RING

56274C - ASSY-BUBLR FLEXI-GUARD SHORT
600116618640 - ASSY -STEM W/LEVER-BRIGHT

66633C - ASSY -WC CONDENSER

101419551550 or 70377C Clamp (ER10 models)

1000002141 (5pk) or Various service kits

1000001602 (3pk) or Various service kits

Various service kits

Various service kits

Various service kits

98164C or 98532C

No replacement

98715C - EVAP-REPLMNT KIT HT (SHORT)

98717C - EVAP-REPLMNT KIT HT (MEDIUM)

98722C - EVAP-REPLMNT KIT HT (LONG)

98718C - EVAP-REPLMNT KIT LK (MEDIUM)

98716C - EVAP-REPLMNT KIT LK (SHORT)

98719C - EVAP-REPLMNT KIT BARRIER FREE

98720C - EVAP-REPLMNT KIT ER2

98721C - EVAP-REPLMNT KIT ECH8/SJ8

97446C - KIT-VR BUBBLER REPLACEMENT

98731C - KIT- REGULATOR W/SPRING

98732C - KIT- REGULATOR - GREEN SPRING

98724C - KIT-EVAP REPLACEMENT 66810C

98854C - KIT-EZH20 DRAIN MAT EARLY VERSION

97446C - KIT-VR BUBBLER REPLACEMENT



	By Service Kit
	By Service Component
	Recent parts no longer availble

